SHELBY COUNTY (Contract No. CNU912 Call 001)

NH-385(34),79187-8237-14,STP-SIP-205(26),79035-3218-94

THE CONSTRUCTION OF TURN LANES ON S.R. 205 FROM BROOKS RIVER DRIVE (L.M. 15.75) TO SOUTH OF I-40 (L.M. 16.07) IN ARLINGTON, AND RESURFACING ON S.R. 385 FROM L.M. 2.19 TO L.M. 2.31.

PROJECT LENGTH - 0.437 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2020

DBE GOAL 9.00%

TOTAL CONTRACT

Madden Phillips Construction, Inc.

\$1,209,451.06

CONTRACT	CNU912
----------	--------

			CC	ONTRACT CNU912
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Madden Phillips Construction, Inc.	1.000 LS	\$16,950.0000	\$16,950.00
201-01	CLEARING AND GRUBBING	1.000 LS		
	Madden Phillips Construction, Inc.	1.000 LS	\$24,500.0000	\$24,500.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	2,429.000 C.Y.		
	Madden Phillips Construction, Inc.	,	\$20.0000	\$48,580.00
203-03.10	SELECT GRANULAR MATERIAL	150.000 TON		
	Madden Phillips Construction, Inc.		\$30.0000	\$4,500.00
203-05	UNDERCUTTING	80.000 C.Y.		
	Madden Phillips Construction, Inc.		\$30.0000	\$2,400.00
203-06	WATER	4.000 M.G.		
	Madden Phillips Construction, Inc.		\$50.0000	\$200.00
208-01.05	BROOMING & DEGRASSING SHOULDERS	0.634 L.M.		
	Madden Phillips Construction, Inc.		\$22,000.0000	\$13,948.00
209-05	SEDIMENT REMOVAL	83.000 C.Y.		
	Madden Phillips Construction, Inc.		\$15.0000	\$1,245.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)	400.000 L.F.		
	Madden Phillips Construction, Inc.		\$5.1500	\$2,060.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)	5,700.000 L.F.		
	Madden Phillips Construction, Inc.		\$4.4500	\$25,365.00
209-08.07	ROCK CHECK DAM PER	14.000 EACH		
	Madden Phillips Construction, Inc.		\$475.0000	\$6,650.00
209-09.01	SANDBAGS	200.000 BAG		
	Madden Phillips Construction, Inc.		\$8.8000	\$1,760.00

			UNIT PRICE	CONTRACT CNU912 EXTENSION
209-09.04	SEDIMENT FILTER BAG(15' X 10')			
	Madden Phillips Construction, Inc.	2.000 EACH	\$325.0000	\$650.00
209-20.04	POLYETHYLENE SHEETING (10 MIL.)			
	Madden Phillips Construction, Inc.	200.000 S.Y.	\$1.5000	\$300.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Madden Phillips Construction, Inc.	2,398.000 TON	\$45.0000	\$107,910.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C or D)			
	Madden Phillips Construction, Inc.	303.000 TON	\$37.0000	\$11,211.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	Madden Phillips Construction, Inc.	100.000 TON	\$50.0000	\$5,000.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Madden Phillips Construction, Inc.	464.000 TON	\$176.8000	\$82,035.20
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Madden Phillips Construction, Inc.	259.000 TON	\$187.2000	\$48,484.80
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Madden Phillips Construction, Inc.	6.000 TON	\$1,872.0000	\$11,232.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	Madden Phillips Construction, Inc.	17.000 TON	\$124.8000	\$2,121.60
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Madden Phillips Construction, Inc.	11.000 TON	\$1,352.0000	\$14,872.00
403-05.01	BITUMINOUS MATERIAL (FOG SEAL) SHOULDER			
	Madden Phillips Construction, Inc.	1.000 TON	\$3,640.0000	\$3,640.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT	0.450.000.5		
	Madden Phillips Construction, Inc.	3,450.000 L.F.	\$10.0000	\$34,500.00

			UNIT PRICE	CONTRACT CNU912 EXTENSION
411-01.10 ACS MI	IX(PG64-22) GRADING D			
Madde	n Phillips Construction, Inc.	568.000 TON	\$166.4000	\$94,515.20
411-03.10 ACS MI	IX(PG76-22) GRADING D			
Madde	n Phillips Construction, Inc.	224.000 TON	\$260.0000	\$58,240.00
411-12.03 SCORII	NG FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN			
Madde	n Phillips Construction, Inc.	0.415 L.M.	\$12,100.0000	\$5,021.50
415-01.02 COLD F	PLANING BITUMINOUS PAVEMENT			
Madde	n Phillips Construction, Inc.	8,084.000 S.Y.	\$8.5000	\$68,714.00
607-03.02 18" CO	NCRETE PIPE CULVERT (CLASS III)			
Madde	n Phillips Construction, Inc.	23.000 L.F.	\$100.0000	\$2,300.00
607-06.02 30" CO	NCRETE PIPE CULVERT (CLASS III)			
Madde	n Phillips Construction, Inc.	22.000 L.F.	\$135.0000	\$2,970.00
611-07.01 CLASS	A CONCRETE (PIPE ENDWALLS)	• v		
Madde	n Phillips Construction, Inc.	2.000 C.Y.	\$1,392.0000	\$2,784.00
611-07.02 STEEL	BAR REINFORCEMENT (PIPE ENDWALLS)	00.000 LD		
Madde	n Phillips Construction, Inc.	93.000 LB.	\$48.0000	\$4,464.00
611-07.55 18IN EN	NDWALL (CROSS DRAIN) 4:1			
Madde	n Phillips Construction, Inc.	2.000 EACH	\$5,081.0000	\$10,162.00
611-07.57 24IN EN	NDWALL (CROSS DRAIN) 3:1			
Madde	n Phillips Construction, Inc.	1.000 EACH	\$6,235.0000	\$6,235.00
611-07.60 30IN EN	NDWALL (CROSS DRAIN) 3:1			
Madde	n Phillips Construction, Inc.	1.000 EACH	\$7,236.0000	\$7,236.00
621-03.02 18" TE	MPORARY DRAINAGE PIPE			
Madde	n Phillips Construction, Inc.	36.000 L.F.	\$80.0000	\$2,880.00

			UNIT PRICE	CONTRACT CNU912 EXTENSION
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
	Madden Phillips Construction, Inc.	8.000 EACH	\$5,890.0000	\$47,120.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
	Madden Phillips Construction, Inc.	400.000 L.F.	\$8.3000	\$3,320.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	Madden Phillips Construction, Inc.	100.000 TON	\$60.0000	\$6,000.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	Madden Phillips Construction, Inc.	50.000 TON	\$60.0000	\$3,000.00
712-01	TRAFFIC CONTROL			
	Madden Phillips Construction, Inc.	1.000 LS	\$22,000.0000	\$22,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
	Madden Phillips Construction, Inc.	3,350.000 L.F.	\$47.0000	\$157,450.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Madden Phillips Construction, Inc.	98.000 EACH	\$27.5000	\$2,695.00
712-05.01	WARNING LIGHTS (TYPE A)	40.000 = 1.011		
	Madden Phillips Construction, Inc.	10.000 EACH	\$5.5000	\$55.00
712-05.03	WARNING LIGHTS (TYPE C)			
	Madden Phillips Construction, Inc.	10.000 EACH	\$5.5000	\$55.00
712-06	SIGNS (CONSTRUCTION)			
	Madden Phillips Construction, Inc.	1,345.000 S.F.	\$6.8800	\$9,253.60
712-08.03	ARROW BOARD (TYPE C)			
	Madden Phillips Construction, Inc.	4.000 EACH	\$385.0000	\$1,540.00
713-02.26	CONCRETE BARRIER/PARAPET DELINEATOR			
	Madden Phillips Construction, Inc.	36.000 EACH	\$12.1000	\$435.60

			UNIT PRICE	CONTRACT CNU912 EXTENSION
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
	Madden Phillips Construction, Inc.	25.000 EACH	\$22.0000	\$550.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Madden Phillips Construction, Inc.	2.000 EACH	\$6,600.0000	\$13,200.00
713-16.20	SIGNS (D1-2)			
	Madden Phillips Construction, Inc.	1.000 EACH	\$357.5000	\$357.50
713-16.21	SIGNS (D9-10)			
	Madden Phillips Construction, Inc.	2.000 EACH	\$242.0000	\$484.00
713-16.22	SIGNS (D10-2)			
	Madden Phillips Construction, Inc.	1.000 EACH	\$220.0000	\$220.00
713-16.23	SIGNS (M1-1)			
	Madden Phillips Construction, Inc.	3.000 EACH	\$220.0000	\$660.00
713-16.24	SIGNS (M1-5)			
	Madden Phillips Construction, Inc.	1.000 EACH	\$231.0000	\$231.00
713-16.25	SIGNS (M2-1)			
	Madden Phillips Construction, Inc.	1.000 EACH	\$49.5000	\$49.50
713-16.26	SIGNS (M3-1)			
	Madden Phillips Construction, Inc.	1.000 EACH	\$49.5000	\$49.50
713-16.27	SIGNS (M3-2)			
	Madden Phillips Construction, Inc.	1.000 EACH	\$49.5000	\$49.50
713-16.28	SIGNS (M3-4)			
	Madden Phillips Construction, Inc.	1.000 EACH	\$49.5000	\$49.50
713-16.29	SIGNS (M5-1)			
	Madden Phillips Construction, Inc.	1.000 EACH	\$49.5000	\$49.50

742.46.20	CICNC (MC 2)		UNIT PRICE	CONTRACT CNU912 EXTENSION
713-16.30	Madden Phillips Construction, Inc.	2.000 EACH	\$49.5000	\$99.00
713-16.31	SIGNS (OM4-1) Madden Phillips Construction, Inc.	1.000 EACH	\$220.0000	\$220.00
713-16.32	SIGNS (R1-1) Madden Phillips Construction, Inc.	3.000 EACH	\$231.0000	\$693.00
713-16.33	SIGNS (R2-1)	2.000 EACH	\$220,0000	\$440.00
713-16.34	Madden Phillips Construction, Inc. SIGNS (R5-1)	1.000 EACH	\$220.0000	\$440.00
713-16.35	Madden Phillips Construction, Inc. SIGNS (R7-1)	4 000 54 011	\$242.0000	\$242.00
713-16.36	Madden Phillips Construction, Inc. SIGNS (W1-2)	1.000 EACH	\$242.0000	\$242.00
	Madden Phillips Construction, Inc.	1.000 EACH	\$269.5000	\$269.50
713-16.37	Madden Phillips Construction, Inc.	1.000 EACH	\$220.0000	\$220.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 Co	OLOR) 176.000 EACH	\$46.2000	\$8,131.20
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 CC	DLOR) 16.000 EACH		
716-01.30	Madden Phillips Construction, Inc. REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	40.000 = 1.000	\$46.2000	\$739.20
716-02.04	Madden Phillips Construction, Inc. PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	16.000 EACH	\$57.2000	\$915.20

180.000 S.Y.

Madden Phillips Construction, Inc.

\$6,336.00

\$35.2000

				CONTRACT CNU912
			UNIT PRICE	EXTENSION
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Madden Phillips Construction, Inc.	50.000 L.F.	\$18.7000	\$935.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Madden Phillips Construction, Inc.	9.000 EACH	\$231.0000	\$2,079.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Madden Phillips Construction, Inc.	2.536 L.M.	\$2,310.0000	\$5,858.16
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Madden Phillips Construction, Inc.	0.540 L.M.	\$3,520.0000	\$1,900.80
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Madden Phillips Construction, Inc.	1.357 L.M.	\$9,350.0000	\$12,687.95
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Madden Phillips Construction, Inc.	0.653 L.M.	\$9,350.0000	\$6,105.55
717-01	MOBILIZATION	4 000 1 0		
	Madden Phillips Construction, Inc.	1.000 LS	\$111,185.0000	\$111,185.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)	500 000 C V		
	Madden Phillips Construction, Inc.	500.000 S.Y.	\$3.6500	\$1,825.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
	Madden Phillips Construction, Inc.	100.000 S.Y.	\$3.2500	\$325.00
740-11.04	TEMPORARY SEDIMENT TUBE 20IN			
	Madden Phillips Construction, Inc.	200.000 L.F.	\$8.6000	\$1,720.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	Madden Phillips Construction, Inc.	130.000 UNIT	\$52.0000	\$6,760.00
801-03	WATER (SEEDING & SODDING)			
	Madden Phillips Construction, Inc.	79.000 M.G.	\$50.0000	\$3,950.00

CONTRACT CNU912

UNIT PRICE EXTENSION

803-01 SODDING (NEW SOD)

6,680.000 S.Y.

Madden Phillips Construction, Inc. \$4.6500 \$31,062.00

SUB-TOTAL ROADWAY

Madden Phillips Construction, Inc.

\$1,209,451.06

TOTAL CONTRACT

Madden Phillips Construction, Inc.

\$1,209,451.06

COUNTIES ANDERSON, BLOUNT, CAMPBELL, CARTER, CLAIBORNE, COCKE, GRAINGER, GREENE, HAMBLEN, HANCOCK, HAWKINS, JEFFERSON, JOHNSON, KNOX, LOUDON, MONROE, MORGAN, ROANE, SCOTT, SEVIER, SULLIVAN, UNICOI, UNION, AND WASHINGTON (Contract No. CNU177 Call 002)

98100-4165-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2021

TOTAL CONTRACT

Superior Traffic Control, LLC

\$204,460.50

LU, Inc.

\$231,329.95

			UNIT PRICE	CONTRACT CNU177 EXTENSION
MAINTEN	NANCE CATEGORY		0	
712-01.02	LANE CLOSURE			
		2.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$250.0000 \$173.5000	\$500.00 \$347.00
712-01.03	LANE CLOSURE(NIGHT WORK)			
		10.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$1,100.0000 \$1,350.0000	\$11,000.00 \$13,500.00
712-08.03	ARROW BOARD (TYPE C)			
	0 : T " 0 : 1110	2.000 EACH	# 000 0000	Φ4 000 00
	Superior Traffic Control, LLC LU, Inc.		\$600.0000 \$563.8800	\$1,200.00 \$1,127.76
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE	BOARD		
		20.000 DAY		*
	Superior Traffic Control, LLC LU, Inc.		\$1,000.0000 \$1,161.0000	\$20,000.00 \$23,220.00
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIG			
	Superior Traffic Control, LLC	5.000 C.Y.	\$650.0000	\$3,250.00
	LU, Inc.		\$563.8800	\$2,819.40
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION	FOR SIGN SUPPORTS)		
		2,000.000 LB.		
	Superior Traffic Control, LLC LU, Inc.		\$2.9000 \$2.6000	\$5,800.00 \$5,200.00
713-04.02	STEEL I-BEAMS & W-F BEAMS FOR SIGN SUI			
	Our arian Tarffia Cantral III C	3,000.000 LB.	#4.0000	#40.000.00
	Superior Traffic Control, LLC LU, Inc.		\$4.2000 \$4.7000	\$12,600.00 \$14,100.00
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY)			
	Superior Traffic Control, LLC	5,000.000 LB.	\$4.2000	\$21,000.00
	LU, Inc.		\$4.7000	\$23,500.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE PO			
	Superior Troffic Control 110	23.000 LB.	#0.5000	#00.50
	Superior Traffic Control, LLC LU, Inc.		\$3.5000 \$3.4700	\$80.50 \$79.81
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK			
	Oursein Traffic Co. 1. 1.1.0	30.000 S.F.	#40.000	# 400.00
	Superior Traffic Control, LLC		\$16.0000 \$14.7500	\$480.00 \$442.50

LU, Inc.

\$14.7500

				CONTRACT CNU177
			UNIT PRICE	EXTENSION
713-13.14	FLORESCENT YELLOW SIGN SHEETING			
		300.000 S.F.		
	Superior Traffic Control, LLC		\$3.5000	\$1,050.00
	LU, Inc.		\$3.6900	\$1,107.00
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		4,800.000 S.F.		
	Superior Traffic Control, LLC		\$23.0000	\$110,400.00
	LU, Inc.		\$25.5400	\$122,592.00
713-15.01	REMOVAL OF EXISTING SIGN POST			
		5.000 EACH		
	Superior Traffic Control, LLC		\$50.0000	\$250.00
	LU, Inc.		\$69.4000	\$347.00
713-15.03	REMOVAL OF LARGER BARRIER MOUNTED SIGNS WITH S	ADDLE SUPPORTS		
		30.000 EACH		
	Superior Traffic Control, LLC		\$45.0000	\$1,350.00
	LU, Inc.		\$52.0500	\$1,561.50
713-15.10	REMOVAL OF SMALL BARRIER MOUNTED SIGNS W/ FLAT	PLAT SUPPORTS		
		30.000 EACH		
	Superior Traffic Control, LLC		\$40.0000	\$1,200.00
	LU, Inc.		\$43.3800	\$1,301.40
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		5.000 EACH		
	Superior Traffic Control, LLC		\$250.0000	\$1,250.00
	LU, Inc.		\$216.8800	\$1,084.40
713-16 00	RESET GROUND MOUNTED SIGN			
713-10.90	RESET GROUND MOUNTED SIGN	10.000 EACH		
	Superior Traffic Control, LLC	101000 = 11011	\$500.0000	\$5,000.00
	LU, Inc.		\$1,301.2500	\$13,012.50
713-17 02	INSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PANEL			
713-17.02	INSTALE AUXILIANT SUFFORT FOR EXIT NUMBER FANCE	24.000 EACH		
	Superior Traffic Control, LLC	2 11000 271011	\$75.0000	\$1,800.00
	LU, Inc.		\$73.7400	\$1,769.76
712 17 04	INSTALL ALIVILLADY SUPPORT ON EVICTING SIGN			
113-11.04	INSTALL AUXILIARY SUPPORT ON EXISTING SIGN	100.000 L.F.		
	Superior Traffic Control, LLC	100.000 E.I .	\$6.7500	\$675.00
	LU, Inc.		\$6.2000	\$620.00
742 00 00	CICN AD ILICTMENTS			
113-20.30	SIGN ADJUSTMENTS	5.000 EACH		
	Superior Traffic Control, LLC	J.UUU LAGII	\$315.0000	\$1,575.00
	LU, Inc.		\$324.0000	\$1,620.00

C	ON.	TRA	CT	CNI	11	77

UNIT PRICE EXTENSION

713-30.09 BARRIER MOUNTED SIGN SUPPORT

8.000 EACH

 Superior Traffic Control, LLC
 \$500.0000
 \$4,000.00

 LU, Inc.
 \$247.2400
 \$1,977.92

SUB-TOTAL MAINTENANCE

 Superior Traffic Control, LLC
 \$204,460.50

 LU, Inc.
 \$231,329.95

TOTAL CONTRACT

 Superior Traffic Control, LLC
 \$204,460.50

 LU, Inc.
 \$231,329.95

COUNTIES BEDFORD, CHEATHAM, DAVIDSON, DICKSON, GILES, HICKMAN, HOUSTON, HUMPHREYS, LAWRENCE, LEWIS, LINCOLN, MACON, MARSHALL, MAURY, MONTGOMERY, MOORE, PERRY, ROBERTSON, RUTHERFORD, SMITH, STEWART, SUMNER, TROUSDALE, WAYNE, WILLIAMSON, AND WILSON (Contract No. CNU179 Call 003)

98303-4183-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2021

TOTAL CONTRACT

Vulcan Construction Materials, LLC\$210,802.40Superior Traffic Control, LLC\$214,112.00LU, Inc.\$231,314.91

	•	
MAINTENANCE CATEGORY	UNIT PRICE	EXTENSION
712-01.02 LANE CLOSURE		
1.000 EACH		
Vulcan Construction Materials, LLC	\$100.0000	\$100.00
Superior Traffic Control, LLC	\$250.0000	\$250.00
LU, Inc.	\$173.5000	\$173.50
712-01.03 LANE CLOSURE(NIGHT WORK)		
22.000 EACH		
Vulcan Construction Materials, LLC	\$700.0000	\$15,400.00
Superior Traffic Control, LLC	\$800.0000	\$17,600.00
LU, Inc.	\$756.0000	\$16,632.00
712-08.03 ARROW BOARD (TYPE C)		
4.000 EACH		
Vulcan Construction Materials, LLC	\$500.0000	\$2,000.00
Superior Traffic Control, LLC	\$500.0000	\$2,000.00
LU, Inc.	\$433.7500	\$1,735.00
712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD		
22.000 DAY		
Vulcan Construction Materials, LLC	\$1,000.0000	\$22,000.00
Superior Traffic Control, LLC	\$950.0000	\$20,900.00
LU, Inc.	\$1,080.0000	\$23,760.00
713-01.01 CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)		
9.000 C.Y.		
Vulcan Construction Materials, LLC	\$585.0000	\$5,265.00
Superior Traffic Control, LLC	\$625.0000	\$5,625.00
LU, Inc.	\$507.4900	\$4,567.41
713-01.02 STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUPPORTS)		
2,400.000 LB.		
Vulcan Construction Materials, LLC	\$2.5000	\$6,000.00
Superior Traffic Control, LLC	\$2.8500	\$6,840.00
LU, Inc.	\$2.0400	\$4,896.00
713-04.02 STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPPORTS		
190.000 LB.		
Vulcan Construction Materials, LLC	\$3.8500	\$731.50
Superior Traffic Control, LLC	\$4.0000	\$760.00
LU, Inc.	\$4.2100	\$799.90
713-05 STEEL HOLLOW SQUARE POST (BREAKAWAY) SIGN SUPPORTS		
23.000 LB.		
Vulcan Construction Materials, LLC	\$4.0000	\$92.00
Superior Traffic Control, LLC	\$4.0000	\$92.00
LU, Inc.	\$3.4700	\$79.81

			UNIT PRICE	EXTENSION
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPO	रा		
		12,000.000 LB.		
	Vulcan Construction Materials, LLC		\$3.9500	\$47,400.00
	Superior Traffic Control, LLC		\$4.0000	\$48,000.00
	LU, Inc.		\$4.1600	\$49,920.00
713-11.01	"U" SECTION STEEL POSTS			
		23.000 LB.		
	Vulcan Construction Materials, LLC		\$3.0000	\$69.00
	Superior Traffic Control, LLC		\$3.5000	\$80.50
	LU, Inc.		\$2.6000	\$59.80
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		25.000 LB.		
	Vulcan Construction Materials, LLC		\$3.6500	\$91.25
	Superior Traffic Control, LLC		\$3.3000	\$82.50
	LU, Inc.		\$3.1700	\$79.25
713-11.05	S SQUARE TUBE SIGN SUPPORT			
		23.000 LB.		
	Vulcan Construction Materials, LLC		\$4.0500	\$93.15
	Superior Traffic Control, LLC		\$4.0000	\$92.00
	LU, Inc.		\$3.5100	\$80.73
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		23.000 S.F.		
	Vulcan Construction Materials, LLC		\$12.0000	\$276.00
	Superior Traffic Control, LLC		\$13.5000	\$310.50
	LU, Inc.		\$10.4100	\$239.43
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		30.000 S.F.		
	Vulcan Construction Materials, LLC		\$14.2500	\$427.50
	Superior Traffic Control, LLC		\$14.2500	\$427.50
	LU, Inc.		\$11.2800	\$338.40
713-13.12	FLAT SHEET ALUM SIGNS OVERLAY (0.080" THICK)			
		90.000 S.F.		
	Vulcan Construction Materials, LLC		\$17.5000	\$1,575.00
	Superior Traffic Control, LLC		\$18.0000	\$1,620.00
	LU, Inc.		\$15.1800	\$1,366.20
713-13.14	FLORESCENT YELLOW SIGN SHEETING			
		200.000 S.F.		
	Vulcan Construction Materials, LLC		\$3.5000	\$700.00
	Superior Traffic Control, LLC		\$3.4500	\$690.00
	LU, Inc.		\$2.8200	\$564.00

			UNIT PRICE	EXTENSION
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		4,500.000 S.F.		
	Vulcan Construction Materials, LLC		\$21.5000	\$96,750.00
	Superior Traffic Control, LLC		\$21.0000	\$94,500.00
	LU, Inc.		\$23.2200	\$104,490.00
713-15.01	REMOVAL OF EXISTING SIGN POST			
		3.000 EACH		
	Vulcan Construction Materials, LLC		\$40.0000	\$120.00
	Superior Traffic Control, LLC		\$50.0000	\$150.00
	LU, Inc.		\$21.6900	\$65.07
713-15.03	REMOVAL OF LARGER BARRIER MOUNTED SIGNS WITH	SADDLE SUPPORTS		
		30.000 EACH		
	Vulcan Construction Materials, LLC	00:000 =/:0::	\$70.0000	\$2,100.00
	Superior Traffic Control, LLC		\$75.0000	\$2,250.00
	LU, Inc.		\$60.7300	\$1,821.90
	20, 1110.		φουσσσ	Ψ1,021.00
713-15 10	REMOVAL OF SMALL BARRIER MOUNTED SIGNS W/ FLAT	PLAT SUPPORTS		
7 10 10.10	REMOVAL OF SMALL BARRIER MOSKIES SIGNS WITEAU			
	Visian Construction Materials III C	30.000 EACH	\$ 50,0000	¢4 500 00
	Vulcan Construction Materials, LLC		\$50.0000	\$1,500.00
	Superior Traffic Control, LLC		\$30.0000	\$900.00 \$1,171.20
	LU, Inc.		\$39.0400	Φ1,171.20
740 45 00	DEMOVE CION CURRORT & FOOTING			
/13-15.30	REMOVE SIGN, SUPPORT & FOOTING			
		10.000 EACH		
	Vulcan Construction Materials, LLC		\$100.0000	\$1,000.00
	Superior Traffic Control, LLC		\$100.0000	\$1,000.00
	LU, Inc.		\$108.4400	\$1,084.40
713-15.37	INSTALLATION OF SIGN MESSAGE(LETTER,#,ARROW,SHI	ELD)		
		10.000 S.F.		
	Vulcan Construction Materials, LLC		\$40.0000	\$400.00
	Superior Traffic Control, LLC		\$47.0000	\$470.00
	LU, Inc.		\$34.7000	\$347.00
713-15.38	EXTRUDED ALUMINUM PANELS FOR OVERLAYING BACK	GROUND		
		23.000 S.F.		
	Vulcan Construction Materials, LLC		\$4.0000	\$92.00
	Superior Traffic Control, LLC		\$4.0000	\$92.00
	LU, Inc.		\$3.2500	\$74.75
713-16.90	RESET GROUND MOUNTED SIGN			
		10.000 EACH		
	Vulcan Construction Materials, LLC		\$225.0000	\$2,250.00
	Superior Traffic Control, LLC		\$300.0000	\$3,000.00
	LU, Inc.		\$1,301.2500	\$13,012.50

CONTRACT C	NU179
------------	-------

		Continut	0. 0
	UN	IT PRICE E	EXTENSION
713-17.02 INSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PANEL			
	35.000 EACH		
Vulcan Construction Materials, LLC	\$	\$45.0000	\$1,575.00
Superior Traffic Control, LLC	\$	60.0000	\$2,100.00
LU, Inc.	\$	\$39.0400	\$1,366.40
713-17.04 INSTALL AUXILIARY SUPPORT ON EXISTING SIGN			
	210.000 L.F.		
Vulcan Construction Materials, LLC		\$5.5000	\$1,155.00
Superior Traffic Control, LLC		\$6.5000	\$1,365.00
LU, Inc.		\$4.7700	\$1,001.70
713-20.30 SIGN ADJUSTMENTS			
	10.000 EACH		
Vulcan Construction Materials, LLC	\$1	125.0000	\$1,250.00
Superior Traffic Control, LLC	\$2	250.0000	\$2,500.00
LU, Inc.	\$1	135.0000	\$1,350.00
713-30.09 BARRIER MOUNTED SIGN SUPPORT			
	1.000 EACH		
Vulcan Construction Materials, LLC		390.0000	\$390.00
Superior Traffic Control, LLC	•	115.0000	\$415.00
LU, Inc.	•	238.5600	\$238.56
•	•		

SUB-TOTAL MAINTENANCE

Vulcan Construction Materials, LLC	\$210,802.40
Superior Traffic Control, LLC	\$214,112.00
LU, Inc.	\$231,314.91

TOTAL CONTRACT

Vulcan Construction Materials, LLC	\$210,802.40
Superior Traffic Control, LLC	\$214,112.00
LU, Inc.	\$231,314.91

BEDFORD AND RUTHERFORD COUNTIES (Contract No. CNU207 Call 004)

STP/HSIP-269(33),02019-3206-94,02019-8206-14,STP/HSIP-269(34),75015-3208-94,75015-8208-14,STP/HSIP-82(6),02011-3224-94,02011-8224-14

THE RESURFACING ON S.R. 269 FROM U.S. 231 (S.R. 10) IN RUTHERFORD COUNTY TO S.R. 82 IN BEDFORD COUNTY AND ON S.R. 82 IN BEDFORD COUNTY FROM U.S. 231 (S.R. 10) TO NEAR HINKLE HILL.

PROJECT LENGTH - 16.560 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 8.00%

	TOTAL CONTRACT
BWI MTN ii Inc. & dba Blue Water Industries	\$2,253,656.98
Hawkins Asphalt Paving, LLC	\$2,315,843.88
Volunteer Paving, LLC	\$2,317,702.53
Wright Paving Contractors, Inc.	\$2,497,069.01
Vulcan Construction Materials, LLC	\$2,583,878.75

UNIT PRICE EXTENSION

ROADWAY CATEGORY

Hawkins Asphalt Paving, LLC Volunteer Paving, LLC Wright Paving Contractors, Inc. Vulcan Construction Materials, LLC MINERAL AGGREGATE, TYPE A BASE, GRADING D BWI MTN ii Inc. & dba Blue Water Industries Hawkins Asphalt Paving, LLC \$500.0000 \$15,450. \$1,227.4700 \$37,928. \$900.0000 \$27,810. \$3,857.000 TON \$19.5000 \$75,211. \$4,496.	08-01.05	BROOMING & DEGRASSING SHOULDERS		
Hawkins Asphalt Paving, LLC \$500,0000 \$15,450. Volunteer Paving, LLC \$500,0000 \$15,450. Volunteer Paving, LLC \$500,0000 \$27,810. \$31,227,4700 \$37,928. Vulcan Construction Materials, LLC \$900,0000 \$27,810. \$27,810. \$20,0000 \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$27,810. \$20,0000 \$20,000		30.9	00 L.M.	
Volunteer Paving, LLC \$500,0000 \$15,450. Wright Paving Contractors, Inc. \$1,227,4700 \$37,928. Vulcan Construction Materials, LLC \$900,0000 \$27,810. 103-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D \$19,5000 \$75,211. BWI MTN ii Inc. & dba Blue Water Industries \$19,5000 \$75,211. Hawkins Asphalt Paving, LLC \$24,5000 \$94,496. Volunteer Paving, LLC \$16,0000 \$67,855. Wright Paving Contractors, Inc. \$22,0300 \$84,966. Vulcan Construction Materials, LLC \$20,0000 \$77,140. 107-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2 \$73,2500 \$104,747. Hawkins Asphalt Paving, LLC \$75,6400 \$108,165. Volunteer Paving, LLC \$75,6400 \$104,747. Hawkins Asphalt Paving, LLC \$75,6400 \$104,747. Vulcan Construction Materials, LLC \$75,6400 \$108,165. Viore Paving, LLC \$68,5000 \$34,250. Volunteer Paving, LLC \$68,5000 \$42,500. Volunteer Paving, LLC \$68,5000		BWI MTN ii Inc. & dba Blue Water Industries	\$905.0000	\$27,964.
Wright Paving Contractors, Inc. \$1,227,4700 \$37,928. Vulcan Construction Materials, LLC \$900,0000 \$27,810. 03-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D 3,857,000 TON \$19,5000 \$75,211. Hawkins Asphalt Paving, LLC \$24,5000 \$94,496. \$04,496. \$24,5000 \$57,855. Wight Paving Contractors, Inc. \$22,0300 \$84,969. \$77,140. \$70,000 \$77,140. 07-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2 \$70,000 \$77,2500 \$104,747. \$70,000 \$77,250. \$104,747. \$71,6500 \$104,747. \$102,459. \$102,459. \$104,747. \$102,459. \$104,747. \$102,459. \$102,459. \$104,747. \$102,459. \$104,747. \$102,459. \$104,747. \$104,		Hawkins Asphalt Paving, LLC	\$500.0000	\$15,450.
Vuican Construction Materials, LLC \$900,0000 \$27,810.		Volunteer Paving, LLC	\$500.0000	\$15,450.
103-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D 3,857.000 TON		Wright Paving Contractors, Inc.	\$1,227.4700	\$37,928.
Section Sect		Vulcan Construction Materials, LLC	\$900.0000	\$27,810.
BWI MTN ii Inc. & dba Blue Water Industries \$19,5000 \$75,211.	03-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
Hawkins Asphalt Paving, LLC \$24,5000 \$94,496. Volunteer Paving, LLC \$15,0000 \$57,855. Wright Paving Contractors, Inc. \$22,0300 \$84,969. Vulcan Construction Materials, LLC \$20,0000 \$77,140.		3,857.0	00 TON	
Volunteer Paving, LLC \$15,0000 \$57,855. Wright Paving Contractors, Inc. \$22,0300 \$84,969. Vulcan Construction Materials, LLC \$20,0000 \$77,140. \$7		BWI MTN ii Inc. & dba Blue Water Industries	\$19.5000	\$75,211.
Wright Paving Contractors, Inc. \$22.0300 \$84,969. Vulcan Construction Materials, LLC \$20.0000 \$77,140. 07-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2 1,430.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$73.2500 \$104,747. Hawkins Asphalt Paving, LLC \$71.6500 \$102,459. Volunteer Paving, LLC \$75.6400 \$108,165. Wright Paving Contractors, Inc. \$90,1800 \$128,957. Vulcan Construction Materials, LLC \$75.0000 \$107,250. O7-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS BWI MTN ii Inc. & dba Blue Water Industries \$68,5000 \$34,250. Hawkins Asphalt Paving, LLC \$85,0000 \$42,500. Volunteer Paving, LLC \$65,0000 \$32,500. Wright Paving Contractors, Inc. \$90.4300 \$45,215. Vulcan Construction Materials, LLC \$80.0000 \$40,000. 90.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$625,0000 \$625,000 BWI MTN ii Inc. & dba Blue Water Industries \$625,0000 \$56,250.<		· · · · · · · · · · · · · · · · · · ·	\$24.5000	\$94,496.
Vuican Construction Materials, LLC \$20.0000 \$77,140.		-	·	\$57,855.
1,430,000 TON SAPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2 1,430,000 TON		· · · · · · · · · · · · · · · · · · ·	•	
1,430.000 TON		Vulcan Construction Materials, LLC	\$20.0000	\$77,140.
BWI MTN ii Inc. & dba Blue Water Industries \$73.2500 \$104,747. Hawkins Asphalt Paving, LLC \$71.6500 \$102,459. Volunteer Paving, LLC \$75.6400 \$108,165. Wright Paving Contractors, Inc. \$90.1800 \$128,957. Vulcan Construction Materials, LLC \$75.0000 \$107,250. 07-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS 500.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$68.5000 \$34,250. Hawkins Asphalt Paving, LLC \$85.0000 \$32,500. Wright Paving Contractors, Inc. \$90.4300 \$45,215. Vulcan Construction Materials, LLC \$80.0000 \$40,000. 03-01 BITUMINOUS MATERIAL FOR TACK COAT (TC) BWI MTN ii Inc. & dba Blue Water Industries \$625.0000 \$56,250. Hawkins Asphalt Paving, LLC \$61.0000 \$55,647. Volunteer Paving, LLC \$679,7200 \$61,174. Wright Paving Contractors, Inc. \$679,7200 \$56,119.	07-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
Hawkins Asphalt Paving, LLC Volunteer Paving, LLC Wright Paving Contractors, Inc. Vulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries Hawkins Asphalt Paving Contractors, Inc. Vulcan Construction Materials, LLC 500.000 TON BWI MTN ii Inc. & dba Blue Water Industries Hawkins Asphalt Paving, LLC Wright Paving Contractors, Inc. Vulcan Construction Materials, LLC BITUMINOUS MATERIAL FOR TACK COAT (TC) BWI MTN ii Inc. & dba Blue Water Industries BWI MTN ii Inc. & dba Blue Water Industries BWI MTN ii Inc. & dba Blue Water Industries BWI MTN ii Inc. & dba Blue Water Industries BWI MTN ii Inc. & dba Blue Water Industries BWI MTN ii Inc. & dba Blue Water Industries Hawkins Asphalt Paving, LLC Volunteer Paving, LLC Volunteer Paving, LLC Wright Paving Contractors, Inc.		1,430.0	00 TON	
Volunteer Paving, LLC \$75.6400 \$108,165. Wright Paving Contractors, Inc. \$90.1800 \$128,957. Vulcan Construction Materials, LLC \$75.0000 \$107,250.		BWI MTN ii Inc. & dba Blue Water Industries	\$73.2500	\$104,747
Wright Paving Contractors, Inc. \$90.1800 \$128,957. Vulcan Construction Materials, LLC \$75,0000 \$107,250. 07-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS 500.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$68,5000 \$34,250. Hawkins Asphalt Paving, LLC \$85,0000 \$42,500. Volunteer Paving, LLC \$65,0000 \$32,500. Wright Paving Contractors, Inc. \$90,4300 \$45,215. Vulcan Construction Materials, LLC \$80,0000 \$40,000. 03-01 BITUMINOUS MATERIAL FOR TACK COAT (TC) 90.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$625,0000 \$56,250. Hawkins Asphalt Paving, LLC \$618,3100 \$55,647. Volunteer Paving, LLC \$679,7200 \$61,174. Wright Paving Contractors, Inc. \$623,5500 \$56,119.		Hawkins Asphalt Paving, LLC	\$71.6500	\$102,459.
Vulcan Construction Materials, LLC \$75,000 \$107,250. 507-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS 500.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$68,5000 \$34,250. Hawkins Asphalt Paving, LLC \$65,0000 \$42,500. Volunteer Paving, LLC \$65,0000 \$32,500. Wright Paving Contractors, Inc. \$90,4300 \$45,215. Vulcan Construction Materials, LLC \$80,0000 \$40,000. 03-01 BITUMINOUS MATERIAL FOR TACK COAT (TC) 90.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$625,0000 \$56,250. Hawkins Asphalt Paving, LLC \$618,3100 \$55,647. Volunteer Paving, LLC \$679,7200 \$61,174. Wright Paving Contractors, Inc. \$623,5500 \$56,119.		-	\$75.6400	
D7-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS S00.000 TON		· · · · · · · · · · · · · · · · · · ·	\$90.1800	
### Standard Contractors		Vulcan Construction Materials, LLC	\$75.0000	\$107,250
BWI MTN ii Inc. & dba Blue Water Industries \$68.5000 \$34,250. Hawkins Asphalt Paving, LLC \$85.0000 \$42,500. Volunteer Paving, LLC \$65.0000 \$32,500. Wright Paving Contractors, Inc. \$90.4300 \$45,215. Vulcan Construction Materials, LLC \$80.0000 \$40,000. BITUMINOUS MATERIAL FOR TACK COAT (TC) BWI MTN ii Inc. & dba Blue Water Industries \$625.0000 \$56,250. Hawkins Asphalt Paving, LLC \$618.3100 \$55,647. Volunteer Paving, LLC \$679.7200 \$61,174. Wright Paving Contractors, Inc. \$623.5500 \$56,119.	07-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS		
Hawkins Asphalt Paving, LLC Volunteer Paving, LLC Volunteer Paving, LLC Wright Paving Contractors, Inc. Vulcan Construction Materials, LLC BITUMINOUS MATERIAL FOR TACK COAT (TC) BWI MTN ii Inc. & dba Blue Water Industries Hawkins Asphalt Paving, LLC Volunteer Paving, LLC Volunteer Paving, LLC Wright Paving Contractors, Inc. \$85.0000 \$32,500. \$44,200. \$90.4300 \$90.4300 \$44,200. \$80.0000 \$40,000. \$90.000 TON \$625.0000 \$56,250. \$618.3100 \$55,647. \$679.7200 \$61,174. \$679.7200 \$61,174. \$623.5500 \$56,119.		500.0	00 TON	
Volunteer Paving, LLC \$65.0000 \$32,500. Wright Paving Contractors, Inc. \$90.4300 \$45,215. Vulcan Construction Materials, LLC \$80.0000 \$40,000. BITUMINOUS MATERIAL FOR TACK COAT (TC) 90.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$625.0000 \$56,250. Hawkins Asphalt Paving, LLC \$618.3100 \$55,647. Volunteer Paving, LLC \$679,7200 \$61,174. Wright Paving Contractors, Inc.			\$68.5000	
Wright Paving Contractors, Inc. \$90.4300 \$45,215. Vulcan Construction Materials, LLC \$80.0000 \$40,000. BITUMINOUS MATERIAL FOR TACK COAT (TC) 90.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$625.0000 \$56,250. Hawkins Asphalt Paving, LLC \$618.3100 \$55,647. Volunteer Paving, LLC \$679.7200 \$61,174. Wright Paving Contractors, Inc.		Hawkins Asphalt Paving, LLC	\$85.0000	
Vulcan Construction Materials, LLC \$80.0000 \$40,000. 03-01 BITUMINOUS MATERIAL FOR TACK COAT (TC) 90.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$625.0000 \$56,250. Hawkins Asphalt Paving, LLC \$618.3100 \$55,647. Volunteer Paving, LLC \$679.7200 \$61,174. Wright Paving Contractors, Inc. \$623.5500 \$56,119.		-		
03-01 BITUMINOUS MATERIAL FOR TACK COAT (TC) 90.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$625.0000 \$56,250. Hawkins Asphalt Paving, LLC \$618.3100 \$55,647. Volunteer Paving, LLC \$679.7200 \$61,174. Wright Paving Contractors, Inc. \$623.5500 \$56,119.		· · · · · · · · · · · · · · · · · · ·		
90.000 TON BWI MTN ii Inc. & dba Blue Water Industries \$625.0000 \$56,250. Hawkins Asphalt Paving, LLC \$618.3100 \$55,647. Volunteer Paving, LLC \$679.7200 \$61,174. Wright Paving Contractors, Inc. \$623.5500 \$56,119.		Vulcan Construction Materials, LLC	\$80.0000	\$40,000.
BWI MTN ii Inc. & dba Blue Water Industries \$625.0000 \$56,250. Hawkins Asphalt Paving, LLC \$618.3100 \$55,647. Volunteer Paving, LLC \$679.7200 \$61,174. Wright Paving Contractors, Inc. \$623.5500 \$56,119.	03-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
Hawkins Asphalt Paving, LLC \$618.3100 \$55,647. Volunteer Paving, LLC \$679.7200 \$61,174. Wright Paving Contractors, Inc. \$623.5500 \$56,119.				
Volunteer Paving, LLC \$679.7200 \$61,174. Wright Paving Contractors, Inc. \$623.5500 \$56,119.				
Wright Paving Contractors, Inc. \$623.5500 \$56,119.		· · · · · · · · · · · · · · · · · · ·		
		-	·	

411-01.10 ACS MIX(PG64-22) GRADING D

17,094.000 TON			
BWI MTN ii Inc. & dba Blue Water Industries	\$77.4200	\$1,323,417.48	
Hawkins Asphalt Paving, LLC	\$79.8800	\$1,365,468.72	
Volunteer Paving, LLC	\$75.4200	\$1,289,229.48	
Wright Paving Contractors, Inc.	\$85.9700	\$1,469,571.18	
Vulcan Construction Materials, LLC	\$90.5000	\$1,547,007.00	

	UNIT PRICE	EXTENSION
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
25.300	L.M.	
BWI MTN ii Inc. & dba Blue Water Industries	\$450.0000	\$11,385.00
Hawkins Asphalt Paving, LLC	\$450.0000	\$11,385.00
Volunteer Paving, LLC	\$600.0000	\$15,180.00
Wright Paving Contractors, Inc.	\$619.1200	\$15,663.74
Vulcan Construction Materials, LLC	\$450.0000	\$11,385.00
415-01.02 COLD PLANING BITUMINOUS PAVEMENT		
21,370.000	S.Y.	
BWI MTN ii Inc. & dba Blue Water Industries	\$1.0000	\$21,370.00
Hawkins Asphalt Paving, LLC	\$1.5500	\$33,123.50
Volunteer Paving, LLC	\$3.2000	\$68,384.00
Wright Paving Contractors, Inc.	\$2.0900	\$44,663.30
Vulcan Construction Materials, LLC	\$2.0000	\$42,740.00
611-09.01 ADJUSTMENT OF EXISTING CATCHBASIN		
8.000	EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$750.0000	\$6,000.00
Hawkins Asphalt Paving, LLC	\$500.0000	\$4,000.00
Volunteer Paving, LLC	\$1,000.0000	\$8,000.00
Wright Paving Contractors, Inc.	\$959.5000	\$7,676.00
Vulcan Construction Materials, LLC	\$950.0000	\$7,600.00
701-02.01 CONCRETE CURB RAMP (RETROFIT)		
2,470.000	S.F.	
BWI MTN ii Inc. & dba Blue Water Industries	\$30.0000	\$74,100.00
Hawkins Asphalt Paving, LLC	\$25.0000	\$61,750.00
Volunteer Paving, LLC	\$35.0000	\$86,450.00
Wright Paving Contractors, Inc.	\$31.4100	\$77,582.70
Vulcan Construction Materials, LLC	\$31.1000	\$76,817.00
705-02.10 GUARDRAIL TRANSITION 27IN TO 31IN		
17.000	EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$100.0000	\$1,700.00
Hawkins Asphalt Paving, LLC	\$100.0000	\$1,700.00
Volunteer Paving, LLC	\$75.0000	\$1,275.00
Wright Paving Contractors, Inc.	\$75.7500	\$1,287.75
Vulcan Construction Materials, LLC	\$100.0000	\$1,700.00
705-06.11 GR TERMINAL (IN-INLINE) MASH TL3		
6.000	EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$900.0000	\$5,400.00
Hawkins Asphalt Paving, LLC	\$900.0000	\$5,400.00
Volunteer Paving, LLC	\$875.0000	\$5,250.00
Wright Paving Contractors, Inc.	\$757.5000	\$4,545.00
Vulcan Construction Materials, LLC	\$900.0000	\$5,400.00
, -	• • • • • • • • • • • • • • • • • • • •	. ,

			UNIT PRICE	EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		24.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$2,350.0000	\$56,400.00
	Hawkins Asphalt Paving, LLC		\$2,350.0000	\$56,400.00
	Volunteer Paving, LLC		\$2,500.0000	\$60,000.00
	Wright Paving Contractors, Inc.		\$2,727.0000	\$65,448.00
	Vulcan Construction Materials, LLC		\$2,350.0000	\$56,400.00
706-01	GUARDRAIL REMOVED			
		1,125.000 L.F.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$1.0000	\$1,125.00
	Hawkins Asphalt Paving, LLC		\$1.0000	\$1,125.00
	Volunteer Paving, LLC		\$1.5000	\$1,687.50
	Wright Paving Contractors, Inc.		\$0.5100	\$573.75
	Vulcan Construction Materials, LLC		\$1.0000	\$1,125.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	BWI MTN ii Inc. & dba Blue Water Industries		\$50,820.0000	\$50,820.00
	Hawkins Asphalt Paving, LLC		\$30,750.0000	\$30,750.00
	Volunteer Paving, LLC		\$40,250.0000	\$40,250.00
	Wright Paving Contractors, Inc.		\$48,013.0000	\$48,013.00
	Vulcan Construction Materials, LLC		\$75,500.0000	\$75,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	,	194.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$5,0000	\$970.00
	Hawkins Asphalt Paving, LLC		\$5.0000	\$970.00
	Volunteer Paving, LLC		\$25.0000	\$4,850.00
	Wright Paving Contractors, Inc.		\$5.0500	\$979.70
	Vulcan Construction Materials, LLC		\$32.0000	\$6,208.00
712.05.01	WADNING LIGHTS (TYPE A)			
712-05.01	WARNING LIGHTS (TYPE A)	4.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$2.0000	\$8.00
	Hawkins Asphalt Paving, LLC		\$2.0000	\$8.00
	Volunteer Paving, LLC		\$10.0000	\$40.00
	Wright Paving Contractors, Inc.		\$2.0200	\$8.08
	Vulcan Construction Materials, LLC		\$20.0000	\$80.00
712-06	SIGNS (CONSTRUCTION)			
7 12-00	Siene (Sonoritorion)	4,155.000 S.F.		
	BWI MTN ii Inc. & dba Blue Water Industries	·,····································	\$6.0000	\$24,930.00
	Hawkins Asphalt Paving, LLC		\$6.0000	\$24,930.00
	Volunteer Paving, LLC		\$7.5000	\$31,162.50
	Wright Paving Contractors, Inc.		\$6.0600	\$25,179.30
	Vulcan Construction Materials, LLC		\$9.2500	\$38,433.75
			,	÷ ,

		UNIT PRICE	EXTENSION
712-08.03 ARROW BOARD (TYPE C)			
, ,	4.000 EACH		
BWI MTN ii Inc. & dba Blue Water Industries		\$200.0000	\$800.00
Hawkins Asphalt Paving, LLC		\$200.0000	\$800.00
Volunteer Paving, LLC		\$250.0000	\$1,000.00
Wright Paving Contractors, Inc.		\$202.0000	\$808.00
Vulcan Construction Materials, LLC		\$750.0000	\$3,000.00
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	1.000 LS		
BWI MTN ii Inc. & dba Blue Water Industries		\$300.0000	\$300.00
Hawkins Asphalt Paving, LLC		\$300.0000	\$300.00
Volunteer Paving, LLC		\$450.0000	\$450.00
Wright Paving Contractors, Inc.		\$303.0000	\$303.00
Vulcan Construction Materials, LLC		\$2,000.0000	\$2,000.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
	2.000 EACH		
BWI MTN ii Inc. & dba Blue Water Industries		\$4,850.0000	\$9,700.00
Hawkins Asphalt Paving, LLC		\$4,850.0000	\$9,700.00
Volunteer Paving, LLC		\$6,500.0000	\$13,000.00
Wright Paving Contractors, Inc.		\$4,000.0000	\$8,000.00
Vulcan Construction Materials, LLC		\$6,500.0000	\$13,000.00
713-16.09 RAILROAD ADVANCE WARNING SIGN AND SUPPORT			
	3.000 EACH		
BWI MTN ii Inc. & dba Blue Water Industries		\$265.0000	\$795.00
Hawkins Asphalt Paving, LLC		\$265.0000	\$795.00
Volunteer Paving, LLC		\$300.0000	\$900.00
Wright Paving Contractors, Inc.		\$267.6500	\$802.95
Vulcan Construction Materials, LLC		\$200.0000	\$600.00
713-16.20 SIGNS (TYPE 3 OBJECT MARKER OM3-R)			
	24.000 EACH		
BWI MTN ii Inc. & dba Blue Water Industries		\$180.0000	\$4,320.00
Hawkins Asphalt Paving, LLC		\$180.0000	\$4,320.00
Volunteer Paving, LLC		\$200.0000	\$4,800.00
Wright Paving Contractors, Inc.		\$181.8000	\$4,363.20
Vulcan Construction Materials, LLC		\$200.0000	\$4,800.00
713-16.21 SIGNS (TYPE 3 OBJECT MARKER OM3-L)			
	24.000 EACH		
BWI MTN ii Inc. & dba Blue Water Industries		\$180.0000	\$4,320.00
Hawkins Asphalt Paving, LLC		\$180.0000	\$4,320.00
Volunteer Paving, LLC		\$200.0000	\$4,800.00
Wright Paving Contractors, Inc.		\$181.8000	\$4,363.20
Vulcan Construction Materials, LLC		\$200.0000	\$4,800.00

	UNIT PRICE	EXTENSION
713-16.22 SIGNS (W3-1, STOP AHEAD, 36"x36")		
	1.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$225.0000	\$225.00
Hawkins Asphalt Paving, LLC	\$225.0000	\$225.00
Volunteer Paving, LLC	\$200.0000	\$200.00
Wright Paving Contractors, Inc.	\$227.2500	\$227.25
Vulcan Construction Materials, LLC	\$200.0000	\$200.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
	0.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$25.0000	\$26,500.00
Hawkins Asphalt Paving, LLC	\$30.0000	\$31,800.00
Volunteer Paving, LLC	\$24.0000	\$25,440.00
Wright Paving Contractors, Inc.	\$25.2500	\$26,765.00
Vulcan Construction Materials, LLC	\$30.0000	\$31,800.00
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLO	PR)	
	5.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$25.0000	\$125.00
Hawkins Asphalt Paving, LLC	\$30.0000	\$150.00
Volunteer Paving, LLC	\$24.0000	\$120.00
Wright Paving Contractors, Inc.	\$25.2500	\$126.25
Vulcan Construction Materials, LLC	\$30.0000	\$150.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
430	0.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$8.0000	\$3,440.00
Hawkins Asphalt Paving, LLC	\$10.0000	\$4,300.00
Volunteer Paving, LLC	\$8.0000	\$3,440.00
Wright Paving Contractors, Inc.	\$8.0800	\$3,474.40
Vulcan Construction Materials, LLC	\$10.0000	\$4,300.00
716-02.03 PLASTIC PAVEMENT MARKING (CROSS-WALK)		
144	4.000 L.F.	
BWI MTN ii Inc. & dba Blue Water Industries	\$12.0000	\$1,728.00
Hawkins Asphalt Paving, LLC	\$6.0000	\$864.00
Volunteer Paving, LLC	\$8.0000	\$1,152.00
Wright Paving Contractors, Inc.	\$12.1200	\$1,745.28
Vulcan Construction Materials, LLC	\$12.0000	\$1,728.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	3.000 L.F.	
BWI MTN ii Inc. & dba Blue Water Industries	\$15.0000	\$6,795.00
Hawkins Asphalt Paving, LLC	\$15.0000	\$6,795.00
Volunteer Paving, LLC	\$10.0000	\$4,530.00
Wright Paving Contractors, Inc.	\$15.1500	\$6,862.95
Vulcan Construction Materials, LLC	\$15.0000	\$6,795.00

		0011110101 0110201
	UNIT F	PRICE EXTENSION
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
	1.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$150.	.0000 \$150.00
Hawkins Asphalt Paving, LLC	\$200.	.0000 \$200.00
Volunteer Paving, LLC	\$150.	.0000 \$150.00
Wright Paving Contractors, Inc.	\$151.	.5000 \$151.50
Vulcan Construction Materials, LLC	\$150.	.0000 \$150.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
	77.000 L.F.	
BWI MTN ii Inc. & dba Blue Water Industries	\$30.	.0000 \$2,310.00
Hawkins Asphalt Paving, LLC	\$30.	.0000 \$2,310.00
Volunteer Paving, LLC	\$30.	.0000 \$2,310.00
Wright Paving Contractors, Inc.	\$30.	.3000 \$2,333.10
Vulcan Construction Materials, LLC	\$30.	.0000 \$2,310.00
716-03.02 PLASTIC WORD PAVEMENT MARKING (RXR)		
The solid it is the manufacture (county)	4.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$750.	.0000 \$3,000.00
Hawkins Asphalt Paving, LLC	\$500.	.0000 \$2,000.00
Volunteer Paving, LLC	•	.0000 \$1,000.00
Wright Paving Contractors, Inc.	•	.5000 \$3,030.00
Vulcan Construction Materials, LLC	\$750.	
	ψ, σσ.	ψο,σοσιος
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)		
	2.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$700.	.0000 \$1,400.00
Hawkins Asphalt Paving, LLC	\$600.	.0000 \$1,200.00
Volunteer Paving, LLC	\$450.	.0000 \$900.00
Wright Paving Contractors, Inc.	\$707.	.0000 \$1,414.00
Vulcan Construction Materials, LLC	\$700.	.0000 \$1,400.00
716-03.10 PLASTIC WORD PAVEMENT MARKING (15 MPH)		
	6.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$450.	.0000 \$2,700.00
Hawkins Asphalt Paving, LLC	\$400.	.0000 \$2,400.00
Volunteer Paving, LLC	\$500.	.0000 \$3,000.00
Wright Paving Contractors, Inc.	\$454.	.5000 \$2,727.00
Vulcan Construction Materials, LLC	\$450.	.0000 \$2,700.00
716-04.16 PLASTIC PAVEMENT MARKING (NOISE STRIP)		
,,	100.000 L.F.	
BWI MTN ii Inc. & dba Blue Water Industries	\$20.	.0000 \$2,000.00
Hawkins Asphalt Paving, LLC	\$15.	.0000 \$1,500.00
Volunteer Paving, LLC	•	.0000 \$1,000.00
Wright Paving Contractors, Inc.	·	.2000 \$2,020.00
Vulcan Construction Materials, LLC	·	.0000 \$2,000.00
	Ψ20.	,000.00

			CC	DNIKACI CNUZU
			UNIT PRICE	EXTENSION
716-05.2	0 PAINTED PAVEMENT MARKING (6" LINE)			
		8.000 L.M.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$900.0000	\$7,200.00
	Hawkins Asphalt Paving, LLC		\$1,000.0000	\$8,000.00
	Volunteer Paving, LLC		\$500.0000	\$4,000.00
	Wright Paving Contractors, Inc.		\$909.0000	\$7,272.00
	Vulcan Construction Materials, LLC		\$900.0000	\$7,200.00
716-12.0	2 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		57.500 L.M.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$4,600.0000	\$264,500.00
	Hawkins Asphalt Paving, LLC		\$4,800.0000	\$276,000.00
	Volunteer Paving, LLC		\$4,000.0000	\$230,000.00
	Wright Paving Contractors, Inc.		\$4,646.0000	\$267,145.00
	Vulcan Construction Materials, LLC		\$4,600.0000	\$264,500.00
716-12.0	5 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTT	ED LINE)		
		150.000 L.F.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$2.0000	\$300.00
	Hawkins Asphalt Paving, LLC		\$2.0000	\$300.00
	Volunteer Paving, LLC		\$1.5000	\$225.00
	Wright Paving Contractors, Inc.		\$2.0200	\$303.00
	Vulcan Construction Materials, LLC		\$2.0000	\$300.00
717-01	MOBILIZATION			
		1.000 LS		
	BWI MTN ii Inc. & dba Blue Water Industries		\$35,000.0000	\$35,000.00
	Hawkins Asphalt Paving, LLC		\$50,000.7600	\$50,000.76
	Volunteer Paving, LLC		\$128,382.0500	\$128,382.05
	Wright Paving Contractors, Inc.		\$38,450.0000	\$38,450.00
	Vulcan Construction Materials, LLC		\$42,000.0000	\$42,000.00

SUB-TOTAL ROADWAY

BWI MTN ii Inc. & dba Blue Water Industries	\$2,253,656.98
Hawkins Asphalt Paving, LLC	\$2,315,843.88
Volunteer Paving, LLC	\$2,317,702.53
Wright Paving Contractors, Inc.	\$2,497,069.01
Vulcan Construction Materials, LLC	\$2,583,878.75

TOTAL CONTRACT

BWI MTN ii Inc. & dba Blue Water Industries	\$2,253,656.98
Hawkins Asphalt Paving, LLC	\$2,315,843.88
Volunteer Paving, LLC	\$2,317,702.53
Wright Paving Contractors, Inc.	\$2,497,069.01
Vulcan Construction Materials, LLC	\$2,583,878.75

BENTON COUNTY (Contract No. CNU165 Call 005)

HSIP-147(10),03040-3218-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 147 FROM EAST OF LICK CREEK ROAD NEAR LINDSEY CEMETERY (L.M. 1.40) TO NEAR SUGAR CREEK CULVERT (L.M. 4.00).

PROJECT LENGTH - 2.600 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2021

TOTAL CONTRACT

Superior Traffic Control, LLC

\$107,928.90

LU, Inc.

\$109,074.25

CONTRACT	CNU165
EXTE	ENSION

		UNIT PRICE

ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Superior Traffic Control, LLC LU, Inc.	8.000 EACH	\$595.0000 \$1,100.0000	\$4,760.00 \$8,800.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
	Superior Traffic Control, LLC LU, Inc.	800.000 L.F.	\$2.8500 \$3.8200	\$2,280.00 \$3,056.00
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
	Superior Traffic Control, LLC LU, Inc.	400.000 L.F.	\$18.7500 \$19.5000	\$7,500.00 \$7,800.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Superior Traffic Control, LLC LU, Inc.	8.000 EACH	\$2,475.0000 \$2,700.0000	\$19,800.00 \$21,600.00
712-01	TRAFFIC CONTROL			
	Superior Traffic Control, LLC LU, Inc.	1.000 LS	\$4,500.0000 \$4,500.0000	\$4,500.00 \$4,500.00
713-02.20	ROADSIDE OBSTACLE DELINEATION			
	Superior Traffic Control, LLC LU, Inc.	48.000 S.F.	\$16.5000 \$13.0100	\$792.00 \$624.48
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
	Superior Traffic Control, LLC LU, Inc.	288.000 L.F.	\$5.6500 \$5.4200	\$1,627.20 \$1,560.96
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
	Superior Traffic Control, LLC LU, Inc.	1,424.000 LB.	\$3.5500 \$3.9300	\$5,055.20 \$5,596.32
713-11.21	P POST SLIP BASE			
	Superior Traffic Control, LLC LU, Inc.	4.000 EACH	\$335.0000 \$396.1900	\$1,340.00 \$1,584.76
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	Superior Traffic Control, LLC LU, Inc.	283.000 S.F.	\$13.5000 \$12.4700	\$3,820.50 \$3,529.01

			CONTRACT CNU165
		UNIT PRICE	EXTENSION
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	116.000 S.F.		
Superior Traffic Control, LLC		\$14.0000	\$1,624.00
LU, Inc.		\$13.2700	\$1,539.32
713-15.36 REMOVE SIGN, SUPPORT & FOOTING			
	14.000 EACH		
Superior Traffic Control, LLC		\$15.0000	\$210.00
LU, Inc.		\$29.5000	\$413.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO	PLOR)		
	224.000 EACH		
Superior Traffic Control, LLC		\$30.0000	\$6,720.00
LU, Inc.		\$28.3500	\$6,350.40
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
	20.000 L.F.		
Superior Traffic Control, LLC		\$20.0000	\$400.00
LU, Inc.		\$15.7500	\$315.00
74C 42 C2 ENITANCED ELATTINE TUEDMO DVMT MDVNC (CINTINE)			
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	44 000 15		
0	11.000 L.M.	# 4.000.0055	0.11.000.55
Superior Traffic Control, LLC		\$4,000.0000	\$44,000.00
LU, Inc.		\$3,255.0000	\$35,805.00

1.000 LS

717-01

MOBILIZATION

Superior Traffic Control, LLC LU, Inc.

\$3,500.00 \$6,000.00

\$3,500.0000 \$6,000.0000

SUB-TOTAL ROADWAY

 Superior Traffic Control, LLC
 \$107,928.90

 LU, Inc.
 \$109,074.25

TOTAL CONTRACT

 Superior Traffic Control, LLC
 \$107,928.90

 LU, Inc.
 \$109,074.25

COUNTIES BENTON, CARROLL, CHESTER, CROCKETT, DECATUR, DYER, FAYETTE, GIBSON, HARDEMAN, HARDIN, HAYWOOD, HENDERSON, HENRY, LAKE, LAUDERDALE, MADISON, MCNAIRY, OBION, SHELBY, TIPTON, AND WEAKLEY (Contract No. CNU180 Call 006)

98400-4150-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2021

TOTAL CONTRACT

Superior Traffic Control, LLC

\$179,701.50

LU, Inc.

\$209,758.49

			UNIT PRICE	CONTRACT CNU180 EXTENSION
MAINTEN	NANCE CATEGORY		OIIII I IIIOE	
712-01.02	LANE CLOSURE			
		2.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$250.0000 \$173.5000	\$500.00 \$347.00
712-01.03	LANE CLOSURE(NIGHT WORK)			
	Superior Traffic Control, LLC LU, Inc.	20.000 EACH	\$950.0000 \$1,188.0000	\$19,000.00 \$23,760.00
712-08.03	ARROW BOARD (TYPE C)			
	Superior Traffic Control, LLC	12.000 EACH	\$525.0000	\$6,300.00
	LU, Inc.		\$563.8800	\$6,766.56
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE	BOARD 10.000 DAY		
	Superior Traffic Control, LLC	10.000 DAY	\$975.0000	\$9,750.00
	LU, Inc.		\$1,080.0000	\$10,800.00
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIG	N SUPPORTS) 3.000 C.Y.		
	Superior Traffic Control, LLC	3.000 C.1.	\$680.0000	\$2,040.00
	LU, Inc.		\$563.8800	\$1,691.64
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION	·		
	Superior Traffic Control, LLC	1,000.000 LB.	\$3.0000	\$3,000.00
	LU, Inc.		\$2.7300	\$2,730.00
713-04.02	STEEL I-BEAMS & W-F BEAMS FOR SIGN SUF	PPORTS 2,000.000 LB.		
	Superior Traffic Control, LLC	2,000.000 LB.	\$4.1500	\$8,300.00
	LU, Inc.		\$4.5900	\$9,180.00
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY)	SIGN SUPPORT 3,000.000 LB.		
	Superior Traffic Control, LLC	3,000.000 EB.	\$4.1500	\$12,450.00
	LU, Inc.		\$4.5900	\$13,770.00
713-11.01	"U" SECTION STEEL POSTS	30.000 LB.		
	Superior Traffic Control, LLC	55.550 LD.	\$4.0000	\$120.00
	LU, Inc.		\$4.3400	\$130.20
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE PO	9ST 40.000 LB.		
	Superior Traffic Control, LLC	70.000 LD.	\$4.5000	\$180.00
	LU. Inc.		\$3,4700	\$138.80

LU, Inc.

\$3.4700

			CONTRACT CNU180
		UNIT PRICE	EXTENSION
713-13 02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
713-13.02		0.000 S.F.	
	Superior Traffic Control, LLC	\$13.6500	\$136.50
	LU, Inc.	\$12.1500	\$121.50
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
	5	60.000 S.F.	
	Superior Traffic Control, LLC	\$14.1500	\$707.50
	LU, Inc.	\$13.0100	\$650.50
713-13.12	FLAT SHEET ALUM SIGNS OVERLAY (0.080" THICK)		
		0.000 S.F.	
	Superior Traffic Control, LLC LU, Inc.	\$18.3500 \$16.0500	\$5,505.00 \$4,815.00
	20, 110.	Ψ10.3333	ψ1,010.00
713-13.14	FLORESCENT YELLOW SIGN SHEETING		
		'5.000 S.F. \$4.0000	\$300.00
	Superior Traffic Control, LLC LU, Inc.	\$3.7700	\$300.00 \$282.75
713-14	EXTRUDED ALUMINUM PANEL SIGNS	00 000 S E	
	Superior Traffic Control, LLC	0.000 S.F. \$22.5000	\$90,000.00
	LU, Inc.	\$24.8400	\$99,360.00
713-15 01	REMOVAL OF EXISTING SIGN POST		
713-13.01		5.000 EACH	
	Superior Traffic Control, LLC	\$50.0000	\$750.00
	LU, Inc.	\$56.3900	\$845.85
713-15.03	REMOVAL OF LARGER BARRIER MOUNTED SIGNS WITH SADDLE SU	JPPORTS	
	3	0.000 EACH	
	Superior Traffic Control, LLC	\$55.0000	\$1,650.00
	LU, Inc.	\$65.0600	\$1,951.80
713-15.10	REMOVAL OF SMALL BARRIER MOUNTED SIGNS W/ FLAT PLAT SUF	PORTS	
		0.000 EACH	
	Superior Traffic Control, LLC LU, Inc.	\$25.0000 \$56.3900	\$750.00 \$1,691.70
		4000000	ψ 1,00 · 11 0
713-15.36	REMOVE SIGN, SUPPORT & FOOTING		
	Superior Traffic Control, LLC	6.000 EACH \$225.0000	\$1,350.00
	LU, Inc.	\$225.0000 \$216.8800	\$1,301.28
713-16.90	RESET GROUND MOUNTED SIGN		

10.000 EACH

Superior Traffic Control, LLC

LU, Inc.

\$2,500.00

\$13,012.50

\$250.0000

\$1,301.2500

		CONTRACT CNU180
	UNIT PRIC	EXTENSION
713-17.02 INSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PANEL		
	12.000 EACH	
Superior Traffic Control, LLC	\$85.0000	\$1,020.00
LU, Inc.	\$78.0800	\$936.96
713-17.04 INSTALL AUXILIARY SUPPORT ON EXISTING SIGN		
	60.000 L.F.	
Superior Traffic Control, LLC	\$8.0000	\$480.00
LU, Inc.	\$6.0700	\$364.20
713-20.30 SIGN ADJUSTMENTS		
	50.000 EACH	

Superior Traffic Control, LLC LU, Inc.		\$250.0000 \$297.0000	\$12,500.00 \$14,850.00
713-30.08 BARRIER MOUNTED PERFORATED/KNOCKOUT SIGN SUPPORT	75.000 LB.		

Superior Traffic Control, LLC	\$5.5000	\$412.50
LU, Inc.	\$3.4700	\$260.25

SUB-TOTAL MAINTENANCE

Superior Traffic Control, LLC	\$179,701.50
LU, Inc.	\$209,758.49

TOTAL CONTRACT

 Superior Traffic Control, LLC
 \$179,701.50

 LU, Inc.
 \$209,758.49

COUNTIES BLEDSOE, BRADLEY, CANNON, CLAY, COFFEE, CUMBERLAND, DEKALB, FENTRESS, FRANKLIN, GRUNDY, HAMILTON, JACKSON, MARION, MCMINN, MEIGS, OVERTON, PICKETT, POLK, PUTNAM, RHEA, SEQUATCHIE, VAN BUREN, WARREN, AND WHITE (Contract No. CNU178 Call 007)

98200-4145-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2021

TOTAL CONTRACT

Superior Traffic Control, LLC

\$183,685.00

LU, Inc.

\$207,832.94

			UNIT PRICE	CONTRACT CNU178 EXTENSION
MAINTEN	NANCE CATEGORY			
712-01.02	LANE CLOSURE			
		15.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$800.0000 \$170.8000	\$12,000.00 \$2,562.00
712-01.03	LANE CLOSURE(NIGHT WORK)			
	, , , ,	4.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$900.0000 \$1,210.0000	\$3,600.00 \$4,840.00
712-08.03	ARROW BOARD (TYPE C)			
		7.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$500.0000 \$555.1000	\$3,500.00 \$3,885.70
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD)		
		24.000 DAY		
	Superior Traffic Control, LLC LU, Inc.		\$950.0000 \$1,100.0000	\$22,800.00 \$26,400.00
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUPP	PORTS)		
		9.000 C.Y.		
	Superior Traffic Control, LLC LU, Inc.		\$655.0000 \$555.1000	\$5,895.00 \$4,995.90
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR SIG	GN SUPPORTS)		
		2,400.000 LB.		
	Superior Traffic Control, LLC LU, Inc.		\$2.8500 \$2.6900	\$6,840.00 \$6,456.00
713-04.02	STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPPORTS			
		3,000.000 LB.		
	Superior Traffic Control, LLC LU, Inc.		\$4.0000 \$4.6800	\$12,000.00 \$14,040.00
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN S	UPPORT		
		12,500.000 LB.		
	Superior Traffic Control, LLC LU, Inc.		\$4.0000 \$4.6800	\$50,000.00 \$58,500.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		23.000 LB.		
	Superior Traffic Control, LLC LU, Inc.		\$3.5000 \$3.4200	\$80.50 \$78.66
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		30.000 S.F.		#

Superior Traffic Control, LLC

LU, Inc.

\$390.00

\$13.0000

\$11.9600

CONTRACT	CNU178
----------	--------

			CO	NIRACI CNU1/8
			UNIT PRICE	EXTENSION
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		20.000 S.F.		
	Superior Traffic Control, LLC LU, Inc.		\$13.8500 \$12.8100	\$277.00 \$256.20
713-13.14	FLORESCENT YELLOW SIGN SHEETING			
		200.000 S.F.		
	Superior Traffic Control, LLC LU, Inc.		\$3.5000 \$3.7100	\$700.00 \$742.00
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		2,600.000 S.F.		
	Superior Traffic Control, LLC LU, Inc.		\$21.5000 \$24.2000	\$55,900.00 \$62,920.00
713-15.01	REMOVAL OF EXISTING SIGN POST			
		3.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$50.0000 \$55.5100	\$150.00 \$166.53
713-15.03	REMOVAL OF LARGER BARRIER MOUNTED SIGNS WITH S	ADDLE SUPPORTS		
		30.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$65.0000 \$64.0500	\$1,950.00 \$1,921.50
713-15.10	REMOVAL OF SMALL BARRIER MOUNTED SIGNS W/ FLAT	PLAT SUPPORTS		
		30.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$25.0000 \$55.5100	\$750.00 \$1,665.30
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		8.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$100.0000 \$213.5000	\$800.00 \$1,708.00
713-15.37	INSTALLATION OF SIGN MESSAGE(LETTER,#,ARROW,SHIE	ELD)		
		15.000 S.F.		
	Superior Traffic Control, LLC LU, Inc.		\$48.5000 \$46.9700	\$727.50 \$704.55
713-16.90	RESET GROUND MOUNTED SIGN			
		10.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$250.0000 \$1,301.2500	\$2,500.00 \$13,012.50
713-17.02	INSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PANEL			
		5.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$75.0000 \$76.8600	\$375.00 \$384.30

			CONTRACT CNU178
		UNIT PRICE	EXTENSION
713-17.04 INSTALL AUXILIARY SUPPORT ON EXISTING SIGN			
713-17.04 INSTALL AUXILIANT SUFFORT ON EXISTING SIGN	100.000 L.F.		
Superior Traffic Control, LLC		\$6.5000	\$650.00
LU, Inc.		\$5.9800	\$598.00
713-20.30 SIGN ADJUSTMENTS			
	4.000 EACH		
Superior Traffic Control, LLC		\$300.0000	\$1,200.00
LU, Inc.		\$302.5000	\$1,210.00
713-30.09 BARRIER MOUNTED SIGN SUPPORT			
	2.000 EACH		

Superior Traffic Control, LLC LU, Inc.

\$600.00 \$427.00

\$300.0000 \$213.5000

SUB-TOTAL MAINTENANCE

Superior Traffic Control, LLC	\$183,685.00
LU, Inc.	\$207,832.94

TOTAL CONTRACT

 Superior Traffic Control, LLC
 \$183,685.00

 LU, Inc.
 \$207,832.94

CAMPBELL COUNTY (Contract No. CNU220 Call 008)

ER-NH-I-75-3(189),07100-4162-04

THE EMERGENCY SLOPE STABILIZATION ON I-75 NEAR M.M. 143.2 (L.M. 13.4).

PROJECT LENGTH - 0.880 MILES

COMPLETION TIME - ON OR BEFORE MAY 15, 2021

DBE GOAL 10.00%

TOTAL CONTRACT

Twin K Construction, Inc.\$1,799,999.00Whaley Construction, LLC\$2,227,787.41Charles Blalock & Sons, Inc.\$2,236,969.71

UNIT PRICE	EXTENSION

ROADW	AY CATEGORY		ONTTRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
.00 0.		1.000 LS		
	Twin K Construction, Inc.		\$58,515.0000	\$58,515.00
	Whaley Construction, LLC		\$47,824.7000	\$47,824.70
	Charles Blalock & Sons, Inc.		\$35,722.6000	\$35,722.60
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Twin K Construction, Inc.		\$91,694.7700	\$91,694.77
	Whaley Construction, LLC		\$68,000.0000	\$68,000.00
	Charles Blalock & Sons, Inc.		\$220,005.2600	\$220,005.26
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		12,013.000 C.Y.		
	Twin K Construction, Inc.		\$20.2000	\$242,662.60
	Whaley Construction, LLC		\$28.0000	\$336,364.00
	Charles Blalock & Sons, Inc.		\$26.2100	\$314,860.73
203-06	WATER			
		1.000 M.G.		
	Twin K Construction, Inc.		\$212.8000	\$212.80
	Whaley Construction, LLC		\$100.0000	\$100.00
	Charles Blalock & Sons, Inc.		\$2,419.6000	\$2,419.60
203-50	CONSTRUCTION OF HAUL ROAD			
		1.000 LS		
	Twin K Construction, Inc.		\$26,132.2500	\$26,132.25
	Whaley Construction, LLC		\$202,801.0000	\$202,801.00
	Charles Blalock & Sons, Inc.		\$230,460.8400	\$230,460.84
208-01.05	5 BROOMING & DEGRASSING SHOULDERS			
		2.000 L.M.		
	Twin K Construction, Inc.		\$1,071.1100	\$2,142.22
	Whaley Construction, LLC		\$1,500.0000	\$3,000.00
	Charles Blalock & Sons, Inc.		\$2,500.0000	\$5,000.00
209-05	SEDIMENT REMOVAL			
		133.000 C.Y.		
	Twin K Construction, Inc.		\$13.7900	\$1,834.07
	Whaley Construction, LLC		\$20.0000	\$2,660.00
	Charles Blalock & Sons, Inc.		\$38.4700	\$5,116.51
209-08.07	7 ROCK CHECK DAM PER			
		33.000 EACH		
	Twin K Construction, Inc.		\$317.7100	\$10,484.43
	Whaley Construction, LLC		\$522.5000	\$17,242.50
	Charles Blalock & Sons, Inc.		\$400.0000	\$13,200.00

		UNIT PRICE	EXTENSION
209-08.08	ENHANCED ROCK CHECK DAM		
	3.000 EACH	4	
	Twin K Construction, Inc.	\$423.6100	\$1,270.83
	Whaley Construction, LLC	\$962.5000	\$2,887.50
	Charles Blalock & Sons, Inc.	\$500.0000	\$1,500.00
209-40.44	CATCH BASIN FILTER ASSEMBLY(TYPE 4)		
	1.000 EACH	4	
	Twin K Construction, Inc.	\$635.4100	\$635.41
	Whaley Construction, LLC	\$550.0000	\$550.00
	Charles Blalock & Sons, Inc.	\$3,300.0000	\$3,300.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	2,389.000 TON		
	Twin K Construction, Inc.	\$26.9500	\$64,383.55
	Whaley Construction, LLC	\$28.0000	\$66,892.00
	Charles Blalock & Sons, Inc.	\$28.0000	\$66,892.00
307-03.01	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING A		
	974.000 TON		
	Twin K Construction, Inc.	\$79.2100	\$77,150.54
	Whaley Construction, LLC	\$82.2800	\$80,140.72
	Charles Blalock & Sons, Inc.	\$82.2800	\$80,140.72
307-03.08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING B-M2		
	1,225.000 TON		
	Twin K Construction, Inc.	\$86.4200	\$105,864.50
	Whaley Construction, LLC	\$89.7600	\$109,956.00
	Charles Blalock & Sons, Inc.	\$89.7600	\$109,956.00
307-03.09	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING C		
	1,550.000 TON		
	Twin K Construction, Inc.	\$84.4000	\$130,820.00
	Whaley Construction, LLC	\$87.6700	\$135,888.50
	Charles Blalock & Sons, Inc.	\$87.6700	\$135,888.50
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)		
	4.000 TON		
	Twin K Construction, Inc.	\$951.0000	\$3,804.00
	Whaley Construction, LLC	\$987.8000	\$3,951.20
	Charles Blalock & Sons, Inc.	\$987.8000	\$3,951.20
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	16.000 TON		
	Twin K Construction, Inc.	\$730.7200	\$11,691.52
	Whaley Construction, LLC	\$759.0000	\$12,144.00
	Charles Blalock & Sons, Inc.	\$759.0000	\$12,144.00

			C	CONTRACT CNU220
			UNIT PRICE	EXTENSION
411-03.10	ACS MIX(PG76-22) GRADING D			
		35.000 TON		
	Twin K Construction, Inc.		\$141.7000	\$4,959.50
	Whaley Construction, LLC		\$147.1800	\$5,151.30
	Charles Blalock & Sons, Inc.		\$147.1800	\$5,151.30
411-03.23	ACS MIX (PG76-22) OGFC			
		1,283.000 TON		
	Twin K Construction, Inc.		\$126.6600	\$162,504.78
	Whaley Construction, LLC		\$131.5600	\$168,791.48
	Charles Blalock & Sons, Inc.		\$131.5600	\$168,791.48
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		2.000 L.M.		
	Twin K Construction, Inc.		\$2,647.5400	\$5,295.08
	Whaley Construction, LLC		\$1,485.0000	\$2,970.00
	Charles Blalock & Sons, Inc.		\$1,485.0000	\$2,970.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		18,794.000 S.Y.		
	Twin K Construction, Inc.		\$2.3300	\$43,790.02
	Whaley Construction, LLC		\$2.4200	\$45,481.48
	Charles Blalock & Sons, Inc.		\$2.4200	\$45,481.48
607-65.95	36" OD PIPE TO SLIP LINE 42" PIPE			
		277.000 L.F.		
	Twin K Construction, Inc.		\$369.4800	\$102,345.96
	Whaley Construction, LLC		\$434.5000	\$120,356.50
	Charles Blalock & Sons, Inc.		\$126.2000	\$34,957.40
611-07.66	42IN ENDWALL (CROSS DRAIN) 3:1			
		1.000 EACH		
	Twin K Construction, Inc.		\$7,918.2500	\$7,918.25
	Whaley Construction, LLC		\$14,000.0000	\$14,000.00
	Charles Blalock & Sons, Inc.		\$7,866.3900	\$7,866.39
621-03.02	18" TEMPORARY DRAINAGE PIPE			
		40.000 L.F.		
	Twin K Construction, Inc.		\$38.5000	\$1,540.00
	Whaley Construction, LLC		\$50.0000	\$2,000.00
	Charles Blalock & Sons, Inc.		\$137.7400	\$5,509.60
705-04.50	PORTABLE BARRIER RAIL DELINEATOR			
		60.000 EACH		
	Twin K Construction, Inc.		\$11.6500	\$699.00
	Whaley Construction, LLC		\$22.0000	\$1,320.00
	Charles Blalock & Sons, Inc.		\$35.0000	\$2,100.00

				EVEL NOISE
			UNIT PRICE	EXTENSION
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
		1,297.000 L.F.		
	Twin K Construction, Inc.		\$16.4100	\$21,283.77
	Whaley Construction, LLC		\$17.0500	\$22,113.85
	Charles Blalock & Sons, Inc.		\$17.0500	\$22,113.85
705-06 20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
700 00.20		2.000 EACH		
	Twin K Construction, Inc.	2.000 27(011	\$2,276.8900	\$4,553.78
	Whaley Construction, LLC		\$2,365.0000	\$4,730.00
	Charles Blalock & Sons, Inc.		\$2,365.0000	\$4,730.00
	,		. ,	. ,
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
		1.000 EACH		
	Twin K Construction, Inc.		\$1,747.3800	\$1,747.38
	Whaley Construction, LLC		\$1,815.0000	\$1,815.00
	Charles Blalock & Sons, Inc.		\$1,815.0000	\$1,815.00
705-20.25	TEMPORARY CRASH CUSHION (MASH TL-3)			
		1.000 EACH		
	Twin K Construction, Inc.		\$7,413.1300	\$7,413.13
	Whaley Construction, LLC		\$7,425.0000	\$7,425.00
	Charles Blalock & Sons, Inc.		\$5,335.0000	\$5,335.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	(======,	50.000 TON		
	Twin K Construction, Inc.		\$38.0900	\$1,904.50
	Whaley Construction, LLC		\$40.0000	\$2,000.00
	Charles Blalock & Sons, Inc.		\$39.5800	\$1,979.00
709-05.09	MACHINED RIP-RAP (CLASS C)			
		71.000 TON		
	Twin K Construction, Inc.		\$34.7900	\$2,470.09
	Whaley Construction, LLC		\$45.0000	\$3,195.00
	Charles Blalock & Sons, Inc.		\$26.8300	\$1,904.93
709-05.10	MACHINED RIP-RAP (GROUTED WITH CLASS A-1			
	·	824.000 C.Y.		
	Twin K Construction, Inc.		\$168.9000	\$139,173.60
	Whaley Construction, LLC		\$100.0000	\$82,400.00
	Charles Blalock & Sons, Inc.		\$195.2600	\$160,894.24
709-10.01	GABIONS (3' x 3')			
		27.000 C.Y.		
	Twin K Construction, Inc.		\$526.5800	\$14,217.66
	Whaley Construction, LLC		\$200.0000	\$5,400.00
	Charles Blalock & Sons, Inc.		\$837.6000	\$22,615.20

			UNIT PRICE	EXTENSION
711-05.71	51IN SINGLE SLOPE CONCRETE BARRIER WALL			
711 00.71	Oliviolity of a sound	605.000 L.F.		
	Twin K Construction, Inc.		\$150.6400	\$91,137.20
	Whaley Construction, LLC		\$260.0000	\$157,300.00
	Charles Blalock & Sons, Inc.		\$128.9200	\$77,996.60
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Twin K Construction, Inc.		\$34,415.5300	\$34,415.53
	Whaley Construction, LLC		\$75,000.0000	\$75,000.00
	Charles Blalock & Sons, Inc.		\$36,925.1700	\$36,925.17
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		1,150.000 L.F.		
	Twin K Construction, Inc.		\$33.0300	\$37,984.50
	Whaley Construction, LLC		\$45.0000	\$51,750.00
	Charles Blalock & Sons, Inc.		\$38.4800	\$44,252.00
712-04-01	FLEXIBLE DRUMS (CHANNELIZING)			
		100.000 EACH		
	Twin K Construction, Inc.	100.000 EAGI1	\$27.5300	\$2,753.00
	Whaley Construction, LLC		\$38.5000	\$3,850.00
	Charles Blalock & Sons, Inc.		\$26.9500	\$2,695.00
740.04.50	DADDIED DAIL DELINEATOR			
/12-04.50	BARRIER RAIL DELINEATOR	150.000 EACH		
	Twin K Construction, Inc.	150.000 EACH	\$11.6500	\$1,747.50
	Whaley Construction, LLC		\$24.2000	\$3,630.00
	Charles Blalock & Sons, Inc.		\$13.7500	\$2,062.50
712-06	SIGNS (CONSTRUCTION)			
		1,384.000 S.F.		
	Twin K Construction, Inc.		\$6.8800	\$9,521.92
	Whaley Construction, LLC		\$8.8000	\$12,179.20
	Charles Blalock & Sons, Inc.		\$7.9800	\$11,044.32
712-08.03	ARROW BOARD (TYPE C)			
		1.000 EACH		
	Twin K Construction, Inc.		\$1,323.7700	\$1,323.77
	Whaley Construction, LLC		\$1,980.0000	\$1,980.00
	Charles Blalock & Sons, Inc.		\$2,255.0000	\$2,255.00
712-09.08	REMOVABLE PAVEMENT MARKING (6" line)			
_ ::::0		36,568.000 L.F.		
	Twin K Construction, Inc.	,	\$2.3600	\$86,300.48
	Whaley Construction, LLC		\$2.4800	\$90,688.64
	Charles Blalock & Sons, Inc.		\$2.7000	\$98,733.60

			CC	MIRACI CNUZZU
			UNIT PRICE	EXTENSION
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
		73.000 EACH		
	Twin K Construction, Inc.		\$33.8900	\$2,473.97
	Whaley Construction, LLC		\$35.2000	\$2,569.60
	Charles Blalock & Sons, Inc.		\$42.3500	\$3,091.55
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		1.000 EACH		
	Twin K Construction, Inc.		\$7,042.4700	\$7,042.47
	Whaley Construction, LLC		\$8,250.0000	\$8,250.00
	Charles Blalock & Sons, Inc.		\$3,575.0000	\$3,575.00
716-01.11	RAISED PVMT MARKERS (BI-DIRECTIONAL) (1 COLOR	LENS)		
		109.000 EACH		
	Twin K Construction, Inc.		\$10.5900	\$1,154.31
	Whaley Construction, LLC		\$13.7500	\$1,498.75
	Charles Blalock & Sons, Inc.		\$11.0000	\$1,199.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-D	DIR)(2 COLOR)		
		56.000 EACH		
	Twin K Construction, Inc.		\$47.6600	\$2,668.96
	Whaley Construction, LLC		\$62.9800	\$3,526.88
	Charles Blalock & Sons, Inc.		\$49.5000	\$2,772.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	₹		
		56.000 EACH		
	Twin K Construction, Inc.		\$10.5900	\$593.04
	Whaley Construction, LLC		\$11.5500	\$646.80
	Charles Blalock & Sons, Inc.		\$11.0000	\$616.00
716-05.02	PAINTED PAVEMENT MARKING (8" BARRIER LINE)			
		18,284.000 L.F.		
	Twin K Construction, Inc.		\$0.3700	\$6,765.08
	Whaley Construction, LLC		\$0.4400	\$8,044.96
	Charles Blalock & Sons, Inc.		\$0.3900	\$7,130.76
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LIN	NE)		
		4.000 L.M.		
	Twin K Construction, Inc.		\$5,189.1900	\$20,756.76
	Whaley Construction, LLC		\$5,445.0000	\$21,780.00
	Charles Blalock & Sons, Inc.		\$5,390.0000	\$21,560.00
717-01	MOBILIZATION			
		1.000 LS		
	Twin K Construction, Inc.		\$75,000.0000	\$75,000.00
	Whaley Construction, LLC		\$100,000.0000	\$100,000.00
	Charles Blalock & Sons, Inc.		\$117,675.3700	\$117,675.37

CONTRACT (CN	U220
------------	----	------

			CONTRACT CNU220
		UNIT PRICE	EXTENSION
740-06.01	GEOMEMBRANE		
	10.000 S.Y	ſ.	
	Twin K Construction, Inc.	\$847.1900	\$8,471.90
	Whaley Construction, LLC	\$100.0000	\$1,000.00
	Charles Blalock & Sons, Inc.	\$211.5700	\$2,115.70
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)		
	11,195.000 S.Y	ſ.	
	Twin K Construction, Inc.	\$2.7400	\$30,674.30
	Whaley Construction, LLC	\$6.0000	\$67,170.00
	Charles Blalock & Sons, Inc.	\$3.3000	\$36,943.50
740-11.03	TEMPORARY SEDIMENT TUBE 18IN		
	3,883.000 L.F	·.	
	Twin K Construction, Inc.	\$2.7400	\$10,639.42
	Whaley Construction, LLC	\$4.9500	\$19,220.85
	Charles Blalock & Sons, Inc.	\$4.0700	\$15,803.81
801-01.07	TEMPORARY SEEDING (WITH MULCH)		
	, 50.000 UN	IIT	
	Twin K Construction, Inc.	\$23.3000	\$1,165.00
	Whaley Construction, LLC	\$66.0000	\$3,300.00
	Charles Blalock & Sons, Inc.	\$55.0000	\$2,750.00
801-01.16	BONDED FIBER MATRIX HYDROMULCH (W/PERMANENT SEED)		
	100.000 UN	IIT	
	Twin K Construction, Inc.	\$158.8500	\$15,885.00
	Whaley Construction, LLC	\$137.5000	\$13,750.00
	Charles Blalock & Sons, Inc.	\$99.0000	\$9,900.00
801-03	WATER (SEEDING & SODDING)		
	10.000 M.C	G.	
	Twin K Construction, Inc.	\$40.9900	\$409.90
	Whaley Construction, LLC	\$110.0000	\$1,100.00
	Charles Blalock & Sons, Inc.	\$110.0000	\$1,100.00

SUB-TOTAL ROADWAY

Twin K Construction, Inc.	\$1,799,999.00
Whaley Construction, LLC	\$2,227,787.41
Charles Blalock & Sons, Inc.	\$2,236,969.71

TOTAL CONTRACT

Twin K Construction, Inc.	\$1,799,999.00
Whaley Construction, LLC	\$2,227,787.41
Charles Blalock & Sons, Inc.	\$2,236,969.71

CLAY COUNTY (Contract No. CNU200 Call 011)

HSIP-1400(27),14945-3455-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2021

DBE GOAL 8.50%

TOTAL CONTRACT

Volunteer Highway Supply Co. Inc. \$134,562.40
Superior Traffic Control, LLC \$135,050.90
Highway Markings, Inc. \$142,660.45

			Co	ONTRACT CNU200
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
	,	730.000 L.F.		
	Volunteer Highway Supply Co. Inc.		\$18.5000	\$13,505.00
	Superior Traffic Control, LLC		\$18.5000	\$13,505.00
	Highway Markings, Inc.		\$18.7500	\$13,687.50
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		2.000 EACH		
	Volunteer Highway Supply Co. Inc.		\$1,450.0000	\$2,900.00
	Superior Traffic Control, LLC		\$1,450.0000	\$2,900.00
	Highway Markings, Inc.		\$1,250.0000	\$2,500.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
		730.000 L.F.		
	Volunteer Highway Supply Co. Inc.		\$3.5000	\$2,555.00
	Superior Traffic Control, LLC		\$2.8000	\$2,044.00
	Highway Markings, Inc.		\$4.5000	\$3,285.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		2.000 EACH		
	Volunteer Highway Supply Co. Inc.		\$2,600.0000	\$5,200.00
	Superior Traffic Control, LLC Highway Markings, Inc.		\$2,600.0000 \$2,125.0000	\$5,200.00 \$4,250.00
	Tingtime, mentange, inc.		ψ <u>υ</u> , ι <u>υ</u> σισσσσ	ψ1,200.00
712-01	TRAFFIC CONTROL			
	Vehicute en Hinkonson Complex Co. Inc.	1.000 LS	# 2 F 22 2222	#0.500.00
	Volunteer Highway Supply Co. Inc. Superior Traffic Control, LLC		\$3,500.0000 \$3,500.0000	\$3,500.00 \$3,500.00
	Highway Markings, Inc.		\$5,000.0000	\$5,000.00
	Trigonia, maniniga, man		¥ -,	4 2,32333
713-02.11	REMOVAL OF EXISTING DELINEATORS	0.000 54 011		
	Voluntaar Highway Supply Co. Inc.	9.000 EACH	\$5.0000	\$45.00
	Volunteer Highway Supply Co. Inc. Superior Traffic Control, LLC		\$5.0000 \$5.0000	\$45.00 \$45.00
	Highway Markings, Inc.		\$20.0000	\$180.00
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
		9.000 EACH		
	Volunteer Highway Supply Co. Inc.		\$34.0000	\$306.00
	Superior Traffic Control, LLC		\$34.0000	\$306.00
	Highway Markings, Inc.		\$50.0000	\$450.00
713-02.20	ROADSIDE OBSTACLE DELINEATION			
		36.000 S.F.		
	Volunteer Highway Supply Co. Inc.		\$16.5000	\$594.00
	Superior Traffic Control, LLC		\$16.5000	\$594.00
	Highway Markings Inc		\$10 0000	¢260 00

Highway Markings, Inc.

\$360.00

\$10.0000

	UNIT PRICE	EXTENSION
713-02.21 SIGN POST DELINEATION ENHANCEMENT		
708.000 L.F.		
Volunteer Highway Supply Co. Inc.	\$5.2500	\$3,717.00
Superior Traffic Control, LLC	\$5.2500	\$3,717.00
Highway Markings, Inc.	\$5.2500	\$3,717.00
713-11.01 "U" SECTION STEEL POSTS		
2,340.000 LB.		
Volunteer Highway Supply Co. Inc.	\$3.0000	\$7,020.00
Superior Traffic Control, LLC	\$2.9000	\$6,786.00
Highway Markings, Inc.	\$3.6500	\$8,541.00
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
2,335.000 LB.		
Volunteer Highway Supply Co. Inc.	\$3.7000	\$8,639.50
Superior Traffic Control, LLC	\$3.8000	\$8,873.00
Highway Markings, Inc.	\$3.8500	\$8,989.75
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
213.000 S.F.		
Volunteer Highway Supply Co. Inc.	\$13.2000	\$2,811.60
Superior Traffic Control, LLC	\$13.2000	\$2,811.60
Highway Markings, Inc.	\$13.2500	\$2,822.25
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
905.500 S.F.		
Volunteer Highway Supply Co. Inc.	\$13.6000	\$12,314.80
Superior Traffic Control, LLC	\$13.6000	\$12,314.80
Highway Markings, Inc.	\$13.5000	\$12,224.25
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		
93.000 EACH		
Volunteer Highway Supply Co. Inc.	\$10.0000	\$930.00
Superior Traffic Control, LLC	\$10.0000	\$930.00
Highway Markings, Inc.	\$15.0000	\$1,395.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
442.000 EACH		
Volunteer Highway Supply Co. Inc.	\$23.0000	\$10,166.00
Superior Traffic Control, LLC	\$23.0000	\$10,166.00
Highway Markings, Inc.	\$24.2500	\$10,718.50
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
513.000 L.F.		
Volunteer Highway Supply Co. Inc.	\$9.0000	\$4,617.00
Superior Traffic Control, LLC	\$9.0000	\$4,617.00
Highway Markings, Inc.	\$10.5000	\$5,386.50

	UNIT PRICE	EXTENSION
716-02.07 PLASTIC PAVEMENT MARKING (24" BARRIER LINE)		
	145.000 L.F.	
Volunteer Highway Supply Co. Inc.	\$6.0000	\$870.00
Superior Traffic Control, LLC	\$6.0000	\$870.00
Highway Markings, Inc.	\$10.5000	\$1,522.50
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)		
	2.000 EACH	
Volunteer Highway Supply Co. Inc.	\$400.0000	\$800.00
Superior Traffic Control, LLC	\$400.0000	\$800.00
Highway Markings, Inc.	\$575.0000	\$1,150.00
716-03.07 PLASTIC WORD PAVEMENT MARKING (STOP)		
	3.000 EACH	
Volunteer Highway Supply Co. Inc.	\$150.0000	\$450.00
Superior Traffic Control, LLC	\$150.0000	\$450.00
Highway Markings, Inc.	\$425.0000	\$1,275.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)		
	64.000 S.F.	
Volunteer Highway Supply Co. Inc.	\$10.0000	\$640.00
Superior Traffic Control, LLC	\$10.0000	\$640.00
Highway Markings, Inc.	\$12.5000	\$800.00
716-04.16 PLASTIC PAVEMENT MARKING (NOISE STRIP)		
	456.000 L.F.	
Volunteer Highway Supply Co. Inc.	\$9.0000	\$4,104.00
Superior Traffic Control, LLC	\$9.0000	\$4,104.00
Highway Markings, Inc.	\$5.2500	\$2,394.00
716-08.11 REMOVAL OF WORD PAVEMENT MARKING (SLOW)		
	1.000 EACH	
Volunteer Highway Supply Co. Inc.	\$50.0000	\$50.00
Superior Traffic Control, LLC	\$50.0000	\$50.00
Highway Markings, Inc.	\$150.0000	\$150.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
	32.540 L.M.	
Volunteer Highway Supply Co. Inc.	\$1,375.0000	\$44,742.50
Superior Traffic Control, LLC	\$1,375.0000	\$44,742.50
Highway Markings, Inc.	\$1,370.0000	\$44,579.80
716-13.04 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)		
	3,170.000 L.F.	
Volunteer Highway Supply Co. Inc.	\$0.5000	\$1,585.00
Superior Traffic Control, LLC	\$0.5000	\$1,585.00
Highway Markings, Inc.	\$0.7200	\$2,282.40

001	$TD \wedge \Delta T$	~	1000
(-() N	TRACT	(- KII	J200

			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	Volunteer Highway Supply Co. Inc.		\$2,500.0000	\$2,500.00
	Superior Traffic Control, LLC		\$3,500.0000	\$3,500.00
	Highway Markings, Inc.		\$5,000.0000	\$5,000.00

SUB-TOTAL ROADWAY

Volunteer Highway Supply Co. Inc.	\$134,562.40
Superior Traffic Control, LLC	\$135,050.90
Highway Markings, Inc.	\$142,660.45

TOTAL CONTRACT

Volunteer Highway Supply Co. Inc.	\$134,562.40
Superior Traffic Control, LLC	\$135,050.90
Highway Markings, Inc.	\$142,660.45

COFFEE COUNTY (Contract No. CNU006 Call 013)

NH-SIP-I-24-2(164),16001-3177-44,PHSIP-2(243),16003-3243-94

THE INTERSECTION IMPROVEMENTS ON U.S. 41 (S.R. 2) AT S.R. 55 (MCMINNVILLE HIGHWAY) IN MANCHESTER (L.M. 14.65), AND INSTALLATION OF INTERCHANGE LIGHTING ON I-24 AT THE JUNCTION OF S.R. 55 (L.M. 14.06 - L.M. 14.74).

PROJECT LENGTH - 1.014 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 9.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$869,055.00

Stansell Electric Company, Inc.

\$1,251,173.70

ROADWA	AY CATEGORY		UNIT PRICE	CONTRACT CNU006 EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Rogers Group, Inc. Stansell Electric Company, Inc.	1.000 LS	\$30,000.0000 \$32,030.0000	\$30,000.00 \$32,030.00
201-01	CLEARING AND GRUBBING	1.000 LS		
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$30,000.0000 \$26,952.0000	\$30,000.00 \$26,952.00
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.	1,400.000 S.Y.		
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$42.5000 \$75.8000	\$59,500.00 \$106,120.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	445.000 C.Y.		
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$133.5000 \$110.0000	\$59,407.50 \$48,950.00
203-04.01	PLACING SPREADING SOIL FOR LANDSCAPING	42.000 C.Y.		
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$195.0000 \$62.8000	\$8,190.00 \$2,637.60
203-06	WATER	5.000 M.G.		
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$55.0000 \$37.7000	\$275.00 \$188.50
203-07	FURNISHING & SPREADING TOPSOIL	10.000 C.Y.		
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$175.0000 \$75.3000	\$1,750.00 \$753.00
209-03.21	FILTER SOCK (12 INCH)	20.000 L.F.	# 50,0000	.
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$50.0000 \$79.3000	\$1,000.00 \$1,586.00
209-05	SEDIMENT REMOVAL	4.000 C.Y.	#475 0000	Ф 7 00 00
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$175.0000 \$111.0000	\$700.00 \$444.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)	240.000 L.F.	A. (= 20 =	# 0.400.55

Rogers Group, Inc.

Stansell Electric Company, Inc.

\$3,480.00

\$14.5000

\$6.1000

CONTRACT CN	IU006
-------------	-------

			CC	DNIRACI CNUUU6
			UNIT PRICE	EXTENSION
209-09.43	CURB INLET PROTECTION (TYPE 4)			
		3.000 EACH		
	Rogers Group, Inc.		\$950.0000	\$2,850.00
	Stansell Electric Company, Inc.		\$579.0000	\$1,737.00
			*********	* 1,7 01 100
303-01	MINERAL AGGREGATE, TYPE A BASE, GRAD	DING D		
		95.000 TON		
	Rogers Group, Inc.		\$315.0000	\$29,925.00
	Stansell Electric Company, Inc.		\$54.4000	\$5,168.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-I	HM) GRADING A		
		39.000 TON		
	Rogers Group, Inc.	00.000 1011	\$700.0000	\$27,300.00
	Stansell Electric Company, Inc.		\$448.0000	\$17,472.00
	Stansen Liectife Company, inc.		ψ440.0000	\$17,472.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-I	HM) GRADING B-M2		
		24.000 TON		
	Rogers Group, Inc.		\$1,150.0000	\$27,600.00
	Stansell Electric Company, Inc.		\$553.0000	\$13,272.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (F	201		
402-01	BITOMINOUS MATERIAL FOR FRIME COAT (F	0.240 TON		
	Daniero Croun, Inc.	0.240 TON	CC 000 0000	¢4 440 00
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$6,000.0000 \$4,500.0000	\$1,440.00 \$1,080.00
	Stansen Liectife Company, inc.		φ4,500.0000	φ1,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TO	C)		
		0.060 TON		
	Rogers Group, Inc.		\$1,250.0000	\$75.00
	Stansell Electric Company, Inc.		\$13,600.0000	\$816.00
407 20 0E	SAW CUTTING ASPHALT PAVEMENT			
407-20.03	SAW COTTING ASPRALT PAVEINENT	600.000 L.F.		
	Rogers Group, Inc.	000.000 L.I .	\$10.0000	\$6,000.00
	Stansell Electric Company, Inc.		\$9.4000	\$5,640.00
	Stansen Lieutic Company, inc.		ψ3.4000	ψο,ο-το.οο
411-02.10	ACS MIX(PG70-22) GRADING D			
		12.000 TON		
	Rogers Group, Inc.		\$1,500.0000	\$18,000.00
	Stansell Electric Company, Inc.		\$724.0000	\$8,688.00
704 04 04	CONCRETE SIDEWALK (4 II)			
701-01.01	CONCRETE SIDEWALK (4 ")	2 500 000 S E		
	Pogore Group, Inc.	2,500.000 S.F.	\$7.0000	¢17 500 00
	Rogers Group, Inc.			\$17,500.00
	Stansell Electric Company, Inc.		\$18.6000	\$46,500.00
701-02	CONCRETE DRIVEWAY			
		540.000 S.F.		
	Rogers Group, Inc.		\$10.5000	\$5,670.00
	Stansell Electric Company, Inc.		\$20.3000	\$10,962.00
	• •			

				CONTRACT CNU006
			UNIT PRICE	EXTENSION
701-02.03	CONCRETE CURB RAMP	800.000 S.F.		
	Rogers Group, Inc.	600.000 S.F.	\$22.0000	\$17,600.00
	Stansell Electric Company, Inc.		\$31.5000	\$25,200.00
701-99 91	RAISED CONCRETE MEDIAN			
701 00.01	NAIGED CONCRETE MESIAN	1.000 LS		
	Rogers Group, Inc.		\$25,000.0000	\$25,000.00
	Stansell Electric Company, Inc.		\$94,611.0000	\$94,611.00
702-01	CONCRETE CURB			
		50.000 C.Y.		
	Rogers Group, Inc.		\$700.0000	\$35,000.00
	Stansell Electric Company, Inc.		\$1,535.0000	\$76,750.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$41,215.3500	\$41,215.35
	Stansell Electric Company, Inc.		\$96,370.0000	\$96,370.00
712-01.05	FLAGMAN			
		10.000 HOUR		
	Rogers Group, Inc.		\$75.2500	\$752.50
	Stansell Electric Company, Inc.		\$125.0000	\$1,250.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		57.000 EACH		
	Rogers Group, Inc.		\$29.2500	\$1,667.25
	Stansell Electric Company, Inc.		\$18.9000	\$1,077.30
712-06	SIGNS (CONSTRUCTION)			
		338.000 S.F.		
	Rogers Group, Inc.		\$12.2500	\$4,140.50
	Stansell Electric Company, Inc.		\$9.0000	\$3,042.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Rogers Group, Inc.		\$2,150.0000	\$4,300.00
	Stansell Electric Company, Inc.		\$915.0000	\$1,830.00
713-14.22	STREET NAME SIGN (SUSPENDED 0.100IN THICK)			
		88.000 S.F.		
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$25.6000 \$36.6000	\$2,252.80 \$3,220.80
	отапови висине Соттрату, ПС.		ტა ი .0000	\$3,220.80
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			

1.000 LS

Rogers Group, Inc.

Stansell Electric Company, Inc.

\$205.00

\$427.00

\$205.0000

\$427.0000

CONTRACT CNU00	100	NL	C	CT	TRA	N	CO	
----------------	-----	----	---	----	-----	---	----	--

			CONTRACT CN0006
		UNIT PRICE	EXTENSION
713-16.20	SIGNS (R10-12 MOD., 30"X36")		
		4.000 EACH	
	Rogers Group, Inc.	\$225.0000	\$900.00
	Stansell Electric Company, Inc.	\$199.0000	\$796.00
	Stansen Electric Company, Inc.	\$199.0000	\$790.00
713-16.21	SIGNS (R1-2, 48"X48"X48")		
		2.000 EACH	
	Rogers Group, Inc.	\$235.0000	\$470.00
	Stansell Electric Company, Inc.	\$317.0000	\$634.00
713-16.22	SIGNS (W11-2, 36"X36")		
	,	4.000 EACH	
	Rogers Group, Inc.	\$255.0000	\$1,020.00
	Stansell Electric Company, Inc.	\$205.0000	\$820.00
713-16.23	SIGNS (W16-7P, 24"X12")		
		6.000 EACH	
	Rogers Group, Inc.	\$102.5000	\$615.00
	Stansell Electric Company, Inc.	\$59.2000	\$355.20
	otansen Lieutho Company, mc.	ψ03.2000	ψ000.20
713-16.24	SIGNS (W16-9P, 24"X12")		
		1.000 EACH	
	Rogers Group, Inc.	\$102.5000	\$102.50
	- ·	·	
	Stansell Electric Company, Inc.	\$59.2000	\$59.20
713-16.25	SIGNS (S1-1, 36"X36")		
		3.000 EACH	
	Rogers Group, Inc.	\$240.0000	\$720.00
	Stansell Electric Company, Inc.	\$205.0000	\$615.00
		\	φο.σ.σσ
713-16.26	SIGNS (M1-1, 36"X36")		
		2.000 EACH	
	Rogers Group, Inc.	\$158.7500	\$317.50
	Stansell Electric Company, Inc.	\$239.0000	\$478.00
	Change License Company, me.	Ψ200.0000	ψ170.00
713-16.27	SIGNS (M1-4, 36"X36")		
		2.000 EACH	
	Rogers Group, Inc.	\$175.0000	\$350.00
	Stansell Electric Company, Inc.	\$239.0000	\$478.00
713-16.28	SIGNS (M3-2, 36"X18")		
7.10 10.20	ciene (iiio 2, co xic)	1.000 EACH	
	Dogoro Crouss Iss		#400.00
	Rogers Group, Inc.	\$128.0000	\$128.00
	Stansell Electric Company, Inc.	\$89.2000	\$89.20
713-16.29	SIGNS (M4-5, 36"X18")		
		2.000 EACH	
	Rogers Group, Inc.	\$128.0000	\$256.00
	Stansell Electric Company, Inc.	\$89.2000	\$178.40
	Times Listing Company, mor	40 0.2000	ψ170.10

CONTRACT C	CNU006
------------	--------

				CONTRACT CNU006
			UNIT PRICE	EXTENSION
713-16.30	SIGNS (M6-1L, 30"X21")			
	Rogers Group, Inc. Stansell Electric Company, Inc.	1.000 EACH	\$115.0000 \$87.5000	\$115.00 \$87.50
713-16.31	SIGNS (M6-3, 30"X21")			
	Rogers Group, Inc. Stansell Electric Company, Inc.	3.000 EACH	\$115.0000 \$87.5000	\$345.00 \$262.50
713-16.32	SIGNS (D1-1, VARIES X30")			
	Rogers Group, Inc. Stansell Electric Company, Inc.	4.000 EACH	\$380.0000 \$225.0000	\$1,520.00 \$900.00
713-16.33	SIGNS (D1-2, VARIES X30")	4 000 54 011		
	Rogers Group, Inc. Stansell Electric Company, Inc.	1.000 EACH	\$380.0000 \$225.0000	\$380.00 \$225.00
713-16.34	SIGNS (D1-3, VARIES X30")			
	Rogers Group, Inc. Stansell Electric Company, Inc.	1.000 EACH	\$380.0000 \$225.0000	\$380.00 \$225.00
713-16.35	SIGNS (D9-2, 24"X24")			
	Rogers Group, Inc. Stansell Electric Company, Inc.	2.000 EACH	\$125.0000 \$84.4000	\$250.00 \$168.80
713-16.36	SIGNS (TN-6c, 24"X24")			
	Rogers Group, Inc. Stansell Electric Company, Inc.	2.000 EACH	\$125.0000 \$84.4000	\$250.00 \$168.80
713-16.37	SIGNS (TN-8-OH, 48"X36")	4 000 5 4 0 1		
	Rogers Group, Inc. Stansell Electric Company, Inc.	4.000 EACH	\$235.0000 \$242.0000	\$940.00 \$968.00
713-16.38	SIGNS (TN-22b, 24"X24")			
	Rogers Group, Inc. Stansell Electric Company, Inc.	1.000 EACH	\$123.0000 \$96.2000	\$123.00 \$96.20
713-16.39	SIGNS (TN-39, 30"X15")	2 222 54 211		
	Rogers Group, Inc. Stansell Electric Company, Inc.	3.000 EACH	\$115.0000 \$63.3000	\$345.00 \$189.90

				CONTRACT CNU006
			UNIT PRICE	EXTENSION
74.4.00.04	DIDECT DUDIAL CONDUIT (SE DVO COLIEDUE E 40)			
714-03.01	DIRECT BURIAL CONDUIT (2" PVC, SCHEDULE 40)	2,915.000 L.F.		
	Rogers Group, Inc.	2,913.000 L.I .	\$6.2500	\$18,218.75
	Stansell Electric Company, Inc.		\$15.0000	\$43,725.00
714-04.02	CONDUIT (STRUCTURES - 2" RGS)	280.000 L.F.		
	Rogers Group, Inc.	200.000 L.F.	\$19.0000	\$5,320.00
	Stansell Electric Company, Inc.		\$24.0000	\$6,720.00
714-05.03	PULL BOXES (TYPE B)	3.000 EACH		
	Rogers Group, Inc.	3.000 EACH	\$525.0000	\$1,575.00
	Stansell Electric Company, Inc.		\$1,633.0000	\$4,899.00
714-06.04	CABLE (1/C # 8 AWG)	0.220.000 5		
	Rogers Group, Inc.	9,320.000 L.F.	\$1.4000	\$13,048.00
	Stansell Electric Company, Inc.		\$1.9000	\$17,708.00
714-08.09	LIGHT STANDARDS (45' M.H., 20' ARM)	40,000 54 011		
	Rogers Group, Inc.	13.000 EACH	\$3,000.0000	\$39,000.00
	Stansell Electric Company, Inc.		\$4,675.0000	\$60,775.00
714-08.20	FOUNDATION (ONLY) FOR LIGHT STANDARD	42 000 FACU		
	Rogers Group, Inc.	13.000 EACH	\$1,570.0000	\$20,410.00
	Stansell Electric Company, Inc.		\$1,451.0000	\$18,863.00
714-08.34	REMOVAL OF LIGHT STANDARD	2 200 54 011		
	Rogers Group, Inc.	3.000 EACH	\$525.0000	\$1,575.00
	Stansell Electric Company, Inc.		\$1,056.0000	\$3,168.00
714-09.09	LUMINAIRES (60 WATT)	8.000 EACH		
	Rogers Group, Inc.	0.000 EACH	\$490.0000	\$3,920.00
	Stansell Electric Company, Inc.		\$621.0000	\$4,968.00
714-09.10	LUMINAIRES (115 WATT)	5.000 EACH		
	Rogers Group, Inc.	5.000 EACH	\$675.0000	\$3,375.00
	Stansell Electric Company, Inc.		\$795.0000	\$3,975.00
744.004:	LUMBIA DE O (450M = 0.111/ 1 = 0.	EE DAMPO)		
/14-09.11	LUMINAIRES (150W EQUIV. LED REPLACEMENT- ON/O	FF RAMPS) 26.000 EACH		
	Rogers Group, Inc.	20.000 EAUN	\$560.0000	\$14,560.00
	Stansell Electric Company, Inc.		\$746.0000	\$19,396.00

CON	JTR/	ACT	CNU	1006

			C	UNIKACI CNUUU
			UNIT PRICE	EXTENSION
714-09.12	LUMINAIRES (250W EQUIV. LED REPLACEMENT- I-24 M	MAINLINE)		
		23.000 EACH		
	Rogers Group, Inc.		\$740.0000	\$17,020.00
	Stansell Electric Company, Inc.		\$893.0000	\$20,539.00
714-09.13	LUMINAIRES (72W LED REPLACEMENT- I-24 UNDERPA	ASS)		
		4.000 EACH		
	Rogers Group, Inc.		\$745.0000	\$2,980.00
	Stansell Electric Company, Inc.		\$1,302.0000	\$5,208.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-I	DIR) (1 COLOR)		
		44.000 EACH		
	Rogers Group, Inc.		\$66.5000	\$2,926.00
	Stansell Electric Company, Inc.		\$91.5000	\$4,026.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MON	O-DIR)(1 COLOR)		
		77.000 EACH		
	Rogers Group, Inc.		\$66.5000	\$5,120.50
	Stansell Electric Company, Inc.		\$91.5000	\$7,045.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		180.000 L.F.		
	Rogers Group, Inc.		\$12.3000	\$2,214.00
	Stansell Electric Company, Inc.		\$18.3000	\$3,294.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		4.000 EACH		
	Rogers Group, Inc.		\$205.0000	\$820.00
	Stansell Electric Company, Inc.		\$213.0000	\$852.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROS	S-WALK)		
		330.000 L.F.		
	Rogers Group, Inc.		\$22.5000	\$7,425.00
	Stansell Electric Company, Inc.		\$34.2000	\$11,286.00
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)			
		0.020 L.M.		
	Rogers Group, Inc.		\$11,000.0000	\$220.00
	Stansell Electric Company, Inc.		\$30,500.0000	\$610.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARR	OW)		
		1.000 EACH		
	Rogers Group, Inc.		\$410.0000	\$410.00
	Stansell Electric Company, Inc.		\$305.0000	\$305.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
		5.000 EACH		
	Rogers Group, Inc.		\$205.0000	\$1,025.00
	Stansell Electric Company, Inc.		\$274.0000	\$1,370.00

			CO	CONTRACT CNU006	
			UNIT PRICE	EXTENSION	
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)				
		42.000 S.F.			
	Rogers Group, Inc.		\$12.3000	\$516.60	
	Stansell Electric Company, Inc.		\$30.5000	\$1,281.00	
	Stansen Electric Company, Inc.		φ30.3000	φ1,201.00	
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)				
		0.100 L.M.			
	Rogers Group, Inc.		\$5,120.0000	\$512.00	
	Stansell Electric Company, Inc.		\$30,493.0000	\$3,049.30	
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)				
710 00.01		1,250.000 L.F.			
	Rogers Group, Inc.		\$1.0500	\$1,312.50	
	Stansell Electric Company, Inc.		\$1.8000	\$2,250.00	
746 42 02	ENHANCED ELATINE THERMO DIVINT MOVING (CIN LINE)				
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)				
		1.590 L.M.			
	Rogers Group, Inc.		\$6,650.0000	\$10,573.50	
	Stansell Electric Company, Inc.		\$9,200.0000	\$14,628.00	
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED	D LINE)			
	(150.000 L.F.			
	Rogers Group, Inc.	100.000 E.11 1	\$1.0500	\$157.50	
	Stansell Electric Company, Inc.		\$2.4000	\$360.00	
	Stansen Electric Company, Inc.		φ2.4000	φ300.00	
717-01	MOBILIZATION				
		1.000 LS			
	Rogers Group, Inc.		\$42,000.0000	\$42,000.00	
	Stansell Electric Company, Inc.		\$92,845.0000	\$92,845.00	
720 04 02	REMOVAL OF SIGNAL EQUIPMENT				
730-01.02	REMOVAL OF SIGNAL EQUIPMENT	4 000 54 011			
		1.000 EACH	44.050.000	# 4.0=0.00	
	Rogers Group, Inc.		\$1,250.0000	\$1,250.00	
	Stansell Electric Company, Inc.		\$5,027.0000	\$5,027.00	
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)				
		6.000 EACH			
	Rogers Group, Inc.		\$750.0000	\$4,500.00	
	Stansell Electric Company, Inc.		\$962.0000	\$5,772.00	
700 00 17	CIONAL LIEAD ACCEMBLY (450 ACLIMITIA DACKEL ATE)				
/30-02.1/	SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)	2.000 EACH			
	Rogers Group, Inc.	Z.UUU EAUN	\$1,200.0000	\$2,400.00	
	Stansell Electric Company, Inc.		\$1,372.0000	\$2,744.00	
730-02.30	SIGNAL HEAD ASSEMBLY (140A4F WITH BACKPLATE)				
		4.000 EACH			
	Rogers Group, Inc.		\$950.0000	\$3,800.00	
	Stansell Electric Company, Inc.		\$1,152.0000	\$4,608.00	
			÷ ·, · · • = · · · · · ·	Ţ.,230.00	

				CONTRACT CNU006
			UNIT PRICE	EXTENSION
700 00 04	INGTALL PULL POY (TYPE P)			
730-03.21	INSTALL PULL BOX (TYPE B)	25.000 EACH		
	Rogers Group, Inc.	23.000 EAGI1	\$525.0000	\$13,125.00
	Stansell Electric Company, Inc.		\$600.0000	\$15,000.00
730-05.01	ELECTRICAL SERVICE CONNECTION			
	Danara Craura, Inc.	1.000 EACH	¢2.050.0000	#2.050.00
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$3,650.0000 \$5,487.0000	\$3,650.00 \$5,487.00
			ψο, τοι τουσο	ψο, τοι του
730-05.02	SERVICE CABLE (2 CONDUCTOR, # 8 AWG)			
		200.000 L.F.		
	Rogers Group, Inc. Stansell Electric Company, Inc.		\$2.7500 \$2.2000	\$550.00 \$440.00
	Startseir Liectric Company, mc.		ψ2.2000	φ440.00
730-08.01	SIGNAL CABLE - 3 CONDUCTOR			
		1,510.000 L.F.		
	Rogers Group, Inc.		\$1.3000	\$1,963.00
	Stansell Electric Company, Inc.		\$1.0000	\$1,510.00
730-08.02	SIGNAL CABLE - 5 CONDUCTOR			
		1,795.000 L.F.		
	Rogers Group, Inc.		\$1.6000	\$2,872.00
	Stansell Electric Company, Inc.		\$1.2000	\$2,154.00
730-08.03	SIGNAL CABLE - 7 CONDUCTOR			
		2,015.000 L.F.		
	Rogers Group, Inc.		\$1.8500	\$3,727.75
	Stansell Electric Company, Inc.		\$1.4000	\$2,821.00
730-09.20	SPAN WIRE ASSEMBLY			
		560.000 L.F.		
	Rogers Group, Inc.		\$2.1000	\$1,176.00
	Stansell Electric Company, Inc.		\$4.4000	\$2,464.00
730-10 01	TETHER WIRE ASSEMBLY - 1/4" DIAMETER			
700 10.01	TETTER WIRE AGGETIGET 1/4 STATETER	560.000 L.F.		
	Rogers Group, Inc.		\$2.1000	\$1,176.00
	Stansell Electric Company, Inc.		\$3.7000	\$2,072.00
730_11 01	STEEL CONDUIT RISER ASSEMBLY			
730-11.01	STEEL CONDOIT RISER ASSEMBLY	1.000 EACH		
	Rogers Group, Inc.		\$525.0000	\$525.00
	Stansell Electric Company, Inc.		\$482.0000	\$482.00
700 40 00	CONDUIT OF DIAMETER (DVC)			
730-12.02	CONDUIT 2" DIAMETER (PVC)	975.000 L.F.		
	Rogers Group, Inc.	9/ 3.000 L.F.	\$6.2500	\$6,093.75
	Stansell Electric Company, Inc.		\$22.0000	\$21,450.00

				CONTRACT CNU006
			UNIT PRICE	EXTENSION
730-12.03	CONDUIT 3" DIAMETER (PVC)	70.000 L.F.		
	Rogers Group, Inc.	70.000 L.F.	\$8.3500	\$584.50
	Stansell Electric Company, Inc.		\$25.0000	\$1,750.00
720 42 42	CONDUIT OF DIAMETER (IACK AND DORE)			
730-12.13	CONDUIT 2" DIAMETER (JACK AND BORE)	730.000 L.F.		
	Rogers Group, Inc.	700.000 E.I	\$23.0000	\$16,790.00
	Stansell Electric Company, Inc.		\$35.0000	\$25,550.00
730-13 01	VEHICLE LOOP DETECTOR (SHELF MOUNT)			
750-15.01	VEHICLE LOOP BETEGTOR (CHLER MOORY)	12.000 EACH		
	Rogers Group, Inc.	12.000 EX611	\$198.0000	\$2,376.00
	Stansell Electric Company, Inc.		\$247.0000	\$2,964.00
730-14 01	SHIELDED DETECTOR CABLE			
100 14.01	SHEEDED DE LEGION GADEL	7,600.000 L.F.		
	Rogers Group, Inc.	.,,000.000 1	\$1.3000	\$9,880.00
	Stansell Electric Company, Inc.		\$1.1000	\$8,360.00
730-14.02	SAW SLOT			
		1,740.000 L.F.		
	Rogers Group, Inc.		\$3.6500	\$6,351.00
	Stansell Electric Company, Inc.		\$6.3000	\$10,962.00
730-14.03	LOOP WIRE			
		3,950.000 L.F.		
	Rogers Group, Inc.		\$0.6500	\$2,567.50
	Stansell Electric Company, Inc.		\$0.8000	\$3,160.00
730-15.32	CABINET (EIGHT PHASE BASE MOUNTED)			
		1.000 EACH		
	Rogers Group, Inc.		\$14,600.0000	\$14,600.00
	Stansell Electric Company, Inc.		\$16,977.0000	\$16,977.00
730-16.02	EIGHT PHASE ACTUATED CONTROLLER			
		1.000 EACH		
	Rogers Group, Inc.		\$3,702.0000	\$3,702.00
	Stansell Electric Company, Inc.		\$4,936.0000	\$4,936.00
730-23.01	STEEL STRAIN POLE (SIGNAL SUPPORT)			
		4.000 EACH		
	Rogers Group, Inc.		\$12,525.0000	\$50,100.00
	Stansell Electric Company, Inc.		\$19,858.0000	\$79,432.00
730-23.30	PEDESTAL POLE (8')			
		6.000 EACH		
	Danier Consum Inc		#4 F00 0000	#0.000.00

Rogers Group, Inc.

Stansell Electric Company, Inc.

\$9,360.00

\$14,664.00

\$1,560.0000

\$2,444.0000

				CONTRACT CNU006
			UNIT PRICE	EXTENSION
730-26.10	PEDESTRIAN SIGNAL HEAD W/PUSHBUTTON & 15IN SIGN			
		8.000 EACH		
	Rogers Group, Inc.		\$1,460.0000	\$11,680.00
	Stansell Electric Company, Inc.		\$864.0000	\$6,912.00
801-01	SEEDING (WITH MULCH)			
		6.000 UNIT		
	Rogers Group, Inc.		\$310.0000	\$1,860.00
	Stansell Electric Company, Inc.		\$226.0000	\$1,356.00
801-03	WATER (SEEDING & SODDING)			
		1.000 M.G.		
	Rogers Group, Inc.		\$102.0000	\$102.00
	Stansell Electric Company, Inc.		\$1,220.0000	\$1,220.00
803-01	SODDING (NEW SOD)			
		305.000 S.Y.		

Rogers Group, Inc. Stansell Electric Company, Inc.

\$12.2500

\$12.2000

\$3,736.25

\$3,721.00

SUB-TOTAL ROADWAY

Rogers Group, Inc. \$869,055.00 Stansell Electric Company, Inc. \$1,251,173.70

TOTAL CONTRACT

 Rogers Group, Inc.
 \$869,055.00

 Stansell Electric Company, Inc.
 \$1,251,173.70

DAVIDSON COUNTY (Contract No. CNU079 Call 014)

NH/HSIP-106(42),19045-3245-94,19045-8245-14,NH/HSIP-106(43),19045-3246-94,19045-8246-14

THE RESURFACING ON U.S. 431 (S.R. 106) FROM NORTH OF HARDING PLACE (L.M. 3.87) TO I-440 (L.M. 6.37) AND FROM I-440 (L.M. 6.42) TO U.S. 70S (S.R. 1) (L.M. 8.77).

PROJECT LENGTH - 4.850 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2020

DBE GOAL 10.00%

TOTAL CONTRACT

Charles Deweese Construction, Inc

\$1,788,496.53

Vulcan Construction Materials, LLC

\$1,933,271.20

				CONTRACT CNU079
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		5.100 L.M.		
	Charles Deweese Construction, Inc		\$586.3600	\$2,990.44
	Vulcan Construction Materials, LLC		\$1,000.0000	\$5,100.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		64.000 TON		
	Charles Deweese Construction, Inc		\$34.8900	\$2,232.96
	Vulcan Construction Materials, LLC		\$30.0000	\$1,920.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING	G B-M2		
		1,521.000 TON		
	Charles Deweese Construction, Inc		\$71.7600	\$109,146.96
	Vulcan Construction Materials, LLC		\$75.0000	\$114,075.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		68.000 TON		
	Charles Deweese Construction, Inc		\$585.0000	\$39,780.00
	Vulcan Construction Materials, LLC		\$695.0000	\$47,260.00
411-02.10	ACS MIX(PG70-22) GRADING D			
		4,578.000 TON		
	Charles Deweese Construction, Inc		\$86.0600	\$393,982.68
	Vulcan Construction Materials, LLC		\$99.2500	\$454,366.50
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT			
		3,736.000 TON		
	Charles Deweese Construction, Inc		\$88.5400	\$330,785.44
	Vulcan Construction Materials, LLC		\$102.2500	\$382,006.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		7,992.000 TON		
	Charles Deweese Construction, Inc		\$18.1500	\$145,054.80
	Vulcan Construction Materials, LLC		\$21.5000	\$171,828.00
611-03.04	GRAY IRON CASTINGS (CATCHBASIN)			
		3,350.000 LB.		
	Charles Deweese Construction, Inc		\$1.2500	\$4,187.50
	Vulcan Construction Materials, LLC		\$1.0000	\$3,350.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
		26.000 EACH		
	Charles Deweese Construction, Inc		\$507.2600	\$13,188.76
	Vulcan Construction Materials, LLC		\$500.0000	\$13,000.00
611-09.02	REWORK CATCHBASIN			

5.000 EACH

Charles Deweese Construction, Inc

Vulcan Construction Materials, LLC

\$3,750.00

\$3,675.00

\$750.0000

\$735.0000

CONTRACT CNUU/9	CON	ITRACT	CNU079
-----------------	-----	--------	--------

			00	minimor oncoro
			UNIT PRICE	EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		4,160.000 S.F.		
	Charles Deweese Construction, Inc	,	\$44.6200	\$185,619.20
	Vulcan Construction Materials, LLC		\$31.4500	\$130,832.00
	Vulcan Construction Materials, LLC		\$31.4300	φ130,632.00
701-02.03	CONCRETE CURB RAMP			
		50.000 S.F.		
	Charles Deweese Construction, Inc		\$50.7300	\$2,536.50
	Vulcan Construction Materials, LLC		\$31.4500	\$1,572.50
	,		·	. ,
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)			
		72.000 S.F.		
	Charles Deweese Construction, Inc		\$44.6200	\$3,212.64
	Vulcan Construction Materials, LLC		\$40.0000	\$2,880.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		1.000 EACH		
		1.000 LACI1	ΦΕΕ 0000	#55.00
	Charles Deweese Construction, Inc		\$55.8000	\$55.80
	Vulcan Construction Materials, LLC		\$300.0000	\$300.00
705-04.10	EARTH PAD FOR GUARD RAIL END TREATMENT			
		1.000 EACH		
	Charles Deweese Construction, Inc		\$2,029.0400	\$2,029.04
	Vulcan Construction Materials, LLC		\$1,200.0000	\$1,200.00
			• ,	,
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL2			
		1.000 EACH		
	Charles Deweese Construction, Inc		\$3,550.8200	\$3,550.82
	Vulcan Construction Materials, LLC		\$2,850.0000	\$2,850.00
706-01	GUARDRAIL REMOVED			
		50 000 L E		
		50.000 L.F.		^
	Charles Deweese Construction, Inc		\$1.5200	\$76.00
	Vulcan Construction Materials, LLC		\$8.0000	\$400.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Charles Deweese Construction, Inc		\$37,213.0800	\$37,213.08
	•			
	Vulcan Construction Materials, LLC		\$117,000.0000	\$117,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	,,	450 000 FACIL		
		150.000 EACH	.	.
	Charles Deweese Construction, Inc		\$35.5100	\$5,326.50
	Vulcan Construction Materials, LLC		\$28.5000	\$4,275.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Charles Daysons Construction Inc	7.000 LACII	<u> </u>	\$404.70
	Charles Deweese Construction, Inc		\$30.4400	\$121.76
	Vulcan Construction Materials, LLC		\$22.5000	\$90.00

				CONTRACT CNU079
			UNIT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
	,	3,057.000 S.F.		
	Charles Deweese Construction, Inc	,	\$8.1200	\$24,822.84
	Vulcan Construction Materials, LLC		\$9.5000	\$29,041.50
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Charles Deweese Construction, Inc		\$1,826.1400	\$3,652.28
	Vulcan Construction Materials, LLC		\$900.0000	\$1,800.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	COLOR)		
	`	374.000 EACH		
	Charles Deweese Construction, Inc		\$30.4400	\$11,384.56
	Vulcan Construction Materials, LLC		\$25.0000	\$9,350.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)		
	, ,	434.000 EACH		
	Charles Deweese Construction, Inc		\$30.4400	\$13,210.96
	Vulcan Construction Materials, LLC		\$25.0000	\$10,850.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		718.000 S.Y.		
	Charles Deweese Construction, Inc		\$15.2200	\$10,927.96
	Vulcan Construction Materials, LLC		\$10.0000	\$7,180.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		2,644.000 L.F.		
	Charles Deweese Construction, Inc		\$15.2200	\$40,241.68
	Vulcan Construction Materials, LLC		\$15.0000	\$39,660.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		119.000 EACH		
	Charles Deweese Construction, Inc		\$152.1800	\$18,109.42
	Vulcan Construction Materials, LLC		\$150.0000	\$17,850.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WAL	K)		
		3,805.000 L.F.		
	Charles Deweese Construction, Inc		\$25.3600	\$96,494.80
	Vulcan Construction Materials, LLC		\$25.0000	\$95,125.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
		15.000 EACH		
	Charles Deweese Construction, Inc		\$405.8100	\$6,087.15
	Vulcan Construction Materials, LLC		\$350.0000	\$5,250.00

11.000 EACH

716-04.01 PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)

Charles Deweese Construction, Inc

Vulcan Construction Materials, LLC

\$3,347.96

\$2,200.00

\$304.3600

\$200.0000

				CONTRACT CNU079
			UNIT PRICE	EXTENSION
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING AR	ROW)		
		16.000 EACH		
	Charles Deweese Construction, Inc		\$304.3600	\$4,869.76
	Vulcan Construction Materials, LLC		\$300.0000	\$4,800.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
		7.000 EACH		
	Charles Deweese Construction, Inc		\$152.1800	\$1,065.26
	Vulcan Construction Materials, LLC		\$140.0000	\$980.00
716-04.11	PLASTIC PAVEMENT MARKING (BICYCLE SYMBOL W/	RIDER)		
		2.000 EACH		
	Charles Deweese Construction, Inc		\$405.8100	\$811.62
	Vulcan Construction Materials, LLC		\$350.0000	\$700.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		18.700 L.M.		
	Charles Deweese Construction, Inc		\$1,014.5200	\$18,971.52
	Vulcan Construction Materials, LLC		\$1,000.0000	\$18,700.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LII	NE)		
		18.700 L.M.		
	Charles Deweese Construction, Inc		\$5,275.5100	\$98,652.04
	Vulcan Construction Materials, LLC		\$5,000.0000	\$93,500.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DC	OTTED LINE)		
		9,077.000 L.F.		
	Charles Deweese Construction, Inc		\$2.0300	\$18,426.31
	Vulcan Construction Materials, LLC		\$1.0000	\$9,077.00
717-01	MOBILIZATION			
		1.000 LS		
	Charles Deweese Construction, Inc		\$26,500.0000	\$26,500.00
	Vulcan Construction Materials, LLC		\$33,600.0000	\$33,600.00
730-14.02	SAW SLOT			

21,689.000 L.F.

47,678.000 L.F.

Charles Deweese Construction, Inc

Vulcan Construction Materials, LLC

Charles Deweese Construction, Inc

Vulcan Construction Materials, LLC

730-14.03 LOOP WIRE

\$76,995.95

\$69,404.80

\$29,083.58

\$26,222.90

\$3.5500

\$3.2000

\$0.6100

\$0.5500

SUB-TOTAL ROADWAY

Charles Deweese Construction, Inc	\$1,788,496.53
Vulcan Construction Materials, LLC	\$1,933,271.20

TOTAL CONTRACT

Charles Deweese Construction, Inc	\$1,788,496.53
Vulcan Construction Materials, LLC	\$1,933,271.20

DAVIDSON COUNTY (Contract No. CNU184 Call 016)

19014-4177-04,19014-4178-04

THE MOWING AND LITTER REMOVAL ON I-440.

PROJECT LENGTH - 7.600 MILES

COMPLETION TIME - ON OR BEFORE MARCH 31, 2021

TOTAL CONTRACT

Graham County Land Company, LLC \$124,187.00

Big Al Mowing, LLC \$229,607.00

H Ray LLC \$396,400.00

MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
717-10.01	I INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
		7.000 DAY		
	Graham County Land Company, LLC		\$1.0000	\$7.00
	Big Al Mowing, LLC		\$1.0000	\$7.00
	H Ray LLC		\$1,500.0000	\$10,500.00
719-02	REMOVAL AND DISPOSAL OF LITTER			
		69.000 L.M.		
	Graham County Land Company, LLC		\$900.0000	\$62,100.00
	Big Al Mowing, LLC		\$1,500.0000	\$103,500.00
	H Ray LLC		\$2,500.0000	\$172,500.00
806-01	MOWING			
		388.000 ACRE		
	Graham County Land Company, LLC		\$160.0000	\$62,080.00
	Big Al Mowing, LLC		\$325.0000	\$126,100.00
	H Ray LLC		\$550.0000	\$213,400.00

SUB-TOTAL MAINTENANCE

Graham County Land Company, LLC	\$124,187.00
Big Al Mowing, LLC	\$229,607.00
H Ray LLC	\$396,400.00

TOTAL CONTRACT

Graham County Land Company, LLC	\$124,187.00
Big Al Mowing, LLC	\$229,607.00
H Ray LLC	\$396,400.00

DAVIDSON COUNTY (Contract No. CNU183 Call 018)

19047-4242-04

THE TUNNEL CLEANING OF THE THOMPSON LANE UNDERPASS ON S.R. 155.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2021

TOTAL CONTRACT

Diamond Specialized, Inc.

\$69,700.00

				CONTRACT CNU183
MAINTEN	IANCE CATEGORY		UNIT PRICE	EXTENSION
712-01.56	MAINTENANCE OF TRAFFIC (THOMPSON LANE UNDERPASS)			
	Diamond Specialized, Inc.	12.000 EACH	\$1,750.0000	\$21,000.00
713-20.40	GRAFFITI REMOVAL			
	Diamond Specialized, Inc.	250.000 S.F.	\$2.8000	\$700.00
717-01	MOBILIZATION			
	Diamond Specialized, Inc.	1.000 LS	\$4,800.0000	\$4,800.00
760-01.05	TUNNEL CLEANING (THOMPSON LANE TUNNELS)			

Diamond Specialized, Inc.

12.000 EACH

\$3,600.0000

\$43,200.00

SUB-TOTAL MAINTENANCE

Diamond Specialized, Inc. \$69,700.00

TOTAL CONTRACT

Diamond Specialized, Inc. \$69,700.00

DAVIDSON AND SUMNER COUNTIES (Contract No. CNU115 Call 019)

BRZ-9312(116),19960-3559-94

THE CONSTRUCTION OF A CONCRETE BOX BRIDGE ON OLD SHILOH ROAD OVER MANSKER CREEK (L.M. 0.01) IN NASHVILLE, INCLUDING GRADING, DRAINAGE AND PAVING.

PROJECT LENGTH - 0.094 MILES

COMPLETION TIME - ON OR BEFORE MAY 15, 2021

DBE GOAL 9.00%

	TOTAL CONTRACT
Charles Deweese Construction, Inc	\$474,461.84
Brown Builders, Inc.	\$484,153.15
Concrete Structures, Inc.	\$577,019.30
Adams Contracting, LLC	\$579,876.70
Kiewit Infrastructure South Co.	\$670,024.25

UNIT PRICE EXTENSION

ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Charles Deweese Construction, Inc		\$4,769.7500	\$4,769.75
	Brown Builders, Inc.		\$8,500.0000	\$8,500.00
	Concrete Structures, Inc.		\$10,000.0000	\$10,000.00
	Adams Contracting, LLC		\$7,500.0000	\$7,500.00
	Kiewit Infrastructure South Co.		\$18,000.0000	\$18,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Charles Deweese Construction, Inc		\$15,875.5700	\$15,875.57
	Brown Builders, Inc.		\$18,000.0000	\$18,000.00
	Concrete Structures, Inc.		\$44,000.0000	\$44,000.00
	Adams Contracting, LLC		\$10,000.0000	\$10,000.00
	Kiewit Infrastructure South Co.		\$25,000.0000	\$25,000.00
202-01.02	2 REMOVAL OF ASBESTOS			
		1.000 LS		
	Charles Deweese Construction, Inc		\$5,593.5500	\$5,593.55
	Brown Builders, Inc.		\$14,500.0000	\$14,500.00
	Concrete Structures, Inc.		\$3,200.0000	\$3,200.00
	Adams Contracting, LLC		\$17,500.0000	\$17,500.00
	Kiewit Infrastructure South Co.		\$19,000.0000	\$19,000.00
202-04.01	REMOVAL OF STRUCTURES (30' X 20' SLAB BRIDGE	E, STA 10+45.55)		
	·	1.000 LS		
	Charles Deweese Construction, Inc		\$12,589.2300	\$12,589.23
	Brown Builders, Inc.		\$8,000.0000	\$8,000.00
	Concrete Structures, Inc.		\$21,000.0000	\$21,000.00
	Adams Contracting, LLC		\$45,000.0000	\$45,000.00
	Kiewit Infrastructure South Co.		\$25,000.0000	\$25,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		1,300.000 C.Y.		•
	Charles Deweese Construction, Inc		\$14.4400	\$18,772.00
	Brown Builders, Inc.		\$45.0000	\$58,500.00
	Concrete Structures, Inc.		\$28.0000	\$36,400.00
	Adams Contracting, LLC		\$30.0000	\$39,000.00
	Kiewit Infrastructure South Co.		\$35.0000	\$45,500.00
203-04	PLACING AND SPREADING TOPSOIL			
		74.000 C.Y.		
	Charles Deweese Construction, Inc		\$26.9300	\$1,992.82
	Brown Builders, Inc.		\$20.0000	\$1,480.00
	Concrete Structures, Inc.		\$31.0000	\$2,294.00
	Adams Contracting, LLC		\$20.0000	\$1,480.00
	Kiewit Infrastructure South Co.		\$35.0000	\$2,590.00

CONTRACT CNU115

			UNIT PRICE	EXTENSION
203-06	WATER			
		9.300 M.G.		
	Charles Deweese Construction, Inc	0.0000.	\$50.0000	\$465.00
	Brown Builders, Inc.		\$10.0000	\$93.00
	Concrete Structures, Inc.		\$12.0000	\$111.60
	Adams Contracting, LLC		\$100.0000	\$930.00
	Kiewit Infrastructure South Co.		\$20.0000	\$186.00
	Newit illitastructure South Co.		φ20.0000	φ100.00
203-50	CONSTRUCTION OF HAUL ROAD			
200 00	CONCINCTION OF TRACE ROAD	1.000 LS		
	Charles Daysess Construction Inc	1.000 L3	¢ 0.400.0600	¢0.490.06
	Charles Deweese Construction, Inc		\$9,489.9600	\$9,489.96
	Brown Builders, Inc.		\$4,500.0000	\$4,500.00
	Concrete Structures, Inc.		\$13,500.0000	\$13,500.00
	Adams Contracting, LLC		\$10,000.0000	\$10,000.00
	Kiewit Infrastructure South Co.		\$10,000.0000	\$10,000.00
209-05	SEDIMENT REMOVAL			
203-03	SEDIMENT NEMOVAE	22.000 C V		
		32.000 C.Y.	4	^
	Charles Deweese Construction, Inc		\$25.0000	\$800.00
	Brown Builders, Inc.		\$5.0000	\$160.00
	Concrete Structures, Inc.		\$1.0000	\$32.00
	Adams Contracting, LLC		\$25.0000	\$800.00
	Kiewit Infrastructure South Co.		\$20.0000	\$640.00
200-08 03	2 TEMPORARY SILT FENCE (WITH BACKING)			
209-00.02	E TEMPORARI SIET PENCE (WITH BACKING)	702 000 1 5		
		762.000 L.F.		^-
	Charles Deweese Construction, Inc		\$4.0500	\$3,086.10
	Brown Builders, Inc.		\$4.5000	\$3,429.00
	Concrete Structures, Inc.		\$5.5000	\$4,191.00
	Adams Contracting, LLC		\$4.0000	\$3,048.00
	Kiewit Infrastructure South Co.		\$4.8000	\$3,657.60
209-08 08	B ENHANCED ROCK CHECK DAM			
200 00.00		8.000 EACH		
	Charles Downess Construction Inc	0.000 EAGI1	¢512.7400	\$4,101.92
	Charles Deweese Construction, Inc		\$512.7400	\$3,040.00
	Brown Builders, Inc.		\$380.0000	\$3,040.00 \$4,800.00
	Concrete Structures, Inc.		\$600.0000	
	Adams Contracting, LLC Kiewit Infrastructure South Co.		\$495.0000	\$3,960.00
	Klewit inirastructure South Co.		\$450.0000	\$3,600.00
209-09.03	3 SEDIMENT FILTER BAG (15' X 15')			
	(3.1.1.)	2.000 EACH		
	Charles Deweese Construction, Inc	LIVV LAOIT	\$481.6700	\$963.34
	Brown Builders, Inc.		\$360.0000	\$720.00
			•	
	Concrete Structures, Inc.		\$1,600.0000	\$3,200.00
	Adams Contracting, LLC		\$465.0000	\$930.00
	Kiewit Infrastructure South Co.		\$420.0000	\$840.00

			UNIT PRICE	EXTENSION
209-65.04	TEMPORARY IN STREAM DIVERSION			
		229.000 L.F.		
	Charles Deweese Construction, Inc		\$88.0600	\$20,165.74
	Brown Builders, Inc.		\$35.0000	\$8,015.00
	Concrete Structures, Inc.		\$39.0000	\$8,931.00
	Adams Contracting, LLC		\$75.0000	\$17,175.00
	Kiewit Infrastructure South Co.		\$55.0000	\$12,595.00
	Nowie illinoutation obtain oc.		φοσ.σσσσ	Ψ12,000.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		722.000 TON		
	Charles Davisses Construction Inc	722.000 TON	COC C700	¢40.055.74
	Charles Deweese Construction, Inc		\$26.6700	\$19,255.74
	Brown Builders, Inc.		\$34.0000	\$24,548.00
	Concrete Structures, Inc.		\$43.0000	\$31,046.00
	Adams Contracting, LLC		\$40.0000	\$28,880.00
	Kiewit Infrastructure South Co.		\$45.0000	\$32,490.00
000 40 04	MINERAL ACOREGATE (OIZE EZ)			
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		43.000 TON		
	Charles Deweese Construction, Inc		\$35.0000	\$1,505.00
	Brown Builders, Inc.		\$34.0000	\$1,462.00
	Concrete Structures, Inc.		\$46.0000	\$1,978.00
	Adams Contracting, LLC		\$40.0000	\$1,720.00
	Kiewit Infrastructure South Co.		\$40.0000	\$1,720.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
		191.000 TON		
	Charles Deweese Construction, Inc		\$76.8700	\$14,682.17
	Brown Builders, Inc.		\$91.0000	\$17,381.00
	Concrete Structures, Inc.		\$103.0000	\$19,673.00
	Adams Contracting, LLC		\$97.0000	\$18,527.00
	Kiewit Infrastructure South Co.		\$162.0000	\$30,942.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2			
		125.000 TON		
	Charles Deweese Construction, Inc		\$72.8500	\$9,106.25
	Brown Builders, Inc.		\$93.2500	\$11,656.25
	Concrete Structures, Inc.		\$130.0000	\$16,250.00
	Adams Contracting, LLC		\$122.0000	\$15,250.00
	Kiewit Infrastructure South Co.		\$144.0000	\$18,000.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		1.600 TON		
	Charles Deweese Construction, Inc		\$650.0000	\$1,040.00
	Brown Builders, Inc.		\$1,000.0000	\$1,600.00
	Concrete Structures, Inc.		\$1,100.0000	\$1,760.00
	Adams Contracting, LLC		\$1,000.0000	\$1,600.00
	Kiewit Infrastructure South Co.		\$1,098.0000	\$1,756.80
			• •	• •

			UNIT PRICE	EXTENSION
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	` ,	5.500 TON		
	Charles Deweese Construction, Inc		\$40.0000	\$220.00
	Brown Builders, Inc.		\$137.0000	\$753.50
	Concrete Structures, Inc.		\$165.0000	\$907.50
	Adams Contracting, LLC		\$152.0000	\$836.00
	Kiewit Infrastructure South Co.		\$165.0000	\$907.50
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		1.200 TON		
	Charles Deweese Construction, Inc		\$650.0000	\$780.00
	Brown Builders, Inc.		\$800.0000	\$960.00
	Concrete Structures, Inc.		\$900.0000	\$1,080.00
	Adams Contracting, LLC		\$800.0000	\$960.00
	Kiewit Infrastructure South Co.		\$875.0000	\$1,050.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		157.000 TON		
	Charles Deweese Construction, Inc		\$111.0900	\$17,441.13
	Brown Builders, Inc.		\$137.0000	\$21,509.00
	Concrete Structures, Inc.		\$155.0000	\$24,335.00
	Adams Contracting, LLC		\$142.0000	\$22,294.00
	Kiewit Infrastructure South Co.		\$168.0000	\$26,376.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		922.000 S.Y.		
	Charles Deweese Construction, Inc		\$4.8200	\$4,444.04
	Brown Builders, Inc.		\$9.7500	\$8,989.50
	Concrete Structures, Inc.		\$11.0000	\$10,142.00
	Adams Contracting, LLC		\$10.0000	\$9,220.00
	Kiewit Infrastructure South Co.		\$12.0000	\$11,064.00
604-36	SCARIFYING			
		74.000 S.Y.		
	Charles Deweese Construction, Inc		\$10.1800	\$753.32
	Brown Builders, Inc.		\$12.0000	\$888.00
	Concrete Structures, Inc.		\$7.0000	\$518.00
	Adams Contracting, LLC		\$25.0000	\$1,850.00
	Kiewit Infrastructure South Co.		\$10.0000	\$740.00
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
		15.000 L.F.		
	Charles Deweese Construction, Inc		\$107.2800	\$1,609.20
	Brown Builders, Inc.		\$50.0000	\$750.00
	Concrete Structures, Inc.		\$91.0000	\$1,365.00
	Adams Contracting, LLC		\$50.0000	\$750.00
	Kiewit Infrastructure South Co.		\$90.0000	\$1,350.00

	UNIT PR	ICE EXTENSION
621-03.02 18" TEMPORARY DRAINAGE PIPE		
	25.000 L.F.	
Charles Deweese Construction, Inc	\$107.25	500 \$2,681.25
Brown Builders, Inc.	\$30.00	
Concrete Structures, Inc.	\$97.00	000 \$2,425.00
Adams Contracting, LLC	\$50.00	\$1,250.00
Kiewit Infrastructure South Co.	\$54.00	900 \$1,350.00
621-03.07 48" TEMPORARY DRAINAGE PIPE		
	152.000 L.F.	
Charles Deweese Construction, Inc	\$141.34	100 \$21,483.68
Brown Builders, Inc.	\$60.00	9,120.00
Concrete Structures, Inc.	\$80.00	000 \$12,160.00
Adams Contracting, LLC	\$125.00	\$19,000.00
Kiewit Infrastructure South Co.	\$95.00	\$14,440.00
705-01.04 METAL BEAM GUARD FENCE		
	69.000 L.F.	
Charles Deweese Construction, Inc	\$80.28	300 \$5,539.32
Brown Builders, Inc.	\$80.00	
Concrete Structures, Inc.	\$84.00	
Adams Contracting, LLC	\$78.00	
Kiewit Infrastructure South Co.	\$206.00	\$14,214.00
705-04.10 EARTH PAD FOR GUARD RAIL END TREATMENT		
	2.000 EACH	
Charles Deweese Construction, Inc	\$802.78	300 \$1,605.56
Brown Builders, Inc.	\$800.00	\$1,600.00
Concrete Structures, Inc.	\$840.00	000 \$1,680.00
Adams Contracting, LLC	\$780.00	000 \$1,560.00
Kiewit Infrastructure South Co.	\$930.00	\$1,860.00
705-06.01 W BEAM GR (TYPE 2) MASH TL3		
	422.000 L.F.	
Charles Deweese Construction, Inc	\$21.49	900 \$9,068.78
Brown Builders, Inc.	\$21.25	500 \$8,967.50
Concrete Structures, Inc.	\$23.00	9,706.00
Adams Contracting, LLC	\$21.00	000 \$8,862.00
Kiewit Infrastructure South Co.	\$25.00	900 \$10,550.00
705-06.11 GR TERMINAL (IN-INLINE) MASH TL3		
	2.000 EACH	
Charles Deweese Construction, Inc	\$616.33	\$1,232.66
Brown Builders, Inc.	\$610.00	\$1,220.00
Concrete Structures, Inc.	\$650.00	\$1,300.00
Adams Contracting, LLC	\$600.00	\$1,200.00
Kiewit Infrastructure South Co.	\$715.00	\$1,430.00

			UNIT PRICE	EXTENSION
705.00.00	OR TERMINAL (ENERGY ARCORDING) MACLETIA			
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL2	4.000 EACH		
	Charles Deweese Construction, Inc	4.000 EACH	\$2,589.6100	\$10,358.44
	Brown Builders, Inc.		\$2,560.0000	\$10,240.00
	Concrete Structures, Inc.		\$2,700.0000	\$10,800.00
	Adams Contracting, LLC		\$2,600.0000	\$10,400.00
	Kiewit Infrastructure South Co.		\$3,000.0000	\$12,000.00
700 0F 0F	MACHINED DID DAD (CLASS A 2)			
709-05.05	MACHINED RIP-RAP (CLASS A-3)	100.000 TON		
	Charles Downers Construction Inc	100.000 TON	\$41.6800	\$4,168.00
	Charles Deweese Construction, Inc		·	\$3,300.00
	Brown Builders, Inc.		\$33.0000 \$50.0000	\$5,000.00 \$5,000.00
	Concrete Structures, Inc. Adams Contracting, LLC		·	
	Kiewit Infrastructure South Co.		\$45.0000	\$4,500.00
	Klewit Infrastructure South Co.		\$55.0000	\$5,500.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		255.000 TON		
	Charles Deweese Construction, Inc		\$41.6800	\$10,628.40
	Brown Builders, Inc.		\$33.0000	\$8,415.00
	Concrete Structures, Inc.		\$50.0000	\$12,750.00
	Adams Contracting, LLC		\$45.0000	\$11,475.00
	Kiewit Infrastructure South Co.		\$80.0000	\$20,400.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
		98.000 TON		
	Charles Deweese Construction, Inc		\$41.6900	\$4,085.62
	Brown Builders, Inc.		\$35.0000	\$3,430.00
	Concrete Structures, Inc.		\$55.0000	\$5,390.00
	Adams Contracting, LLC		\$45.0000	\$4,410.00
	Kiewit Infrastructure South Co.		\$95.0000	\$9,310.00
			·	. ,
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Charles Deweese Construction, Inc		\$11,500.0000	\$11,500.00
	Brown Builders, Inc.		\$10,000.0000	\$10,000.00
	Concrete Structures, Inc.		\$15,000.0000	\$15,000.00
	Adams Contracting, LLC		\$25,000.0000	\$25,000.00
	Kiewit Infrastructure South Co.		\$5,000.0000	\$5,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	Charles Deweese Construction, Inc		\$41.4300	\$1,035.75
	Brown Builders, Inc.		\$35.0000	\$875.00
	Concrete Structures, Inc.		\$37.0000	\$925.00
	Adams Contracting, LLC		\$35.0000	\$875.00
	Kiewit Infrastructure South Co.		\$40.0000	\$1,000.00
				÷ ,=====

			UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
	,	8.000 EACH		
	Charles Deweese Construction, Inc		\$36.2600	\$290.08
	Brown Builders, Inc.		\$39.0000	\$312.00
	Concrete Structures, Inc.		\$42.0000	\$336.00
	Adams Contracting, LLC		\$39.0000	\$312.00
	Kiewit Infrastructure South Co.		\$45.0000	\$360.00
712-06	SIGNS (CONSTRUCTION)			
		218.000 S.F.		
	Charles Deweese Construction, Inc		\$8.2900	\$1,807.22
	Brown Builders, Inc.		\$7.0000	\$1,526.00
	Concrete Structures, Inc.		\$7.0000	\$1,526.00
	Adams Contracting, LLC		\$7.0000	\$1,526.00
	Kiewit Infrastructure South Co.		\$8.0000	\$1,744.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		102.000 L.F.		
	Charles Deweese Construction, Inc		\$15.5400	\$1,585.08
	Brown Builders, Inc.		\$13.8500	\$1,412.70
	Concrete Structures, Inc.		\$15.0000	\$1,530.00
	Adams Contracting, LLC		\$14.0000	\$1,428.00
	Kiewit Infrastructure South Co.		\$16.0000	\$1,632.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
		1.000 LS		
	Charles Deweese Construction, Inc		\$500.0000	\$500.00
	Brown Builders, Inc.		\$205.0000	\$205.00
	Concrete Structures, Inc.		\$220.0000	\$220.00
	Adams Contracting, LLC		\$210.0000	\$210.00
	Kiewit Infrastructure South Co.		\$500.0000	\$500.00
713-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT			
		1.000 EACH		
	Charles Deweese Construction, Inc		\$250.0000	\$250.00
	Brown Builders, Inc.		\$105.0000	\$105.00
	Concrete Structures, Inc.		\$110.0000	\$110.00
	Adams Contracting, LLC		\$110.0000	\$110.00
	Kiewit Infrastructure South Co.		\$250.0000	\$250.00
713-16.20	SIGNS (SPEED LIMIT 30, R2-1)			
		2.000 EACH		
	Charles Deweese Construction, Inc		\$200.0000	\$400.00
	Brown Builders, Inc.		\$200.0000	\$400.00
	Concrete Structures, Inc.		\$200.0000	\$400.00
	Adams Contracting, LLC		\$200.0000	\$400.00
	Kiewit Infrastructure South Co.		\$225.0000	\$450.00

	UNIT PRICE	EXTENSION
713-16.21 SIGNS (STOP SIGN, R1-1)		
713-10.21 SIGNS (STOP SIGN, KT-1)	1.000 EACH	
Charles Deweese Construction, Inc	\$200.0000	\$200.00
Brown Builders, Inc.	\$215.0000	\$215.00
Concrete Structures, Inc.	\$230.0000	\$230.00
Adams Contracting, LLC	\$215.0000	\$215.00
Kiewit Infrastructure South Co.	\$250.0000	\$250.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	19.000 L.F.	
Charles Deweese Construction, Inc	\$20.7200	\$393.68
Brown Builders, Inc.	\$20.5000	\$389.50
Concrete Structures, Inc.	\$22.0000	\$418.00
Adams Contracting, LLC	\$21.0000	\$399.00
Kiewit Infrastructure South Co.	\$24.0000	\$456.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
	1.000 L.M.	
Charles Deweese Construction, Inc	\$2,589.6100	\$2,589.61
Brown Builders, Inc.	\$2,600.0000	\$2,600.00
Concrete Structures, Inc.	\$2,700.0000	\$2,700.00
Adams Contracting, LLC	\$2,600.0000	\$2,600.00
Kiewit Infrastructure South Co.	\$3,000.0000	\$3,000.00
717-01 MOBILIZATION		
	1.000 LS	
Charles Deweese Construction, Inc	\$29,458.7400	\$29,458.74
Brown Builders, Inc.	\$26,500.0000	\$26,500.00
Concrete Structures, Inc.	\$36,000.0000	\$36,000.00
Adams Contracting, LLC	\$28,000.0000	\$28,000.00
Kiewit Infrastructure South Co.	\$33,500.0000	\$33,500.00
740-10.03 GEOTEXTILE (TYPE III)(EROSION CONTROL)		
	726.000 S.Y.	
Charles Deweese Construction, Inc	\$3.5600	\$2,584.56
Brown Builders, Inc.	\$3.3500	\$2,432.10
Concrete Structures, Inc.	\$5.4000	\$3,920.40
Adams Contracting, LLC	\$3.5000	\$2,541.00
Kiewit Infrastructure South Co.	\$4.0000	\$2,904.00
740-11.04 TEMPORARY SEDIMENT TUBE 20IN		
	1,475.000 L.F.	
Charles Deweese Construction, Inc	\$3.7400	\$5,516.50
Brown Builders, Inc.	\$3.6000	\$5,310.00
Concrete Structures, Inc.	\$4.2000	\$6,195.00
Adams Contracting, LLC	\$3.7000	\$5,457.50
Kiewit Infrastructure South Co.	\$4.2500	\$6,268.75

CONTRACT CNU115

			CC	MIRACI CNUITS
			UNIT PRICE	EXTENSION
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		12.000 UNIT		
	Charles Deweese Construction, Inc		\$29.5200	\$354.24
	Brown Builders, Inc.		\$51.0000	\$612.00
	Concrete Structures, Inc.		\$110.0000	\$1,320.00
	Adams Contracting, LLC		\$29.0000	\$348.00
	Kiewit Infrastructure South Co.		\$35.0000	\$420.00
801-02.15	FERTILIZER			
		1.000 TON		
	Charles Deweese Construction, Inc		\$813.1400	\$813.14
	Brown Builders, Inc.		\$750.0000	\$750.00
	Concrete Structures, Inc.		\$1,300.0000	\$1,300.00
	Adams Contracting, LLC		\$800.0000	\$800.00
	Kiewit Infrastructure South Co.		\$950.0000	\$950.00
801-03	WATER (SEEDING & SODDING)			
		14.500 M.G.		
	Charles Deweese Construction, Inc		\$52.8300	\$766.04
	Brown Builders, Inc.		\$50.0000	\$725.00
	Concrete Structures, Inc.		\$110.0000	\$1,595.00
	Adams Contracting, LLC		\$52.0000	\$754.00
	Kiewit Infrastructure South Co.		\$50.0000	\$725.00
803-01	SODDING (NEW SOD)			
		1,330.000 S.Y.		
	Charles Deweese Construction, Inc		\$4.0600	\$5,399.80
	Brown Builders, Inc.		\$5.1500	\$6,849.50
	Concrete Structures, Inc.		\$7.0000	\$9,310.00
	Adams Contracting, LLC		\$4.0000	\$5,320.00
	Kiewit Infrastructure South Co.		\$6.0000	\$7,980.00

	UNIT PRICE	EXTENSION
BOX BRIDGE CATEGORY		
204-08 FOUNDATION FILL MATERIAL		
	16.000 C.Y.	
Charles Deweese Construction, Inc	\$231.4000	\$3,702.40
Brown Builders, Inc.	\$20.0000	\$320.00
Concrete Structures, Inc.	\$51.0000	\$816.00
Adams Contracting, LLC	\$65.0000	\$1,040.00
Kiewit Infrastructure South Co.	\$70.0000	\$1,120.00
303-01.02 GRANULAR BACKFILL (BRIDGES)		
	374.000 TON	
Charles Deweese Construction, Inc	\$45.8800	\$17,159.12
Brown Builders, Inc.	\$34.0000	\$12,716.00
Concrete Structures, Inc.	\$34.0000	\$12,716.00
Adams Contracting, LLC	\$40.0000	\$14,960.00
Kiewit Infrastructure South Co.	\$46.0000	\$17,204.00
604-02.01 CLASS A CONCRETE (BOX BRIDGES	5)	
	145.000 C.Y.	
Charles Deweese Construction, Inc	\$750.9800	\$108,892.10
Brown Builders, Inc.	\$715.0000	\$103,675.00
Concrete Structures, Inc.	\$780.0000	\$113,100.00
Adams Contracting, LLC	\$820.0000	\$118,900.00
Kiewit Infrastructure South Co.	\$1,145.0000	\$166,025.00
604-02.02 STEEL BAR REINFORCEMENT (BOX	BRIDGES)	
	36,028.000 LB.	
Charles Deweese Construction, Inc	\$1.0800	\$38,910.24
Brown Builders, Inc.	\$0.9500	\$34,226.60
Concrete Structures, Inc.	\$1.1000	\$39,630.80
Adams Contracting, LLC	\$1.1500	\$41,432.20
Kiewit Infrastructure South Co.	\$0.9500	\$34,226.60

SUB-TOTAL ROADWAY

Charles Deweese Construction, Inc	\$305,797.98
Brown Builders, Inc.	\$333,215.55
Concrete Structures, Inc.	\$410,756.50
Adams Contracting, LLC	\$403,544.50
Kiewit Infrastructure South Co.	\$451,448.65

SUB-TOTAL BOX BRIDGE

Charles Deweese Construction, Inc	\$168,663.86
Brown Builders, Inc.	\$150,937.60
Concrete Structures, Inc.	\$166,262.80
Adams Contracting, LLC	\$176,332.20
Kiewit Infrastructure South Co.	\$218,575.60

TOTAL CONTRACT

Charles Deweese Construction, Inc	\$474,461.84
Brown Builders, Inc.	\$484,153.15
Concrete Structures, Inc.	\$577,019.30
Adams Contracting, LLC	\$579,876.70
Kiewit Infrastructure South Co.	\$670,024.25

DAVIDSON AND WILLIAMSON COUNTIES (Contract No. CNU151 Call 020)

HSIP-990(2),94034-3408-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON PASQUO ROAD/SNEED ROAD WEST FROM S.R. 100 IN DAVIDSON COUNTY (L.M. 0.00) TO S.R. 106 (HILLSBORO ROAD) IN WILLIAMSON COUNTY (L.M. 4.56).

PROJECT LENGTH - 5.080 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2021

DBE GOAL 8.00%

TOTAL CONTRACT

Superior Traffic Control, LLC

\$300,430.05

		UNIT PRICE	CONTRACT CNU151 EXTENSION
ROADWAY CATEGORY			
705-04.10 EARTH PAD FOR GUARD RAIL END TREATMENT			
Superior Traffic Control, LLC	46.000 EACH	\$850.0000	\$39,100.00
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT	40.000.000 5		
Superior Traffic Control, LLC	10,089.000 L.F.	\$2.6000	\$26,231.40
705-06.01 W BEAM GR (TYPE 2) MASH TL3			
Superior Traffic Control, LLC	2,516.000 L.F.	\$20.7500	\$52,207.00
706-06.03 RADIUS RAIL			
Superior Traffic Control, LLC	117.000 L.F.	\$30.0000	\$3,510.00
705-06.10 GR TERMINALTRAILING END (TYPE 13) MASH TL3			
Superior Traffic Control, LLC	5.000 EACH	\$1,205.0000	\$6,025.00
705-06.11 GR TERMINAL (IN-INLINE) MASH TL3	5 000 54 011		
Superior Traffic Control, LLC	5.000 EACH	\$635.0000	\$3,175.00
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL2			
Superior Traffic Control, LLC	46.000 EACH	\$2,525.0000	\$116,150.00
706-01 GUARDRAIL REMOVED	0.000.0001.5		
Superior Traffic Control, LLC	3,222.000 L.F.	\$3.2500	\$10,471.50
712-01 TRAFFIC CONTROL	4 000 L 0		
Superior Traffic Control, LLC	1.000 LS	\$5,000.0000	\$5,000.00
713-02.21 SIGN POST DELINEATION ENHANCEMENT			
Superior Traffic Control, LLC	174.000 L.F.	\$5.0000	\$870.00
713-02.22 BARRIER WALL DELINEATION ENHANCEMENT	000 000 1 5		
Superior Traffic Control, LLC	820.000 L.F.	\$4.0000	\$3,280.00
713-11.01 "U" SECTION STEEL POSTS	745.000 5		
Superior Traffic Control, LLC	715.000 LB.	\$2.7000	\$1,930.50

717-01	MOBILIZATION			
	Superior Traffic Control, LLC	1.000 LS	\$4,500.0000	\$4,500.00
730-26.08	FLASHING WARNING BEACON (AMBER)	2 000 54 011		
	Superior Traffic Control, LLC	2.000 EACH	\$2,650.0000	\$5,300.00

SUB-TOTAL ROADWAY

Superior Traffic Control, LLC

\$300,430.05

TOTAL CONTRACT

Superior Traffic Control, LLC

\$300,430.05

DEKALB COUNTY (Contract No. CNU172 Call 021)

HSIP-2100(27),21945-3491-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS INCLUDING HIGH FRICTION SURFACE TREATMENT (HFST) ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2021

DBE GOAL 6.00%

TOTAL CONTRACT

Superior Traffic Control, LLC Highway Markings, Inc.

\$240,305.70

\$273,813.20

COI	NTRA	CT	CNI	J172
		•	• • • •	

				CONTRACT CNU172
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
406-04 02	HIGH FRICTION SURFACE TREATMENT			
400-04.02	THISTIFFICTION SURFACE TREATMENT	2,860.000 S.Y.		
	Superior Traffic Control, LLC Highway Markings, Inc.	2,000.000 3.1.	\$21.0000 \$25.5000	\$60,060.00 \$72,930.00
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
		2,865.000 L.F.	*	
	Superior Traffic Control, LLC Highway Markings, Inc.		\$15.0000 \$17.7500	\$42,975.00 \$50,853.75
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		12.000 EACH		
	Superior Traffic Control, LLC Highway Markings, Inc.		\$700.0000 \$1,100.0000	\$8,400.00 \$13,200.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
		2,950.000 L.F.		
	Superior Traffic Control, LLC Highway Markings, Inc.		\$2.6500 \$3.6500	\$7,817.50 \$10,767.50
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Our arise Traffic Ocatas III O	12.000 EACH	#0.050.0000	#00.000.00
	Superior Traffic Control, LLC Highway Markings, Inc.		\$2,350.0000 \$2,050.0000	\$28,200.00 \$24,600.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	Superior Traffic Control, LLC	1.000 LS	\$8,500.0000	\$8,500.00
	Highway Markings, Inc.		\$8,500.0000	\$8,500.00
713-02.20	ROADSIDE OBSTACLE DELINEATION	57 000 C F		
	Superior Traffic Control, LLC	57.000 S.F.	\$16.0000	\$912.00
	Highway Markings, Inc.		\$10.0000	\$570.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT	429 000 L E		
	Superior Traffic Control, LLC	438.000 L.F.	\$5.2500	\$2,299.50
	Highway Markings, Inc.		\$5.2500	\$2,299.50
713-11.01	"U" SECTION STEEL POSTS	2 244 000 LB		
	Superior Traffic Control, LLC	2,314.000 LB.	\$2.8000	\$6,479.20
	Highway Markings, Inc.		\$3.2500	\$7,520.50
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST	4 772 000 L D		
	Superior Traffic Control, LLC	1,772.000 LB.	\$3.7000	\$6,556.40
	Highway Markings, Inc.		\$3.7000	\$6,556.40
				PAGE

C0	NTR/	\CT	CNL	1472
CU	IN I K.	1 U	CIVE)

				CONTRACT CNU17
			UNIT PRICE	EXTENSION
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		308.000 S.F.		
	Superior Traffic Control, LLC		\$13.0000	\$4,004.00
	Highway Markings, Inc.		\$13.0000	\$4,004.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		506.500 S.F.		
	Superior Traffic Control, LLC		\$13.4000	\$6,787.10
	Highway Markings, Inc.		\$13.5000	\$6,837.75
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		27.000 EACH		
	Superior Traffic Control, LLC		\$10.0000	\$270.00
	Highway Markings, Inc.		\$14.0000	\$378.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CC	OLOR)		
		405.000 EACH		
	Superior Traffic Control, LLC		\$23.0000	\$9,315.00
	Highway Markings, Inc.		\$25.0000	\$10,125.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		153.000 L.F.		
	Superior Traffic Control, LLC		\$10.0000	\$1,530.00
	Highway Markings, Inc.		\$12.0000	\$1,836.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		25.260 L.M.		
	Superior Traffic Control, LLC		\$1,500.0000	\$37,890.00
	Highway Markings, Inc.		\$1,355.0000	\$34,227.30
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		810.000 L.F.		
	Superior Traffic Control, LLC		\$1.0000	\$810.00
	Highway Markings, Inc.		\$0.7500	\$607.50
717-01	MOBILIZATION			
		1.000 LS		
	Superior Traffic Control, LLC		\$7,500.0000	\$7,500.00
	Highway Markings, Inc.		\$18,000.0000	\$18,000.00

SUB-TOTAL ROADWAY

Superior Traffic Control, LLC \$240,305.70 Highway Markings, Inc. \$273,813.20

TOTAL CONTRACT

Superior Traffic Control, LLC \$240,305.70 Highway Markings, Inc. \$273,813.20

DICKSON COUNTY (Contract No. CNU193 Call 022)

NH/HSIP-48(61),22008-3227-94,22008-4227-04,22008-8227-14,STP/HSIP-49(54),22010-3220-94,22010-8220-14

THE RESURFACING ON S.R. 48 FROM EAST RICKERT AVENUE (L.M. 9.76) TO S.R. 49 (L.M. 17.20) AND ON S.R. 49 FROM S.R. 48 (L.M. 14.33) TO TIMBER RIDGE ROAD (L.M. 21.73).

PROJECT LENGTH - 14.840 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 8.00%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC

\$1,994,509.40

\$2,045,689.46

CONTRACT CNU193	(CC	N.	TR.	AC	т с	Νl	J1	93
-----------------	---	----	----	-----	----	-----	----	----	----

			CONTRACT CNU193
DO A DW/	AV CATEGORY	UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY		
208-01.05	BROOMING & DEGRASSING SHOULDERS		
	22.900 L.M.		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$800.0000 \$500.0000	\$18,320.00 \$11,450.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	4,068.000 TON		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$17.0000 \$15.0000	\$69,156.00 \$61,020.00
307-01.07	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M		
	1,000.000 TON		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$72.0000 \$65.0000	\$72,000.00 \$65,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	118.000 TON		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$425.0000 \$5.3000	\$50,150.00 \$625.40
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT		
	11,861.000 TON		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$82.0000 \$85.0000	\$972,602.00 \$1,008,185.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
	21.700 L.M.		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$450.0000 \$450.0000	\$9,765.00 \$9,765.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT		
	10,572.000 TON	445.0000	A 450 500 00
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$15.0000 \$21.0000	\$158,580.00 \$222,012.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)		
	260.000 S.F.	#40.0000	#40.400.00
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$48.0000 \$47.0000	\$12,480.00 \$12,220.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)		
	36.000 S.F.		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$81.0000 \$80.0000	\$2,916.00 \$2,880.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN		
	13.000 EACH	#	#0.040.00
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$180.0000 \$100.0000	\$2,340.00 \$1,300.00
			PAGE

				CONTRACT CNU193
			UNIT PRICE	EXTENSION
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		13.000 EACH		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$500.0000 \$700.0000	\$6,500.00 \$9,100.00
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
		325.000 L.F.		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$21.0000 \$20.1000	\$6,825.00 \$6,532.50
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL	3		
		9.000 EACH		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$2,600.0000 \$2,450.0000	\$23,400.00 \$22,050.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL	2		
		4.000 EACH		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$2,200.0000 \$2,350.0000	\$8,800.00 \$9,400.00
706-01	GUARDRAIL REMOVED			
		650.000 L.F.		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$1.0000 \$1.0000	\$650.00 \$650.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$20,000.0000 \$75,000.0000	\$20,000.00 \$75,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		125.000 EACH		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$5.0000 \$5.0000	\$625.00 \$625.00
712-06	SIGNS (CONSTRUCTION)			
		4,048.000 S.F.		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$5.0000 \$6.3500	\$20,240.00 \$25,704.80
712-08.03	ARROW BOARD (TYPE C)			
	•	2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$500.0000	\$1,000.00
	Jones Bros. Contractors, LLC		\$850.0000	\$1,700.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKER	S (BI-DIR) (1 COLOR)		
		884.000 EACH		
	E		#05 0000	#00.400.00

Eubank Asphalt Paving & Sealing

Jones Bros. Contractors, LLC

\$22,100.00

\$26,520.00

\$25.0000

\$30.0000

CONTRACT	CNU193

			UNIT PRICE	EXTENSION
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)				
		44.000 EACH		
	Eubank Asphalt Paving & Sealing		\$25.0000	\$1,100.00
	Jones Bros. Contractors, LLC		\$30.0000	\$1,320.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		884.000 EACH		
	Eubank Asphalt Paving & Sealing		\$10.0000	\$8,840.00
	Jones Bros. Contractors, LLC		\$15.0000	\$13,260.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		143.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$10.0000	\$1,430.00
	Jones Bros. Contractors, LLC		\$16.0000	\$2,288.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)				
		818.000 S.Y.		
	Eubank Asphalt Paving & Sealing		\$15.0000	\$12,270.00
	Jones Bros. Contractors, LLC		\$65.0000	\$53,170.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	,	214.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$15.0000	\$3,210.00
	Jones Bros. Contractors, LLC		\$16.0000	\$3,424.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	· · · · · · · · · · · · · · · · · · ·	10.000 EACH		
	Eubank Asphalt Paving & Sealing		\$150.0000	\$1,500.00
	Jones Bros. Contractors, LLC		\$160.0000	\$1,600.00
716_02.09	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
710-02.00	FLASTIC FAVENCIAL MARKING (O DOTTED LINE)	070 000 L E		
	Fuhank Asphalt Daving 9 Cooling	670.000 L.F.	\$2,000	¢4 340 00
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$2.0000 \$1.0000	\$1,340.00 \$670.00
	Solies Blos. Contractors, EEC		ψ1.0000	ψο/ 0.00
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
		2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$500.0000	\$1,000.00
	Jones Bros. Contractors, LLC		\$600.0000	\$1,200.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		60.100 L.M.		
	Eubank Asphalt Paving & Sealing		\$600.0000	\$36,060.00
	Jones Bros. Contractors, LLC		\$550.0000	\$33,055.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	(59.900 L.M.		
	Eubank Asphalt Paving & Sealing	OUIOO EIIII	\$4,800.0000	\$287,520.00
	Jones Bros. Contractors, LLC		\$3,450.0000	\$206,655.00
	·		. ,	, ,

	^
CONTRACT CNU19	•

			•	
			UNIT PRICE	EXTENSION
716-12.06	ENHANCED FLAT LINE THERMO (8IN LINE)			
		721.000 L.F.		
	Eubank Asphalt Paving & Sealing	1 = 11000 = 11 1	\$2.0000	\$1,442.00
	Jones Bros. Contractors, LLC		\$1.0000	\$721.00
	Jones Bios. Contractors, LLC		ψ1.0000	Ψ121.00
716-12.09	ENHANCED FLAT LINE THERMO (12IN LINE)			
		60.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$5.0000	\$300.00
	Jones Bros. Contractors, LLC		\$8.0000	\$480.00
			*******	,
717-01	MOBILIZATION			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$52,000.0000	\$52,000.00
	Jones Bros. Contractors, LLC		\$65,000.0000	\$65,000.00
730-14.02	SAW SLOT			
		334.000 L.F.		
	Eubank Asphalt Paving & Sealing	30 H330 ZH 1	\$2.0000	\$668.00
	Jones Bros. Contractors, LLC		\$3.5000	\$1,169.00
	Const Bros. Contractors, EES		ψο.σσσσ	ψ1,100.00
730-14.03	LOOP WIRE			
		868.000 L.F.		
	Fuhank Asphalt Paving & Casling	000.000 L.F.	የ ስ 2000	¢260.40
	Eubank Asphalt Paving & Sealing		\$0.3000	\$260.40
	Jones Bros. Contractors, LLC		\$0.6000	\$520.80

		CONTRACT CNU193
	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
604-10.44 EXPANSION JOINT REPAIRS		
	136.000 L.F.	
Eubank Asphalt Paving & Sealing	\$240.0000	\$32,640.00
Jones Bros. Contractors, LLC	\$230.0000	\$31,280.00
617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)		
	2,128.000 S.Y.	

Eubank Asphalt Paving & Sealing

Jones Bros. Contractors, LLC

\$74,480.00

\$58,136.96

\$35.0000

\$27.3200

Eubank Asphalt Paving & Sealing	\$1,887,389.40
Jones Bros. Contractors, LLC	\$1,956,272.50

SUB-TOTAL BRIDGE

Eubank Asphalt Paving & Sealing	\$107,120.00
Jones Bros. Contractors, LLC	\$89,416.96

Eubank Asphalt Paving & Sealing	\$1,994,509.40
Jones Bros. Contractors, LLC	\$2,045,689.46

COUNTIES DICKSON, HICKMAN, RUTHERFORD, AND WILLIAMSON (Contract No. CNU225 Call 023)

98303-4188-04,98303-4189-04

THE SWATH MOWING AND LITTER REMOVAL ON I-840.

PROJECT LENGTH - 53.050 MILES

COMPLETION TIME - ON OR BEFORE MARCH 31, 2021

	TOTAL CONTRACT
Swartz Mowing, Inc.	\$295,082.00
Caudill Mowing, Inc.	\$296,750.00
H Ray LLC	\$358,070.00
Big Al Mowing, LLC	\$444,310.00
Graham County Land Company, LLC	\$643,215.00

UNIT PRICE EXTENSION

MAINTENANCE CATEGORY

717-10.01	INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
		5.000 DAY		
	Swartz Mowing, Inc.		\$100.0000	\$500.00
	Caudill Mowing, Inc.		\$1.0000	\$5.00
	H Ray LLC		\$1,500.0000	\$7,500.00
	Big Al Mowing, LLC		\$1.0000	\$5.00
	Graham County Land Company, LLC		\$1.0000	\$5.00
719-02	REMOVAL AND DISPOSAL OF LITTER			
		183.000 L.M.		
	Swartz Mowing, Inc.		\$508.0000	\$92,964.00
	Caudill Mowing, Inc.		\$300.0000	\$54,900.00
	H Ray LLC		\$500.0000	\$91,500.00
	Big Al Mowing, LLC		\$500.0000	\$91,500.00
	Graham County Land Company, LLC		\$800.0000	\$146,400.00
806-01	MOWING			
		1,372.000 ACRE		
	Swartz Mowing, Inc.		\$63.0000	\$86,436.00
	Caudill Mowing, Inc.		\$69.0000	\$94,668.00
	H Ray LLC		\$80.0000	\$109,760.00
	Big Al Mowing, LLC		\$125.0000	\$171,500.00
	Graham County Land Company, LLC		\$160.0000	\$219,520.00
806-02.13	S SWATH MOWING			
		2,133.000 ACRE		
	Swartz Mowing, Inc.		\$54.0000	\$115,182.00
	Caudill Mowing, Inc.		\$69.0000	\$147,177.00
	H Ray LLC		\$70.0000	\$149,310.00
	Big Al Mowing, LLC		\$85.0000	\$181,305.00
	Graham County Land Company, LLC		\$130.0000	\$277,290.00

SUB-TOTAL MAINTENANCE

Swartz Mowing, Inc.	\$295,082.00
Caudill Mowing, Inc.	\$296,750.00
H Ray LLC	\$358,070.00
Big Al Mowing, LLC	\$444,310.00
Graham County Land Company, LLC	\$643,215.00

Swartz Mowing, Inc.	\$295,082.00
Caudill Mowing, Inc.	\$296,750.00
H Ray LLC	\$358,070.00
Big Al Mowing, LLC	\$444,310.00
Graham County Land Company, LLC	\$643,215.00

DYER COUNTY (Contract No. CNU210 Call 024)

HSIP-104(43),23006-3240-94,23006-4240-04,23006-4241-04

THE RESURFACING ON S.R. 104 FROM S.R. 182 (L.M. 2.53) TO S.R. 181 (L.M. 10.26), INCLUDING BRIDGE DECK REPAIR.

PROJECT LENGTH - 7.730 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2020

DBE GOAL 3.50%

TOTAL CONTRACT

Ford Construction Company

\$1,858,298.72

ROADW <i>A</i>	AY CATEGORY		UNIT PRICE	CONTRACT CNU210 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Ford Construction Company	3,520.000 S.Y.	\$44.0000	\$154,880.00
203-06	WATER			
	Ford Construction Company	33.000 M.G.	\$1.0000	\$33.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Ford Construction Company	14.739 L.M.	\$1,105.0000	\$16,286.60
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D)			
	Ford Construction Company	4,428.000 TON	\$37.0000	\$163,836.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
	Ford Construction Company	1,620.000 TON	\$165.0000	\$267,300.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Ford Construction Company	31.000 TON	\$745.0000	\$23,095.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Ford Construction Company	277.000 TON	\$206.0000	\$57,062.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Ford Construction Company	5,202.000 TON	\$109.8000	\$571,179.60
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WII			
	Ford Construction Company	11.796 L.M.	\$671.0000	\$7,915.12
414-04.03	ASPHALT EMULSION (SCRUB SEAL)			
	Ford Construction Company	135.000 TON	\$1,290.0000	\$174,150.00
414-04.04	MINERAL AGGREGATE (SCRUB SEAL)			
	Ford Construction Company	955.000 TON	\$47.3000	\$45,171.50
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			

10,988.000 S.Y.

Ford Construction Company

\$41,974.16

\$3.8200

			UNIT PRICE	CONTRACT CNU210 EXTENSION
712-01	TRAFFIC CONTROL			
• .		1.000 LS		
	Ford Construction Company		\$42,300.0000	\$42,300.00
712-06	SIGNS (CONSTRUCTION)			
	Ford Construction Company	1,620.000 S.F.	\$8.0000	\$12,960.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	OLOR)		
	Ford Construction Company	520.000 EACH	\$43.0000	\$22,360.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Ford Construction Company	520.000 EACH	\$18.2500	\$9,490.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Ford Construction Company	84.000 S.Y.	\$31.2000	\$2,620.80
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Ford Construction Company	100.000 L.F.	\$18.2500	\$1,825.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Ford Construction Company	2.000 EACH	\$268.0000	\$536.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Ford Construction Company	19.692 L.M.	\$1,612.0000	\$31,743.50
716-08.20	REMOVAL OF PAVEMENT MARKING (LINE)			
	Ford Construction Company	4.205 L.M.	\$1,768.0000	\$7,434.44
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Ford Construction Company	4.205 L.M.	\$6,342.0000	\$26,668.11
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Ford Construction Company	15.847 L.M.	\$3,870.0000	\$61,327.89

1.000 LS

717-01

MOBILIZATION

Ford Construction Company

\$81,000.00

\$81,000.0000

			CONTRACT	CNU210
		UNIT PRICE	EXT	ENSION
BRIDGE CATEGORY				
604-10.53 CONCRETE REPAIRS				
	26.000 S.Y.			
Ford Construction Company		\$950.0000	\$24	,700.00
604-10.56 CONCRETE OVERLAYED BRIDGE DECK REPAIR (PARTIAL DEPTI	1)			

Ford Construction Company

11.000 S.Y.

\$950.0000

\$10,450.00

Ford Construction Company \$1,823,148.72

SUB-TOTAL BRIDGE

Ford Construction Company \$35,150.00

TOTAL CONTRACT

Ford Construction Company \$1,858,298.72

DYER AND OBION COUNTIES (Contract No. CNU158 Call 025)

NH/HSIP-3(158),66001-3288-94,66001-8288-14

THE RESURFACING WITH HOT IN-PLACE RECYCLING ON U.S. 51 (S.R. 3) FROM NEAR S.R. 105 IN DYER COUNTY (L.M. 24.22) TO SOUTH MAIN STREET IN OBION COUNTY (L.M. 9.39).

PROJECT LENGTH - 9.840 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 30, 2020

DBE GOAL 4.50%

TOTAL CONTRACT

Ford Construction Company

\$5,839,223.76

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNU158 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Ford Construction Company	1,000.000 S.Y.	\$54.0000	\$54,000.00
203-06	WATER			
	Ford Construction Company	44.000 M.G.	\$1.0000	\$44.00
208-01.05	BROOMING & DEGRASSING SHOULDERS	41.000 L.M.		
	Ford Construction Company	41.000 L.WI.	\$1,102.0000	\$45,182.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D	D)		
	Ford Construction Company	5,900.000 TON	\$31.7000	\$187,030.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN			
	Ford Construction Company	345.000 TON	\$192.0000	\$66,240.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN			
	Ford Construction Company	113.000 TON	\$219.0000	\$24,747.00
311-03.04	HOT IN PLACE RECYCLING OF ASPHALT PAVEMENT (2.0	•		
	Ford Construction Company	269,711.000 S.Y.	\$4.2600	\$1,148,968.86
311-03.10	ASPHALT REJUVENATING AGENT	440.044.000.044		
	Ford Construction Company	148,341.000 GAL.	\$3.5400	\$525,127.14
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	450 000 TON		
	Ford Construction Company	158.000 TON	\$535.0000	\$84,530.00
411-02.10	ACS MIX(PG70-22) GRADING D	E CEO 000 TON		
	Ford Construction Company	5,659.000 TON	\$119.0000	\$673,421.00
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT	40 754 000 TON		
	Ford Construction Company	13,751.000 TON	\$109.7000	\$1,508,484.70
411-03.24	ACS MIX(PG64-22) THIN LIFT E ASPHALT			

4,762.000 TON

Ford Construction Company

\$501,200.50

\$105.2500

			UNIT PRICE	CONTRACT CNU158 EXTENSION
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Ford Construction Company	39.000 L.M.	\$622.0000	\$24,258.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Ford Construction Company	2,929.000 TON	\$39.5000	\$115,695.50
502-08.03	SEALING SHOULDER JOINTS			
	Ford Construction Company	18,500.000 L.F.	\$1.8100	\$33,485.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Ford Construction Company	2.000 EACH	\$124.0000	\$248.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Ford Construction Company	2.000 EACH	\$2,591.0000	\$5,182.00
712-01	TRAFFIC CONTROL			
	Ford Construction Company	1.000 LS	\$110,000.0000	\$110,000.00
712-06	SIGNS (CONSTRUCTION)			
	Ford Construction Company	3,536.000 S.F.	\$8.0000	\$28,288.00
712-08.03	ARROW BOARD (TYPE C)			
	Ford Construction Company	4.000 EACH	\$807.0000	\$3,228.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)	(1 COLOR)		
	Ford Construction Company	120.000 EACH	\$43.0000	\$5,160.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)		
	Ford Construction Company	1,300.000 EACH	\$43.0000	\$55,900.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Ford Construction Company	1,420.000 EACH	\$18.0000	\$25,560.00

81.000 S.Y.

716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)

Ford Construction Company

\$2,673.00

\$33.0000

CONTRACT	CNU15
----------	-------

				CONTRACT	CNU158
			UNIT PRICE	EXTE	NSION
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)				
	Ford Construction Company	100.000 L.F.	\$18.0000	\$1,	800.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)				
	Ford Construction Company	4.000 EACH	\$226.0000	\$	904.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)				
	Ford Construction Company	1,054.000 L.F.	\$17.0000	\$17,	918.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)				
	Ford Construction Company	50.000 L.M.	\$1,613.0000	\$80,	650.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)				
	Ford Construction Company	50.000 L.M.	\$6,127.0000	\$306,	350.00
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER L	INE)			
	Ford Construction Company	3,647.000 L.F.	\$2.4200	\$8,	825.74
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LI	NE)			
	Ford Construction Company	1,382.000 L.F.	\$2.2600	\$3,	123.32
717-01	MOBILIZATION				
	Ford Construction Company	1.000 LS	\$191,000.0000	\$191,	00.00

Ford Construction Company \$5,839,223.76

TOTAL CONTRACT

Ford Construction Company \$5,839,223.76

FAYETTE COUNTY (Contract No. CNU167 Call 026)

HSIP-2400(35),24946-3407-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2021

TOTAL CONTRACT

Superior Traffic Control, LLC Volunteer Paving, LLC \$118,651.35

\$120,842.47

			C	ONTRACT CNU167
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL	1.000 LS		
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$4,500.0000 \$5,000.0000	\$4,500.00 \$5,000.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
		588.000 L.F.		*
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$5.4000 \$4.7800	\$3,175.20 \$2,810.64
713-11.01	"U" SECTION STEEL POSTS			
	Our arise Treff's Control III O	514.000 LB.	Ф0 0000	\$4.540.00
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$3.0000 \$3.0500	\$1,542.00 \$1,567.70
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
	Our arise Treff's Control III O	1,778.000 LB.	#0.7000	ФО 5 70 ОО
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$3.7000 \$3.4800	\$6,578.60 \$6,187.44
713-11.21	P POST SLIP BASE	15.000 EACH		
	Superior Traffic Control, LLC		\$330.0000	\$4,950.00
	Volunteer Paving, LLC		\$403.0000	\$6,045.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	0 T	283.000 S.F.	# 40.0500	#0.770.05
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$13.3500 \$8.8300	\$3,778.05 \$2,498.89
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		270.000 S.F.	•	.
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$13.8500 \$9.6400	\$3,739.50 \$2,602.80
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
	Superior Traffic Control, LLC	35.000 EACH	\$15.0000	\$525.00
	Volunteer Paving, LLC		\$31.0000	\$1,085.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Consider Traffic Control III C	317.000 L.F.	#44.0000	£4.420.00
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$14.0000 \$15.0000	\$4,438.00 \$4,755.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	Superior Traffic Control 11 C	57.100 L.M.	¢4 400 0000	\$70.040.00
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$1,400.0000 \$1,450.0000	\$79,940.00 \$82,795.00
				PAGE 2

				CONTRACT	CNU167
			UNIT PRICE	EXTE	ENSION
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)				
		990.000 L.F.			
	Superior Traffic Control, LLC		\$1.5000	\$1.	,485.00
	Volunteer Paving, LLC		\$0.5000	\$	3495.00
717-01	MOBILIZATION				
		1.000 LS			
	Superior Traffic Control, LLC		\$4,000.0000	\$4,	,000.00

\$5,000.0000

\$5,000.00

Volunteer Paving, LLC

Superior Traffic Control, LLC	\$118,651.35
Volunteer Paving, LLC	\$120,842.47

JIAL CONTRACT	
Superior Traffic Control, LLC	\$118,651.35
Volunteer Paving, LLC	\$120,842.47

FENTRESS COUNTY (Contract No. CNU171 Call 027)

HSIP-2500(29),25945-3483-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2021

DBE GOAL 8.50%

TOTAL CONTRACT

Volunteer Highway Supply Co. Inc. \$136,157.80
Superior Traffic Control, LLC \$137,964.05
Highway Markings, Inc. \$146,989.00

UNIT PRICE	EXTENSION

		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
705-04.09 EARTH PAD FOR TYPE 38 GR EN	ID TREATMENT		
700 04.00 EARTH AD TOK THE 00 CK E			
V. I. (11:1 0 1 0 1	6.000 EACH	# 4.050.0000	#7.500.00
Volunteer Highway Supply Co. In	nc.	\$1,250.0000 \$1,250.0000	\$7,500.00
Superior Traffic Control, LLC		\$1,250.0000	\$7,500.00
Highway Markings, Inc.		\$1,200.0000	\$7,200.00
705-04.21 GUARDRAIL DELINEATION ENH.	ANCEMENT		
	1,775.000 L.F.		
Volunteer Highway Supply Co. I	nc.	\$3.0000	\$5,325.00
Superior Traffic Control, LLC		\$2.7500	\$4,881.25
Highway Markings, Inc.		\$4.2500	\$7,543.75
705-06.20 TANGENT ENERGY ABSORBING	TERM MASH TL-3		
	6.000 EACH		
Volunteer Highway Supply Co. Ii		\$2,550.0000	\$15,300.00
Superior Traffic Control, LLC		\$2,550.0000	\$15,300.00
Highway Markings, Inc.		\$2,075.0000	\$12,450.00
gayage,e.		ΨΞ,σ. σ.σσσσ	ψ.=, .σσ.σσ
712-01 TRAFFIC CONTROL			
712 01 TRAITIO GORTROL	4 000 L S		
V. I. (11:1 0 1 0 1	1.000 LS	Фо 500 0000	#0.500.00
Volunteer Highway Supply Co. In	nc.	\$2,500.0000	\$2,500.00
Superior Traffic Control, LLC		\$3,500.0000	\$3,500.00
Highway Markings, Inc.		\$5,000.0000	\$5,000.00
740 00 00 DO ADOIDE ODOTA OLE DEL INEA	TION		
713-02.20 ROADSIDE OBSTACLE DELINEA			
	42.000 S.F.		
Volunteer Highway Supply Co. In	nc.	\$16.0000	\$672.00
Superior Traffic Control, LLC		\$16.0000	\$672.00
Highway Markings, Inc.		\$10.0000	\$420.00
713-02.21 SIGN POST DELINEATION ENHA	NCEMENT		
	222.000 L.F.		
Volunteer Highway Supply Co. In	nc.	\$5.6500	\$1,254.30
Superior Traffic Control, LLC		\$5.6500	\$1,254.30
Highway Markings, Inc.		\$5.2500	\$1,165.50
713-02.22 BARRIER WALL DELINEATION E	NHANCEMENT		
	260.000 L.F.		
Volunteer Highway Supply Co. Ii		\$4.7500	\$1,235.00
Superior Traffic Control, LLC	10.	\$4.7500	\$1,235.00
Highway Markings, Inc.		\$10.0000	\$2,600.00
gayage,e.		Ţ.6.6555	ψ=,000.00
713-11.01 "U" SECTION STEEL POSTS			
	4 040 000 LD		
Valueta and Bala.	1,846.000 LB.	ФС 2222	#F F00 00
Volunteer Highway Supply Co. In	IC.	\$3.0000	\$5,538.00 \$5,538.00
Superior Traffic Control, LLC		\$3.0000 \$3.5000	\$5,538.00 \$6,461.00
Highway Markings, Inc.		\$3.5000	\$6,461.00

		UNIT PRICE	EXTENSION
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
	1,238.000 LB.		
Volunteer Highway Supply Co. Inc.	.,	\$4.0000	\$4,952.00
Superior Traffic Control, LLC		\$4.0000	\$4,952.00
Highway Markings, Inc.		\$3.2500	\$4,023.50
riigriway Markings, inc.		ψ0.2000	ψ+,020.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
710 10.02 TEAT OFFEET ALGIMING MIGHO (0.000 THIOTY)	272.000 S.F.		
Valuation Highway County On Inc.	272.000 S.F.	# 40,000	#0.500.40
Volunteer Highway Supply Co. Inc.		\$13.2000 \$43.2000	\$3,590.40
Superior Traffic Control, LLC		\$13.2000	\$3,590.40
Highway Markings, Inc.		\$13.2500	\$3,604.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
713-13.03 TEAT SHEET ALGMING M SIGNS (0.100 THICK)	458.500 S.F.		
Valuntaar Highway Sunnly Co. Inc.	436.300 S.F.	¢42 c000	\$6.225.60
Volunteer Highway Supply Co. Inc.		\$13.6000	\$6,235.60
Superior Traffic Control, LLC		\$13.6000	\$6,235.60
Highway Markings, Inc.		\$13.5000	\$6,189.75
740 45 00 DEMOVE CION CUIDDODT & FOOTING			
713-15.36 REMOVE SIGN, SUPPORT & FOOTING			
	21.000 EACH		
Volunteer Highway Supply Co. Inc.		\$10.0000	\$210.00
Superior Traffic Control, LLC		\$10.0000	\$210.00
Highway Markings, Inc.		\$15.0000	\$315.00
740 04 24 CNOWELOWARLE BAISED BAVEMENT MARKEDS (BLDID)	4 COLOD)		
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (-		
	679.000 EACH		
Volunteer Highway Supply Co. Inc.		\$23.0000	\$15,617.00
Superior Traffic Control, LLC		\$23.0000	\$15,617.00
Highway Markings, Inc.		\$24.0000	\$16,296.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
710-02.03 FLASTIC PAVEINENT MARKING (STOP LINE)	040.0001.5		
	249.000 L.F.		
Volunteer Highway Supply Co. Inc.		\$9.0000	\$2,241.00
Superior Traffic Control, LLC		\$9.0000	\$2,241.00
Highway Markings, Inc.		\$11.0000	\$2,739.00
716-02.07 PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
710-02.07 1 EACHOT AVEINERT MARKING (27 DARKIER EINE)	405 000 L F		
Valuata an Highware Council On the	465.000 L.F.	#F 0000	#0.005.00
Volunteer Highway Supply Co. Inc.		\$5.0000	\$2,325.00
Superior Traffic Control, LLC		\$5.0000	\$2,325.00
Highway Markings, Inc.		\$11.0000	\$5,115.00
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
1.0 00.00 I ENGINO HOND I ATEMENT MARKING (OTOL ATEME)	2 000 EACH		
Voluntoor Highway Supply Co. Inc.	2.000 EACH	\$450,0000	ድ ስስስ ስስ
Volunteer Highway Supply Co. Inc.		\$450.0000 \$450.0000	\$900.00
Superior Traffic Control, LLC		\$450.0000 \$535.0000	\$900.00
Highway Markings, Inc.		\$525.0000	\$1,050.00

CONTRACT CNUTT		CONTR	ACT	CNU171
----------------	--	-------	-----	--------

				NIKACI CNUI/I
			UNIT PRICE	EXTENSION
716-03.07	PLASTIC WORD PAVEMENT MARKING (STOP)			
		2.000 EACH		
	Volunteer Highway Supply Co. Inc.		\$125.0000	\$250.00
	Superior Traffic Control, LLC		\$125.0000	\$250.00
	Highway Markings, Inc.		\$425.0000	\$850.00
716-04.16	PLASTIC PAVEMENT MARKING (NOISE STRIP)			
		120.000 L.F.		
	Volunteer Highway Supply Co. Inc.		\$9.0000	\$1,080.00
	Superior Traffic Control, LLC		\$9.0000	\$1,080.00
	Highway Markings, Inc.		\$5.1500	\$618.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		40.680 L.M.		
	Volunteer Highway Supply Co. Inc.		\$1,375.0000	\$55,935.00
	Superior Traffic Control, LLC		\$1,375.0000	\$55,935.00
	Highway Markings, Inc.		\$1,400.0000	\$56,952.00
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		1,995.000 L.F.		
	Volunteer Highway Supply Co. Inc.		\$0.5000	\$997.50
	Superior Traffic Control, LLC		\$0.5000	\$997.50
	Highway Markings, Inc.		\$0.7000	\$1,396.50
717-01	MOBILIZATION			
		1.000 LS		
	Volunteer Highway Supply Co. Inc.		\$2,500.0000	\$2,500.00
	Superior Traffic Control, LLC		\$3,750.0000	\$3,750.00
	Highway Markings, Inc.		\$5,000.0000	\$5,000.00

Volunteer Highway Supply Co. Inc.	\$136,157.80
Superior Traffic Control, LLC	\$137,964.05
Highway Markings, Inc.	\$146,989.00

Volunteer Highway Supply Co. Inc.	\$136,157.80
Superior Traffic Control, LLC	\$137,964.05
Highway Markings, Inc.	\$146,989.00

GIBSON COUNTY (Contract No. CNU173 Call 028)

HSIP-2700(61),27946-3409-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

TOTAL CONTRACT

Superior Traffic Control, LLC Volunteer Paving, LLC

\$119,397.10

\$124,461.74

			UNIT PRICE	CONTRACT CNU173 EXTENSION
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
712-01	MAI TO CONTROL	1.000 LS		
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$5,500.0000 \$5,000.0000	\$5,500.00 \$5,000.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT	649 000 L E		
	Superior Traffic Control, LLC Volunteer Paving, LLC	648.000 L.F.	\$5.5000 \$4.7800	\$3,564.00 \$3,097.44
713-11.01	"U" SECTION STEEL POSTS			
	Our arise Traffic Control III C	52.000 LB.	# 4.0000	# 000 00
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$4.0000 \$3.6700	\$208.00 \$190.84
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
	Superior Traffic Control, LLC	2,853.000 LB.	\$3.5000	\$9,985.50
	Volunteer Paving, LLC		\$4.1000	\$11,697.30
713-11.21	P POST SLIP BASE			
	Currentes Treffic Control III C	17.000 EACH	\$335.0000	ФГ COF OO
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$503.0000	\$5,695.00 \$8,551.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		320.000 S.F.		
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$13.4000 \$9.6700	\$4,288.00 \$3,094.40
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	,	387.000 S.F.		
	Superior Traffic Control, LLC		\$13.8000	\$5,340.60
	Volunteer Paving, LLC		\$10.4800	\$4,055.76
713-15.36	REMOVE SIGN, SUPPORT & FOOTING	40.000 54.00		
	Superior Traffic Control, LLC	46.000 EACH	\$15.0000	\$690.00
	Volunteer Paving, LLC		\$31.0000	\$1,426.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		341.000 L.F.		
	Superior Traffic Control, LLC Volunteer Paving, LLC		\$14.0000 \$15.0000	\$4,774.00 \$5,115.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		53.000 L.M.		
	Superior Traffic Control, LLC		\$1,400.0000 \$1,450,0000	\$74,200.00 \$76,850.00

Volunteer Paving, LLC

\$1,450.0000

				CONTRACT CNU173
			UNIT PRICE	EXTENSION
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		768.000 L.F.		
	Superior Traffic Control, LLC		\$1.5000	\$1,152.00
	Volunteer Paving, LLC		\$0.5000	\$384.00
717-01	MOBILIZATION			
		1.000 LS		
	Superior Traffic Control, LLC		\$4,000.0000	\$4,000.00
	Volunteer Paving, LLC		\$5,000.0000	\$5,000.00

Superior Traffic Control, LLC	\$119,397.10
Volunteer Paving, LLC	\$124,461.74

Superior Traffic Control, LLC	\$119,397.10
Volunteer Paving, LLC	\$124,461.74

GRAINGER COUNTY (Contract No. CNU176 Call 029)

NH/HSIP-32(98),29004-3248-94,29004-8248-14

THE RESURFACING ON U.S. 25E (S.R. 32) FROM NEAR MOUNTAIN VIEW ROAD (L.M. 10.52) TO NEAR THE BRIDGE OVER THE CLINCH RIVER (L.M. 17.00).

PROJECT LENGTH - 5.930 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2020

DBE GOAL 6.50%

TOTAL CONTRACT

Rogers Group, Inc.

\$2,661,745.35

APAC-Atlantic, Inc. \$3,085,308.80

			UNIT PRICE	CONTRACT CNU176 EXTENSION
ROADWA	AY CATEGORY		OIII I IIIOL	_//
208-01.05	BROOMING & DEGRASSING SHOULDERS	22.300 L.M.		
	Rogers Group, Inc.	22.300 L.IVI.	\$785.0000	\$17,505.50
	APAC-Atlantic, Inc.		\$1,000.0000	\$22,300.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		205.000 TON		
	Rogers Group, Inc.		\$46.1000	\$9,450.50
	APAC-Atlantic, Inc.		\$71.6500	\$14,688.25
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		2,827.000 TON		
	Rogers Group, Inc.		\$86.8000	\$245,383.60
	APAC-Atlantic, Inc.		\$101.3500	\$286,516.45
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		136.000 TON		
	Rogers Group, Inc.		\$680.0000	\$92,480.00
	APAC-Atlantic, Inc.		\$750.0000	\$102,000.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		4,607.000 TON	•	
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$79.4500 \$86.5000	\$366,026.15 \$398,505.50
	AFAC-Allantic, Inc.		φου.3000	ф390,303.30
411-03.10	ACS MIX(PG76-22) GRADING D			
	Demore Crayer Inc.	14,242.000 TON	\$04.0500	Φ4 200 F02 F0
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$91.2500 \$104.8500	\$1,299,582.50 \$1,493,273.70
	74 76 7 Marillo, Inc.		ψ10 1.0000	Ψ1, 100,270.70
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		9.100 L.M.	^	
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$530.0000 \$685.0000	\$4,823.00 \$6,233.50
	AFAC-Aliantic, Inc.		\$665.0000	φ0,233.30
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Demore Crayer Inc.	18,800.000 TON	\$40,000	Ф04 Г 040 00
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$16.8000 \$24.5500	\$315,840.00 \$461,540.00
	Al Ac-Allahlic, Inc.		Ψ24.3300	Ψ401,040.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	Pogers Group, Inc.	1.000 LS	\$20 AE4 0000	¢20 /61 00
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$38,461.0000 \$34,500.0000	\$38,461.00 \$34,500.00
			ψο 1,000.0000	ψο 1,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	005 000 54 011		
		285.000 EACH		

Rogers Group, Inc.

APAC-Atlantic, Inc.

\$3,135.00

\$11.0000

\$10.0000

				CONTRACT CNU176
			UNIT PRICE	EXTENSION
712-05 01	WARNING LIGHTS (TYPE A)			
712-05.01	WARNING LIGHTS (TIFE A)	143.000 EACH		
	Rogers Group, Inc.	140.000 LAGI1	\$2.0000	\$286.00
	APAC-Atlantic, Inc.		\$2.0000	\$286.00
712-06	SIGNS (CONSTRUCTION)			
	Pagara Craup, Inc.	738.000 S.F.	¢6.4500	¢4.760.10
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$6.4500 \$6.5000	\$4,760.10 \$4,797.00
			•	, ,
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$900.0000	\$1,800.00 \$1,860.00
	APAC-Aliantic, Inc.		\$930.0000	\$1,860.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)	(1 COLOR)		
		93.000 EACH		
	Rogers Group, Inc.		\$23.0000	\$2,139.00
	APAC-Atlantic, Inc.		\$24.0000	\$2,232.00
716-01 23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)	(2 COLOP)		
710-01.23	ONOW ESTABLE NAIGES I AVEIRENT MANNENS (BI-SIN)	855.000 EACH		
	Rogers Group, Inc.	000.000 E/(011	\$23.0000	\$19,665.00
	APAC-Atlantic, Inc.		\$24.0000	\$20,520.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	040 000 54 011		
	Rogers Group, Inc.	948.000 EACH	\$6.0000	\$5,688.00
	APAC-Atlantic, Inc.		\$6.3000	\$5,972.40
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPI			
		2,010.000 S.Y.	# 40.000	400 400 00
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$18.0000 \$19.1500	\$36,180.00 \$38,491.50
	74 70 Additio, mo.		Ψ13.1000	ψου, 43 1.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		210.000 L.F.		
	Rogers Group, Inc.		\$9.0000	\$1,890.00
	APAC-Atlantic, Inc.		\$9.5000	\$1,995.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
1.0 02.00		24.000 EACH		
	Rogers Group, Inc.		\$150.0000	\$3,600.00
	APAC-Atlantic, Inc.		\$160.0000	\$3,840.00
7400101	DI ACTIC DAVEMENT MADIZINO (TRANSPERSO	2)		
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDEI	₹)		

2,256.000 L.F.

Rogers Group, Inc.

APAC-Atlantic, Inc.

\$6,768.00

\$6,768.00

\$3.0000

\$3.0000

				CONTRACT CNU176
			UNIT PRICE	EXTENSION
740 05 05	DAINTED DAVEMENT MADVING (CTOD LINE)			
/16-05.05	PAINTED PAVEMENT MARKING (STOP LINE)			
		210.000 L.F.		
	Rogers Group, Inc.		\$5.0000	\$1,050.00
	APAC-Atlantic, Inc.		\$5.3000	\$1,113.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		54.100 L.M.		
	Rogers Group, Inc.		\$630.0000	\$34,083.00
	APAC-Atlantic, Inc.		\$665.0000	\$35,976.50
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		27.000 L.M.		
	Pagara Craup, Inc.	27.000 2	¢2 000 0000	\$107.460.00
	Rogers Group, Inc.		\$3,980.0000	\$107,460.00 \$112,050.00
	APAC-Atlantic, Inc.		\$4,150.0000	\$112,050.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$43,689.0000	\$43,689.00
	APAC-Atlantic, Inc.		\$27,000.0000	\$27,000.00

Rogers Group, Inc.	\$2,661,745.35
APAC-Atlantic, Inc.	\$3,085,308.80

Rogers Group, Inc.	\$2,661,745.35
APAC-Atlantic, Inc.	\$3,085,308.80

GRUNDY COUNTY (Contract No. CNU189 Call 030)

31007-3241-04

THE REPAIR OF THE BRIDGE ON S.R. 108 OVER PINEY CREEK (L.M. 18.20).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

TOTAL CONTRACT

Bell & Associates Construction, LP \$1,446,651.02

Dement Construction Company, LLC \$1,503,254.75

Mid-State Construction Company, Inc. \$2,017,462.58

			UNIT PRICE	EXTENSION
BRIDGE (CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Bell & Associates Construction, LP		\$27,900.1700	\$27,900.17
	Dement Construction Company, LLC		\$35,000.0000	\$35,000.00
	Mid-State Construction Company, Inc.		\$46,750.6500	\$46,750.65
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Bell & Associates Construction, LP		\$18,574.3500	\$18,574.35
	Dement Construction Company, LLC		\$150,000.0000	\$150,000.00
	Mid-State Construction Company, Inc.		\$19,972.6200	\$19,972.62
201-05.31	VEGETATION REMOVAL			
		1.000 LS		
	Bell & Associates Construction, LP		\$6,858.2800	\$6,858.28
	Dement Construction Company, LLC		\$1,000.0000	\$1,000.00
	Mid-State Construction Company, Inc.		\$18,870.2300	\$18,870.23
202-01.02	REMOVAL OF ASBESTOS			
		1.000 LS		
	Bell & Associates Construction, LP		\$10,091.5500	\$10,091.55
	Dement Construction Company, LLC		\$5,000.0000	\$5,000.00
	Mid-State Construction Company, Inc.		\$10,984.0000	\$10,984.00
202-04.01	REMOVAL OF STRUCTURES (PARTIAL BRIDGE NO	. 31-SR108-18.20)		
		1.000 LS		
	Bell & Associates Construction, LP		\$69,824.3500	\$69,824.35
	Dement Construction Company, LLC		\$100,000.0000	\$100,000.00
	Mid-State Construction Company, Inc.		\$116,959.4500	\$116,959.45
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		276.000 C.Y.		
	Bell & Associates Construction, LP		\$17.8800	\$4,934.88
	Dement Construction Company, LLC		\$50.0000	\$13,800.00
	Mid-State Construction Company, Inc.		\$35.0700	\$9,679.32
203-04	PLACING AND SPREADING TOPSOIL			
		22.000 C.Y.		
	Bell & Associates Construction, LP		\$27.0500	\$595.10
	Dement Construction Company, LLC		\$75.0000	\$1,650.00
	Mid-State Construction Company, Inc.		\$27.4600	\$604.12
203-06	WATER			
		2.000 M.G.		
	Bell & Associates Construction, LP	-	\$29.2300	\$58.46
	Dement Construction Company, LLC		\$500.0000	\$1,000.00
	Mid-State Construction Company, Inc.		\$13.7300	\$27.46
			,	, •

		UNIT PRICE	EXTENSION
		ONTTRIOL	Z/((Z/(G/G))
204-04.10 STRUCTURE EXCAVATION UNC	LASSIFIED		
	260.000 C.Y.		
Bell & Associates Construction,	LP	\$38.6400	\$10,046.40
Dement Construction Company,		\$50.0000	\$13,000.00
Mid-State Construction Compan	y, Inc.	\$27.1400	\$7,056.40
209-03.23 FILTER SOCK (24 INCH)			
	55.000 L.F.		
Bell & Associates Construction,	LP	\$15.8400	\$871.20
Dement Construction Company,		\$10.0000	\$550.00
Mid-State Construction Compan	y, Inc.	\$13.7300	\$755.15
209-05 SEDIMENT REMOVAL			
	10.000 C.Y.		
Bell & Associates Construction,	LP	\$28.9600	\$289.60
Dement Construction Company,		\$43.0000	\$430.00
Mid-State Construction Compan	y, Inc.	\$54.9300	\$549.30
209-08.02 TEMPORARY SILT FENCE (WITH	BACKING)		
	180.000 L.F.		
Bell & Associates Construction,	LP	\$7.0300	\$1,265.40
Dement Construction Company,	LLC	\$4.2500	\$765.00
Mid-State Construction Compan	y, Inc.	\$14.1700	\$2,550.60
209-08.07 ROCK CHECK DAM PER			
	1.000 EACH		
Bell & Associates Construction,	LP	\$890.4300	\$890.43
Dement Construction Company,		\$750.0000	\$750.00
Mid-State Construction Compan	y, Inc.	\$1,029.7500	\$1,029.75
209-08.08 ENHANCED ROCK CHECK DAM			
	4.000 EACH		
Bell & Associates Construction,		\$1,187.2400	\$4,748.96
Dement Construction Company,		\$1,000.0000	\$4,000.00
Mid-State Construction Compan	y, Inc.	\$1,373.0000	\$5,492.00
303-01 MINERAL AGGREGATE, TYPE A	BASE, GRADING D		
	236.000 TON		
Bell & Associates Construction,		\$45.5000	\$10,738.00
Dement Construction Company,		\$75.0000	\$17,700.00
Mid-State Construction Compan	y, Inc.	\$34.3300	\$8,101.88
303-10.01 MINERAL AGGREGATE (SIZE 57)		
	174.000 TON		
Bell & Associates Construction,		\$58.4400	\$10,168.56
Dement Construction Company,		\$75.0000	\$13,050.00
Mid-State Construction Compan	y, Inc.	\$72.7300	\$12,655.02

			UNIT PRICE	EXTENSION
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
		50.000 TON		
	Bell & Associates Construction, LP		\$474.9000	\$23,745.00
	Dement Construction Company, LLC		\$400.0000	\$20,000.00
	Mid-State Construction Company, Inc.		\$549.2000	\$27,460.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2			
		87.000 TON		
	Bell & Associates Construction, LP		\$445.2200	\$38,734.14
	Dement Construction Company, LLC		\$375.0000	\$32,625.00
	Mid-State Construction Company, Inc.		\$514.8800	\$44,794.56
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		1.000 TON		
	Bell & Associates Construction, LP		\$1,780.8600	\$1,780.86
	Dement Construction Company, LLC		\$1,500.0000	\$1,500.00
	Mid-State Construction Company, Inc.		\$2,059.5000	\$2,059.50
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		2.000 TON		
	Bell & Associates Construction, LP		\$593.6200	\$1,187.24
	Dement Construction Company, LLC		\$500.0000	\$1,000.00
	Mid-State Construction Company, Inc.		\$686.5000	\$1,373.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		2.000 TON		
	Bell & Associates Construction, LP		\$1,780.8600	\$3,561.72
	Dement Construction Company, LLC		\$1,500.0000	\$3,000.00
	Mid-State Construction Company, Inc.		\$2,059.5000	\$4,119.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		226.000 TON		
	Bell & Associates Construction, LP		\$237.4500	\$53,663.70
	Dement Construction Company, LLC		\$200.0000	\$45,200.00
	Mid-State Construction Company, Inc.		\$274.6000	\$62,059.60
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	2,	680.000 S.Y.		
	Bell & Associates Construction, LP		\$5.5900	\$14,981.20
	Dement Construction Company, LLC		\$4.7100	\$12,622.80
	Mid-State Construction Company, Inc.		\$6.4700	\$17,339.60
604-02.03	EPOXY COATED REINFORCING STEEL			
	18,	065.000 LB.		
	Bell & Associates Construction, LP		\$1.2300	\$22,219.95
	Dement Construction Company, LLC		\$1.0000	\$18,065.00
	Mid-State Construction Company, Inc.		\$1.8300	\$33,058.95

		UNIT PRICE	EXTENSION
604-03.02 STEEL BAR REINFORCEMENT (BRIDGES)			
	777.000 LB.		
Bell & Associates Construction, LP		\$1.0900	\$846.93
Dement Construction Company, LLC		\$0.8500	\$660.45
Mid-State Construction Company, Inc.		\$1.8600	\$1,445.22
604-03.04 PAVEMENT @ BRIDGE ENDS			
	122.000 S.Y.		
Bell & Associates Construction, LP		\$1,064.5400	\$129,873.88
Dement Construction Company, LLC		\$1,000.0000	\$122,000.00
Mid-State Construction Company, Inc.		\$1,263.3300	\$154,126.26
604-03.09 CLASS D CONCRETE (BRIDGE DECK)			
	40.000 C.Y.		
Bell & Associates Construction, LP		\$801.3100	\$32,052.40
Dement Construction Company, LLC		\$750.0000	\$30,000.00
Mid-State Construction Company, Inc.		\$1,193.7600	\$47,750.40
604-04.01 APPLIED TEXTURE FINISH (NEW STRUCTURES)			
	118.000 S.Y.		
Bell & Associates Construction, LP		\$16.6200	\$1,961.16
Dement Construction Company, LLC		\$25.0000	\$2,950.00
Mid-State Construction Company, Inc.		\$19.2200	\$2,267.96
604-10.05 CONCRETE			
	189.000 S.F.		
Bell & Associates Construction, LP		\$146.5700	\$27,701.73
Dement Construction Company, LLC		\$125.0000	\$23,625.00
Mid-State Construction Company, Inc.		\$187.1400	\$35,369.46
604-10.14 REMOVE EXISTING WEARING SURFACE			
	1.000 LS		
Bell & Associates Construction, LP		\$4,748.9600	\$4,748.96
Dement Construction Company, LLC		\$10,000.0000	\$10,000.00
Mid-State Construction Company, Inc.		\$5,492.0000	\$5,492.00
604-10.54 CONCRETE REPAIRS			
	189.000 S.F.		
Bell & Associates Construction, LP		\$146.2100	\$27,633.69
Dement Construction Company, LLC		\$125.0000	\$23,625.00
Mid-State Construction Company, Inc.		\$186.8800	\$35,320.32
604-10.58 EPOXY INJECTION (INJECTION)			
	30.000 GAL.		
Bell & Associates Construction, LP		\$205.2200	\$6,156.60
Dement Construction Company, LLC		\$109.2500	\$3,277.50
Mid-State Construction Company, Inc.		\$411.9000	\$12,357.00

		UNIT PRICE	EXTENSION
604-10.59 CLOSURE POUR MATERIAL (ACCELERATED STRENGTH)			
	670.000 C.F.		
Bell & Associates Construction, LP		\$124.6700	\$83,528.90
Dement Construction Company, LLC		\$115.0000	\$77,050.00
Mid-State Construction Company, Inc.		\$137.6100	\$92,198.70
604-10.62 EPOXY INJECTION REPAIR (COMPLETE AND IN PLACE)			
	298.000 L.F.		
Bell & Associates Construction, LP		\$54.6100	\$16,273.78
Dement Construction Company, LLC		\$65.0000	\$19,370.00
Mid-State Construction Company, Inc.		\$63.1600	\$18,821.68
615-02.04 PRESTRESSED CONCRETE BOX BEAM (27" X 36")			
	360.000 L.F.		
Bell & Associates Construction, LP		\$603.7500	\$217,350.00
Dement Construction Company, LLC		\$315.0000	\$113,400.00
Mid-State Construction Company, Inc.		\$776.7100	\$279,615.60
615-04.04 FULL DEPTH PRECAST DECK PANEL (5000 PSI)			
	202.000 S.Y.		
Bell & Associates Construction, LP		\$932.6800	\$188,401.36
Dement Construction Company, LLC		\$1,000.0000	\$202,000.00
Mid-State Construction Company, Inc.		\$958.8600	\$193,689.72
615-04.10 NON-SHRINK GROUT			
	40.000 C.F.		
Bell & Associates Construction, LP		\$152.0900	\$6,083.60
Dement Construction Company, LLC		\$175.0000	\$7,000.00
Mid-State Construction Company, Inc.		\$224.3200	\$8,972.80
615-04.11 EPOXY GROUT			
	5.000 C.F.		
Bell & Associates Construction, LP		\$262.7300	\$1,313.65
Dement Construction Company, LLC		\$250.0000	\$1,250.00
Mid-State Construction Company, Inc.		\$650.4600	\$3,252.30
615-04.30 PRECAST BRIDGE ABUTMENT WALL			
	12.000 C.Y.		
Bell & Associates Construction, LP		\$1,856.6800	\$22,280.16
Dement Construction Company, LLC		\$2,000.0000	\$24,000.00
Mid-State Construction Company, Inc.		\$4,892.5900	\$58,711.08
617-01 BRIDGE DECK SEALANT			
	521.000 S.Y.		
Bell & Associates Construction, LP		\$30.5700	\$15,926.97
Dement Construction Company, LLC		\$25.0000	\$13,025.00
Mid-State Construction Company, Inc.		\$35.3500	\$18,417.35

			UNIT PRICE	EXTENSION
620-05.01	CONC PARAPET SINGLE SLOPE (STD-1-1SS)			
		290.000 L.F.		
	Bell & Associates Construction, LP		\$96.5100	\$27,987.90
	Dement Construction Company, LLC		\$75.0000	\$21,750.00
	Mid-State Construction Company, Inc.		\$161.3100	\$46,779.90
703-01	PORTLAND CEMENT CONCRETE DITCH PAVING			
		6.000 C.Y.		
	Bell & Associates Construction, LP		\$746.8200	\$4,480.92
	Dement Construction Company, LLC		\$1,000.0000	\$6,000.00
	Mid-State Construction Company, Inc.		\$849.8900	\$5,099.34
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
		313.000 L.F.		
	Bell & Associates Construction, LP		\$20.7800	\$6,504.14
	Dement Construction Company, LLC		\$21.5000	\$6,729.50
	Mid-State Construction Company, Inc.		\$29.5200	\$9,239.76
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		4.000 EACH		
	Bell & Associates Construction, LP		\$2,730.6500	\$10,922.60
	Dement Construction Company, LLC		\$2,450.0000	\$9,800.00
	Mid-State Construction Company, Inc.		\$3,363.8500	\$13,455.40
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
		4.000 EACH		
	Bell & Associates Construction, LP		\$2,374.4800	\$9,497.92
	Dement Construction Company, LLC		\$1,500.0000	\$6,000.00
	Mid-State Construction Company, Inc.		\$2,059.5000	\$8,238.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		4.000 EACH		
	Bell & Associates Construction, LP		\$5,936.2100	\$23,744.84
	Dement Construction Company, LLC		\$5,000.0000	\$20,000.00
	Mid-State Construction Company, Inc.		\$6,865.0000	\$27,460.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		180.000 L.F.		
	Bell & Associates Construction, LP		\$7.7800	\$1,400.40
	Dement Construction Company, LLC		\$1.5000	\$270.00
	Mid-State Construction Company, Inc.		\$2.0600	\$370.80
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		100.000 TON		
	Bell & Associates Construction, LP		\$56.0700	\$5,607.00
	Dement Construction Company, LLC		\$75.0000	\$7,500.00
	Mid-State Construction Company, Inc.		\$61.5400	\$6,154.00

			UNIT PRICE	EXTENSION
709-05.06 MACHINED RIP	-RAP (CLASS A-1)			
		35.000 TON		
Bell & Associate	es Construction, LP		\$56.0700	\$1,962.45
Dement Constr	uction Company, LLC		\$75.0000	\$2,625.00
Mid-State Cons	struction Company, Inc.		\$61.4800	\$2,151.80
709-05.09 MACHINED RIP	-RAP (CLASS C)			
		38.000 TON		
	es Construction, LP		\$75.2200	\$2,858.36
	uction Company, LLC		\$75.0000	\$2,850.00
Mid-State Cons	struction Company, Inc.		\$62.1700	\$2,362.46
710-09.01 6" PERFORATE	D PIPE WITH VERTICAL DRAIN SYSTE			
D 11 0 A	0 / 15	94.000 L.F.	405 7000	# 0.050.00
	es Construction, LP		\$35.7300	\$3,358.62
	ruction Company, LLC		\$50.0000	\$4,700.00
Mid-State Cons	struction Company, Inc.		\$49.3600	\$4,639.84
712-01 TRAFFIC CONT	ROL			
		1.000 LS		
	es Construction, LP		\$12,108.5300	\$12,108.53
	uction Company, LLC		\$21,700.0000	\$21,700.00
Mid-State Cons	struction Company, Inc.		\$41,169.5400	\$41,169.54
712-02.02 INTERCONNEC	TED PORTABLE BARRIER RAIL			
		1,040.000 L.F.		
	es Construction, LP		\$32.2600	\$33,550.40
	ruction Company, LLC		\$35.0000	\$36,400.00
Mid-State Cons	struction Company, Inc.		\$46.5500	\$48,412.00
712-02.47 BRIDGE MOUN	TED INTERCONNECTED PORTABLE BA			
		450.000 L.F.	.	•
	es Construction, LP		\$35.2600	\$15,867.00
	ruction Company, LLC		\$50.0000 \$04.3400	\$22,500.00
Mid-State Cons	struction Company, Inc.		\$94.3400	\$42,453.00
712-04.01 FLEXIBLE DRU	MS (CHANNELIZING)			
		53.000 EACH		
	es Construction, LP		\$93.1500	\$4,936.95
	uction Company, LLC		\$28.0000	\$1,484.00
Mid-State Cons	struction Company, Inc.		\$38.4400	\$2,037.32
712-04.50 BARRIER RAIL	DELINEATOR			
		56.000 EACH		
	es Construction, LP		\$11.8700	\$664.72
	uction Company, LLC		\$10.0000	\$560.00
Mid-State Cons	struction Company, Inc.		\$13.7300	\$768.88

			UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
		12.000 EACH		
	Bell & Associates Construction, LP	. =	\$35.6200	\$427.44
	Dement Construction Company, LLC		\$30.0000	\$360.00
	Mid-State Construction Company, Inc.		\$41.1900	\$494.28
	wild state construction company, me.		Ψ1.1300	ψ+5+.20
712-06	SIGNS (CONSTRUCTION)			
112-00	SIGNS (CONSTRUCTION)			
		1,651.000 S.F.		
	Bell & Associates Construction, LP		\$7.7200	\$12,745.72
	Dement Construction Company, LLC		\$6.5000	\$10,731.50
	Mid-State Construction Company, Inc.		\$8.9200	\$14,726.92
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		110.000 L.F.		
	Bell & Associates Construction, LP		\$15.4300	\$1,697.30
	Dement Construction Company, LLC		\$13.0000	\$1,430.00
	Mid-State Construction Company, Inc.		\$17.8500	\$1,963.50
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
		4,000.000 L.F.		
	Bell & Associates Construction, LP	4,000.000 E.I. I	\$2.6700	\$10,680.00
	Dement Construction Company, LLC		\$2.2500	\$9,000.00
	Mid-State Construction Company, Inc.		\$3.0900	\$12,360.00
	wild diate donstruction dompany, inc.		ψο.0000	Ψ12,000.00
712-00 02	REMOVABLE PAVEMENT MARKING (8" BARRIER	I INE)		
112-09.02	REMOVABLE FAVEMENT MARKING (6 BARKIER	·		
		3,300.000 L.F.		
	Bell & Associates Construction, LP		\$4.1600	\$13,728.00
	Dement Construction Company, LLC		\$3.5000	\$11,550.00
	Mid-State Construction Company, Inc.		\$4.8100	\$15,873.00
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
		22.000 L.F.		
	Bell & Associates Construction, LP		\$23.7400	\$522.28
	Dement Construction Company, LLC		\$20.0000	\$440.00
	Mid-State Construction Company, Inc.		\$27.4600	\$604.12
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Bell & Associates Construction, LP		\$6,886.0000	\$13,772.00
	Dement Construction Company, LLC		\$5,800.0000	\$11,600.00
	Mid-State Construction Company, Inc.		\$7,963.4000	\$15,926.80
			, ,	. ,
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS	(BI-DIR) (1 COLOR)		
		16.000 EACH		
	Pall 9 Appointed Construction 1 D	10.000 EACH	#EO 2000	#040.70
	Bell & Associates Construction, LP		\$59.3600 \$50.0000	\$949.76
	Dement Construction Company, LLC Mid-State Construction Company, Inc.		\$50.0000 \$68.6500	\$800.00 \$1,098.40
	who-state construction company, inc.		φυσυσου	φ1,030. 4 0

CONTRACT CNU189

			UNIT PRICE	EXTENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	•	1.000 L.M.		
	Bell & Associates Construction, LP		\$6,173.6500	\$6,173.65
	Dement Construction Company, LLC		\$5,200.0000	\$5,200.00
	Mid-State Construction Company, Inc.		\$7,139.6000	\$7,139.60
717-01	MOBILIZATION			
		1.000 LS		
	Bell & Associates Construction, LP		\$69,439.2400	\$69,439.24
	Dement Construction Company, LLC		\$80,000.0000	\$80,000.00
	Mid-State Construction Company, Inc.		\$218,810.4900	\$218,810.49
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		1.000 EACH		
	Bell & Associates Construction, LP		\$16,621.3800	\$16,621.38
	Dement Construction Company, LLC		\$18,000.0000	\$18,000.00
	Mid-State Construction Company, Inc.		\$26,636.2000	\$26,636.20
740-07.03	GEOGRID REINFORCEMENT TYPE 1			
		825.000 S.Y.		
	Bell & Associates Construction, LP		\$8.3300	\$6,872.25
	Dement Construction Company, LLC		\$15.0000	\$12,375.00
	Mid-State Construction Company, Inc.		\$8.6700	\$7,152.75
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		172.000 S.Y.		
	Bell & Associates Construction, LP		\$2.3700	\$407.64
	Dement Construction Company, LLC		\$2.0000	\$344.00
	Mid-State Construction Company, Inc.		\$2.7500	\$473.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		342.000 S.Y.		
	Bell & Associates Construction, LP		\$4.2200	\$1,443.24
	Dement Construction Company, LLC		\$2.0000	\$684.00
	Mid-State Construction Company, Inc.		\$6.8700	\$2,349.54
740-11.04	TEMPORARY SEDIMENT TUBE 20IN			
		784.000 L.F.		
	Bell & Associates Construction, LP		\$4.7500	\$3,724.00
	Dement Construction Company, LLC		\$4.0000	\$3,136.00
	Mid-State Construction Company, Inc.		\$5.4900	\$4,304.16
801-01	SEEDING (WITH MULCH)			
		1.000 UNIT		
	Bell & Associates Construction, LP		\$59.3600	\$59.36
	Dement Construction Company, LLC		\$50.0000	\$50.00
	Mid-State Construction Company, Inc.		\$137.3000	\$137.30

			UNIT PRICE	EXTENSION
801-01.02	CROWN VETCH MIXTURE (WITH MULCH)			
		1.000 UNIT		
	Bell & Associates Construction, LP		\$59.3600	\$59.36
	Dement Construction Company, LLC		\$50.0000	\$50.00
	Mid-State Construction Company, Inc.		\$137.3000	\$137.30
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
001 01101	12 0.0 02.2 (1.000 UNIT		
	Bell & Associates Construction, LP		\$41.5500	\$41.55
	Dement Construction Company, LLC		\$35.0000	\$35.00
	Mid-State Construction Company, Inc.		\$68.6500	\$68.65
801-02	SEEDING (WITHOUT MULCH)			
	,	1.000 UNIT		
	Bell & Associates Construction, LP		\$41.5500	\$41.55
	Dement Construction Company, LLC		\$35.0000	\$35.00
	Mid-State Construction Company, Inc.		\$68.6500	\$68.65
801 - 02 08	TEMPORARY SEEDING (WITHOUT MULCH)			
001 02.00	TEIM ORACT GEESING (WITHOUT MOEST)	1.000 UNIT		
	Bell & Associates Construction, LP	1.000 01111	\$35.6100	\$35.61
	Dement Construction Company, LLC		\$30.0000	\$30.00
	Mid-State Construction Company, Inc.		\$68.6500	\$68.65
801-03	WATER (SEEDING & SODDING)			
001 00	WATER (SEESING & SOSSING)	1.000 M.G.		
	Bell & Associates Construction, LP		\$59.3600	\$59.36
	Dement Construction Company, LLC		\$50.0000	\$50.00
	Mid-State Construction Company, Inc.		\$137.3000	\$137.30
801-07	SEED (SUPPLEMENTAL APPLICATION)			
	,	10.000 LB.		
	Bell & Associates Construction, LP		\$5.9400	\$59.40
	Dement Construction Company, LLC		\$5.0000	\$50.00
	Mid-State Construction Company, Inc.		\$27.4600	\$274.60
801-07.01	CROWN VETCH SEED (SUPPLEMENTAL APPLICATION)			
		10.000 LB.		
	Bell & Associates Construction, LP		\$11.8700	\$118.70
	Dement Construction Company, LLC		\$10.0000	\$100.00
	Mid-State Construction Company, Inc.		\$27.4600	\$274.60
801-08	FERTILIZER (SUPPLEMENTAL APPLICATION)			
		1.000 TON		
	Bell & Associates Construction, LP		\$890.4300	\$890.43
	Dement Construction Company, LLC		\$750.0000	\$750.00
	Mid-State Construction Company, Inc.		\$1,029.7500	\$1,029.75

CONTRACT CNU18	9
----------------	---

			UNIT PRICE	EXTENSION
803-01	SODDING (NEW SOD)			
		48.000 S.Y.		
	Bell & Associates Construction, LP		\$11.8700	\$569.76
	Dement Construction Company, LLC		\$10.0000	\$480.00
	Mid-State Construction Company, Inc.		\$27.4600	\$1,318.08
805-12.01	EROSION CONTROL BLANKET (TYPE I)			
		33.000 S.Y.		
	Bell & Associates Construction, LP		\$5.9400	\$196.02
	Dement Construction Company, LLC		\$5.0000	\$165.00
	Mid-State Construction Company, Inc.		\$34.3300	\$1,132.89

SUB-TOTAL BRIDGE

Bell & Associates Construction, LP	\$1,446,651.02
Dement Construction Company, LLC	\$1,503,254.75
Mid-State Construction Company, Inc.	\$2,017,462.58

TOTAL CONTRACT

Bell & Associates Construction, LP	\$1,446,651.02
Dement Construction Company, LLC	\$1,503,254.75
Mid-State Construction Company, Inc.	\$2,017,462.58

HAMBLEN AND JEFFERSON COUNTIES (Contract No. CNU093 Call 031)

32008-4222-04,HSIP/PHSIP-34(105),32004-3226-94,HSIP-474(10),32084-3201-94,32084-4201-04,NH/HSIP-160(16),32008-3222-94,32008-8222-14,STP/HSIP-341(51),45054-3208-94,45054-8208-14,STP-H/PHSIP-160(9),32008-3218-94

THE RESURFACING ON S.R. 341 IN JEFFERSON COUNTY AND IN HAMBLEN COUNTY THE RESURFACING ON S.R. 160 AND S.R. 474, INCLUDING INTERSECTION IMPROVEMENTS ON U.S. 11E (S.R. 34) AND S.R. 160 AT COMMERCE BOULEVARD.

PROJECT LENGTH - 6.855 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2021

DBE GOAL 10.00%

TOTAL CONTRACT

APAC-Atlantic, Inc.

\$6,587,687.86

109-10.01 TRAINEE 1,720.000 HOUR APAC-Atlantic, Inc. 201-01 CLEARING AND GRUBBING APAC-Atlantic, Inc. 202-02.01 REMOVAL OF PIPE (18" CMP) APAC-Atlantic, Inc. 551.000 L.F. APAC-Atlantic, Inc. 551.000 L.F. APAC-Atlantic, Inc. 551.000 L.S. \$7,650.000 \$7,650.000 \$7,650.000 \$1,000 LS \$7,650.000 \$7,650.000 \$1,000 LS	ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
APAC-Atlantic, Inc. \$16,000.000 \$16,000.000 \$10,000.00	105-01	CONSTRUCTION STAKES, LINES AND GRADES			
APAC-Atlantic, Inc. 1,720.000 HOUR \$0.8000 \$1,376.00		APAC-Atlantic, Inc.	1.000 LS	\$16,000.0000	\$16,000.00
APAC-Atlantic, Inc. \$0.8000 \$1,376.00 201-01 CLEARING AND GRUBBING APAC-Atlantic, Inc. \$23,500.0000 \$23,500.000 202-02.01 REMOVAL OF PIPE (18" CMP) APAC-Atlantic, Inc. \$51.000 L.F. APAC-Atlantic, Inc. \$38.2500 \$21,075.79 APAC-Atlantic, Inc. \$7,650.0000 \$7,650.000 202-04.02 REMOVAL OF STRUCTURES (MANHOLES S1, S2, S4, AND S5) APAC-Atlantic, Inc. \$7,650.0000 \$7,650.000 202-04.02 REMOVAL OF STRUCTURES (MEDIAN ISLANDS) APAC-Atlantic, Inc. \$14,500.0000 \$14,500.000 203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) APAC-Atlantic, Inc. \$31.7000 \$240,983.40 203-06 WATER APAC-Atlantic, Inc. \$7,8000 M.G. APAC-Atlantic, Inc. \$7,800.00 M.G. APAC-Atlantic, Inc. \$7,8000 \$46.80 \$46.80 203-07 FURNISHING & SPREADING TOPSOIL	109-10.01	TRAINEE	1 720 000 HOUR		
1.000 LS APAC-Atlantic, Inc. \$23,500.000 \$23,500.00 \$23,500.00 \$23,500.00 \$223,500.00 \$223,500.00 \$223,500.00 \$223,500.00 \$220.00 \$20.0		APAC-Atlantic, Inc.	1,720.000 HOUR	\$0.8000	\$1,376.00
APAC-Atlantic, Inc. \$23,500.000 \$23,500.000 202-02.01 REMOVAL OF PIPE (18" CMP) 551.000 L.F. \$38.2500 \$21,075.75 202-04.01 REMOVAL OF STRUCTURES (MANHOLES \$1, \$2, \$4, AND \$5) APAC-Atlantic, Inc. \$7,650.000 \$7,650.00 202-04.02 REMOVAL OF STRUCTURES (MEDIAN ISLANDS) APAC-Atlantic, Inc. \$14,500.000 \$14,500.00 203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) APAC-Atlantic, Inc. \$31.7000 \$240,983.46 203-06 WATER APAC-Atlantic, Inc. \$7.8000 \$46.86 203-07 FURNISHING & SPREADING TOPSOIL	201-01	CLEARING AND GRUBBING	1 000 S		
### APAC-Atlantic, Inc. \$38.2500 \$21,075.75 #################################		APAC-Atlantic, Inc.	1.000 L3	\$23,500.0000	\$23,500.00
APAC-Atlantic, Inc. \$38.2500 \$21,075.75 202-04.01 REMOVAL OF STRUCTURES (MANHOLES S1, S2, S4, AND S5) APAC-Atlantic, Inc. \$7,650.000 \$7,650.000 202-04.02 REMOVAL OF STRUCTURES (MEDIAN ISLANDS) APAC-Atlantic, Inc. \$14,500.0000 \$14,500.000 203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) APAC-Atlantic, Inc. \$31.7000 \$240,983.40 203-06 WATER APAC-Atlantic, Inc. \$7.8000 \$46.80 203-07 FURNISHING & SPREADING TOPSOIL 616.000 C.Y.	202-02.01	REMOVAL OF PIPE (18" CMP)	551 000 L E		
1.000 LS \$7,650.000 \$7,650.000 202-04.02 REMOVAL OF STRUCTURES (MEDIAN ISLANDS) APAC-Atlantic, Inc. \$14,500.000 \$14,500.000 203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) APAC-Atlantic, Inc. \$31.7000 \$240,983.40 203-06 WATER APAC-Atlantic, Inc. \$7.8000 \$46.80 203-07 FURNISHING & SPREADING TOPSOIL		APAC-Atlantic, Inc.	551.000 L.F.	\$38.2500	\$21,075.75
APAC-Atlantic, Inc. \$7,650.0000 \$7,650.0000 202-04.02 REMOVAL OF STRUCTURES (MEDIAN ISLANDS) 1.000 LS APAC-Atlantic, Inc. \$14,500.0000 \$14,500.000 203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) 7,602.000 C.Y. APAC-Atlantic, Inc. \$31.7000 \$240,983.40 203-06 WATER 6.000 M.G. APAC-Atlantic, Inc. \$7.8000 \$46.80 203-07 FURNISHING & SPREADING TOPSOIL 616.000 C.Y.	202-04.01	REMOVAL OF STRUCTURES (MANHOLES S1, S2, S4, AND S5)			
1.000 LS APAC-Atlantic, Inc. \$14,500.000 \$14,500.00 203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) 7,602.000 C.Y. APAC-Atlantic, Inc. \$31.7000 \$240,983.40 203-06 WATER 6.000 M.G. APAC-Atlantic, Inc. \$7.8000 \$46.80		APAC-Atlantic, Inc.	1.000 LS	\$7,650.0000	\$7,650.00
APAC-Atlantic, Inc. \$14,500.000 \$14,500.000 203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) 7,602.000 C.Y. APAC-Atlantic, Inc. \$31.7000 \$240,983.40 203-06 WATER 6.000 M.G. APAC-Atlantic, Inc. \$7.8000 \$46.80 203-07 FURNISHING & SPREADING TOPSOIL 616.000 C.Y.	202-04.02	REMOVAL OF STRUCTURES (MEDIAN ISLANDS)	4 000 L C		
7,602.000 C.Y. APAC-Atlantic, Inc. \$31.7000 \$240,983.40 203-06 WATER 6.000 M.G. APAC-Atlantic, Inc. \$7.8000 \$46.80 203-07 FURNISHING & SPREADING TOPSOIL 616.000 C.Y.		APAC-Atlantic, Inc.	1.000 LS	\$14,500.0000	\$14,500.00
APAC-Atlantic, Inc. \$31.7000 \$240,983.40 203-06 WATER 6.000 M.G. APAC-Atlantic, Inc. \$7.8000 \$46.80 203-07 FURNISHING & SPREADING TOPSOIL 616.000 C.Y.	203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	7 CO2 OOO C V		
6.000 M.G. APAC-Atlantic, Inc. \$7.8000 \$46.80 203-07 FURNISHING & SPREADING TOPSOIL 616.000 C.Y.		APAC-Atlantic, Inc.	7,602.000 C.Y.	\$31.7000	\$240,983.40
APAC-Atlantic, Inc. \$7.8000 \$46.80 203-07 FURNISHING & SPREADING TOPSOIL 616.000 C.Y.	203-06	WATER	C 000 M C		
616.000 C.Y.		APAC-Atlantic, Inc.	6.000 M.G.	\$7.8000	\$46.80
	203-07	FURNISHING & SPREADING TOPSOIL	C4C 000 C V		
At AC-Atlatitic, Inc. \$\psi_{\psi} t \.0000 \psi_{\psi} 0.000 \psi		APAC-Atlantic, Inc.	616.000 C.Y.	\$47.0000	\$28,952.00
208-01.05 BROOMING & DEGRASSING SHOULDERS	208-01.05	BROOMING & DEGRASSING SHOULDERS	40 700 L M		
		APAC-Atlantic, Inc.	19.700 L.M.	\$2,050.0000	\$40,385.00
209-05 SEDIMENT REMOVAL	209-05	SEDIMENT REMOVAL			
118.000 C.Y. APAC-Atlantic, Inc. \$32.9000 \$3,882.20		APAC-Atlantic, Inc.	118.000 C.Y.	\$32.9000	\$3,882.20
209-08.03 TEMPORARY SILT FENCE (WITHOUT BACKING)	209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)	4 400 000 : =		
1,480.000 L.F. APAC-Atlantic, Inc. \$2.2500 \$3,330.00		APAC-Atlantic, Inc.	1,480.000 L.F.	\$2.2500	\$3,330.00

			UNIT PRICE	CONTRACT CNU093 EXTENSION
209-08.08	ENHANCED ROCK CHECK DAM			
	APAC-Atlantic, Inc.	10.000 EACH	\$965.0000	\$9,650.00
209-09.43	CURB INLET PROTECTION (TYPE 4)			
	APAC-Atlantic, Inc.	2.000 EACH	\$205.0000	\$410.00
209-40.33	CATCH BASIN PROTECTION (TYPE D)	4 000 54 011		
	APAC-Atlantic, Inc.	4.000 EACH	\$177.0000	\$708.00
209-40.44	CATCH BASIN FILTER ASSEMBLY(TYPE 4)	C 000 F4 OU		
	APAC-Atlantic, Inc.	6.000 EACH	\$615.0000	\$3,690.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	40 204 000 TON		
	APAC-Atlantic, Inc.	10,364.000 TON	\$39.0000	\$404,196.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS	0 400 000 TON		
	APAC-Atlantic, Inc.	2,432.000 TON	\$130.0000	\$316,160.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING			
	APAC-Atlantic, Inc.	1,361.000 TON	\$115.0000	\$156,515.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING			
	APAC-Atlantic, Inc.	1,109.000 TON	\$125.0000	\$138,625.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	APAC-Atlantic, Inc.	13.000 TON	\$1,280.0000	\$16,640.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	APAC-Atlantic, Inc.	124.000 TON	\$870.0000	\$107,880.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT			
	APAC-Atlantic, Inc.	6,614.000 L.F.	\$1.0000	\$6,614.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER	7 070 000 70		
	APAC-Atlantic, Inc.	7,278.000 TON	\$100.0000	\$727,800.00

			UNIT PRICE	CONTRACT CNU093 EXTENSION
411-02.10	ACS MIX(PG70-22) GRADING D			
	APAC-Atlantic, Inc.	16,417.000 TON	\$123.5000	\$2,027,499.50
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	APAC-Atlantic, Inc.	21.400 L.M.	\$515.0000	\$11,021.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
	APAC-Atlantic, Inc.	0.200 L.M.	\$4,530.0000	\$906.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	APAC-Atlantic, Inc.	20,339.000 S.Y.	\$3.5000	\$71,186.50
604-07.01	RETAINING WALL (S.R. 160 STA. 222+30 - 224+60 LT.)			
	APAC-Atlantic, Inc.	2,650.000 S.F.	\$90.9500	\$241,017.50
607-03.02	18" CONCRETE PIPE CULVERT (CLASS III)	578.000 L.F.		
	APAC-Atlantic, Inc.		\$110.0000	\$63,580.00
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
	APAC-Atlantic, Inc.	80.000 L.F.	\$105.0000	\$8,400.00
611-01.05	MANHOLES, > 16' - 20' DEPTH			
	APAC-Atlantic, Inc.	1.000 EACH	\$12,800.0000	\$12,800.00
611-02.10	JUNCTION BOX, TYPE 1			
	APAC-Atlantic, Inc.	1.000 EACH	\$7,500.0000	\$7,500.00
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)			
	APAC-Atlantic, Inc.	1.070 C.Y.	\$2,460.0000	\$2,632.20
611-07.02	STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
	APAC-Atlantic, Inc.	153.000 LB.	\$5.5000	\$841.50
611-07.73	18IN ENDWALL (MEDIAN DRAIN)			
	APAC-Atlantic, Inc.	3.000 EACH	\$7,500.0000	\$22,500.00

			UNIT PRICE	CONTRACT CNU093 EXTENSION
611-10.01	CATCH BASINS, TYPE 10, 0' - 4' DEPTH			
	APAC-Atlantic, Inc.	1.000 EACH	\$4,350.0000	\$4,350.00
611-10.02	CATCH BASINS, TYPE 10, > 4' - 8' DEPTH			
	APAC-Atlantic, Inc.	1.000 EACH	\$4,600.0000	\$4,600.00
620-05.01	CONC PARAPET SINGLE SLOPE (STD-1-1SS)			
	APAC-Atlantic, Inc.	230.000 L.F.	\$97.0000	\$22,310.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	APAC-Atlantic, Inc.	1,925.000 S.F.	\$43.5000	\$83,737.50
701-03	CONCRETE MEDIAN PAVEMENT			
	APAC-Atlantic, Inc.	209.000 C.Y.	\$480.0000	\$100,320.00
702-01	CONCRETE CURB			
	APAC-Atlantic, Inc.	66.000 C.Y.	\$413.0000	\$27,258.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	APAC-Atlantic, Inc.	5.000 EACH	\$175.0000	\$875.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	APAC-Atlantic, Inc.	5.000 EACH	\$1,400.0000	\$7,000.00
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
	APAC-Atlantic, Inc.	25.000 L.F.	\$23.5000	\$587.50
705-06.02	W BEAM GR (TYPE 2) MASH TL3 (LONG POST)			
	APAC-Atlantic, Inc.	525.000 L.F.	\$25.0000	\$13,125.00
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL3			
	APAC-Atlantic, Inc.	1.000 EACH	\$1,290.0000	\$1,290.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	0.000 54.00		
	APAC-Atlantic, Inc.	6.000 EACH	\$2,825.0000	\$16,950.00

			UNIT PRICE	CONTRACT CNU093 EXTENSION
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
	APAC-Atlantic, Inc.	1.000 EACH	\$2,260.0000	\$2,260.00
705-20.25	TEMPORARY CRASH CUSHION (MASH TL-3)			
	APAC-Atlantic, Inc.	16.000 EACH	\$8,500.0000	\$136,000.00
706-01	GUARDRAIL REMOVED			
	APAC-Atlantic, Inc.	843.000 L.F.	\$2.3500	\$1,981.05
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
	APAC-Atlantic, Inc.	2.000 EACH	\$450.0000	\$900.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	APAC-Atlantic, Inc.	100.000 TON	\$60.0000	\$6,000.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
	APAC-Atlantic, Inc.	11.000 TON	\$85.0000	\$935.00
712-01	TRAFFIC CONTROL			
	APAC-Atlantic, Inc.	1.000 LS	\$175,000.0000	\$175,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
	APAC-Atlantic, Inc.	4,310.000 L.F.	\$46.0000	\$198,260.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	407 000 74011		
	APAC-Atlantic, Inc.	465.000 EACH	\$35.3000	\$16,414.50
712-04.50	BARRIER RAIL DELINEATOR			
	APAC-Atlantic, Inc.	49.000 EACH	\$11.7000	\$573.30
712-05.01	WARNING LIGHTS (TYPE A)			
	APAC-Atlantic, Inc.	105.000 EACH	\$41.0000	\$4,305.00
712-06	SIGNS (CONSTRUCTION)			
	APAC-Atlantic, Inc.	3,764.666 S.F.	\$8.5000	\$31,999.66

		UNIT PRICE	CONTRACT CNU093 EXTENSION
712-08.03 ARROW BOARD (TYPE C)			
APAC-Atlantic, Inc.	14.000 EACH	\$530.0000	\$7,420.00
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
APAC-Atlantic, Inc.	950.000 LB.	\$4.0000	\$3,800.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
APAC-Atlantic, Inc.	88.000 S.F.	\$15.5000	\$1,364.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
APAC-Atlantic, Inc.	190.000 S.F.	\$16.0000	\$3,040.00
713-14.21 STREET NAME SIGN (RIGID 0.100IN THICK			
APAC-Atlantic, Inc.	84.000 S.F.	\$25.9000	\$2,175.60
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS	4 000 1 0		
APAC-Atlantic, Inc.	1.000 LS	\$650.0000	\$650.00
713-16.20 SIGNS (R1-1, STOP)			
APAC-Atlantic, Inc.	1.000 EACH	\$260.0000	\$260.00
713-16.21 SIGNS (W3-3 SIGNAL AHEAD W/ "NEW" PLATE)			
APAC-Atlantic, Inc.	3.000 EACH	\$280.0000	\$840.00
713-16.22 SIGNS (R4-7, KEEP RIGHT)			
APAC-Atlantic, Inc.	4.000 EACH	\$230.0000	\$920.00
713-16.23 SIGNS (R6-1, ONE WAY)			
APAC-Atlantic, Inc.	2.000 EACH	\$210.0000	\$420.00
713-16.24 SIGNS (R3-9B)	5.000 EACH		
APAC-Atlantic, Inc.		\$210.0000	\$1,050.00
713-16.25 SIGNS (W11-2)	4 000 54 011		
APAC-Atlantic, Inc.	4.000 EACH	\$260.0000	\$1,040.00

			UNIT PRICE	CONTRACT CNU093 EXTENSION
713-16.26	SIGNS (W16-7P) APAC-Atlantic, Inc.	1.000 EACH	\$47.0000	\$47.00
	SIGNS (W16-9P) APAC-Atlantic, Inc.	2.000 EACH	\$47.0000	\$94.00
	SIGNS (R3-8a) APAC-Atlantic, Inc. SIGNS (R3-8a)	1.000 EACH	\$320.0000	\$320.00
	APAC-Atlantic, Inc. BARRIER MOUNTED SIGN SUPPORT	1.000 EACH	\$320.0000	\$320.00
716-01.21	APAC-Atlantic, Inc. SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CC	1.000 EACH	\$320.0000	\$320.00
716-01.22	APAC-Atlantic, Inc. SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1)		\$26.0000	\$7,098.00
716-01.23	APAC-Atlantic, Inc. SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 CO		\$26.0000	\$7,358.00
716-01.30	APAC-Atlantic, Inc. REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	1,179.000 EACH	\$26.0000	\$30,654.00
716-02.04	APAC-Atlantic, Inc. PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	1,107.000 EACH 1,558.000 S.Y.	\$6.5000	\$7,195.50
716-02.05	APAC-Atlantic, Inc. PLASTIC PAVEMENT MARKING (STOP LINE)	960.000 L.F.	\$17.3500	\$27,031.30
716-02.06	APAC-Atlantic, Inc. PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	83.000 EACH	\$10.0000	\$9,600.00
	A D A O A (1) (1)		M4.4E.0000	M40 00E 00

APAC-Atlantic, Inc.

\$12,035.00

\$145.0000

			UNIT PRICE	CONTRACT CNU093 EXTENSION
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
	APAC-Atlantic, Inc.	732.000 L.F.	\$1.7000	\$1,244.40
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
	APAC-Atlantic, Inc.	696.000 L.F.	\$22.0000	\$15,312.00
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
	APAC-Atlantic, Inc.	528.000 L.F.	\$1.5000	\$792.00
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)			
	APAC-Atlantic, Inc.	0.700 L.M.	\$6,800.0000	\$4,760.00
716-02.15	PLASTIC PAVEMENT MARKING (U TURN ARROW)			
	APAC-Atlantic, Inc.	2.000 EACH	\$175.0000	\$350.00
716-02.23	PLASTIC PAVEMENT MARKING (12IN BARRIER LINE)	1,284.000 L.F.		
	APAC-Atlantic, Inc.		\$5.3000	\$6,805.20
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
	APAC-Atlantic, Inc.	12.000 EACH	\$200.0000	\$2,400.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
	APAC-Atlantic, Inc.	5.000 EACH	\$175.0000	\$875.00
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
	APAC-Atlantic, Inc.	10.000 EACH	\$175.0000	\$1,750.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	APAC-Atlantic, Inc.	93.000 S.F.	\$17.5000	\$1,627.50
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)	18.000 EACH		
	APAC-Atlantic, Inc.		\$200.0000	\$3,600.00
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)			
	APAC-Atlantic, Inc.	93.000 L.F.	\$6.0000	\$558.00

			UNIT PRICE	CONTRACT CNU093 EXTENSION
716-05.06	PAINTED PAVEMENT MARKING (TURN LANE ARROW)			
	APAC-Atlantic, Inc.	44.000 EACH	\$29.0000	\$1,276.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	APAC-Atlantic, Inc.	63.600 L.M.	\$700.0000	\$44,520.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	APAC-Atlantic, Inc.	34.200 L.M.	\$4,680.0000	\$160,056.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	APAC-Atlantic, Inc.	0.200 L.M.	\$3,300.0000	\$660.00
717-01	MOBILIZATION	4 000 1 0		
	APAC-Atlantic, Inc.	1.000 LS	\$200,000.0000	\$200,000.00
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
	APAC-Atlantic, Inc.	7.000 EACH	\$1,000.0000	\$7,000.00
730-02.17	SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)			
	APAC-Atlantic, Inc.	2.000 EACH	\$1,670.0000	\$3,340.00
730-03.21	INSTALL PULL BOX (TYPE B)			
	APAC-Atlantic, Inc.	4.000 EACH	\$740.0000	\$2,960.00
730-05.01	ELECTRICAL SERVICE CONNECTION			
	APAC-Atlantic, Inc.	1.000 EACH	\$735.0000	\$735.00
730-08.04	SIGNAL CABLE - 9 CONDUCTOR			
	APAC-Atlantic, Inc.	1,130.000 L.F.	\$2.5000	\$2,825.00
730-12.02	CONDUIT 2" DIAMETER (PVC)			
	APAC-Atlantic, Inc.	2,000.000 L.F.	\$36.5000	\$73,000.00
730-12.03	CONDUIT 3" DIAMETER (PVC)			
	APAC-Atlantic, Inc.	75.000 L.F.	\$12.0000	\$900.00

			UNIT PRICE	CONTRACT CNU093 EXTENSION
730-12.07	CONDUIT 1" DIAMETER (RGS)			
	APAC-Atlantic, Inc.	70.000 L.F.	\$9.5000	\$665.00
730-13.06	VEHICLE DETECTOR (OPTICALLY ACTIVATED PRIOR			
	APAC-Atlantic, Inc.	4.000 EACH	\$4,600.0000	\$18,400.00
730-13.13	VEHICLE DETECTOR (RADAR)			
	APAC-Atlantic, Inc.	6.000 EACH	\$9,400.0000	\$56,400.00
730-14.02	SAW SLOT			
	APAC-Atlantic, Inc.	8,500.000 L.F.	\$3.2000	\$27,200.00
730-14.03	LOOP WIRE			
	APAC-Atlantic, Inc.	17,000.000 L.F.	\$0.4500	\$7,650.00
730-15.07	CABINET (NEMA TS2 TYPE 2)			
	APAC-Atlantic, Inc.	1.000 EACH	\$17,000.0000	\$17,000.00
730-16.14	CONTROLLER (ATC)			
	APAC-Atlantic, Inc.	1.000 EACH	\$5,800.0000	\$5,800.00
730-23.36	CANTILEVER SIGNAL SUPPORT (1 ARM @ 60')			
	APAC-Atlantic, Inc.	2.000 EACH	\$24,700.0000	\$49,400.00
730-23.37	CANTILEVER SIGNAL SUPPORT (1 ARM @ 65')			
	APAC-Atlantic, Inc.	1.000 EACH	\$26,000.0000	\$26,000.00
730-23.38	CANTILEVER SIGNAL SUPPORT (1 ARM @ 85')			
	APAC-Atlantic, Inc.	1.000 EACH	\$38,800.0000	\$38,800.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)	4 - ··		
	APAC-Atlantic, Inc.	172.000 S.Y.	\$9.0000	\$1,548.00

2,400.000 L.F.

740-11.04 TEMPORARY SEDIMENT TUBE 20IN

APAC-Atlantic, Inc.

\$12,000.00

\$5.0000

			UNIT PRICE	CONTRACT CNU093 EXTENSION
801-01	SEEDING (WITH MULCH)			
	APAC-Atlantic, Inc.	11.000 UNIT	\$50.0000	\$550.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	APAC-Atlantic, Inc.	8.000 UNIT	\$41.0000	\$328.00
801-02	SEEDING (WITHOUT MULCH)			
	APAC-Atlantic, Inc.	40.000 UNIT	\$55.0000	\$2,200.00
801-03	WATER (SEEDING & SODDING)			
	APAC-Atlantic, Inc.	6.000 M.G.	\$60.0000	\$360.00
805-12.01	EROSION CONTROL BLANKET (TYPE I)			
	APAC-Atlantic, Inc.	4,350.000 S.Y.	\$1.3500	\$5,872.50

1,165.000 S.Y.

\$1.4000

805-12.02 EROSION CONTROL BLANKET (TYPE II)

APAC-Atlantic, Inc.

\$1,631.00

CONTRACT CNU093

UNIT PRICE EXTENSION

BRIDGE CATEGORY

604-10.44 EXPANSION JOINT REPAIRS

180.000 L.F.

APAC-Atlantic, Inc. \$200.0000 \$36,000.00

SUB-TOTAL ROADWAY

APAC-Atlantic, Inc. \$6,551,687.86

SUB-TOTAL BRIDGE

APAC-Atlantic, Inc. \$36,000.00

TOTAL CONTRACT

APAC-Atlantic, Inc. \$6,587,687.86

HAMILTON COUNTY (Contract No. CNU196 Call 032)

NH/HSIP-153(17),33052-3258-94,33052-8258-14

THE RESURFACING ON S.R. 153 FROM NORTH OF S.R. 58 (L.M. 4.76) TO THE TENNESSEE RIVER BRIDGE (L.M. 6.47).

PROJECT LENGTH - 1.710 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 7.00%

TOTAL CONTRACT

Wright Brothers Construction Company, Inc.

\$1,882,716.00

ROADWA	AY CATEGORY		UNIT PRICE	CONTRACT CNU196 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Wright Brothers Construction Company, Inc.	60.000 TON	\$97.5000	\$5,850.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
	Wright Brothers Construction Company, Inc.	2,308.000 TON	\$123.0000	\$283,884.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Wright Brothers Construction Company, Inc.	63.000 TON	\$610.0000	\$38,430.00
403-01.10	High Performance Fog Seals	20 427 000 C V		
	Wright Brothers Construction Company, Inc.	30,437.000 S.Y.	\$0.8500	\$25,871.45
411-01.21	LONGITUDINAL JOINT SEALANT	40.000 14		
	Wright Brothers Construction Company, Inc.	13.800 L.M.	\$3,200.0000	\$44,160.00
411-03.10	ACS MIX(PG76-22) GRADING D			
	Wright Brothers Construction Company, Inc.	5,574.000 TON	\$125.0000	\$696,750.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)	0.4001.84		
	Wright Brothers Construction Company, Inc.	3.400 L.M.	\$730.0000	\$2,482.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	7 50 4 000 TON		
	Wright Brothers Construction Company, Inc.	7,594.000 TON	\$25.3000	\$192,128.20
502-01	CLEANING AND SEALING JOINTS			
	Wright Brothers Construction Company, Inc.	5,880.000 L.F.	\$5.0000	\$29,400.00
502-08.07	SEALING RANDOM CRACKS (SILICONE SEALANT)			
	Wright Brothers Construction Company, Inc.	6,219.000 L.F.	\$6.4000	\$39,801.60
712-01	TRAFFIC CONTROL	4		
	Wright Brothers Construction Company, Inc.	1.000 LS	\$109,000.0000	\$109,000.00

100.000 EACH

712-04.01 FLEXIBLE DRUMS (CHANNELIZING)

Wright Brothers Construction Company, Inc.

\$1,630.00

\$16.3000

			C	CONTRACT CNU196
			UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)	50.000 EACH		
	Wright Brothers Construction Company, Inc.	50.000 EACH	\$1.1000	\$55.00
712-06	SIGNS (CONSTRUCTION)			
	Wright Brothers Construction Company, Inc.	1,320.000 S.F.	\$6.5500	\$8,646.00
712-06.16	SIGNS (CONSTRUCTION)(REDUCED SPEED WARNING			
	Wright Brothers Construction Company, Inc.	2.000 EACH	\$610.0000	\$1,220.00
712-08.03	ARROW BOARD (TYPE C)			
	Wright Brothers Construction Company, Inc.	2.000 EACH	\$920.0000	\$1,840.00
712-08.09	DIGITAL SPEED LIMIT SIGN ASSEMBLY			
	Wright Brothers Construction Company, Inc.	2.000 EACH	\$6,530.0000	\$13,060.00
712-08.10	MOBILE MESSAGE SIGN UNIT W/ATTENUATOR			
	Wright Brothers Construction Company, Inc.	500.000 HOUR	\$107.0000	\$53,500.00
713-02.11	REMOVAL OF EXISTING DELINEATORS			
	Wright Brothers Construction Company, Inc.	226.000 EACH	\$1.1000	\$248.60
713-02.25	MEDIAN BARRIER DELINEATOR (DOUBLE)			
	Wright Brothers Construction Company, Inc.	226.000 EACH	\$8.1500	\$1,841.90
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Wright Brothers Construction Company, Inc.	2.000 EACH	\$5,825.0000	\$11,650.00
716-01.23	716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)			
	Wright Brothers Construction Company, Inc.	680.000 EACH	\$26.0000	\$17,680.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKE			
	Wright Brothers Construction Company, Inc.	680.000 EACH	\$8.7000	\$5,916.00
716-01.40	716-01.40 REMOVE AND REPLACE LENS ON SNOWPLOWABLE REFLECTIVE MARKER			
	Wright Brothers Construction Company, Inc.	125.000 EACH	\$8.1500	\$1,018.75

		UNIT PRICE	CONTRACT CNU196 EXTENSION
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
Wright Brothers Construction Company, Inc.	1,083.000 S.Y.	\$17.1500	\$18,573.45
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Wright Brothers Construction Company, Inc.	65.000 L.F.	\$10.8000	\$702.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
Wright Brothers Construction Company, Inc.	9.000 EACH	\$163.0000	\$1,467.00
716-04.07 PLASTIC PAVEMENT MARKING (EXIT ONLY ARROW)			
Wright Brothers Construction Company, Inc.	8.000 EACH	\$245.0000	\$1,960.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)			
Wright Brothers Construction Company, Inc.	48.000 S.F.	\$19.6000	\$940.80
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)	0.000 54.011		
Wright Brothers Construction Company, Inc.	2.000 EACH	\$245.0000	\$490.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
Wright Brothers Construction Company, Inc.	16.000 L.M.	\$900.0000	\$14,400.00
716-08.20 REMOVAL OF PAVEMENT MARKING (LINE)			
Wright Brothers Construction Company, Inc.	6.200 L.M.	\$2,720.0000	\$16,864.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
Wright Brothers Construction Company, Inc.	12.800 L.M.	\$4,890.0000	\$62,592.00
716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED			
Wright Brothers Construction Company, Inc.	3,780.000 L.F.	\$1.6500	\$6,237.00
716-12.09 ENHANCED FLAT LINE THERMO (12IN LINE)			
Wright Brothers Construction Company, Inc.	5,625.000 L.F.	\$3.5500	\$19,968.75
716-12.10 ENHANCED FLAT LINE THERMO (12IN DOTTED)			
Wright Brothers Construction Company, Inc.	7,600.000 L.F.	\$3.5500	\$26,980.00

				CONTRACT CNU196
			UNIT PRICE	EXTENSION
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Wright Brothers Construction Company, Inc.	6.200 L.M.	\$3,050.0000	\$18,910.00
717-01	MOBILIZATION			
	Wright Brothers Construction Company, Inc.	1.000 LS	\$94,000.0000	\$94,000.00
730-03.20	INSTALL PULL BOX (TYPE A)			
	Wright Brothers Construction Company, Inc.	4.000 EACH	\$540.0000	\$2,160.00
730-12.02	CONDUIT 2" DIAMETER (PVC)			
	Wright Brothers Construction Company, Inc.	60.000 L.F.	\$15.2500	\$915.00
730-14.02	SAW SLOT			
	Wright Brothers Construction Company, Inc.	1,250.000 L.F.	\$5.1500	\$6,437.50
730-14.03	LOOP WIRE			

Wright Brothers Construction Company, Inc.

4,700.000 L.F.

\$0.6500

\$3,055.00

SUB-TOTAL ROADWAY

Wright Brothers Construction Company, Inc.

\$1,882,716.00

TOTAL CONTRACT

Wright Brothers Construction Company, Inc.

\$1,882,716.00

HAMILTON COUNTY (Contract No. CNU182 Call 035)

33948-4268-04

THE TUNNEL CLEANING OF THE MCCALLIE TUNNEL ON U.S. 11 (U.S. 64, S.R. 2), THE STRINGERS RIDGE TUNNEL ON U.S. 127 (S.R. 8), AND THE BACHMAN TUBES ON U.S. 41 (U.S. 76, S.R. 8).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2021

TOTAL CONTRACT

Diamond Specialized, Inc.

\$253,175.00

			CONTRACT CNU182	
MAINTENANOE CATEGORY		UNIT PRICE	EXTENSION	
MAINTENANCE CATEGORY				
104-03.71 ADDITIONAL WORK (CLEANING OF PORTAL FACADES @ MC				
Diamond Specialized, Inc.	7,850.000 S.F.	\$1.5000	\$11,775.00	
712-01.52 MAINTENANCE OF TRAFFIC (MCCALLIE TUNNELS)				
Diamond Specialized, Inc.	12.000 EACH	\$2,800.0000	\$33,600.00	
712-01.53 MAINTENANCE OF TRAFFIC (BACHMAN TUNNELS)				
Diamond Specialized, Inc.	12.000 EACH	\$1,775.0000	\$21,300.00	
712-01.54 MAINTENANCE OF TRAFFIC (STRINGERS RIDGE TUNNEL)				
Diamond Specialized, Inc.	12.000 EACH	\$1,575.0000	\$18,900.00	
713-20.40 GRAFFITI REMOVAL	0.40 GRAFFITI REMOVAL			
Diamond Specialized, Inc.	250.000 S.F.	\$2.8000	\$700.00	
717-01 MOBILIZATION				
Diamond Specialized, Inc.	1.000 LS	\$12,700.0000	\$12,700.00	
719-02.01 REMOVAL AND DISPOSAL OF LITTER				
Diamond Specialized, Inc.	36.000 CYCL	\$500.0000	\$18,000.00	
760-01.01 TUNNEL CLEANING (MCCALLIE TUNNELS)				
Diamond Specialized, Inc.	12.000 EACH	\$4,450.0000	\$53,400.00	
760-01.02 TUNNEL CLEANING (BACHMAN TUNNELS)				

12.000 EACH

12.000 EACH

\$3,450.0000

\$3,450.0000

Diamond Specialized, Inc.

Diamond Specialized, Inc.

760-01.03 TUNNEL CLEANING (STRINGER RIDGE TUNNEL)

\$41,400.00

\$41,400.00

SUB-TOTAL MAINTENANCE

Diamond Specialized, Inc. \$253,175.00

TOTAL CONTRACT

Diamond Specialized, Inc. \$253,175.00

HENDERSON COUNTY (Contract No. CNU197 Call 036)

HSIP-421(10),39421-3201-94,39421-4201-04

THE RESURFACING WITH DOUBLE BITUMINOUS SURFACE TREATMENT (DBST) ON S.R. 421 FROM THE HARDIN COUNTY LINE (L.M. 0.00) TO S.R. 201 (L.M. 2.00).

PROJECT LENGTH - 2.00 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2020

TOTAL CONTRACT

Delta Contracting Company, LLC

\$189,817.64

Pavement Restorations, Inc.

\$219,492.50

NOADWA	TOATEGORT			
403-01.10	High Performance Fog Seals			
		22,294.000 S.Y.		
	Delta Contracting Company, LLC		\$0.6600	\$14,714.04
	Pavement Restorations, Inc.		\$0.7500	\$16,720.50
404-01.01	BITUMINOUS MATERIAL (DBST)			
		66.000 TON		
	Delta Contracting Company, LLC		\$1,015.0000	\$66,990.00
	Pavement Restorations, Inc.		\$1,295.0000	\$85,470.00
404-01.02	MINERAL AGGREGATE (DBST)			
		547.000 TON		
	Delta Contracting Company, LLC		\$56.0000	\$30,632.00
	Pavement Restorations, Inc.		\$58.0000	\$31,726.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Delta Contracting Company, LLC		\$3,500.0000	\$3,500.00
	Pavement Restorations, Inc.		\$5,000.0000	\$5,000.00
712-06	SIGNS (CONSTRUCTION)			
		736.000 S.F.		
	Delta Contracting Company, LLC		\$5.3500	\$3,937.60
	Pavement Restorations, Inc.		\$6.0000	\$4,416.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		58.000 L.F.		
	Delta Contracting Company, LLC		\$18.0000	\$1,044.00
	Pavement Restorations, Inc.		\$20.0000	\$1,160.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		8.000 L.M.		
	Delta Contracting Company, LLC		\$1,600.0000	\$12,800.00
	Pavement Restorations, Inc.		\$1,750.0000	\$14,000.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		8.000 L.M.		
	Delta Contracting Company, LLC		\$5,900.0000	\$47,200.00
	Pavement Restorations, Inc.		\$6,250.0000	\$50,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Delta Contracting Company, LLC		\$9,000.0000	\$9,000.00
	Pavement Restorations, Inc.		\$11,000.0000	\$11,000.00
	·		• •	• •

Delta Contracting Company, LLC	\$189,817.64
Pavement Restorations, Inc.	\$219,492.50

TOTAL CONTRACT

Delta Contracting Company, LLC \$189,817.64
Pavement Restorations, Inc. \$219,492.50

HOUSTON COUNTY (Contract No. CNU190 Call 037)

HSIP-4200(14),42945-3466-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2021

TOTAL CONTRACT

Superior Traffic Control, LLC Volunteer Paving, LLC \$150,443.65

\$168,258.48

ROADWAY CATEGORY		C UNIT PRICE	ONTRACT CNU190 EXTENSION
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT			
	45.000 L.F.		
Superior Traffic Control, LLC		\$3.0000	\$135.00
Volunteer Paving, LLC		\$3.7800	\$170.10
712-01 TRAFFIC CONTROL			
	1.000 LS		
Superior Traffic Control, LLC		\$3,600.0000	\$3,600.00
Volunteer Paving, LLC		\$5,000.0000	\$5,000.00
713-02.14 FLEXIBLE DELINEATOR (WHITE)			
	40.000 EACH		
Superior Traffic Control, LLC		\$32.0000	\$1,280.00
Volunteer Paving, LLC		\$37.0000	\$1,480.00
713-02.21 SIGN POST DELINEATION ENHANCEMENT			
	368.000 L.F.		
Superior Traffic Control, LLC		\$5.0000	\$1,840.00
Volunteer Paving, LLC		\$4.6000	\$1,692.80

Superior Traffic Control, LLC	\$5.0000	\$1,840.00
Volunteer Paving, LLC	\$4.6000	\$1,692.80

	2,768.000 LB.	
Superior Traffic Control, LLC	\$2.6000	\$7,196.80
Valuntoor Paying LLC	\$2,0000	¢9 276 22

713-11.01 "U" SECTION STEEL POSTS

713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)

	Volunteer Paving, LLC	\$2.9900	\$6,276.32
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST		

Superior Traffic Control, LLC	\$3.5000	\$11,620.00
Volunteer Paving, LLC	\$3.4100	\$11,321.20

3,320.000 LB.

35	54.000 S.F.	
Superior Traffic Control, LLC	\$12.8500	\$4,548.90
Volunteer Paving, LLC	\$9.2000	\$3,256.80

713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	843.000 S.F.		
Superior Traffic Control, LLC		\$13.2500	\$11.169.75

Volunteer Paving, LLC	\$10.0200	\$8,446.86
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		

84	4.000 EACH	
Superior Traffic Control, LLC	\$10.0000	\$840.00
Volunteer Paving, LLC	\$30.0000	\$2,520.00

	Volunteer Paving, LLC		\$30.0000	\$2,520.00
716-01.2	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
		1,582.000 EACH		
	Superior Traffic Control, LLC		\$20.0000	\$31,640.00
	Volunteer Paving, LLC		\$30.0000	\$47,460.00
				PAGE

2

				CONTRACT CNU190
			UNIT PRICE	EXTENSION
716-02 05	PLASTIC PAVEMENT MARKING (STOP LINE)			
710-02.03	TEASTIC FAVEMENT MARKING (STOF LINE)	50.000 L.F.		
	Superior Traffic Control, LLC		\$15.0000	\$750.00
	Volunteer Paving, LLC		\$15.0000	\$750.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		52.104 L.M.		
	Superior Traffic Control, LLC		\$1,300.0000	\$67,735.20
	Volunteer Paving, LLC		\$1,350.0000	\$70,340.40
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
	, ,,	5,088.000 L.F.		
	Superior Traffic Control, LLC		\$1.0000	\$5,088.00
	Volunteer Paving, LLC		\$0.5000	\$2,544.00
717-01	MOBILIZATION			
		1.000 LS		

Superior Traffic Control, LLC Volunteer Paving, LLC \$3,000.00 \$5,000.00

\$3,000.0000 \$5,000.0000

Superior Traffic Control, LLC	\$150,443.65
Volunteer Paving, LLC	\$168,258.48

TOTAL CONTRACT

JIAL CONTRACT	
Superior Traffic Control, LLC	\$150,443.65
Volunteer Paving, LLC	\$168,258.48

JACKSON COUNTY (Contract No. CNU170 Call 038)

HSIP-4400(54),44945-3488-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2021

DBE GOAL 8.00%

	TOTAL CONTRACT
Volunteer Highway Supply Co. Inc.	\$149,155.85
Superior Traffic Control, LLC	\$150,974.10
Highway Markings, Inc.	\$153,735.55
Volunteer Paving, LLC	\$160,744.52

		UNIT PRICE	EXTENSION
ROADWAY CATEGORY		0111111102	
705-02.02 SINGLE GUARDRAIL (TYPE 2)			
7.00 02.02 0.00.02 0.07 m. 2.00 m. 2.00 02.02 0.00 02.02 0.00 02.0	1,805.000 L.F.		
Volunteer Highway Supply Co. Inc.	.,	\$18.5000	\$33,392.50
Superior Traffic Control, LLC		\$18.5000	\$33,392.50
Highway Markings, Inc.		\$17.7500	\$32,038.75
Volunteer Paving, LLC		\$19.9300	\$35,973.65
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT			
	8.000 EACH		
Volunteer Highway Supply Co. Inc.		\$1,200.0000	\$9,600.00
Superior Traffic Control, LLC		\$1,200.0000	\$9,600.00
Highway Markings, Inc. Volunteer Paving, LLC		\$1,150.0000 \$1,175.0000	\$9,200.00 \$9,400.00
volunteer Faving, LLC		φ1,175.0000	φ9,400.00
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT			
	2,545.000 L.F.		
Volunteer Highway Supply Co. Inc.	,	\$2.7500	\$6,998.75
Superior Traffic Control, LLC		\$2.6000	\$6,617.00
Highway Markings, Inc.		\$4.7500	\$12,088.75
Volunteer Paving, LLC		\$3.8200	\$9,721.90
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
703-00.20 TANGENT ENERGY ABSORBING TERM MASH TE-S	9 000 EACH		
Valuntaar Highway Supply Co. Inc.	8.000 EACH	\$2,200,0000	¢10,400,00
Volunteer Highway Supply Co. Inc. Superior Traffic Control, LLC		\$2,300.0000 \$2,300.0000	\$18,400.00 \$18,400.00
Highway Markings, Inc.		\$2,075.0000	\$16,600.00
Volunteer Paving, LLC		\$2,405.0000	\$19,240.00
•			
712-01 TRAFFIC CONTROL			
	1.000 LS		
Volunteer Highway Supply Co. Inc.		\$2,500.0000	\$2,500.00
Superior Traffic Control, LLC		\$4,500.0000	\$4,500.00
Highway Markings, Inc.		\$5,500.0000	\$5,500.00
Volunteer Paving, LLC		\$12,875.0000	\$12,875.00
713-02.20 ROADSIDE OBSTACLE DELINEATION			
713-02.20 ROADSIDE OBSTACLE DELINEATION	6E 000 C E		
Valuntaar Highway Supply Co. Inc.	65.000 S.F.	¢46,0000	¢1 040 00
Volunteer Highway Supply Co. Inc. Superior Traffic Control, LLC		\$16.0000 \$16.0000	\$1,040.00 \$1,040.00
Highway Markings, Inc.		\$10.0000	\$650.00
Volunteer Paving, LLC		\$13.4200	\$872.30
volunicon i avinig, 220		ψ10.1200	ψο. Σ.σσ
713-02.21 SIGN POST DELINEATION ENHANCEMENT			
	318.000 L.F.		
Volunteer Highway Supply Co. Inc.		\$5.5000	\$1,749.00
Superior Traffic Control, LLC		\$5.5000	\$1,749.00
Highway Markings, Inc.		\$5.2500	\$1,669.50
Volunteer Paving, LLC		\$4.6800	\$1,488.24

	UNIT PRICE	EXTENSION
713-02.22 BARRIER WALL DELINEATION ENHANCEMENT		
	600.000 L.F.	
Valuata and Baharan Oranda Oa da a		#0.700.00
Volunteer Highway Supply Co. Inc.	\$4.5000	\$2,700.00
Superior Traffic Control, LLC	\$4.5000	\$2,700.00
Highway Markings, Inc.	\$6.5000	\$3,900.00
Volunteer Paving, LLC	\$5.0000	\$3,000.00
713-11.01 "U" SECTION STEEL POSTS		
	988.000 LB.	
Volunteer Highway Supply Co. Inc.	\$2.8500	\$2,815.80
Superior Traffic Control, LLC	\$2.8500	\$2,815.80
Highway Markings, Inc.	\$3.5000	\$3,458.00
• •	\$3.8000	\$3,754.40
Volunteer Paving, LLC	φ3.6000	Ф 3,734.40
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
	1,632.000 LB.	
Volunteer Highway Supply Co. Inc.	\$3.8000	\$6,201.60
Superior Traffic Control, LLC	\$3.8000	\$6,201.60
Highway Markings, Inc.	\$3.2500	\$5,304.00
Volunteer Paving, LLC	\$4.2100	\$6,870.72
. o.sg, <u></u> -	↓ <u> </u>	ψο,σ. σ =
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
713-13.02 TEAT OTTEET ACCIMING III GIGNO (0.000 TITION)	404.000.0.	
	184.000 S.F.	
Volunteer Highway Supply Co. Inc.	\$13.3000	\$2,447.20
Superior Traffic Control, LLC	\$13.3000	\$2,447.20
Highway Markings, Inc.	\$13.2500	\$2,438.00
Volunteer Paving, LLC	\$9.0900	\$1,672.56
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
	650.000 S.F.	
Valuntaar Highway Cunnly Ca. Inc		¢0 070 F0
Volunteer Highway Supply Co. Inc.	\$13.6500	\$8,872.50
Superior Traffic Control, LLC	\$13.6500	\$8,872.50
Highway Markings, Inc.	\$13.5000	\$8,775.00
Volunteer Paving, LLC	\$9.8900	\$6,428.50
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		
	23.000 EACH	
Volunteer Highway Supply Co. Inc.	\$10.0000	\$230.00
Superior Traffic Control, LLC	\$10.0000	\$230.00
Highway Markings, Inc.	·	
• •	\$15.0000	\$345.00
Volunteer Paving, LLC	\$30.0000	\$690.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	263.000 L.F.	
Volunteer Highway Supply Co. Inc.	\$10.0000	\$2,630.00
Superior Traffic Control, LLC	\$10.0000	\$2,630.00
Highway Markings, Inc.	\$11.0000	\$2,893.00
Volunteer Paving, LLC	\$15.0000	\$3,945.00
5 , -	Ţ.:. 	+-,

		C	ONIRACI CNU170
		UNIT PRICE	EXTENSION
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
	1.000 EACH		
Volunteer Highway Supply Co. Inc.		\$450.0000	\$450.00
Superior Traffic Control, LLC		\$450.0000	\$450.00
Highway Markings, Inc.		\$525.0000	\$525.00
Volunteer Paving, LLC		\$500.0000	\$500.00
716-03.07 PLASTIC WORD PAVEMENT MARKING (STOP)			
	1.000 EACH		
Volunteer Highway Supply Co. Inc.		\$125.0000	\$125.00
Superior Traffic Control, LLC		\$125.0000	\$125.00
Highway Markings, Inc.		\$400.0000	\$400.00
Volunteer Paving, LLC		\$200.0000	\$200.00
716-04.16 PLASTIC PAVEMENT MARKING (NOISE STRIP)			
	144.000 L.F.		
Volunteer Highway Supply Co. Inc.		\$10.0000	\$1,440.00
Superior Traffic Control, LLC		\$10.0000	\$1,440.00
Highway Markings, Inc.		\$5.5000	\$792.00
Volunteer Paving, LLC		\$10.0000	\$1,440.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	29.960 L.M.		
Volunteer Highway Supply Co. Inc.		\$1,350.0000	\$40,446.00
Superior Traffic Control, LLC		\$1,350.0000	\$40,446.00
Highway Markings, Inc.		\$1,355.0000	\$40,595.80
Volunteer Paving, LLC		\$1,350.0000	\$40,446.00
716-13.04 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LI	NE)		
	1,635.000 L.F.		
Volunteer Highway Supply Co. Inc.		\$0.5000	\$817.50
Superior Traffic Control, LLC		\$0.5000	\$817.50
Highway Markings, Inc.		\$0.6500	\$1,062.75
Volunteer Paving, LLC		\$0.7500	\$1,226.25
717-01 MOBILIZATION			
	1.000 LS		
Volunteer Highway Supply Co. Inc.		\$6,300.0000	\$6,300.00
Superior Traffic Control, LLC		\$6,500.0000	\$6,500.00
Highway Markings, Inc.		\$5,500.0000	\$5,500.00
Volunteer Paving, LLC		\$1,000.0000	\$1,000.00

Volunteer Highway Supply Co. Inc.	\$149,155.85
Superior Traffic Control, LLC	\$150,974.10
Highway Markings, Inc.	\$153,735.55
Volunteer Paving, LLC	\$160,744.52

TOTAL CONTRACT

Volunteer Highway Supply Co. Inc.	\$149,155.85
Superior Traffic Control, LLC	\$150,974.10
Highway Markings, Inc.	\$153,735.55
Volunteer Paving, LLC	\$160,744.52

JEFFERSON COUNTY (Contract No. CNU194 Call 039)

HSIP-32(96),45005-3211-94,45005-4211-04,45005-4212-04

THE RESURFACING USING EITHER THIN LIFT (TL) OR THIN LIFT D (TLD) ON U.S. 25E (S.R. 32) FROM NEAR THE FRENCH BROAD RIVER BRIDGE (L.M. 0.26) TO NEAR HARRISON ROAD (L.M. 6.08), INCLUDING BRIDGE REPAIR.

PROJECT LENGTH - 5.820 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2020

DBE GOAL 6.50%

TOTAL CONTRACT

APAC-Atlantic, Inc.

\$1,223,212.40

Newport Paving Company, Inc.

\$1,420,069.71

ROADWA	Y CATEGORY		UNIT PRICE	CONTRACT CNU194 EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		12.000 L.M.		
	APAC-Atlantic, Inc. Newport Paving Company, Inc.		\$1,000.0000 \$2,875.0000	\$12,000.00 \$34,500.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		1,213.000 TON		
	APAC-Atlantic, Inc. Newport Paving Company, Inc.		\$118.0000 \$132.8500	\$143,134.00 \$161,147.05
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		92.500 TON		
	APAC-Atlantic, Inc. Newport Paving Company, Inc.		\$850.0000 \$650.0000	\$78,625.00 \$60,125.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8	BIN WIDTH)		
		10.600 L.M.		
	APAC-Atlantic, Inc.		\$655.0000	\$6,943.00
	Newport Paving Company, Inc.		\$950.0000	\$10,070.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		8.000 EACH		
	APAC-Atlantic, Inc.		\$130.0000	\$1,040.00
	Newport Paving Company, Inc.		\$200.0000	\$1,600.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		8.000 EACH		
	APAC-Atlantic, Inc.		\$1,190.0000	\$9,520.00
	Newport Paving Company, Inc.		\$1,500.0000	\$12,000.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		8.000 EACH		
	APAC-Atlantic, Inc.		\$2,400.0000	\$19,200.00
	Newport Paving Company, Inc.		\$4,000.0000	\$32,000.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	APAC-Atlantic, Inc.		\$31,000.0000	\$31,000.00
	Newport Paving Company, Inc.		\$68,359.4600	\$68,359.46
712-06	SIGNS (CONSTRUCTION)			
		743.000 S.F.		
	APAC-Atlantic, Inc.		\$7.0000	\$5,201.00
	Newport Paving Company, Inc.		\$15.0000	\$11,145.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-D	IR) (1 COLOR)		

390.000 EACH

APAC-Atlantic, Inc.

Newport Paving Company, Inc.

\$12,870.00

\$33.0000

\$25.0000

		CONTRACT CNU194
	LINUT DDIOF	
	UNIT PRICE	EXTENSION
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COL	OR)	
	46.000 EACH	
APAC-Atlantic, Inc.	\$33.0000	\$1,518.00
Newport Paving Company, Inc.	\$25.0000	\$1,150.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
• • •	80.000 L.F.	
APAC-Atlantic, Inc.	\$11.0000	\$880.00
Newport Paving Company, Inc.	\$12.0000	\$960.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
	8.000 EACH	
APAC-Atlantic, Inc.	\$170.0000	\$1,360.00
Newport Paving Company, Inc.	\$200.0000	\$1,600.00
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)		
7,0	76.000 L.F.	
APAC-Atlantic, Inc.	\$3.5000	\$24,766.00
Newport Paving Company, Inc.	\$3.5000	\$24,766.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)		
()	6.700 L.M.	
APAC-Atlantic, Inc.	\$750.0000	\$5,025.00
Newport Paving Company, Inc.	\$800.0000	\$5,360.00
716-12.03 ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER LINE)		
1.	40.000 L.F.	
APAC-Atlantic, Inc.	\$2.0000	\$280.00
Newport Paving Company, Inc.	\$2.5000	\$350.00
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)		
	26.700 L.M.	
APAC-Atlantic, Inc.	\$2,700.0000	\$72,090.00
New ant Device Occurrence Inc	Φο 200 2000	#. 2 ,000.00

1.000 LS

Newport Paving Company, Inc.

Newport Paving Company, Inc.

MOBILIZATION

APAC-Atlantic, Inc.

717-01

\$69,420.00

\$35,000.00

\$54,000.00

\$2,600.0000

\$35,000.0000

\$54,000.0000

	•	CONTRACT CNU194
	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
604-10.44 EXPANSION JOINT REPAIRS		
208.000 L	F.	
APAC-Atlantic, Inc.	\$435.0000	\$90,480.00
Newport Paving Company, Inc.	\$480.0000	\$99,840.00
617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)		
1,502.000 S	S.Y.	
APAC-Atlantic, Inc.	\$46.0000	\$69,092.00
Newport Paving Company, Inc.	\$52.5000	\$78,855.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)		
30.000 E	EACH	
APAC-Atlantic, Inc.	\$40.0000	\$1,200.00
Newport Paving Company, Inc.	\$30.0000	\$900.00
712-06 SIGNS (CONSTRUCTION)		
526.000 S	3.F.	
APAC-Atlantic, Inc.	\$11.5000	\$6,049.00
Newport Paving Company, Inc.	\$1.5000	\$789.00
712-09.04 REMOVABLE PAVEMENT MARKING (STOP LINE)		
48.000 L		
APAC-Atlantic, Inc.	\$34.0000	\$1,632.00
Newport Paving Company, Inc.	\$20.0000	\$960.00
730-40.01 PORTABLE TRAFFIC SIGNAL SYSTEM		
2.000 E		
APAC-Atlantic, Inc.	\$12,200.0000	\$24,400.00
Newport Paving Company, Inc.	\$15,102.5000	\$30,205.00
712-09.01 REMOVABLE PAVEMENT MARKING LINE		
2,252.000 L		
APAC-Atlantic, Inc.	\$4.6500	\$10,471.80
Newport Paving Company, Inc.	\$2.5000	\$5,630.00

CONTRACT CNU194

UNIT PRICE EXTENSION

ROADWAY ALTERNATE AA1 CATEGORY

411-03.07 ACS MIX(PG64-22) THIN LIFT ASPHALT

4,852.000 TON

Newport Paving Company, Inc. APAC-Atlantic, Inc.

\$132.8500

\$644,588.20

CONTRACT CNU194

UNIT PRICE EXTENSION

ROADWAY ALTERNATE AA2 CATEGORY

411-03.12 ACS MIX(PG64-22) THIN LIFT D ASPHALT

4,852.000 TON

APAC-Atlantic, Inc.

Newport Paving Company, Inc.

APAC-Atlantic, Inc. Newport Paving Company, Inc.	\$460,452.00 \$558,302.51
SUB-TOTAL BRIDGE	
APAC-Atlantic, Inc. Newport Paving Company, Inc.	\$203,324.80 \$217,179.00
SUB-TOTAL ROADWAY ALTERNATE AA1	
Newport Paving Company, Inc.	\$644,588.20
SUB-TOTAL ROADWAY ALTERNATE AA2	
APAC-Atlantic, Inc.	\$559,435.60
TOTAL CONTRACT	
APAC-Atlantic, Inc.	\$1,223,212.40
Newport Paving Company, Inc.	\$1,420,069.71

KNOX COUNTY (Contract No. CNU204 Call 040)

NH/HSIP-1(400),47009-3299-94,47009-8299-14

THE RESURFACING ON U.S. 11 (S.R. 1) FROM NEAR I-140 (L.M. 6.94) TO NEAR SOUTH PETERS ROAD (L.M. 12.00).

PROJECT LENGTH - 2.26 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2020

DBE GOAL 9.50%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,477,636.85

APAC-Atlantic, Inc.

\$1,589,064.95

			C	ONTRACT CNU204	
			UNIT PRICE	EXTENSION	
ROADWA	AY CATEGORY				
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS				
	, , ,	1,085.000 TON			
	Rogers Group, Inc.	,	\$108.4000	\$117,614.00	
	APAC-Atlantic, Inc.		\$108.0000	\$117,180.00	
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)				
		47.000 TON			
	Rogers Group, Inc.		\$643.0000	\$30,221.00	
	APAC-Atlantic, Inc.		\$770.0000	\$36,190.00	
411-02.10	ACS MIX(PG70-22) GRADING D				
		7,234.000 TON			
	Rogers Group, Inc.	1,20 11000 1 011	\$98.4500	\$712,187.30	
	APAC-Atlantic, Inc.		\$100.0000	\$723,400.00	
415-01.01	COLD PLANING BITUMINOUS PAVEMENT				
		6,925.000 TON			
	Rogers Group, Inc.	0,923.000 1014	\$26.4500	\$183,166.25	
	APAC-Atlantic, Inc.		\$28.2800	\$195,839.00	
701-01 02	CONCRETE SIDEWALK (6 ")				
701-01.02	CONORETE SIDEWALK (U)	425.000.5.5			
	Pagara Craup, Inc.	125.000 S.F.	\$24.5500	\$3,068.75	
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$24.5500 \$13.2000	\$3,066.75 \$1,650.00	
	711 76 Additio, Inc.		Ψ10.2000	ψ1,000.00	
701-02.01	CONCRETE CURB RAMP (RETROFIT)				
		3,660.000 S.F.			
	Rogers Group, Inc.		\$31.7500	\$116,205.00	
	APAC-Atlantic, Inc.		\$51.0000	\$186,660.00	
701-02.03	CONCRETE CURB RAMP				
		845.000 S.F.			
	Rogers Group, Inc.		\$31.7500	\$26,828.75	
	APAC-Atlantic, Inc.		\$43.0000	\$36,335.00	
712-01	TRAFFIC CONTROL				
		1.000 LS			
	Rogers Group, Inc.		\$62,696.0000	\$62,696.00	
	APAC-Atlantic, Inc.		\$34,000.0000	\$34,000.00	
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)				
		145.000 EACH			
	Rogers Group, Inc.		\$5.0000	\$725.00	
	APAC-Atlantic, Inc.		\$5.2500	\$761.25	
712-05.01	WARNING LIGHTS (TYPE A)				
		73.000 EACH			
	Rogers Group, Inc.		\$2.0000	\$146.00	
	APAC-Atlantic, Inc.		\$2.0000	\$146.00	
				PAGE	2
				IAGE	_

				CONTRACT CNU204
			UNIT PRICE	EXTENSION
712.06	CICNE (CONSTRUCTION)			
712-06	SIGNS (CONSTRUCTION)	939.000 S.F.		
	Rogers Group, Inc.	333.000 3.1 .	\$6.0000	\$5,634.00
	APAC-Atlantic, Inc.		\$6.3000	\$5,915.70
712-08.03	ARROW BOARD (TYPE C)	2 202 54 211		
	Rogers Group, Inc.	3.000 EACH	\$850.0000	\$2,550.00
	APAC-Atlantic, Inc.		\$890.0000	\$2,670.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	-		
		237.000 EACH	# 00.000	# = 4 = 4 00
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$23.0000 \$30.0000	\$5,451.00 \$7,110.00
	THE PARAMETERS.		ψοσ.σσσσ	ψ,,,,ο.σσ
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR	()(1 COLOR)		
		618.000 EACH		
	Rogers Group, Inc.		\$23.0000	\$14,214.00
	APAC-Atlantic, Inc.		\$30.0000	\$18,540.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2	COLOR)		
		124.000 EACH		
	Rogers Group, Inc.		\$23.0000	\$2,852.00
	APAC-Atlantic, Inc.		\$30.0000	\$3,720.00
716-02-03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
710 02.00	TEACHOT AVEINERT MARKING (CROSS WALK)	622.000 L.F.		
	Rogers Group, Inc.	V-2.000 2.0	\$10.0000	\$6,220.00
	APAC-Atlantic, Inc.		\$10.5000	\$6,531.00
746 02 04	DI ACTIC DAVEMENT MADIZING/CHANNELIZATION CTDIDIN	5 1		
710-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING	394.000 S.Y.		
	Rogers Group, Inc.	334.000 3.1.	\$20.0000	\$7,880.00
	APAC-Atlantic, Inc.		\$21.0000	\$8,274.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Pagara Craun Ina	2,148.000 L.F.	¢10,0000	¢24.490.00
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$10.0000 \$10.5000	\$21,480.00 \$22,554.00
	•		,	, ,
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		88.000 EACH		
	Rogers Group, Inc.		\$150.0000 \$155.0000	\$13,200.00 \$13,640.00
	APAC-Atlantic, Inc.		\$155.0000	\$13,640.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			

643.000 L.F.

Rogers Group, Inc.

APAC-Atlantic, Inc.

\$1,286.00

\$1,286.00

\$2.0000

\$2.0000

			CONTRACT CNU204
		UNIT PRICE	EXTENSION
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
		818.000 L.F.	
	Rogers Group, Inc.	\$20.0000	\$16,360.00
	APAC-Atlantic, Inc.	\$21.0000	\$17,178.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)		
		13.000 EACH	
	Rogers Group, Inc.	\$125.0000	\$1,625.00
	APAC-Atlantic, Inc.	\$130.0000	\$1,690.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)		
		8.000 EACH	
	Rogers Group, Inc.	\$250.0000	\$2,000.00
	APAC-Atlantic, Inc.	\$260.0000	\$2,080.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)		
		3.000 EACH	
	Rogers Group, Inc.	\$125.0000	\$375.00
	APAC-Atlantic, Inc.	\$130.0000	\$390.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)		
		4.000 EACH	
	Rogers Group, Inc.	\$250.0000	\$1,000.00
	APAC-Atlantic, Inc.	\$263.0000	\$1,052.00
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)		
	2	,148.000 L.F.	
	Rogers Group, Inc.	\$5.0000	\$10,740.00
	APAC-Atlantic, Inc.	\$5.2500	\$11,277.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)		
		25.000 L.M.	
	Rogers Group, Inc.	\$689.0000	\$17,225.00
	APAC-Atlantic, Inc.	\$720.0000	\$18,000.00
716-10.30	TRUNCATED DOME DETECTABLE WARNING MAT		
		168.000 S.F.	
	Rogers Group, Inc.	\$44.8500	\$7,534.80
	APAC-Atlantic, Inc.	\$26.0000	\$4,368.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
	·	12.000 L.M.	
	Rogers Group, Inc.	\$4,100.0000	\$49,200.00
	APAC-Atlantic, Inc.	\$4,300.0000	\$51,600.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)	
		, 774,000 L E	

774.000 L.F.

Rogers Group, Inc.

APAC-Atlantic, Inc.

\$774.00

\$774.00

\$1.0000

\$1.0000

				CONTRACT CNU204
			UNIT PRICE	EXTENSION
716-12.06	ENHANCED FLAT LINE THERMO (8IN LINE)			
		3,027.000 L.F.		
	Rogers Group, Inc.		\$2.0000	\$6,054.00
	APAC-Atlantic, Inc.		\$2.0000	\$6,054.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$31,124.0000	\$31,124.00
	APAC-Atlantic, Inc.		\$52,200.0000	\$52,200.00

 Rogers Group, Inc.
 \$1,477,636.85

 APAC-Atlantic, Inc.
 \$1,589,064.95

TOTAL CONTRACT

 Rogers Group, Inc.
 \$1,477,636.85

 APAC-Atlantic, Inc.
 \$1,589,064.95

KNOX COUNTY (Contract No. CNU222 Call 041)

STP-332(15),47033-4231-04

THE EMERGENCY SLOPE STABILIZATION ON S.R. 332 NEAR L.M. 2.40.

PROJECT LENGTH - 0.110 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 30, 2020

DBE GOAL 11.00%

	TOTAL CONTRACT	
Jones Bros. Contractors, LLC	\$1,032,381.20	
Charles Blalock & Sons, Inc.	\$1,045,669.71	
Potter South East LLC	\$1,065,284.00	
Graham County Land Company, LLC	\$1,144,172.00	
Whaley Construction, LLC	\$1,475,306.80	

UNIT PRICE EXTENSION

ROADWAY CATEGORY

105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$5,000.0000	\$5,000.00
	Charles Blalock & Sons, Inc.		\$36,564.7700	\$36,564.77
	Potter South East LLC		\$45,000.0000	\$45,000.00
	Graham County Land Company, LLC		\$30,000.0000	\$30,000.00
	Whaley Construction, LLC		\$8,965.0000	\$8,965.00
	Whaley Constituction, LLC		φο,905.0000	ψο,905.00
004.04	OLEADING AND ODLIDDING			
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$150,000.0000	\$150,000.00
	Charles Blalock & Sons, Inc.		\$100,000.0000	\$100,000.00
	Potter South East LLC		\$375,000.0000	\$375,000.00
	Graham County Land Company, LLC		\$20,000.0000	\$20,000.00
	Whaley Construction, LLC		\$153,450.0000	\$153,450.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		7.000 C.Y.		
	Jones Bros. Contractors, LLC	11000 0111	\$100.0000	\$700.00
	Charles Blalock & Sons, Inc.		\$12.0000	\$84.00
	Potter South East LLC		\$61.0000	\$427.00
	Graham County Land Company, LLC		\$99.0000	\$693.00
	Whaley Construction, LLC		\$250.0000	\$1,750.00
	Whaley Conditionally, 220		Ψ200.0000	Ψ1,700.00
203-02 04	BORROW EXCAVATION (GRADED SOLID ROCK)			
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
		6,061.000 TON		
	Jones Bros. Contractors, LLC		\$115.0000	\$697,015.00
	Charles Blalock & Sons, Inc.		\$105.0000	\$636,405.00
	Potter South East LLC		\$72.0000	\$436,392.00
	Graham County Land Company, LLC		\$142.0000	\$860,662.00
	Whaley Construction, LLC		\$155.2000	\$940,667.20
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		0.300 L.M.		
	Jones Bros. Contractors, LLC		\$5,000.0000	\$1,500.00
	Charles Blalock & Sons, Inc.		\$8,373.1300	\$2,511.94
	Potter South East LLC		\$7,500.0000	\$2,250.00
	Graham County Land Company, LLC		\$30,000.0000	\$9,000.00
	Whaley Construction, LLC		\$10,000.0000	\$3,000.00
	Whaley Conditionally, 220		Ψ10,000.0000	ψο,σσσ.σσ
200 02 20	EILTED SOCK (SINCH)			
209-03.20	FILTER SOCK (8 INCH)			
		200.000 L.F.		
	Jones Bros. Contractors, LLC		\$12.0000	\$2,400.00
	Charles Blalock & Sons, Inc.		\$4.0300	\$806.00
	Potter South East LLC		\$4.0000	\$800.00
	Graham County Land Company, LLC		\$12.0000	\$2,400.00
	Whaley Construction, LLC		\$4.4000	\$880.00

		UNIT PRICE	EXTENSION
209-08.02 TEMPORARY SILT FENCE (WITH BACKING)			
,	100.000 L.F.		
Jones Bros. Contractors, LLC		\$13.0000	\$1,300.00
Charles Blalock & Sons, Inc.		\$9.3600	\$936.00
Potter South East LLC		\$4.8000	\$480.00
Graham County Land Company, LLC		\$6.5000	\$650.00
Whaley Construction, LLC		\$13.7500	\$1,375.00
209-13.04 TURBIDITY CURTAIN(WITHOUT LIGHTED BUOYS)			
	660.000 L.F.		
Jones Bros. Contractors, LLC		\$40.0000	\$26,400.00
Charles Blalock & Sons, Inc.		\$44.4300	\$29,323.80
Potter South East LLC		\$36.0000	\$23,760.00
Graham County Land Company, LLC		\$40.0000	\$26,400.00
Whaley Construction, LLC		\$46.2000	\$30,492.00
209-13.05 TURBIDITY CURTAIN(WITH LIGHTED BUOYS)			
	710.000 L.F.		
Jones Bros. Contractors, LLC		\$60.0000	\$42,600.00
Charles Blalock & Sons, Inc.		\$83.3100	\$59,150.10
Potter South East LLC		\$45.0000	\$31,950.00
Graham County Land Company, LLC		\$45.0000	\$31,950.00
Whaley Construction, LLC		\$82.5000	\$58,575.00
307-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
	50.000 TON		
Jones Bros. Contractors, LLC		\$166.9000	\$8,345.00
Charles Blalock & Sons, Inc.		\$145.8000	\$7,290.00
Potter South East LLC		\$200.0000	\$10,000.00
Graham County Land Company, LLC		\$175.0000	\$8,750.00
Whaley Construction, LLC		\$148.5000	\$7,425.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	0.700 TON		
Jones Bros. Contractors, LLC		\$400.0000	\$280.00
Charles Blalock & Sons, Inc.		\$972.0000	\$680.40
Potter South East LLC		\$2,000.0000	\$1,400.00
Graham County Land Company, LLC		\$1,150.0000	\$805.00
Whaley Construction, LLC		\$990.0000	\$693.00
411-02.10 ACS MIX(PG70-22) GRADING D			
	104.000 TON		
Jones Bros. Contractors, LLC		\$167.8000	\$17,451.20
Charles Blalock & Sons, Inc.		\$178.2000	\$18,532.80
Potter South East LLC		\$300.0000	\$31,200.00
Graham County Land Company, LLC		\$200.0000	\$20,800.00
Whaley Construction, LLC		\$181.5000	\$18,876.00

			00
		UNIT PRICE	EXTENSION
415-01.02	COLD PLANING BITUMINOUS PAVEMENT		
		1,430.000 S.Y.	
	lawaa Daaa Qaataaataaa III Q	•	#0.500.00
	Jones Bros. Contractors, LLC	\$6.0000	\$8,580.00
	Charles Blalock & Sons, Inc.	\$8.7100	\$12,455.30
	Potter South East LLC	\$22.0000	\$31,460.00
	Graham County Land Company, LLC	\$16.0000	\$22,880.00
	Whaley Construction, LLC	\$6.6000	\$9,438.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE		
		150.000 L.F.	
	Jones Bros. Contractors, LLC	\$15.0000	\$2,250.00
	Charles Blalock & Sons, Inc.	\$6.2400	\$936.00
	Potter South East LLC	\$2.5000	\$375.00
	Graham County Land Company, LLC	\$5.0000	\$750.00
	Whaley Construction, LLC	\$3.3000	\$495.00
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)		
		2.000 EACH	
	Jones Bros. Contractors, LLC	\$206.5000	\$413.00
	Charles Blalock & Sons, Inc.	\$277.6900	\$555.38
	Potter South East LLC	\$300.0000	\$600.00
	Graham County Land Company, LLC	\$500.0000	\$1,000.00
	Whaley Construction, LLC	\$500.0000	\$1,000.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)		
		50.000 TON	
	Jones Bros. Contractors, LLC	\$50.0000	\$2,500.00
	Charles Blalock & Sons, Inc.	\$105.0000	\$5,250.00
	Potter South East LLC	\$45.0000	\$2,250.00
	Graham County Land Company, LLC	\$80.0000	\$4,000.00
	Whaley Construction, LLC	\$250.0000	\$12,500.00
			* -,
712-01	TRAFFIC CONTROL		
		1.000 LS	
	Jones Bros. Contractors, LLC	\$6,000.0000	\$6,000.00
	Charles Blalock & Sons, Inc.	\$75,000.0000	\$75,000.00
	Potter South East LLC	\$12,500.0000	\$12,500.00
	Graham County Land Company, LLC	\$35,000.0000	\$35,000.00
	Whaley Construction, LLC	\$30,000.0000	\$30,000.00
	Whaley Construction, LLC	ψ50,000.0000	ψ30,000.00
712-04-01	FLEXIBLE DRUMS (CHANNELIZING)		
2 3 7.01	(Simulation)	32.000 EACH	
	lamas Dress Comtracts == 11.0		#000.00
	Jones Bros. Contractors, LLC	\$28.0000	\$896.00
	Charles Blalock & Sons, Inc.	\$32.4000	\$1,036.80
	Potter South East LLC	\$40.0000	\$1,280.00
	Graham County Land Company, LLC	\$35.0000	\$1,120.00
	Whaley Construction, LLC	\$33.0000	\$1,056.00

			UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
	·	16.000 EACH		
	Jones Bros. Contractors, LLC	10.000 E/(011	\$2.0000	\$32.00
	Charles Blalock & Sons, Inc.		\$27.0000	\$432.00
	Potter South East LLC		\$20.0000	\$320.00
	Graham County Land Company, LLC		\$32.0000	\$520.00 \$512.00
	Whaley Construction, LLC		\$27.5000	\$312.00 \$440.00
	Whaley Construction, LLC		φ21.3000	φ440.00
712-06	SIGNS (CONSTRUCTION)			
712-00	SIGNS (CONSTRUCTION)	407.000.0.5		
		187.000 S.F.	.	•
	Jones Bros. Contractors, LLC		\$7.0000	\$1,309.00
	Charles Blalock & Sons, Inc.		\$12.0000	\$2,244.00
	Potter South East LLC		\$12.0000	\$2,244.00
	Graham County Land Company, LLC		\$10.0000	\$1,870.00
	Whaley Construction, LLC		\$8.8000	\$1,645.60
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI	I-DIR) (1 COLOR)		
		8.000 EACH		
	Jones Bros. Contractors, LLC		\$45.0000	\$360.00
	Charles Blalock & Sons, Inc.		\$48.6000	\$388.80
	Potter South East LLC		\$10.0000	\$80.00
	Graham County Land Company, LLC		\$450.0000	\$3,600.00
	Whaley Construction, LLC		\$49.5000	\$396.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		0.500 L.M.		
	Jones Bros. Contractors, LLC		\$1,800.0000	\$900.00
	Charles Blalock & Sons, Inc.		\$1,944.0000	\$972.00
	Potter South East LLC		\$5,000.0000	\$2,500.00
	Graham County Land Company, LLC		\$5,800.0000	\$2,900.00
	Whaley Construction, LLC		\$1,980.0000	\$990.00
	Whatey Conditionally, 220		ψ1,000.0000	φοσο.σσ
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN L	LINE)		
	·	0.500 L.M.		
	Jones Bros. Contractors, LLC	0.000 E.M.	\$6,000.0000	\$3,000.00
	Charles Blalock & Sons, Inc.		\$6,480.0000	\$3,240.00
	Potter South East LLC		\$15,000.0000	
				\$7,500.00 \$8,000.00
	Graham County Land Company, LLC		\$16,000.0000	
	Whaley Construction, LLC		\$6,600.0000	\$3,300.00
717-01	MOBILIZATION			
717-01	MODILIZATION	4 000 1 0		
		1.000 LS	A.	** * * * * * * * * * * * * * * * * * *
	Jones Bros. Contractors, LLC		\$51,000.0000	\$51,000.00
	Charles Blalock & Sons, Inc.		\$50,000.0000	\$50,000.00
	Potter South East LLC		\$45,000.0000	\$45,000.00
	Graham County Land Company, LLC		\$50,000.0000	\$50,000.00
	Whaley Construction, LLC		\$183,168.0000	\$183,168.00

CONTRACT CNU222

\$4,730.00

\$55.0000

UNIT PRICE	EXTENSION
\$25.0000	\$2,150.00
\$10.1700	\$874.62
\$6.0000	\$516.00
\$5.0000	\$430.00
	\$25.0000 \$10.1700 \$6.0000

Whaley Construction, LLC

Jones Bros. Contractors, LLC	\$1,032,381.20
Charles Blalock & Sons, Inc.	\$1,045,669.71
Potter South East LLC	\$1,065,284.00
Graham County Land Company, LLC	\$1,144,172.00
Whaley Construction, LLC	\$1,475,306.80

TOTAL CONTRACT

Jones Bros. Contractors, LLC	\$1,032,381.20
Charles Blalock & Sons, Inc.	\$1,045,669.71
Potter South East LLC	\$1,065,284.00
Graham County Land Company, LLC	\$1,144,172.00
Whaley Construction, LLC	\$1,475,306.80

KNOX COUNTY (Contract No. CNU181 Call 042)

47010-4250-04

THE TUNNEL CLEANING ON THE HENLEY STREET CONNECTOR TUNNEL ON S.R. 1 AND THE SMARTFIX TUNNEL ON S.R. 158 (JAMES WHITE PARKWAY).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2021

TOTAL CONTRACT

Diamond Specialized, Inc.

\$128,500.00

MAINTENANCE CATEGORY		UNIT PRICE	CONTRACT CNU181 EXTENSION
712-01.56 MAINTENANCE OF TRAFFIC (SMARTFIX I-40 RAMP)			
Diamond Specialized, Inc.	12.000 EACH	\$1,575.0000	\$18,900.00
712-01.60 MAINTENANCE OF TRAFFIC (HENLEY STREET TUNNELS)			
Diamond Specialized, Inc.	12.000 EACH	\$1,575.0000	\$18,900.00
713-20.40 GRAFFITI REMOVAL			
Diamond Specialized, Inc.	250.000 S.F.	\$2.8000	\$700.00
717-01 MOBILIZATION			
Diamond Specialized, Inc.	1.000 LS	\$6,000.0000	\$6,000.00
760-01.04 TUNNEL CLEANING (HENLEY STREET TUNNELS)			
Diamond Specialized, Inc.	12.000 EACH	\$3,600.0000	\$43,200.00
760-01.07 TUNNEL CLEANING (SMARTFIX I-40 RAMP)			
	12.000 EACH		

Diamond Specialized, Inc.

\$40,800.00

\$3,400.0000

SUB-TOTAL MAINTENANCE

Diamond Specialized, Inc. \$128,500.00

TOTAL CONTRACT

Diamond Specialized, Inc. \$128,500.00

LAUDERDALE COUNTY (Contract No. CNU201 Call 043)

HSIP-88(19),49008-3251-94,49008-4251-04,49008-4252-04

THE FULL DEPTH RECLAMATION AND RESURFACING WITH DOUBLE BITUMINOUS SURFACE TREATMENT (DBST) ON S.R. 88 FROM DEE WEBB ROAD (L.M. 0.00) TO KEY CORNER ROAD (L.M. 9.36), INCLUDING BRIDGE DECK REPAIR.

PROJECT LENGTH - 9.360 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 9.00%

TOTAL CONTRACT

Pavement Restorations, Inc.

\$2,450,644.17

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNU201 EXTENSION
203-06	WATER			
	Pavement Restorations, Inc.	478.000 M.G.	\$10.0000	\$4,780.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (D)			
	Pavement Restorations, Inc.	375.000 TON	\$50.0000	\$18,750.00
304-01.04	4-01.04 PROCESSING (RECLAIMED BASE MATERIAL)			
	Pavement Restorations, Inc.	127,983.000 S.Y.	\$2.9900	\$382,669.17
304-01.08	I-01.08 PORTLAND CEMENT (FULL DEPTH PAVEMENT RECLAMATION)			
	Pavement Restorations, Inc.	4,736.000 TON	\$167.0000	\$790,912.00
403-01.10	High Performance Fog Seals			
	Pavement Restorations, Inc.	128,405.000 S.Y.	\$0.6000	\$77,043.00
404-01.01	BITUMINOUS MATERIAL (DBST)			
	Pavement Restorations, Inc.	378.000 TON	\$1,020.0000	\$385,560.00
404-01.02	MINERAL AGGREGATE (DBST)			
	Pavement Restorations, Inc.	3,146.000 TON	\$53.0000	\$166,738.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Pavement Restorations, Inc.	22.000 EACH	\$810.0000	\$17,820.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	68.000 EACH		
	Pavement Restorations, Inc.		\$2,052.0000	\$139,536.00
712-01	TRAFFIC CONTROL			
	Pavement Restorations, Inc.	1.000 LS	\$65,000.0000	\$65,000.00
712-06	SIGNS (CONSTRUCTION)	1,424.000 S.F.		
	Pavement Restorations, Inc.		\$6.0000	\$8,544.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			

2.000 EACH

Pavement Restorations, Inc.

\$12,420.00

\$6,210.0000

			CONTRACT CNU201
		UNIT PRICE	EXTENSION
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)	80.000 L.F.		
Pavement Restorations, Inc.		\$19.0000	\$1,520.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)	25.510 L.M.		
Pavement Restorations, Inc.	20.010 2	\$1,700.0000	\$43,367.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	25.510 L.M.		
Pavement Restorations, Inc.		\$6,000.0000	\$153,060.00
717-01 MOBILIZATION	4 1 -		
	1.000 LS		

\$60,000.0000

\$60,000.00

Pavement Restorations, Inc.

		C	ONTRACT CNU201
BRIDGE CATEGORY		UNIT PRICE	EXTENSION
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)			
Pavement Restorations, Inc.	19.000 S.Y.	\$1,250.0000	\$23,750.00
604-10.53 CONCRETE REPAIRS			
Pavement Restorations, Inc.	15.000 S.Y.	\$1,350.0000	\$20,250.00
617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)			
	2,255.000 S.Y.		

Pavement Restorations, Inc.

\$35.0000

\$78,925.00

Pavement Restorations, Inc. \$2,327,719.17

SUB-TOTAL BRIDGE

Pavement Restorations, Inc. \$122,925.00

TOTAL CONTRACT

Pavement Restorations, Inc. \$2,450,644.17

LAUDERDALE COUNTY (Contract No. CNU159 Call 044)

STP/HSIP-19(57),49005-3230-94,49005-8230-14

THE RESURFACING WITH HOT IN-PLACE RECYCLING ON S.R. 19 FROM NEAR EASTLAND AVENUE (L.M. 21.99) TO THE HAYWOOD COUNTY LINE (L.M. 26.14).

PROJECT LENGTH - 4.150 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 30, 2020

DBE GOAL 3.50%

TOTAL CONTRACT

Ford Construction Company

\$1,176,292.43

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNU159 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Ford Construction Company	150.000 S.Y.	\$74.1000	\$11,115.00
203-06	WATER			
	Ford Construction Company	9.000 M.G.	\$1.0000	\$9.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Ford Construction Company	7.775 L.M.	\$1,176.0000	\$9,143.40
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C O	-		
	Ford Construction Company	1,208.000 TON	\$38.0000	\$45,904.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAI			
	Ford Construction Company	51.000 TON	\$298.0000	\$15,198.00
311-03.04	HOT IN PLACE RECYCLING OF ASPHALT PAVEMENT			
	Ford Construction Company	60,609.000 S.Y.	\$4.9700	\$301,226.73
311-03.10	ASPHALT REJUVENATING AGENT			
	Ford Construction Company	33,335.000 GAL.	\$3.6500	\$121,672.75
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Ford Construction Company	22.000 TON	\$745.0000	\$16,390.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Ford Construction Company	131.000 TON	\$174.0000	\$22,794.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Ford Construction Company	2,992.000 TON	\$119.3000	\$356,945.60
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS)			
	Ford Construction Company	6.220 L.M.	\$977.0000	\$6,076.94
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			

1,970.000 S.Y.

Ford Construction Company

\$15,957.00

\$8.1000

			UNIT PRICE	CONTRACT CNU159 EXTENSION
712-01	TRAFFIC CONTROL			
	Ford Construction Company	1.000 LS	\$29,500.0000	\$29,500.00
712-06	SIGNS (CONSTRUCTION)			
	Ford Construction Company	856.000 S.F.	\$8.0000	\$6,848.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO	LOR)		
	Ford Construction Company	300.000 EACH	\$43.0000	\$12,900.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Ford Construction Company	350.000 EACH	\$18.0000	\$6,300.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Ford Construction Company	50.000 S.Y.	\$31.0000	\$1,550.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Ford Construction Company	200.000 L.F.	\$18.0000	\$3,600.00

1.000 EACH

14.522 L.M.

6.222 L.M.

8.300 L.M.

1.000 LS

\$269.0000

\$1,720.0000

\$6,235.0000

\$3,870.0000

\$97,000.0000

716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)

716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)

Ford Construction Company

716-05.20 PAINTED PAVEMENT MARKING (6" LINE)

Ford Construction Company

Ford Construction Company

Ford Construction Company

Ford Construction Company

MOBILIZATION

717-01

716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)

\$269.00

\$24,977.84

\$38,794.17

\$32,121.00

\$97,000.00

Ford Construction Company \$1,176,292.43

TOTAL CONTRACT

Ford Construction Company \$1,176,292.43

LAWRENCE COUNTY (Contract No. CNU223 Call 045)

50077-3201-04

THE GRADING, DRAINAGE AND PAVING ON A S.I.A. ROUTE FROM U.S. 64BP (S.R. 15) TO THE LAWRENCE COUNTY HIGHER EDUCATION CENTER.

PROJECT LENGTH - 0.495 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2020

TOTAL CONTRACT

 Doss Brothers Inc.
 \$1,906,506.65

 Rogers Group, Inc.
 \$2,062,882.00

 Rawso, LLC
 \$2,212,832.61

			CC	ONTRACT CNU223
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRA			
		1.000 LS		
	Doss Brothers Inc.		\$16,445.0000	\$16,445.00
	Rogers Group, Inc. Rawso, LLC		\$16,000.0000 \$36,722.3400	\$16,000.00 \$36,722.34
	Rawso, LLC		φ30,722.3400	φ30,722.34
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Doss Brothers Inc.		\$47,000.0000	\$47,000.00
	Rogers Group, Inc.		\$47,200.0000	\$47,200.00
	Rawso, LLC		\$95,780.0000	\$95,780.00
202-01	REMOVAL OF STRUCTURES AND OBSTRU	JCTIONS		
		1.000 LS		
	Doss Brothers Inc.		\$5,000.0000	\$5,000.00
	Rogers Group, Inc.		\$5,020.0000	\$5,020.00
	Rawso, LLC		\$62,376.2100	\$62,376.21
203-01	ROAD & DRAINAGE EXCAVATION (UNCLA	SSIFIED)		
	(0.02	5,306.000 C.Y.		
	Doss Brothers Inc.	·	\$9.0000	\$47,754.00
	Rogers Group, Inc.		\$9.5000	\$50,407.00
	Rawso, LLC		\$6.1500	\$32,631.90
203-02.0	1 BORROW EXCAVATION (GRADED SOLID I	ROCK)		
200 02.0		7,250.000 TON		
	Doss Brothers Inc.	,	\$22.5000	\$163,125.00
	Rogers Group, Inc.		\$23.0000	\$166,750.00
	Rawso, LLC		\$32.3300	\$234,392.50
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
200 00		23,833.000 C.Y.		
	Doss Brothers Inc.		\$13.0000	\$309,829.00
	Rogers Group, Inc.		\$17.0000	\$405,161.00
	Rawso, LLC		\$8.3000	\$197,813.90
203-04	PLACING AND SPREADING TOPSOIL			
203-04	PLACING AND SPREADING TOPSOIL	877.000 C.Y.		
	Doss Brothers Inc.	077.000 C.1.	\$12.0000	\$10,524.00
	Rogers Group, Inc.		\$13.0000	\$11,401.00
	Rawso, LLC		\$9.5700	\$8,392.89
202.00	WATER			
203-06	WATER	108.000 M.G.		
		1 UO.UUU IVI.G.		

Doss Brothers Inc.

Rogers Group, Inc. Rawso, LLC

\$432.00

\$540.00

\$1,620.00

\$4.0000 \$5.0000

\$15.0000

			UNIT PRICE	EXTENSION
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)			
204 00.01	BASIA IEE MATERIAL (I LOWABLE I IEE)	13.000 C.Y.		
	Doss Brothers Inc.	10.000 0.11	\$300.0000	\$3,900.00
	Rogers Group, Inc.		\$303.0000	\$3,939.00
	Rawso, LLC		\$269.0100	\$3,497.13
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		1.500 L.M.	.	
	Doss Brothers Inc.		\$2,900.0000	\$4,350.00
	Rogers Group, Inc. Rawso, LLC		\$2,900.0000 \$3,038.8100	\$4,350.00 \$4,558.22
	Nawso, LLC		ψ5,030.0100	ψ4,550.22
209-05	SEDIMENT REMOVAL			
		233.000 C.Y.		
	Doss Brothers Inc.		\$1.0000	\$233.00
	Rogers Group, Inc.		\$2.0000	\$466.00
	Rawso, LLC		\$27.3700	\$6,377.21
200 00 02	TEMPODADY CILT FENCE (MITH DACKING)			
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)	332.000 L.F.		
	Doss Brothers Inc.	332.000 L.F.	\$5.0000	\$1,660.00
	Rogers Group, Inc.		\$5.5000 \$5.5000	\$1,826.00
	Rawso, LLC		\$4.4500	\$1,477.40
200-08 U3	TEMPORARY SILT FENCE (WITHOUT BACKING)			
203-00.03	TEMI ORAKT SIETTENGE (WITHOUT BACKING)	3,000.000 L.F.		
	Doss Brothers Inc.	3,000.000 L.I .	\$2.0000	\$6,000.00
	Rogers Group, Inc.		\$2.0500	\$6,150.00
	Rawso, LLC		\$1.8300	\$5,490.00
209-40.42	CATCH BASIN FILTER ASSEMBLY(TYPE 2)			
	Deep Drethers Inc.	3.000 EACH	#4 000 0000	#0.000.00
	Doss Brothers Inc. Rogers Group, Inc.		\$1,000.0000 \$1,004.0000	\$3,000.00 \$3,012.00
	Rawso, LLC		\$1,047.8700	\$3,143.61
	Namos, 225		Ψ1,011.0100	φο, ι τοιο ι
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		6,472.000 TON		
	Doss Brothers Inc.		\$22.0000	\$142,384.00
	Rogers Group, Inc.		\$22.0000	\$142,384.00
	Rawso, LLC		\$23.0500	\$149,179.60
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		47.000 TON		
	Doss Brothers Inc.		\$30.0000	\$1,410.00
	Rogers Group, Inc.		\$31.0000	\$1,457.00
	Rawso, LLC		\$47.5200	\$2,233.44

		UNIT PRICE	EXTENSION
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A		
		700.000 TON	
	Doss Brothers Inc.	\$105.3500	\$73,745.00
	Rogers Group, Inc.	\$98.0000	\$68,600.00
	Rawso, LLC	\$102.6900	\$71,883.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
		459.000 TON	
	Doss Brothers Inc.	\$109.6500	\$50,329.35
	Rogers Group, Inc.	\$102.0000	\$46,818.00
	Rawso, LLC	\$106.8800	\$49,057.92
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A		
		410.000 TON	
	Doss Brothers Inc.	\$116.1000	\$47,601.00
	Rogers Group, Inc.	\$108.0000	\$44,280.00
	Rawso, LLC	\$113.1700	\$46,399.70
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2		
		180.000 TON	
	Doss Brothers Inc.	\$120.4000	\$21,672.00
	Rogers Group, Inc.	\$112.0000	\$20,160.00
	Rawso, LLC	\$117.3600	\$21,124.80
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)		
		11.000 TON	
	Doss Brothers Inc.	\$860.0000	\$9,460.00
	Rogers Group, Inc.	\$800.0000	\$8,800.00
	Rawso, LLC	\$838.2900	\$9,221.19
402-02	AGGREGATE FOR COVER MATERIAL (PC)		
		40.000 TON	
	Doss Brothers Inc.	\$43.0000	\$1,720.00
	Rogers Group, Inc.	\$38.0000	\$1,520.00
	Rawso, LLC	\$39.8200	\$1,592.80
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
		12.000 TON	
	Doss Brothers Inc.	\$860.0000	\$10,320.00
	Rogers Group, Inc.	\$800.0000	\$9,600.00
	Rawso, LLC	\$838.2900	\$10,059.48
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER		
		258.000 TON	
	Doss Brothers Inc.	\$131.1500	\$33,836.70
	Rogers Group, Inc.	\$122.0000	\$31,476.00
	Rawso, LLC	\$127.8400	\$32,982.72

				CONTRACT CNU223
			UNIT PRICE	EXTENSION
			2	
411-01.10	ACS MIX(PG64-22) GRADING D			
		327.000 TON		
	Doss Brothers Inc.		\$133.3000	\$43,589.10
	Rogers Group, Inc.		\$124.0000	\$40,548.00
	Rawso, LLC		\$129.9400	\$42,490.38
411-02.10	ACS MIX(PG70-22) GRADING D			
	,	968.000 TON		
	Doss Brothers Inc.		\$135.4500	\$131,115.60
	Rogers Group, Inc.		\$126.0000	\$121,968.00
	Rawso, LLC		\$132.0300	\$127,805.04
444 42 04	SCODING SHOULDERS (CONTINUOUS) (46IN WIDTH)			
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)	0.700 L.M.		
	Doss Brothers Inc.	0.7 00 E.M.	\$2,500.0000	\$1,750.00
	Rogers Group, Inc.		\$2,510.0000	\$1,757.00
	Rawso, LLC		\$2,619.6700	\$1,833.77
			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		0.500 L.M.		
	Doss Brothers Inc.		\$2,500.0000	\$1,250.00
	Rogers Group, Inc.		\$2,510.0000	\$1,255.00
	Rawso, LLC		\$2,619.6600	\$1,309.83
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		14,984.000 S.Y.		
	Doss Brothers Inc.		\$2.0000	\$29,968.00
	Rogers Group, Inc.		\$2.0000	\$29,968.00
	Rawso, LLC		\$1.4100	\$21,127.44
604-01 01	CLASS A CONCRETE (ROADWAY)			
004-01.01	CEASS A CONCRETE (NOADWAT)	109.000 C.Y.		
	Doss Brothers Inc.	103.000 0.1.	\$340.0000	\$37,060.00
	Rogers Group, Inc.		\$316.0000	\$34,444.00
	Rawso, LLC		\$327.4600	\$35,693.14
604-36	SCARIFYING			
		229.000 S.Y.		
	Doss Brothers Inc.		\$10.0000	\$2,290.00
	Rogers Group, Inc.		\$11.0000	\$2,519.00
	Rawso, LLC		\$15.0000	\$3,435.00
607-03.30	18" PIPE CULVERT			
		191.000 L.F.		
	Doss Brothers Inc.		\$31.0000	\$5,921.00
	Rogers Group, Inc.		\$32.0000	\$6,112.00
	Power IIC		¢116.0700	\$22,160,27

Rawso, LLC

\$22,169.37

\$116.0700

			UNIT PRICE	EXTENSION
607-09.02	48" CONCRETE PIPE CULVERT (CLASS III)			
301 30102		10.000 L.F.		
	Doss Brothers Inc.		\$300.0000	\$3,000.00
	Rogers Group, Inc.		\$303.0000	\$3,030.00
	Rawso, LLC		\$453.5200	\$4,535.20
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
		40.000 L.F.		
	Doss Brothers Inc.		\$31.0000	\$1,240.00
	Rogers Group, Inc.		\$32.0000	\$1,280.00
	Rawso, LLC		\$122.1100	\$4,884.40
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)			
		6.000 C.Y.		
	Doss Brothers Inc.		\$1,500.0000	\$9,000.00
	Rogers Group, Inc.		\$1,514.0000	\$9,084.00
	Rawso, LLC		\$1,325.8500	\$7,955.10
611-07.02	STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
		90.000 LB.		
	Doss Brothers Inc.		\$3.0000	\$270.00
	Rogers Group, Inc.		\$3.1000	\$279.00
	Rawso, LLC		\$5.1000	\$459.00
611-07.54	18IN ENDWALL (CROSS DRAIN) 3:1			
		2.000 EACH		
	Doss Brothers Inc.		\$2,500.0000	\$5,000.00
	Rogers Group, Inc.		\$2,523.0000	\$5,046.00
	Rawso, LLC		\$2,909.2400	\$5,818.48
611-07.73	18IN ENDWALL (MEDIAN DRAIN)			
		2.000 EACH		
	Doss Brothers Inc.		\$6,500.0000	\$13,000.00
	Rogers Group, Inc.		\$6,559.0000	\$13,118.00
	Rawso, LLC		\$9,604.7600	\$19,209.52
702-01	CONCRETE CURB			
		11.000 C.Y.		
	Doss Brothers Inc.		\$810.0000	\$8,910.00
	Rogers Group, Inc.		\$743.0000	\$8,173.00
	Rawso, LLC		\$771.6500	\$8,488.15
702-03	CONCRETE COMBINED CURB & GUTTER			
		50.000 C.Y.		
	Doss Brothers Inc.		\$372.0000	\$18,600.00
	Rogers Group, Inc.		\$341.0000	\$17,050.00
	Rawso, LLC		\$353.8600	\$17,693.00

CONTRACT	CNU223
----------	--------

		UNIT PRICE	EXTENSION
705-02.10 GUARDRAIL TRANSIT	ION 27IN TO 31IN		
700 02:10 COARDINAL INAROIT	1.000 EACH		
Doss Brothers Inc.	1.000 EAGIT	\$124.0000	\$124.00
Rogers Group, Inc.		\$178.0000	\$178.00
Rawso, LLC		\$188.6200	\$188.62
705-06.01 W BEAM GR (TYPE 2)	MASH TL3		
	1,350.000 L.F.		
Doss Brothers Inc.		\$20.0000	\$27,000.00
Rogers Group, Inc.		\$19.0000	\$25,650.00
Rawso, LLC		\$20.1300	\$27,175.50
705-06.10 GR TERMINALTRAILIN			
	2.000 EACH		_
Doss Brothers Inc.		\$850.0000	\$1,700.00
Rogers Group, Inc. Rawso, LLC		\$1,068.0000 \$1,131.7000	\$2,136.00 \$2,263.40
Rawso, LLC		\$1,131.7000	\$2,263.40
705-06.11 GR TERMINAL (IN-INLI	NE) MASH TL3		
	2.000 EACH		
Doss Brothers Inc.		\$753.0000	\$1,506.00
Rogers Group, Inc.		\$743.0000	\$1,486.00 \$4,570.00
Rawso, LLC		\$788.0000	\$1,576.00
705-06.30 GR TERMINAL (ENERG			
	1.000 EACH		
Doss Brothers Inc.		\$2,269.0000	\$2,269.00
Rogers Group, Inc. Rawso, LLC		\$2,225.0000	\$2,225.00
Rawso, LLC		\$2,370.2700	\$2,370.27
705-20.25 TEMPORARY CRASH			
D D 11 1	3.000 EACH	Фо ооо оооо	Ф04.000.00
Doss Brothers Inc. Rogers Group, Inc.		\$8,000.0000 \$5,630.0000	\$24,000.00 \$16,890.00
Rawso, LLC		\$7,355.2100	\$22,065.63
Nawoo, LLO		Ψ7,000.2100	Ψ22,000.00
706-01 GUARDRAIL REMOVE	D		
	924.000 L.F.		
Doss Brothers Inc.		\$5.0000	\$4,620.00
Rogers Group, Inc.		\$1.0000	\$924.00
Rawso, LLC		\$0.8900	\$822.36
706-10.26 ROUNDED END ELEM			
	1.000 EACH		
Doss Brothers Inc.		\$150.0000	\$150.00
Rogers Group, Inc.		\$130.0000 \$135.7400	\$130.00 \$135.74
Rawso, LLC		\$125.7400	\$125.74

	UNIT PRICE	EXTENSION
707-01.11 CHAIN LINK FENCE (6 FOOT)		
	110.000 L.F.	
Doss Brothers Inc.	\$18.0000	\$1,980.00
Rogers Group, Inc.	\$16.0000	\$1,760.00
Rawso, LLC	\$15.7200	\$1,729.20
707-01.12 END & CORNER POST ASSEMBLY(CHAIN-LINK FENCE 6')		
	9.000 EACH	
Doss Brothers Inc.	\$350.0000	\$3,150.00
Rogers Group, Inc.	\$303.0000	\$2,727.00
Rawso, LLC	\$314.3600	\$2,829.24
707-03.01 STOCK FENCE		
	450.000 L.F.	
Doss Brothers Inc.	\$10.0000	\$4,500.00
Rogers Group, Inc.	\$9.5000	\$4,275.00
Rawso, LLC	\$9.4300	\$4,243.50
707-03.02 END, BRACED LINE, CORNER POST ASSEMBLY(STOCK FENCE)		
	45.000 EACH	
Doss Brothers Inc.	\$200.0000	\$9,000.00
Rogers Group, Inc.	\$176.0000	\$7,920.00
Rawso, LLC	\$183.3800	\$8,252.10
707-06.01 REMOVAL OF FENCE (CONTROL ACCESS)		
	168.000 L.F.	
Doss Brothers Inc.	\$5.0000	\$840.00
Rogers Group, Inc.	\$5.5000	\$924.00
Rawso, LLC	\$5.2400	\$880.32
707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE		
	140.000 L.F.	
Doss Brothers Inc.	\$5.0000	\$700.00
Rogers Group, Inc.	\$5.1000	\$714.00
Rawso, LLC	\$1.5700	\$219.80
708-02.01 MARKERS (CONCRETE R.O.W. POSTS)		
	1.000 EACH	
Doss Brothers Inc.	\$300.0000	\$300.00
Rogers Group, Inc.	\$303.0000	\$303.00
Rawso, LLC	\$261.9700	\$261.97
709-05.05 MACHINED RIP-RAP (CLASS A-3)		
	50.000 TON	
Doss Brothers Inc.	\$60.0000	\$3,000.00
Rogers Group, Inc.	\$61.0000	\$3,050.00
Rawso, LLC	\$56.0100	\$2,800.50

			UNIT PRICE	EXTENSION
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		69.000 TON		
	Doss Brothers Inc.		\$50.0000	\$3,450.00
	Rogers Group, Inc.		\$61.0000	\$4,209.00
	Rawso, LLC		\$56.0600	\$3,868.14
709-05.08	MACHINED RIP-RAP (CLASS B)			
		11.000 TON		
	Doss Brothers Inc.		\$100.0000	\$1,100.00
	Rogers Group, Inc.		\$101.0000	\$1,111.00
	Rawso, LLC		\$68.7700	\$756.47
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
		1,862.000 L.F.		
	Doss Brothers Inc.		\$9.0000	\$16,758.00
	Rogers Group, Inc.		\$8.5000	\$15,827.00
	Rawso, LLC		\$8.3800	\$15,603.56
710-05	LATERAL UNDERDRAIN			
		60.000 L.F.		
	Doss Brothers Inc.		\$10.0000	\$600.00
	Rogers Group, Inc.		\$6.5000	\$390.00
	Rawso, LLC		\$6.2900	\$377.40
710-06.11	LATERAL UNDERDRAIN ENDWALL (2:1)			
		3.000 EACH		
	Doss Brothers Inc.		\$1,800.0000	\$5,400.00
	Rogers Group, Inc.		\$1,514.0000	\$4,542.00
	Rawso, LLC		\$1,571.8000	\$4,715.40
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Doss Brothers Inc.		\$60,000.0000	\$60,000.00
	Rogers Group, Inc.		\$92,444.0000	\$92,444.00
	Rawso, LLC		\$93,950.8900	\$93,950.89
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		4,625.000 L.F.		
	Doss Brothers Inc.		\$25.0000	\$115,625.00
	Rogers Group, Inc.		\$35.0000	\$161,875.00
	Rawso, LLC		\$35.8800	\$165,945.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		125.000 EACH		
	Doss Brothers Inc.		\$30.0000	\$3,750.00
	Rogers Group, Inc.		\$31.0000	\$3,875.00
	Rawso, LLC		\$31.4400	\$3,930.00

			UNIT PRICE	EXTENSION
712-04-50	BARRIER RAIL DELINEATOR			
	2/11/11/11/12/22/11/2/11/2/11	210.000 EACH		
	Doss Brothers Inc.	210.000 2.1011	\$12.0000	\$2,520.00
	Rogers Group, Inc.		\$11.0000	\$2,310.00
	Rawso, LLC		\$10.4800	\$2,200.80
712-05.01	WARNING LIGHTS (TYPE A)			
		8.000 EACH		
	Doss Brothers Inc.		\$50.0000	\$400.00
	Rogers Group, Inc.		\$31.0000	\$248.00
	Rawso, LLC		\$31.4400	\$251.52
712-06	SIGNS (CONSTRUCTION)			
	,	788.000 S.F.		
	Doss Brothers Inc.		\$8.0000	\$6,304.00
	Rogers Group, Inc.		\$8.0000	\$6,304.00
	Rawso, LLC		\$7.3400	\$5,783.92
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		72.000 L.F.		
	Doss Brothers Inc.		\$15.0000	\$1,080.00
	Rogers Group, Inc.		\$14.0000	\$1,008.00
	Rawso, LLC		\$14.1500	\$1,018.80
712-08.03	ARROW BOARD (TYPE C)			
	,	2.000 EACH		
	Doss Brothers Inc.		\$1,200.0000	\$2,400.00
	Rogers Group, Inc.		\$990.0000	\$1,980.00
	Rawso, LLC		\$1,032.1500	\$2,064.30
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)	0.075.000 5		
	Dece Brothers Inc	6,075.000 L.F.	#4.0000	COA 200 00
	Doss Brothers Inc. Rogers Group, Inc.		\$4.0000 \$5.0000	\$24,300.00 \$30,375.00
	Rawso, LLC		\$4.1900	\$25,454.25
	Nawso, LLO		ψ4.1300	Ψ20,+04.20
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		170.000 LB.		
	Doss Brothers Inc.		\$4.0000	\$680.00
	Rogers Group, Inc.		\$4.0000	\$680.00
	Rawso, LLC		\$3.9300	\$668.10
713-11.21	P POST SLIP BASE			
		6.000 EACH		
	Doss Brothers Inc.	0.000 LAOII	\$400.0000	\$2,400.00
	Rogers Group, Inc.		\$370.0000	\$2,220.00
	Rawso, LLC		\$377.2300	\$2,263.38
			40.1.200	+=,=30.00

		CC	MIRACI CNU223
		UNIT PRICE	EXTENSION
713-13.02 FLAT SHEET ALUMINUM SIGN	S (0.080" THICK)		
	59.000 S.F.		
Doss Brothers Inc.		\$16.0000	\$944.00
Rogers Group, Inc.		\$14.0000	\$826.00
Rawso, LLC		\$14.4100	\$850.19
713-15.02 REMOVAL & RELOCATION OF	SIGN & SUPPORT		
	2.000 EACH		
Doss Brothers Inc.		\$200.0000	\$400.00
Rogers Group, Inc.		\$151.0000	\$302.00
Rawso, LLC		\$157.1800	\$314.36
713-15.36 REMOVE SIGN, SUPPORT & FO	DOTING		
	12.000 EACH		
Doss Brothers Inc.		\$45.0000	\$540.00
Rogers Group, Inc.		\$36.0000	\$432.00
Rawso, LLC		\$36.6800	\$440.16
713-16.01 CHANGEABLE MESSAGE SIG	N UNIT		
	2.000 EACH		
Doss Brothers Inc.		\$6,128.0000	\$12,256.00
Rogers Group, Inc.		\$5,800.0000	\$11,600.00
Rawso, LLC		\$5,972.8400	\$11,945.68
716-01.23 SNOWPLOWABLE RAISED PA	VEMENT MARKERS (BI-DIR)(2 COLOR)		
	108.000 EACH		
Doss Brothers Inc.		\$43.0000	\$4,644.00
Rogers Group, Inc.		\$31.0000	\$3,348.00
Rawso, LLC		\$31.4400	\$3,395.52
716-01.30 REMOVAL OF SNOWPLOWAB	LE REFLECTIVE MARKER		
	50.000 EACH		
Doss Brothers Inc.		\$11.0000	\$550.00
Rogers Group, Inc.		\$11.0000	\$550.00
Rawso, LLC		\$10.4800	\$524.00
716-02.04 PLASTIC PAVEMENT MARKING	G(CHANNELIZATION STRIPING)		
	69.000 S.Y.		
Doss Brothers Inc.		\$25.0000	\$1,725.00
Rogers Group, Inc.		\$31.0000	\$2,139.00
Rawso, LLC		\$31.4400	\$2,169.36
716-02.05 PLASTIC PAVEMENT MARKING	G (STOP LINE)		
	42.000 L.F.		
Doss Brothers Inc.		\$18.0000	\$756.00
Rogers Group, Inc.		\$21.0000	\$882.00
Rawso, LLC		\$20.9600	\$880.32

			UNIT PRICE	EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	,	5.000 EACH		
	Doss Brothers Inc.		\$162.0000	\$810.00
	Rogers Group, Inc.		\$201.0000	\$1,005.00
	Rawso, LLC		\$209.5700	\$1,047.85
716-02 11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
710-02.11	TEASTICT AVEINENT MARKING (0 DOTTED LINE)	1,038.000 L.F.		
	Doss Brothers Inc.	1,000.000 =	\$2.0000	\$2,076.00
	Rogers Group, Inc.		\$4.5000	\$4,671.00
	Rawso, LLC		\$4.1900	\$4,349.22
716-04 12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
710-04.12	PLASTIC PAVEMENT MARKING (TIELD LINE)	36.000 S.F.		
	Doss Brothers Inc.	00.000 0	\$36.0000	\$1,296.00
	Rogers Group, Inc.		\$16.0000	\$576.00
	Rawso, LLC		\$15.7200	\$565.92
716-04.23	PLASTIC PAVEMENT MARKING (FISH-HOOKS WITH 1 ARROV			
	Doss Brothers Inc.	3.000 EACH	4025 0000	¢2.475.00
	Rogers Group, Inc.		\$825.0000 \$502.0000	\$2,475.00 \$1,506.00
	Rawso, LLC		\$523.9300	\$1,571.79
710 01 01	DI ACTIO DAVENENT MADVINO (FIGURIO VICTURA ADDO)	wo)		
716-04.24	PLASTIC PAVEMENT MARKING (FISH-HOOKS WITH 2 ARROV	3.000 EACH		
	Doss Brothers Inc.	3.000 EACH	\$825.0000	\$2,475.00
	Rogers Group, Inc.		\$753.0000	\$2,259.00
	Rawso, LLC		\$785.9000	\$2,357.70
740 05 00	DAINTED DAVEMENT MADIVING (OF DADDIED LINE)			
710-05.02	PAINTED PAVEMENT MARKING (8" BARRIER LINE)	4,175.000 L.F.		
	Doss Brothers Inc.	4,170.000 Lii i	\$1.2000	\$5,010.00
	Rogers Group, Inc.		\$1.2000	\$5,010.00
	Rawso, LLC		\$1.0500	\$4,383.75
716-12 02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
710-12.02	ENTANCED LEATENCE THERMO I VIIIT MICKING (OIL LINE)	3.100 L.M.		
	Doss Brothers Inc.	3.100 L.W.	\$8,063.0000	\$24,995.30
	Rogers Group, Inc.		\$5,550.0000	\$24,995.30 \$17,205.00
	Rawso, LLC		\$5,763.2600	\$17,866.11
	Talloo, 220		ψο,1 σο.2σσσ	ψ,eσσ
717-01	MOBILIZATION			
		1.000 LS		
	Doss Brothers Inc.		\$114,315.0000	\$114,315.00
	Rogers Group, Inc.		\$140,618.0000	\$140,618.00
	Rawso, LLC		\$272,000.0000	\$272,000.00

		CONTRACT		NTRACT CNU223
			UNIT PRICE	EXTENSION
740-10.03	3 GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		545.000 S.Y.		
	Doss Brothers Inc.		\$2.0000	\$1,090.00
	Rogers Group, Inc.		\$3.0000	\$1,635.00
	Rawso, LLC		\$3.8600	\$2,103.70
740-10.04	4 GEOTEXTILE (TYPE IV)(STABILIZATION)			
		1,120.000 S.Y.		
	Doss Brothers Inc.		\$6.0000	\$6,720.00
	Rogers Group, Inc.		\$6.0500	\$6,776.00
	Rawso, LLC		\$3.3300	\$3,729.60
740-11.04	4 TEMPORARY SEDIMENT TUBE 20IN			
		2,070.000 L.F.		
	Doss Brothers Inc.		\$5.0000	\$10,350.00
	Rogers Group, Inc.		\$5.0000	\$10,350.00
	Rawso, LLC		\$4.1900	\$8,673.30
801-01.07	7 TEMPORARY SEEDING (WITH MULCH)			
		104.000 UNIT		
	Doss Brothers Inc.		\$60.0000	\$6,240.00
	Rogers Group, Inc.		\$51.0000	\$5,304.00
	Rawso, LLC		\$52.3900	\$5,448.56
801-03	WATER (SEEDING & SODDING)			
		126.000 M.G.		
	Doss Brothers Inc.		\$59.0000	\$7,434.00
	Rogers Group, Inc.		\$51.0000	\$6,426.00
	Rawso, LLC		\$52.3900	\$6,601.14
803-01	SODDING (NEW SOD)			
		11,456.000 S.Y.		
	Doss Brothers Inc.	•	\$3.8500	\$44,105.60
	Rogers Group, Inc.		\$4.0000	\$45,824.00
	Rawso, LLC		\$3.6700	\$42,043.52

Doss Brothers Inc.	\$1,906,506.65
Rogers Group, Inc.	\$2,062,882.00
Rawso, LLC	\$2,212,832.61

TOTAL CONTRACT

Doss Brothers Inc.	\$1,906,506.65
Rogers Group, Inc.	\$2,062,882.00
Rawso, LLC	\$2,212,832.61

LAWRENCE AND WAYNE COUNTIES (Contract No. CNU188 Call 046)

NH-15(216),91004-8254-14,STP-NH-15(217),50002-8252-14

THE RESURFACING ON U.S. 64 (S.R. 15) FROM THE NATCHEZ TRACE PARKWAY OVERPASS (L.M. 25.80) IN WAYNE COUNTY TO WEST OF SCENIC ROAD (L.M. 3.33) IN LAWRENCE COUNTY.

PROJECT LENGTH - 3.640 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 4.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,982,082.00

	AV CATEGORY		UNIT PRICE	CONTRACT CNU188 EXTENSION
ROADWA	AY CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS	13.900 L.M.		
	Rogers Group, Inc.	13.900 L.M.	\$950.0000	\$13,205.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	2.4.49.000 TON		
	Rogers Group, Inc.	2,148.000 TON	\$21.0000	\$45,108.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B			
	Rogers Group, Inc.	2,114.000 TON	\$80.0000	\$169,120.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
	Rogers Group, Inc.	2,500.000 TON	\$88.0000	\$220,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	77.000 TON	\$620.0000	\$47,740.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	Rogers Group, Inc.	3,015.000 TON	\$84.0000	\$253,260.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	Rogers Group, Inc.	9,397.000 TON	\$94.0000	\$883,318.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
	Rogers Group, Inc.	13.600 L.M.	\$500.0000	\$6,800.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Rogers Group, Inc.	2,810.000 TON	\$23.0000	\$64,630.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	Rogers Group, Inc.	3.000 EACH	\$1,850.0000	\$5,550.00
712-01	TRAFFIC CONTROL			
	Rogers Group, Inc.	1.000 LS	\$40,856.0000	\$40,856.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Rogers Group, Inc.	150.000 EACH	\$6.0000	\$900.00

			UNIT PRICE	CONTRACT CNU188 EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
	Rogers Group, Inc.	8.000 EACH	\$3.0000	\$24.00
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	1,827.000 S.F.	\$8.0000	\$14,616.00
712-08.03	ARROW BOARD (TYPE C)			
	Rogers Group, Inc.	4.000 EACH	\$1,000.0000	\$4,000.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1			
	Rogers Group, Inc.	28.000 EACH	\$32.0000	\$896.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)			
	Rogers Group, Inc.	56.000 EACH	\$32.0000	\$1,792.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2			
	Rogers Group, Inc.	574.000 EACH	\$32.0000	\$18,368.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	050 000 54011		
	Rogers Group, Inc.	658.000 EACH	\$9.0000	\$5,922.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING			
	Rogers Group, Inc.	1,506.000 S.Y.	\$11.0000	\$16,566.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	152.000 L.F.	\$16.0000	\$2,432.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Rogers Group, Inc.	10.000 EACH	\$165.0000	\$1,650.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Rogers Group, Inc.	17.400 L.M.	\$1,050.0000	\$18,270.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	17.400 L.M.	\$5,100.0000	\$88,740.00

CONT	RACT	CNU	400
1.0101	R AL.I	CNI	IXX

\$49,805.00

\$49,805.0000

			UNIT PRICE	EXTENSION
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTE	D LINE)		
		2,838.000 L.F.		
	Rogers Group, Inc.		\$3.0000	\$8,514.00
717-01	MOBILIZATION			
		1.000 LS		

Rogers Group, Inc.

Rogers Group, Inc. \$1,982,082.00

TOTAL CONTRACT

Rogers Group, Inc. \$1,982,082.00

LINCOLN COUNTY (Contract No. CNU185 Call 047)

HSIP-50(73),52006-3211-94,52006-4211-04,52006-4212-04

THE RESURFACING ON U.S. 431 (S.R. 50) FROM THE MARSHALL COUNTY LINE (L.M. 0.00) TO NEAR SOUTH FISHING FORD ROAD (L.M. 6.00), INCLUDING BRIDGE DECK REPAIR.

PROJECT LENGTH - 6.000 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 6.00%

TOTAL CONTRACT

Lincoln Paving, LLC Volunteer Paving, LLC \$985,993.63 \$1,047,757.07

			CC	ONTRACT CNU185
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		11.900 L.M.		
	Lincoln Paving, LLC		\$650.0000	\$7,735.00
	Volunteer Paving, LLC		\$500.0000	\$5,950.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		,588.000 TON		
	Lincoln Paving, LLC		\$16.5000	\$26,202.00
	Volunteer Paving, LLC		\$27.5200	\$43,701.76
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2			
	1. 1. 5 11.0	878.000 TON	#00.5000	#04.004.04
	Lincoln Paving, LLC Volunteer Paving, LLC		\$69.5800 \$94.6500	\$61,091.24 \$83,102.70
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	(),	36.000 TON		
	Lincoln Paving, LLC		\$550.0000	\$19,800.00
	Volunteer Paving, LLC		\$685.2900	\$24,670.44
411-01.10	ACS MIX(PG64-22) GRADING D			
	7	,269.000 TON		
	Lincoln Paving, LLC		\$79.1600	\$575,414.04
	Volunteer Paving, LLC		\$74.3500	\$540,450.15
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)			
		9.600 L.M.	A =0= 0000	DE 101.00
	Lincoln Paving, LLC Volunteer Paving, LLC		\$565.0000 \$875.0000	\$5,424.00 \$8,400.00
	volunteer Faving, LLC		φο/3.0000	φο,400.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	. 70.4.000 O.V		
	Lincoln Paving, LLC	7,764.000 S.Y.	\$3.2500	\$25,233.00
	Volunteer Paving, LLC		\$4.4300	\$34,394.52
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		9.000 EACH		
	Lincoln Paving, LLC		\$51.5000	\$463.50
	Volunteer Paving, LLC		\$50.0000	\$450.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		9.000 EACH		
	Lincoln Paving, LLC		\$700.0000	\$6,300.00
	Volunteer Paving, LLC		\$700.0000	\$6,300.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		9.000 EACH		***

Lincoln Paving, LLC

Volunteer Paving, LLC

\$22,725.00

\$2,525.0000

\$2,450.0000

CONTRACT	CNU185
----------	---------------

			CC	MIRACI CNUISS
			UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED			
		500.000 L.F.		
	Lincoln Paving, LLC		\$0.5000	\$250.00
	Volunteer Paving, LLC		\$0.5000	\$250.00
			ψο.σσσσ	Ψ=00.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Lincoln Paving, LLC		\$10,000.0000	\$10,000.00
	Volunteer Paving, LLC		\$19,750.0000	\$19,750.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	,	25.000 EACH		
	Lincoln Paving, LLC	20.000 27.011	\$1.0000	\$25.00
	Volunteer Paving, LLC		\$25.0000	\$625.00
			Ψ=0.0000	402 0.00
712-06	SIGNS (CONSTRUCTION)			
		1,414.000 S.F.		
	Lincoln Paving, LLC		\$6.2000	\$8,766.80
	Volunteer Paving, LLC		\$7.5000	\$10,605.00
713-02 11	REMOVAL OF EXISTING DELINEATORS			
7 10 02.11	REMOVAL OF EXISTING PERINEATORS	16.000 EACH		
	Lincoln Paving, LLC	10.000 EAGI1	\$20.5000	\$328.00
	Volunteer Paving, LLC		\$15.0000	\$240.00
713-16.20	O SIGNS (OM-3, TYPE 3 OBJECT MARKER)			
		16.000 EACH		
	Lincoln Paving, LLC		\$190.0000	\$3,040.00
	Volunteer Paving, LLC		\$165.0000	\$2,640.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (B	I-DIR) (1 COLOR)		
	·	397.000 EACH		
	Lincoln Paving, LLC		\$31.0000	\$12,307.00
	Volunteer Paving, LLC		\$25.0000	\$9,925.00
710.00.05	- DI AOTIO DAVENENT MADICINO (OTOD LINE)			
/16-02.05	5 PLASTIC PAVEMENT MARKING (STOP LINE)	407.000 5		
	Lincoln Device LLC	167.000 L.F.	C45 4500	CO COO 4
	Lincoln Paving, LLC Volunteer Paving, LLC		\$15.4500 \$15.0000	\$2,580.15 \$2,505.00
	Volunteer Faving, LLC		\$15.0000	φ2,505.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		2.200 L.M.		
	Lincoln Paving, LLC		\$1,133.0000	\$2,492.60
	Volunteer Paving, LLC		\$500.0000	\$1,100.00
716 00 00	CONTRACT DAVEMENT MADIZING C			
<i>1</i> 10-09.86	6 CONTRAST PAVEMENT MARKING 6"	0.300 L.M.		
	Lincoln Paving LLC	U.SUU L.IVI.	¢25 750 0000	¢7 705 00
	Lincoln Paving, LLC Volunteer Paving, LLC		\$25,750.0000 \$30,000.0000	\$7,725.00 \$9,000.00
	volunteer i aving, LLO		ψ30,000.0000	ψϑ,ΟΟΟ.ΟΟ

				CONTRACT CNU185
			UNIT PRICE	EXTENSION
740 40 00	ENLIANCED EL ATLINE TUEDMO DVAT MOKAO (CIN LINE)			
/16-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		20.700 L.M.		
	Lincoln Paving, LLC		\$4,738.0000	\$98,076.60
	Volunteer Paving, LLC		\$4,700.0000	\$97,290.00
717-01	MOBILIZATION			
		1.000 LS		
	Lincoln Paving, LLC		\$10,200.0000	\$10,200.00
	Volunteer Paving, LLC		\$46,867.5000	\$46,867.50

	CONTRACT	CNU185
LIMIT DDIC	\r	INCION

BRIDGE CATEGORY	UNIT PRICE	EXTENSION
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)		
	5.000 S.Y.	
Lincoln Paving, LLC Volunteer Paving, LLC	\$515.0000 \$500.0000	\$2,575.00 \$2,500.00
604-10.56 CONCRETE OVERLAYED BRIDGE DECK REPAIR (PARTIAL DEPTH)		
2	20.000 S.Y.	
Lincoln Paving, LLC	\$412.0000	\$8,240.00
Volunteer Paving, LLC	\$400.0000	\$8,000.00
617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)		
1,91	4.000 S.Y.	
Lincoln Paving, LLC	\$36.0500	\$68,999.70
Volunteer Paving, LLC	\$35.0000	\$66,990.00

Lincoln Paving, LLC	\$906,178.93
Volunteer Paving, LLC	\$970,267.07

SUB-TOTAL BRIDGE

Lincoln Paving, LLC	\$79,814.70
Volunteer Paving, LLC	\$77,490.00

TOTAL CONTRACT

Lincoln Paving, LLC	\$985,993.63
Volunteer Paving, LLC	\$1,047,757.07

MADISON COUNTY (Contract No. CNU161 Call 050)

57201-3155-04

THE REPAIR OF THE BRIDGES ON I-40 OVER U.S. 412 (S.R. 20) (L.M. 12.01) IN JACKSON.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2020

TOTAL CONTRACT

Dement Construction Company, LLC \$197,400.50
Thomson & Thomson, Inc. \$201,675.64
Jamison Construction, LLC \$239,672.00

	UNIT PRIC	EXTENSION
BRIDGE CATEGORY		
209-08.02 TEMPORARY SILT FENCE (WITH BACKING)		
	750.000 L.F.	
Dement Construction Company, LLC	\$4.0000	\$3,000.00
Thomson & Thomson, Inc.	\$6.0000	\$4,500.00
Jamison Construction, LLC	\$6.0000	\$4,500.00
604-10.05 CONCRETE	000 000 0 5	
	299.000 S.F.	
Dement Construction Company, LLC	\$175.0000	
Thomson & Thomson, Inc.	\$130.0000	· · ·
Jamison Construction, LLC	\$160.0000	\$47,840.00
604-10.54 CONCRETE REPAIRS		
	427.000 S.F.	
Dement Construction Company, LLC	\$157.0000	\$67,039.00
Thomson & Thomson, Inc.	\$120.0000	
Jamison Construction, LLC	\$160.0000	
604-10.69 PRESTRESSING STRAND SPLICE		
	3.000 EACH	
Dement Construction Company, LLC	\$1,500.0000	\$4,500.00
Thomson & Thomson, Inc.	\$950.0000	\$2,850.00
Jamison Construction, LLC	\$2,200.0000	\$6,600.00
705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3)		
703-20.23 TEMPORART CRASH COSHION (MASH TE-3)	2.000 EACH	
Demant Construction Commons II C		фо ооо оо
Dement Construction Company, LLC Thomson & Thomson, Inc.	\$4,900.000	
•	\$6,000.0000 \$4,200.0000	
Jamison Construction, LLC	\$4,200.0000	φο,400.00
707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE		
	750.000 L.F.	
Dement Construction Company, LLC	\$3.0000	\$2,250.00
Thomson & Thomson, Inc.	\$1.7500	\$1,312.50
Jamison Construction, LLC	\$4.0000	\$3,000.00
712-01 TRAFFIC CONTROL	400010	
	1.000 LS	
Dement Construction Company, LLC	\$8,805.0000	
Thomson & Thomson, Inc.	\$3,600.0000	
Jamison Construction, LLC	\$18,000.0000	\$18,000.00
712-02.02 INTERCONNECTED PORTABLE BARRIER RAIL		
	824.000 L.F.	
Dement Construction Company, LLC	\$15.0000	\$12,360.00
Thomson & Thomson, Inc.	\$46.0000	
Jamison Construction, LLC	\$40.0000	
	Ţ.0.000C	ψ <u>σ</u> =,σσσ.σσ

CONTRACT C	NU161
------------	-------

				CONTRACT CNUTST
			UNIT PRICE	EXTENSION
712-04 01	FLEXIBLE DRUMS (CHANNELIZING)			
	TEMBLE Divinio (On Minicipalitie)	159.000 EACH		
	Demonstration Comments II C	159.000 EACH	#05.000	Φ0.075.00
	Dement Construction Company, LLC Thomson & Thomson, Inc.		\$25.0000 \$31.0000	\$3,975.00 \$4,929.00
	Jamison Construction, LLC		\$35.0000	\$5,565.00
	damison construction, LLC		ψοσ.σσσσ	ψο,σσσ.σσ
712-04.50	BARRIER RAIL DELINEATOR			
		24.000 EACH		
	Dement Construction Company, LLC		\$8.0000	\$192.00
	Thomson & Thomson, Inc.		\$10.0000	\$240.00
	Jamison Construction, LLC		\$16.0000	\$384.00
712-06	SIGNS (CONSTRUCTION)			
		338.000 S.F.		
	Dement Construction Company, LLC		\$6.2500	\$2,112.50
	Thomson & Thomson, Inc.		\$6.5000	\$2,197.00
	Jamison Construction, LLC		\$9.0000	\$3,042.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		56.000 L.F.		
	Dement Construction Company, LLC	30.300 E.I .	\$11.0000	\$616.00
	Thomson & Thomson, Inc.		\$13.0000	\$728.00
	Jamison Construction, LLC		\$26.0000	\$1,456.00
			Ψ=0.0000	¥ 1, 12 212 2
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Dement Construction Company, LLC		\$750.0000	\$1,500.00
	Thomson & Thomson, Inc.		\$875.0000	\$1,750.00
	Jamison Construction, LLC		\$1,500.0000	\$3,000.00
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
		6,642.000 L.F.		
	Dement Construction Company, LLC	0,0 .2.000 <u>2</u>	\$3.0000	\$19,926.00
	Thomson & Thomson, Inc.		\$3.1700	\$21,055.14
	Jamison Construction, LLC		\$2.5000	\$16,605.00
717-01	MOBILIZATION	4 000 1 0		
	D 10 1 1 0 110	1.000 LS	Фо соо соо	Ф0 000 00
	Dement Construction Company, LLC		\$9,000.0000	\$9,000.00
	Thomson & Thomson, Inc. Jamison Construction, LLC		\$18,500.0000	\$18,500.00 \$20,000.00
	Jamison Construction, LLC		\$20,000.0000	\$20,000.00

SUB-TOTAL BRIDGE

Dement Construction Company, LLC	\$197,400.50
Thomson & Thomson, Inc.	\$201,675.64
Jamison Construction, LLC	\$239,672.00

TOTAL CONTRACT

Dement Construction Company, LLC	\$197,400.50
Thomson & Thomson, Inc.	\$201,675.64
Jamison Construction, LLC	\$239,672.00

MARION COUNTY (Contract No. CNU156 Call 051)

58024-4221-04, HSIP-156(20), 58024-3221-94

THE RESURFACING ON S.R. 156 FROM EAST OF ORME MOUNTAIN ROAD (L.M. 9.31) TO NEAR ELM AVENUE (L.M. 14.51).

PROJECT LENGTH - 5.200 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 10.00%

TOTAL CONTRACT

Tinsley Asphalt, LLC

\$1,129,594.51

ROADW/	AY CATEGORY		UNIT PRICE	CONTRACT CNU156 EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	34.000 TON		
	Tinsley Asphalt, LLC		\$823.5000	\$27,999.00
411-03.07	ACS MIX(PG64-22) THIN LIFT ASPHALT			
	Tinsley Asphalt, LLC	5,112.000 TON	\$115.8600	\$592,276.32
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN W	IIDTH)		
	Tinsley Asphalt, LLC	8.300 L.M.	\$400.0000	\$3,320.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Tinsley Asphalt, LLC	77,157.000 S.Y.	\$1.8200	\$140,425.74
611-01.20	ADJUSTMENT OF EXISTING MANHOLE	45 000 FACU		
	Tinsley Asphalt, LLC	15.000 EACH	\$1,880.0000	\$28,200.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	Tinsley Asphalt, LLC	6.000 EACH	\$850.0000	\$5,100.00
701-01.01	CONCRETE SIDEWALK (4 ")			
	Tinsley Asphalt, LLC	1,897.500 S.F.	\$7.6000	\$14,421.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)	FF 000 O F		
	Tinsley Asphalt, LLC	55.000 S.F.	\$70.0000	\$3,850.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)			
	Tinsley Asphalt, LLC	791.000 S.F.	\$38.0000	\$30,058.00
702-03	CONCRETE COMBINED CURB & GUTTER			
	Tinsley Asphalt, LLC	1.300 C.Y.	\$1,800.0000	\$2,340.00
705-04.22	GUARDRAIL DELINEATION ENHANCEMENT (BI-DIRECTIONAL			
	Tinsley Asphalt, LLC	2,987.000 EACH		\$8,512.95
712-01	TRAFFIC CONTROL			
	Tinsley Asphalt, LLC	1.000 LS	\$42,350.0000	\$42,350.00

			UNIT PRICE	CONTRACT CNU156 EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Tinsley Asphalt, LLC	17.000 EACH	\$10.0000	\$170.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Tinsley Asphalt, LLC	17.000 EACH	\$10.0000	\$170.00
712-06	SIGNS (CONSTRUCTION)	4		
	Tinsley Asphalt, LLC	1,080.000 S.F.	\$6.1000	\$6,588.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT	0.000 54.00		
	Tinsley Asphalt, LLC	3.000 EACH	\$7,000.0000	\$21,000.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-D			
	Tinsley Asphalt, LLC	395.000 EACH	\$28.0000	\$11,060.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKET			
	Tinsley Asphalt, LLC	395.000 EACH	\$10.0000	\$3,950.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)	00.0001.5		
	Tinsley Asphalt, LLC	68.000 L.F.	\$10.0000	\$680.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	500 000 1 5		
	Tinsley Asphalt, LLC	502.000 L.F.	\$10.0000	\$5,020.00
716-03.09	PLASTIC WORD PAVEMENT MARKING (CURVE)	0.000 54 011		
	Tinsley Asphalt, LLC	2.000 EACH	\$600.0000	\$1,200.00
716-03.10	PLASTIC WORD PAVEMENT MARKING (AHEAD)	0.000 54 011		
	Tinsley Asphalt, LLC	2.000 EACH	\$600.0000	\$1,200.00
716-04.16	PLASTIC PAVEMENT MARKING (NOISE STRIP)	204 200 1 5		
	Tinsley Asphalt, LLC	264.000 L.F.	\$12.0000	\$3,168.00
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)	502 000 L F		
	Tinsley Asphalt, LLC	502.000 L.F.	\$5.0000	\$2,510.00

			CONTRACT CNU156
		UNIT PRICE	EXTENSION
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
Tinsley Asphalt, LLC	31.100 L.M.	\$775.0000	\$24,102.50
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	20.800 L.M.		
Tinsley Asphalt, LLC		\$4,700.0000	\$97,760.00
716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED			
Tinsley Asphalt, LLC	150.000 L.F.	\$2.0000	\$300.00
717-01 MOBILIZATION			
	1.000 LS		

\$51,863.0000

\$51,863.00

Tinsley Asphalt, LLC

Tinsley Asphalt, LLC \$1,129,594.51

TOTAL CONTRACT

Tinsley Asphalt, LLC \$1,129,594.51

MCMINN COUNTY (Contract No. CNU211 Call 052)

HSIP-39(18),54017-3213-94,n/a,54017-4213-04

THE RESURFACING ON S.R. 39 FROM MAPLE STREET (L.M. 15.22) TO EAST OF COUNTY ROAD 469 (L.M. 19.65).

PROJECT LENGTH - 4.430 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 6.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$758,046.83

				CONTRACT CNU211
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M			
	Rogers Group, Inc.	60.000 TON	\$261.9400	\$15,716.40
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	28.000 TON	\$800.0000	\$22,400.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Rogers Group, Inc.	4,237.000 TON	\$103.0200	\$436,495.74
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Rogers Group, Inc.	4,249.000 TON	\$20.2400	\$85,999.76
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Rogers Group, Inc.	4.000 EACH	\$153.4500	\$613.80
705-04.22	GUARDRAIL DELINEATION ENHANCEMENT (BI-DIRECTIONAL)			
	Rogers Group, Inc.	140.000 EACH	\$3.0700	\$429.80
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Rogers Group, Inc.	4.000 EACH	\$2,639.3400	\$10,557.36
706-01	GUARDRAIL REMOVED			
	Rogers Group, Inc.	200.000 L.F.	\$2.4600	\$492.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	Rogers Group, Inc.	1.000 LS	\$20,274.9800	\$20,274.98
712-06	SIGNS (CONSTRUCTION)	544 000 0 5		
	Rogers Group, Inc.	541.000 S.F.	\$10.7000	\$5,788.70
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
	Rogers Group, Inc.	65.000 EACH	\$48.4400	\$3,148.60
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Rogers Group, Inc.	3.000 EACH	\$3,082.8000	\$9,248.40

			UNIT PRICE	CONTRACT CNU211 EXTENSION
716-01.21 SNOWPLOWABI	LE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO	-		
Rogers Group, I	nc.	355.000 EACH	\$28.2400	\$10,025.20
716-01.30 REMOVAL OF SI	NOWPLOWABLE REFLECTIVE MARKER			
Rogers Group, I	nc.	355.000 EACH	\$9.8200	\$3,486.10
716-02.05 PLASTIC PAVEN	IENT MARKING (STOP LINE)			
Rogers Group, I	nc.	391.000 L.F.	\$14.7300	\$5,759.43
716-05.20 PAINTED PAVEN	MENT MARKING (6" LINE)			
Rogers Group, I	nc.	20.000 L.M.	\$840.9000	\$16,818.00
716-12.02 ENHANCED FLA	TLINE THERMO PVMT MRKNG (6IN LINE)			
Rogers Group, I	nc.	20.000 L.M.	\$4,818.3100	\$96,366.20
716-12.05 ENHANCED FLA	TLINE THERMO PVMT MRKNG (6IN DOTTED LIN			
Rogers Group, I	nc.	200.000 L.F.	\$2.4600	\$492.00

1.000 LS

\$13,934.3600

717-01

MOBILIZATION

Rogers Group, Inc.

\$13,934.36

Rogers Group, Inc. \$758,046.83

TOTAL CONTRACT

Rogers Group, Inc. \$758,046.83

MCMINN AND POLK COUNTIES (Contract No. CNU137 Call 053)

STP-163(10),54023-8223-14,STP-163(11),70067-8204-14

THE RESURFACING ON S.R. 163 FROM WEST OF CR-750 (PINEY GROVE ROAD) (L.M. 8.95) IN MCMINN COUNTY TO U.S. 411 (S.R. 30) (L.M. 0.93) IN POLK COUNTY.

PROJECT LENGTH - 6.550 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 9.50%

TOTAL CONTRACT

Wright Brothers Construction Company, Inc.

\$1,142,666.60

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNU137 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Wright Brothers Construction Company, Inc.	20.000 TON	\$149.0000	\$2,980.00
307-03.08	S ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING			
	Wright Brothers Construction Company, Inc.	208.000 TON	\$133.0000	\$27,664.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	45		
	Wright Brothers Construction Company, Inc.	45.000 TON	\$600.0000	\$27,000.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Wright Brothers Construction Company, Inc.	6,649.000 TON	\$100.0000	\$664,900.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN V			
	Wright Brothers Construction Company, Inc.	10.500 L.M.	\$440.0000	\$4,620.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Wright Brothers Construction Company, Inc.	9,568.000 TON	\$21.5000	\$205,712.00
705-04.23	GUARDRAIL DELINEATION ENHANCEMENT (BI-DIRECTION			
	Wright Brothers Construction Company, Inc.	967.000 L.F.	\$2.9500	\$2,852.65
712-01	TRAFFIC CONTROL			
	Wright Brothers Construction Company, Inc.	1.000 LS	\$23,800.0000	\$23,800.00
712-06	SIGNS (CONSTRUCTION)			
	Wright Brothers Construction Company, Inc.	809.000 S.F.	\$6.2500	\$5,056.25
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Wright Brothers Construction Company, Inc.	3.000 EACH	\$4,680.0000	\$14,040.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (
	Wright Brothers Construction Company, Inc.	462.000 EACH	\$25.0000	\$11,550.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DI	R)(1 COLOR)		

4.000 EACH

Wright Brothers Construction Company, Inc.

\$100.00

\$25.0000

		UNIT PRICE	CONTRACT CNU137 EXTENSION
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
Wright Brothers Construction Company, Inc.	429.000 EACH	\$8.3000	\$3,560.70
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Wright Brothers Construction Company, Inc.	310.000 L.F.	\$9.1000	\$2,821.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
Wright Brothers Construction Company, Inc.	2.000 EACH	\$156.0000	\$312.00
716-02.12 PLASTIC PAVEMENT MARKING (8IN LINE)			
Wright Brothers Construction Company, Inc.	0.020 L.M.	\$7,800.0000	\$156.00
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
Wright Brothers Construction Company, Inc.	1.000 EACH	\$234.0000	\$234.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
Wright Brothers Construction Company, Inc.	46.000 L.M.	\$700.0000	\$32,200.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
Wright Brothers Construction Company, Inc.	9.900 L.M.	\$4,500.0000	\$44,550.00
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
Wright Brothers Construction Company, Inc.	13.100 L.M.	\$2,180.0000	\$28,558.00

1.000 LS

\$40,000.0000

717-01

MOBILIZATION

Wright Brothers Construction Company, Inc.

\$40,000.00

Wright Brothers Construction Company, Inc.

\$1,142,666.60

TOTAL CONTRACT

Wright Brothers Construction Company, Inc.

\$1,142,666.60

MEIGS COUNTY (Contract No.	CNU163	Call 054)
----------------	--------------	--------	----------	---

61003-4264-04

THE RESURFACING ON S.R. 58 FROM NORTH OF TEN MILE ROAD (L.M. 31.26) TO THE ROANE COUNTY LINE (L.M. 35.08).

PROJECT LENGTH - 3.820 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

TOTAL CONTRACT

Rogers Group, Inc.

\$424,888.33

ROADWAY	CATEGORY		UNIT PRICE	CONTRACT CNU163 EXTENSION
403-01 BI	ITUMINOUS MATERIAL FOR TACK COAT (TC)			
Ro	ogers Group, Inc.	26.000 TON	\$800.0000	\$20,800.00
411-03.12 AC	CS MIX(PG64-22) THIN LIFT D ASPHALT			
Ro	ogers Group, Inc.	,477.000 TON	\$100.0800	\$247,898.16
411-12.03 SC	CORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)			
Ro	ogers Group, Inc.	6.100 L.M.	\$763.3200	\$4,656.25
415-01.01 CC	OLD PLANING BITUMINOUS PAVEMENT			
Ro	ogers Group, Inc.	,477.000 TON	\$18.2000	\$45,081.40
712-01 TR	RAFFIC CONTROL			
Ro	ogers Group, Inc.	1.000 LS	\$10,973.2300	\$10,973.23
712-06 SI	IGNS (CONSTRUCTION)			
Ro	ogers Group, Inc.	511.000 S.F.	\$10.1800	\$5,201.98
713-16.01 CF	HANGEABLE MESSAGE SIGN UNIT			
Ro	ogers Group, Inc.	2.000 EACH	\$2,934.6700	\$5,869.34
713-16.20 SI	IGNS (OBJECT MARKER LEFT OM3-L, SIGN, POST, & INSTALL)			
Ro	ogers Group, Inc.	2.000 EACH	\$419.2400	\$838.48
713-16.21 SI	IGNS (OBJECT MARKER RIGHT OM3-R, SIGN, POST, & INSTALL)			
Ro	ogers Group, Inc.	2.000 EACH	\$419.2500	\$838.50
716-01.21 SN	NOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLO			
Ro	ogers Group, Inc.	253.000 EACH	\$31.7100	\$8,022.63
716-01.30 RE	EMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
Ro	ogers Group, Inc.	253.000 EACH	\$11.7400	\$2,970.22
716-02.05 PL	LASTIC PAVEMENT MARKING (STOP LINE)			

60.000 L.F.

Rogers Group, Inc.

\$845.40

\$14.0900

				CONTRACT CNU163
			UNIT PRICE	EXTENSION
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Rogers Group, Inc.	20.000 L.M.	\$763.3200	\$15,266.40
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	4.000 L.M.	\$5,284.5300	\$21,138.12
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)	0.0001.14		
	Rogers Group, Inc.	8.000 L.M.	\$3,053.2800	\$24,426.24
717-01	MOBILIZATION	4 000 1 0		
	Rogers Group, Inc.	1.000 LS	\$10,061.9800	\$10,061.98

Rogers Group, Inc. \$424,888.33

TOTAL CONTRACT

Rogers Group, Inc. \$424,888.33

PERRY COUNTY (Contract No. CNU029 Call 055)

STP/HIP-13(59),68001-3254-14

THE GRADING, DRAINAGE AND PAVING AT 4 LOCATIONS ON S.R. 13 FROM U.S. 412 (S.R. 20) (L.M. 13.02) TO SOUTH OF THE HUMPHREYS COUNTY LINE (L.M. 19.38).

PROJECT LENGTH - 2.097 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 30, 2021

DBE GOAL 12.00%

	TOTAL CONTRACT
Jones Bros. Contractors, LLC	\$11,448,100.18
Delta Contracting Company, LLC	\$11,555,589.23
Volunteer Paving, LLC	\$13,051,261.56
Civil Constructors, LLC	\$13,184,813.32

		UNIT PRICE	EXTENSION
ROADWA	Y CATEGORY		
105-01	CONSTRUCTION STAKES, LINES AND GRADES		
		1.000 LS	
	Jones Bros. Contractors, LLC	\$140,000.0000	\$140,000.00
	Delta Contracting Company, LLC	\$126,000.0000	\$126,000.00
	Volunteer Paving, LLC	\$162,325.0000	\$162,325.00
	Civil Constructors, LLC	\$88,533.0000	\$88,533.00
109-10.01	TRAINEE		
	2,82	20.000 HOUR	
	Jones Bros. Contractors, LLC	\$0.8000	\$2,256.00
	Delta Contracting Company, LLC	\$0.8000	\$2,256.00
	Volunteer Paving, LLC	\$0.8000	\$2,256.00
	Civil Constructors, LLC	\$0.8000	\$2,256.00
201-01	CLEARING AND GRUBBING		
		1.000 LS	
	Jones Bros. Contractors, LLC	\$550,000.0000	\$550,000.00
	Delta Contracting Company, LLC	\$99,000.0000	\$99,000.00
	Volunteer Paving, LLC	\$125,000.0000	\$125,000.00
	Civil Constructors, LLC	\$169,770.0000	\$169,770.00
202-04.01	REMOVAL OF STRUCTURES (CONC. BOX CULVERT 10'X8', STA. 110-	+14+/-)	
		1.000 LS	
	Jones Bros. Contractors, LLC	\$15,000.0000	\$15,000.00
	Delta Contracting Company, LLC	\$33,500.0000	\$33,500.00
	Volunteer Paving, LLC	\$28,729.3800	\$28,729.38
	Civil Constructors, LLC	\$9,214.0000	\$9,214.00
202-04.02	REMOVAL OF STRUCTURES (CONC. BOX CULVERT 4'X10', STA. 318-	+40+/-)	
		1.000 LS	
	Jones Bros. Contractors, LLC	\$12,000.0000	\$12,000.00
	Delta Contracting Company, LLC	\$28,000.0000	\$28,000.00
	Volunteer Paving, LLC	\$14,364.1500	\$14,364.15
	Civil Constructors, LLC	\$6,776.0000	\$6,776.00
202-04.03	REMOVAL OF STRUCTURES (CONC. BOX CULVERT 4'X4', STA. 332+	14+/-)	
		1.000 LS	
	Jones Bros. Contractors, LLC	\$12,000.0000	\$12,000.00
	Delta Contracting Company, LLC	\$22,000.0000	\$22,000.00
	Volunteer Paving, LLC	\$14,364.1500	\$14,364.15
	Civil Constructors, LLC	\$6,743.0000	\$6,743.00
202-06.01	REMOVAL OF BUILDINGS (TRACT NO. 23)		
		1.000 LS	
	Jones Bros. Contractors, LLC	\$1.0000	\$1.00
	Delta Contracting Company, LLC	\$600.0000	\$600.00
	Volunteer Paving, LLC	\$6,588.6800	\$6,588.68
	Civil Constructors, LLC	\$6,689.0000	\$6,689.00

			UNIT PRICE	EXTENSION
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		78,897.000 C.Y.		
	Jones Bros. Contractors, LLC		\$13.0000	\$1,025,661.00
	Delta Contracting Company, LLC		\$20.0000	\$1,577,940.00
	Volunteer Paving, LLC		\$19.3500	\$1,526,656.95
	Civil Constructors, LLC		\$15.6500	\$1,234,738.05
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
		4,700.000 TON		
	Jones Bros. Contractors, LLC		\$30.0000	\$141,000.00
	Delta Contracting Company, LLC		\$32.0000	\$150,400.00
	Volunteer Paving, LLC		\$33.8600	\$159,142.00
	Civil Constructors, LLC		\$34.0000	\$159,800.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		354.000 C.Y.		
	Jones Bros. Contractors, LLC		\$1.0000	\$354.00
	Delta Contracting Company, LLC		\$46.0000	\$16,284.00
	Volunteer Paving, LLC		\$29.0300	\$10,276.62
	Civil Constructors, LLC		\$36.0000	\$12,744.00
203-06	WATER			
		167.000 M.G.		
	Jones Bros. Contractors, LLC		\$10.0000	\$1,670.00
	Delta Contracting Company, LLC		\$18.0000	\$3,006.00
	Volunteer Paving, LLC		\$61.2800	\$10,233.76
	Civil Constructors, LLC		\$9.5900	\$1,601.53
204-08	FOUNDATION FILL MATERIAL			
		96.000 C.Y.		
	Jones Bros. Contractors, LLC		\$65.0000	\$6,240.00
	Delta Contracting Company, LLC		\$68.0000	\$6,528.00
	Volunteer Paving, LLC		\$80.6300	\$7,740.48
	Civil Constructors, LLC		\$145.0000	\$13,920.00
209-02.07	18" TEMPORARY SLOPE DRAIN			
		454.000 L.F.		
	Jones Bros. Contractors, LLC		\$18.0000	\$8,172.00
	Delta Contracting Company, LLC		\$12.0000	\$5,448.00
	Volunteer Paving, LLC		\$69.0700	\$31,357.78
	Civil Constructors, LLC		\$25.0000	\$11,350.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		5,340.000 L.F.		
	Jones Bros. Contractors, LLC		\$4.5000	\$24,030.00
	Delta Contracting Company, LLC		\$4.5000	\$24,030.00
	Volunteer Paving, LLC		\$4.5700	\$24,403.80
	Civil Constructors, LLC		\$4.5300	\$24,190.20

			UNIT PRICE	EXTENSION
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
	,	24,730.000 L.F.		
	Jones Bros. Contractors, LLC	·	\$2.2500	\$55,642.50
	Delta Contracting Company, LLC		\$2.2500	\$55,642.50
	Volunteer Paving, LLC		\$1.8800	\$46,492.40
	Civil Constructors, LLC		\$2.5000	\$61,825.00
209-08.07	ROCK CHECK DAM PER			
		124.000 EACH		
	Jones Bros. Contractors, LLC		\$300.0000	\$37,200.00
	Delta Contracting Company, LLC		\$420.0000	\$52,080.00
	Volunteer Paving, LLC		\$2,429.7500	\$301,289.00
	Civil Constructors, LLC		\$445.0000	\$55,180.00
209-08.08	ENHANCED ROCK CHECK DAM			
		79.000 EACH		
	Jones Bros. Contractors, LLC		\$400.0000	\$31,600.00
	Delta Contracting Company, LLC		\$780.0000	\$61,620.00
	Volunteer Paving, LLC		\$463.7100	\$36,633.09
	Civil Constructors, LLC		\$751.0000	\$59,329.00
209-09.01	SANDBAGS			
		14,640.000 BAG		
	Jones Bros. Contractors, LLC		\$3.0000	\$43,920.00
	Delta Contracting Company, LLC		\$5.0000	\$73,200.00
	Volunteer Paving, LLC		\$4.8400	\$70,857.60
	Civil Constructors, LLC		\$4.7900	\$70,125.60
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		7.000 EACH		
	Jones Bros. Contractors, LLC		\$600.0000	\$4,200.00
	Delta Contracting Company, LLC		\$750.0000	\$5,250.00
	Volunteer Paving, LLC		\$134.3800	\$940.66
	Civil Constructors, LLC		\$1,562.5000	\$10,937.50
209-09.43	CURB INLET PROTECTION (TYPE 4)			
		36.000 EACH		
	Jones Bros. Contractors, LLC		\$200.0000	\$7,200.00
	Delta Contracting Company, LLC		\$200.0000	\$7,200.00
	Volunteer Paving, LLC		\$134.3800	\$4,837.68
	Civil Constructors, LLC		\$208.3300	\$7,499.88
209-20.03	POLYETHYLENE SHEETING (6 MIL. MINIMUM)			
		505.000 S.Y.		
	Jones Bros. Contractors, LLC		\$4.0000	\$2,020.00
	Delta Contracting Company, LLC		\$2.0000	\$1,010.00
	Volunteer Paving, LLC		\$1.6100	\$813.05
	Civil Constructors, LLC		\$5.2500	\$2,651.25

	UNIT PRICE	EXTENSION
209-40.33 CATCH BASIN PROTECTION (TYPE D)		
,	4.000 EACH	
Jones Bros. Contractors, LLC	\$400.0000	\$1,600.00
Delta Contracting Company, LLC	\$400.0000	\$1,600.00
Volunteer Paving, LLC	\$161.2500	\$645.00
Civil Constructors, LLC	\$1,041.6700	\$4,166.68
209-40.41 CATCH BASIN FILTER ASSEMBLY(TYPE 1	1)	
	4.000 EACH	
Jones Bros. Contractors, LLC	\$550.0000	\$2,200.00
Delta Contracting Company, LLC	\$550.0000	\$2,200.00
Volunteer Paving, LLC	\$430.0000	\$1,720.00
Civil Constructors, LLC	\$1,041.6700	\$4,166.68
209-40.42 CATCH BASIN FILTER ASSEMBLY(TYPE 2	2)	
	16.000 EACH	
Jones Bros. Contractors, LLC	\$550.0000	\$8,800.00
Delta Contracting Company, LLC	\$550.0000	\$8,800.00
Volunteer Paving, LLC	\$698.7500	\$11,180.00
Civil Constructors, LLC	\$833.3300	\$13,333.28
209-40.43 CATCH BASIN FILTER ASSEMBLY(TYPE 3	3)	
	2.000 EACH	
Jones Bros. Contractors, LLC	\$550.0000	\$1,100.00
Delta Contracting Company, LLC	\$550.0000	\$1,100.00
Volunteer Paving, LLC	\$430.0000	\$860.00
Civil Constructors, LLC	\$2,083.3300	\$4,166.66
303-01 MINERAL AGGREGATE, TYPE A BASE, GI	RADING D	
	52,672.000 TON	
Jones Bros. Contractors, LLC	\$29.0000	\$1,527,488.00
Delta Contracting Company, LLC	\$24.9000	\$1,311,532.80
Volunteer Paving, LLC	\$29.3500	\$1,545,923.20
Civil Constructors, LLC	\$30.5000	\$1,606,496.00
303-01.01 GRANULAR BACKFILL (ROADWAY)		
	13,584.000 TON	
Jones Bros. Contractors, LLC	\$2.2000	\$29,884.80
Delta Contracting Company, LLC	\$30.0000	\$407,520.00
Volunteer Paving, LLC	\$35.4800	\$481,960.32
Civil Constructors, LLC	\$42.5000	\$577,320.00
303-10.01 MINERAL AGGREGATE (SIZE 57)		
	155.000 TON	
Jones Bros. Contractors, LLC	\$50.0000	\$7,750.00
Delta Contracting Company, LLC	\$45.0000	\$6,975.00
Volunteer Paving, LLC	\$81.7100	\$12,665.05
Civil Constructors, LLC	\$56.5000	\$8,757.50

			UNIT PRICE	EXTENSION
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN	NG A		
		9,611.000 TON		
	Jones Bros. Contractors, LLC		\$85.0000	\$816,935.00
	Delta Contracting Company, LLC		\$79.0000	\$759,269.00
	Volunteer Paving, LLC		\$68.3900	\$657,296.29
	Civil Constructors, LLC		\$82.2900	\$790,889.19
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN	NG B-M2		
		8,105.000 TON		
	Jones Bros. Contractors, LLC		\$99.0000	\$802,395.00
	Delta Contracting Company, LLC		\$82.0000	\$664,610.00
	Volunteer Paving, LLC		\$73.9000	\$598,959.50
	Civil Constructors, LLC		\$85.4200	\$692,329.10
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		103.000 TON		
	Jones Bros. Contractors, LLC		\$900.0000	\$92,700.00
	Delta Contracting Company, LLC		\$675.0000	\$69,525.00
	Volunteer Paving, LLC		\$700.6900	\$72,171.07
	Civil Constructors, LLC		\$703.1300	\$72,422.39
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		335.000 TON		
	Jones Bros. Contractors, LLC		\$75.0000	\$25,125.00
	Delta Contracting Company, LLC		\$40.0000	\$13,400.00
	Volunteer Paving, LLC		\$73.5000	\$24,622.50
	Civil Constructors, LLC		\$41.6700	\$13,959.45
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		31.000 TON		
	Jones Bros. Contractors, LLC		\$670.0000	\$20,770.00
	Delta Contracting Company, LLC		\$650.0000	\$20,150.00
	Volunteer Paving, LLC		\$680.5700	\$21,097.67
	Civil Constructors, LLC		\$677.0800	\$20,989.48
407-20.05	SAW CUTTING ASPHALT PAVEMENT			
		260.000 L.F.		
	Jones Bros. Contractors, LLC		\$6.0000	\$1,560.00
	Delta Contracting Company, LLC		\$7.0000	\$1,820.00
	Volunteer Paving, LLC		\$5.3800	\$1,398.80
	Civil Constructors, LLC		\$7.2500	\$1,885.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		5,043.000 TON		
	Jones Bros. Contractors, LLC	,	\$115.0000	\$579,945.00
	Delta Contracting Company, LLC		\$96.0000	\$484,128.00
	Volunteer Paving, LLC		\$98.0700	\$494,567.01
	Civil Constructors, LLC		\$100.0000	\$504,300.00
	, -		,	, - ,-,-,-

	UNIT PRICE	EXTENSION
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
	2.100 L.M.	
Jones Bros. Contractors, LLC	\$2,000.0000	\$4,200.00
Delta Contracting Company, LLC	\$2,000.0000	\$4,200.00
Volunteer Paving, LLC	\$1,612.5000	\$3,386.25
Civil Constructors, LLC	\$2,300.3500	\$4,830.74
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WI	ртн)	
	0.300 L.M.	
Jones Bros. Contractors, LLC	\$2,000.0000	\$600.00
Delta Contracting Company, LLC	\$5,000.0000	\$1,500.00
Volunteer Paving, LLC	\$1,612.5000	\$483.75
Civil Constructors, LLC	\$2,300.3500	\$690.11
415-01.02 COLD PLANING BITUMINOUS PAVEMENT		
	1,734.000 S.Y.	
Jones Bros. Contractors, LLC	\$11.5000	\$19,941.00
Delta Contracting Company, LLC	\$4.5000	\$7,803.00
Volunteer Paving, LLC	\$6.6900	\$11,600.46
Civil Constructors, LLC	\$4.6900	\$8,132.46
604-01.01 CLASS A CONCRETE (ROADWAY)		
	402.000 C.Y.	
Jones Bros. Contractors, LLC	\$685.0000	\$275,370.00
Delta Contracting Company, LLC	\$650.0000	\$261,300.00
Volunteer Paving, LLC	\$1,069.6300	\$429,991.26
Civil Constructors, LLC	\$677.0800	\$272,186.16
604-01.02 STEEL BAR REINFORCEMENT (ROADWAY)		
	80,412.000 LB.	
Jones Bros. Contractors, LLC	\$1.1000	\$88,453.20
Delta Contracting Company, LLC	\$1.1000	\$88,453.20
Volunteer Paving, LLC	\$1.0800	\$86,844.96
Civil Constructors, LLC	\$1.2000	\$96,494.40
607-03.30 18" PIPE CULVERT		
	2,173.000 L.F.	
Jones Bros. Contractors, LLC	\$64.0000	\$139,072.00
Delta Contracting Company, LLC	\$53.0000	\$115,169.00
Volunteer Paving, LLC	\$61.2800	\$133,161.44
Civil Constructors, LLC	\$84.0000	\$182,532.00
607-05.30 24" PIPE CULVERT		
	245.000 L.F.	
Jones Bros. Contractors, LLC	\$83.0000	\$20,335.00
Delta Contracting Company, LLC	\$65.0000	\$15,925.00
Volunteer Paving, LLC	\$75.2500	\$18,436.25
Civil Constructors, LLC	\$163.0000	\$39,935.00

		UNIT PRICE	EXTENSION
607-39.02 18" PIPE CULVERT (SIDE DRAIN)			
· · · · · ·	635.000 L.F.		
Jones Bros. Contractors, LLC		\$52.0000	\$33,020.00
Delta Contracting Company, LLC		\$52.0000	\$33,020.00
Volunteer Paving, LLC		\$52.6800	\$33,451.80
Civil Constructors, LLC		\$54.0000	\$34,290.00
607-50.12 PRECAST CONCRETE BOX CULVERT (4' X 3')			
	44.000 L.F.		
Jones Bros. Contractors, LLC		\$860.0000	\$37,840.00
Delta Contracting Company, LLC		\$887.0000	\$39,028.00
Volunteer Paving, LLC		\$895.4800	\$39,401.12
Civil Constructors, LLC		\$1,093.0000	\$48,092.00
607-50.13 PRECAST CONCRETE BOX CULVERT (4' X 5')			
	165.000 L.F.		
Jones Bros. Contractors, LLC		\$620.0000	\$102,300.00
Delta Contracting Company, LLC		\$733.0000	\$120,945.00
Volunteer Paving, LLC		\$688.0000	\$113,520.00
Civil Constructors, LLC		\$1,025.0000	\$169,125.00
611-02.10 JUNCTION BOX, TYPE 1			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$4,100.0000	\$4,100.00
Delta Contracting Company, LLC		\$2,100.0000	\$2,100.00
Volunteer Paving, LLC		\$2,231.7000	\$2,231.70
Civil Constructors, LLC		\$3,754.0000	\$3,754.00
611-07.01 CLASS A CONCRETE (PIPE ENDWALLS)			
	8.570 C.Y.		
Jones Bros. Contractors, LLC		\$2,220.0000	\$19,025.40
Delta Contracting Company, LLC		\$2,000.0000	\$17,140.00
Volunteer Paving, LLC		\$1,612.5000	\$13,819.13
Civil Constructors, LLC		\$1,888.0000	\$16,180.16
611-07.02 STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
	493.000 LB.		
Jones Bros. Contractors, LLC		\$2.0000	\$986.00
Delta Contracting Company, LLC		\$4.0000	\$1,972.00
Volunteer Paving, LLC		\$2.1500	\$1,059.95
Civil Constructors, LLC		\$4.1000	\$2,021.30
611-07.54 18IN ENDWALL (CROSS DRAIN) 3:1			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$3,500.0000	\$10,500.00
Delta Contracting Company, LLC		\$1,700.0000	\$5,100.00
Volunteer Paving, LLC		\$2,345.6500	\$7,036.95
Civil Constructors, LLC		\$2,057.0000	\$6,171.00

			CONTRACT CNU029
		UNIT PRICE	EXTENSION
611-07.55 18IN ENDWALL (CROSS DRAIN) 4:1			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$4,000.0000	\$8,000.00
Delta Contracting Company, LLC		\$2,000.0000	\$4,000.00
Volunteer Paving, LLC		\$2,659.5500	\$5,319.10
Civil Constructors, LLC		\$2,428.0000	\$4,856.00
611-07.57 24IN ENDWALL (CROSS DRAIN) 3:1			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$4,000.0000	\$12,000.00
Delta Contracting Company, LLC		\$2,250.0000	\$6,750.00
Volunteer Paving, LLC		\$2,992.8000	\$8,978.40
Civil Constructors, LLC		\$3,401.0000	\$10,203.00
611-07.58 24IN ENDWALL (CROSS DRAIN) 4:1			
OTT-07.30 ZHIN ENDWALL (ONOGO BIKAIN) 4.1	2 000 EACH		
Lanca Bara Contractor II C	2.000 EACH	¢4.700.0000	#0.400.00
Jones Bros. Contractors, LLC		\$4,700.0000	\$9,400.00
Delta Contracting Company, LLC		\$3,200.0000	\$6,400.00
Volunteer Paving, LLC		\$3,481.9300	\$6,963.86 \$7,436.00
Civil Constructors, LLC		\$3,718.0000	\$7,436.00
611-09.01 ADJUSTMENT OF EXISTING CATCHBASIN			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$2,300.0000	\$2,300.00
Delta Contracting Company, LLC		\$3,800.0000	\$3,800.00
Volunteer Paving, LLC		\$1,681.3000	\$1,681.30
Civil Constructors, LLC		\$1,062.0000	\$1,062.00
611-25.01 CATCH BASINS, TYPE 25, 0' - 4' DEPTH			
	9.000 EACH		
Jones Bros. Contractors, LLC		\$5,000.0000	\$45,000.00
Delta Contracting Company, LLC		\$3,247.3700	\$29,226.33
Volunteer Paving, LLC		\$3,939.8800	\$35,458.92
Civil Constructors, LLC		\$6,008.0000	\$54,072.00
611-25.02 CATCH BASINS, TYPE 25, > 4' - 8' DEPTH			
	12.000 EACH		
Jones Bros. Contractors, LLC		\$5,700.0000	\$68,400.00
D. I. O. () O		# 4.000.000	ΦΕΟ 100 00

Delta Contracting Company, LLC

611-25.03 CATCH BASINS, TYPE 25, > 8' - 12' DEPTH

Jones Bros. Contractors, LLC

Delta Contracting Company, LLC

Volunteer Paving, LLC

Civil Constructors, LLC

Volunteer Paving, LLC

Civil Constructors, LLC

PAGE

\$50,400.00

\$62,307.00

\$85,524.00

\$7,200.00

\$5,400.00

\$7,690.55

\$10,622.00

\$4,200.0000

\$5,192.2500

\$7,127.0000

\$7,200.0000

\$5,400.0000

\$7,690.5500

\$10,622.0000

1.000 EACH

CONTRACT CNU029

		UNIT PRICE	EXTENSION
611-26.02 CATCH BASINS, TYPE 26, > 4' - 8' DEPTH			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$6,500.0000	\$6,500.00
Delta Contracting Company, LLC		\$5,400.0000	\$5,400.00
Volunteer Paving, LLC		\$6,399.4800	\$6,399.48
Civil Constructors, LLC		\$10,979.0000	\$10,979.00
611-42.01 CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$3,900.0000	\$3,900.00
Delta Contracting Company, LLC		\$2,300.0000	\$2,300.00
Volunteer Paving, LLC		\$3,111.0500	\$3,111.05
Civil Constructors, LLC		\$4,720.0000	\$4,720.00
621-03.03 24" TEMPORARY DRAINAGE PIPE			
	125.000 L.F.		
Jones Bros. Contractors, LLC		\$48.0000	\$6,000.00
Delta Contracting Company, LLC		\$40.0000	\$5,000.00
Volunteer Paving, LLC		\$108.5800	\$13,572.50
Civil Constructors, LLC		\$50.0000	\$6,250.00
621-03.05 36" TEMPORARY DRAINAGE PIPE			
	200.000 L.F.		
Jones Bros. Contractors, LLC		\$60.0000	\$12,000.00
Delta Contracting Company, LLC		\$52.0000	\$10,400.00
Volunteer Paving, LLC		\$139.7500	\$27,950.00
Civil Constructors, LLC		\$65.5000	\$13,100.00
621-03.07 48" TEMPORARY DRAINAGE PIPE			
	90.000 L.F.		
Jones Bros. Contractors, LLC		\$100.0000	\$9,000.00
Delta Contracting Company, LLC		\$72.0000	\$6,480.00
Volunteer Paving, LLC		\$648.2300	\$58,340.70
Civil Constructors, LLC		\$92.5000	\$8,325.00
621-03.11 72" TEMPORARY DRAINAGE PIPE			
	100.000 L.F.		
Jones Bros. Contractors, LLC		\$130.0000	\$13,000.00
Delta Contracting Company, LLC		\$95.0000	\$9,500.00
Volunteer Paving, LLC		\$3,338.9500	\$333,895.00
Civil Constructors, LLC		\$165.0000	\$16,500.00
701-02 CONCRETE DRIVEWAY			
	1,936.000 S.F.		
Jones Bros. Contractors, LLC	, 	\$9.7500	\$18,876.00
Delta Contracting Company, LLC		\$12.0000	\$23,232.00
Volunteer Paving, LLC		\$12.9000	\$24,974.40
Civil Constructors, LLC		\$14.5000	\$28,072.00

			UNIT PRICE	EXTENSION
702-03	CONCRETE COMBINED CURB & GUTTER			
		439.000 C.Y.		
	Jones Bros. Contractors, LLC		\$365.0000	\$160,235.00
	Delta Contracting Company, LLC		\$400.0000	\$175,600.00
	Volunteer Paving, LLC		\$430.0000	\$188,770.00
	Civil Constructors, LLC		\$416.6700	\$182,918.13
705-01.01	GUARDRAIL AT BRIDGE ENDS			
		54.000 L.F.		
	Jones Bros. Contractors, LLC		\$87.5500	\$4,727.70
	Delta Contracting Company, LLC		\$71.0000	\$3,834.00
	Volunteer Paving, LLC		\$76.3300	\$4,121.82
	Civil Constructors, LLC		\$73.9600	\$3,993.84
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
		4,313.000 L.F.		
	Jones Bros. Contractors, LLC		\$19.8000	\$85,397.40
	Delta Contracting Company, LLC		\$20.0000	\$86,260.00
	Volunteer Paving, LLC		\$21.5000	\$92,729.50
	Civil Constructors, LLC		\$20.8300	\$89,839.79
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL3			
		8.000 EACH		
	Jones Bros. Contractors, LLC		\$1,230.0000	\$9,840.00
	Delta Contracting Company, LLC		\$1,150.0000	\$9,200.00
	Volunteer Paving, LLC		\$1,236.2500	\$9,890.00
	Civil Constructors, LLC		\$1,197.9200	\$9,583.36
705-06.11	GR TERMINAL (IN-INLINE) MASH TL3			
		8.000 EACH		
	Jones Bros. Contractors, LLC		\$1,205.0000	\$9,640.00
	Delta Contracting Company, LLC		\$575.0000	\$4,600.00
	Volunteer Paving, LLC		\$618.1300	\$4,945.04
	Civil Constructors, LLC		\$598.9600	\$4,791.68
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		13.000 EACH		
	Jones Bros. Contractors, LLC		\$2,910.0000	\$37,830.00
	Delta Contracting Company, LLC		\$2,475.0000	\$32,175.00
	Volunteer Paving, LLC		\$2,660.6300	\$34,588.19
	Civil Constructors, LLC		\$2,578.1300	\$33,515.69
705-20.25	TEMPORARY CRASH CUSHION (MASH TL-3)			
		8.000 EACH		
	Jones Bros. Contractors, LLC		\$12,000.0000	\$96,000.00
	Delta Contracting Company, LLC		\$8,000.0000	\$64,000.00
	Volunteer Paving, LLC		\$7,618.5300	\$60,948.24
	Civil Constructors, LLC		\$5,625.0000	\$45,000.00

CONTRACT C	١,	11	U	0	29)
------------	----	----	---	---	----	---

			UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED			
		1,555.000 L.F.		
	Jones Bros. Contractors, LLC		\$2.2500	\$3,498.75
	Delta Contracting Company, LLC		\$3.0000	\$4,665.00
	Volunteer Paving, LLC		\$3.2300	\$5,022.65
	Civil Constructors, LLC		\$3.1300	\$4,867.15
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		1,910.000 L.F.		
	Jones Bros. Contractors, LLC		\$2.0000	\$3,820.00
	Delta Contracting Company, LLC		\$2.0000	\$3,820.00
	Volunteer Paving, LLC		\$1.6100	\$3,075.10
	Civil Constructors, LLC		\$2.6000	\$4,966.00
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
		124.000 EACH		
	Jones Bros. Contractors, LLC		\$275.0000	\$34,100.00
	Delta Contracting Company, LLC		\$220.0000	\$27,280.00
	Volunteer Paving, LLC		\$1,075.0000	\$133,300.00
	Civil Constructors, LLC		\$487.0000	\$60,388.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		830.000 TON		
	Jones Bros. Contractors, LLC		\$38.0000	\$31,540.00
	Delta Contracting Company, LLC		\$37.0000	\$30,710.00
	Volunteer Paving, LLC		\$61.2800	\$50,862.40
	Civil Constructors, LLC		\$38.0000	\$31,540.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		733.000 TON		
	Jones Bros. Contractors, LLC		\$38.0000	\$27,854.00
	Delta Contracting Company, LLC		\$37.0000	\$27,121.00
	Volunteer Paving, LLC		\$61.2800	\$44,918.24
	Civil Constructors, LLC		\$39.0000	\$28,587.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
		488.000 TON		
	Jones Bros. Contractors, LLC		\$38.0000	\$18,544.00
	Delta Contracting Company, LLC		\$40.0000	\$19,520.00
	Volunteer Paving, LLC		\$62.3500	\$30,426.80
	Civil Constructors, LLC		\$56.0000	\$27,328.00
709-05.09	MACHINED RIP-RAP (CLASS C)			
		1,555.000 TON		
	Jones Bros. Contractors, LLC		\$38.0000	\$59,090.00
	Delta Contracting Company, LLC		\$40.0000	\$62,200.00
	Volunteer Paving, LLC		\$62.3500	\$96,954.25
	Civil Constructors, LLC		\$36.0000	\$55,980.00

			C	DIVINACI CIVOUZS
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$140,000.0000	\$140,000.00
	Delta Contracting Company, LLC		\$140,900.0000	\$140,900.00
	Volunteer Paving, LLC		\$221,800.1700	\$221,800.17
	Civil Constructors, LLC		\$191,209.0000	\$191,209.00
712-02 03	2 INTERCONNECTED PORTABLE BARRIER RAIL			
7 12 02.02	E INTERCONNECTED FOR FABLE BARRIER RAIL	7,944.000 L.F.		
	Jones Bros. Contractors, LLC	7,544.000 E.I	\$25.0000	\$198,600.00
	Delta Contracting Company, LLC		\$45.0000	\$357,480.00
	Volunteer Paving, LLC		\$60.0000	\$476,640.00
	Civil Constructors, LLC		\$38.0000	\$301,872.00
	ON CONGRESSIO, LLC		ψοσ.σσσσ	φοστ,στ2.σσ
712-04.0	1 FLEXIBLE DRUMS (CHANNELIZING)			
		165.000 EACH		
	Jones Bros. Contractors, LLC		\$28.0000	\$4,620.00
	Delta Contracting Company, LLC		\$30.0000	\$4,950.00
	Volunteer Paving, LLC		\$26.8800	\$4,435.20
	Civil Constructors, LLC		\$31.2500	\$5,156.25
712-05 0°	1 WARNING LIGHTS (TYPE A)			
7 12 00.0	Walding Lights (THEA)	12.000 EACH		
	James Bres. Contractors III C	12.000 EACH	¢40,0000	\$504.00
	Jones Bros. Contractors, LLC		\$42.0000	\$504.00
	Delta Contracting Company, LLC		\$25.0000	\$300.00
	Volunteer Paving, LLC		\$21.5000	\$258.00
	Civil Constructors, LLC		\$26.0400	\$312.48
712-05.03	3 WARNING LIGHTS (TYPE C)			
		36.000 EACH		
	Jones Bros. Contractors, LLC		\$42.0000	\$1,512.00
	Delta Contracting Company, LLC		\$25.0000	\$900.00
	Volunteer Paving, LLC		\$10.7500	\$387.00
	Civil Constructors, LLC		\$26.0400	\$937.44
712-06	SIGNS (CONSTRUCTION)			
	,	1,750.000 S.F.		
	Jones Bros. Contractors, LLC	·	\$8.0000	\$14,000.00
	Delta Contracting Company, LLC		\$6.9500	\$12,162.50
	Volunteer Paving, LLC		\$8.0600	\$14,105.00
	Civil Constructors, LLC		\$7.2400	\$12,670.00
740.07.00	A TEMPODADY DADDIOADES (TVDE III)			
/12-07.0	3 TEMPORARY BARRICADES (TYPE III)	207.000 L.F.		
	Jones Bros. Contractors III C	∠U1.UUU L.F.	045 5000	ቀ ል
	Jones Bros. Contractors, LLC		\$15.5000 \$11.0000	\$3,208.50 \$3,277.00
	Delta Contracting Company, LLC		\$11.0000	\$2,277.00 \$5,564.16
	Volunteer Paving, LLC		\$26.8800 \$12,000	\$5,564.16 \$2,484.00
	Civil Constructors, LLC		\$12.0000	\$2,484.00

	UNIT PRICE	EXTENSION
713-02.26 CONCRETE BARRIER/PARAPET DELINEATOR		
	92.000 EACH	
Jones Bros. Contractors, LLC	\$10.0000	\$920.00
Delta Contracting Company, LLC	\$12.0000	\$1,104.00
Volunteer Paving, LLC	\$12.9000	\$1,186.80
Civil Constructors, LLC	\$12.5000	\$1,150.00
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
	1,375.000 LB.	
Jones Bros. Contractors, LLC	\$3.5000	\$4,812.50
Delta Contracting Company, LLC	\$3.7500	\$5,156.25
Volunteer Paving, LLC	\$5.7800	\$7,947.50
Civil Constructors, LLC	\$3.9100	\$5,376.25
713-11.21 P POST SLIP BASE		
	2.000 EACH	
Jones Bros. Contractors, LLC	\$350.0000	\$700.00
Delta Contracting Company, LLC	\$375.0000	\$750.00
Volunteer Paving, LLC	\$434.3000	\$868.60
Civil Constructors, LLC	\$390.6300	\$781.26
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
	160.350 S.F.	
Jones Bros. Contractors, LLC	\$13.8500	\$2,220.85
Delta Contracting Company, LLC	\$13.0000	\$2,084.55
Volunteer Paving, LLC	\$12.7000	\$2,036.45
Civil Constructors, LLC	\$13.5400	\$2,171.14
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
	138.000 S.F.	
Jones Bros. Contractors, LLC	\$14.5000	\$2,001.00
Delta Contracting Company, LLC	\$14.0000	\$1,932.00
Volunteer Paving, LLC	\$13.5600	\$1,871.28
Civil Constructors, LLC	\$14.5800	\$2,012.04
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS		
	1.000 LS	
Jones Bros. Contractors, LLC	\$650.0000	\$650.00
Delta Contracting Company, LLC	\$500.0000	\$500.00
Volunteer Paving, LLC	\$1,355.5800	\$1,355.58
Civil Constructors, LLC	\$520.8300	\$520.83
713-16.01 CHANGEABLE MESSAGE SIGN UNIT		
	8.000 EACH	
Jones Bros. Contractors, LLC	\$7,500.0000	\$60,000.00
Delta Contracting Company, LLC	\$6,000.0000	\$48,000.00
Volunteer Paving, LLC	\$6,450.0000	\$51,600.00
Civil Constructors, LLC	\$6,197.9200	\$49,583.36
	· ·	

			UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		16.000 S.Y.		
	Jones Bros. Contractors, LLC		\$45.0000	\$720.00
	Delta Contracting Company, LLC		\$30.0000	\$480.00
	Volunteer Paving, LLC		\$30.0000	\$480.00
	Civil Constructors, LLC		\$46.8800	\$750.08
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		62.000 L.F.		
	Jones Bros. Contractors, LLC		\$15.0000	\$930.00
	Delta Contracting Company, LLC		\$20.0000	\$1,240.00
	Volunteer Paving, LLC		\$20.0000	\$1,240.00
	Civil Constructors, LLC		\$15.6300	\$969.06
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
		6.000 EACH		
	Jones Bros. Contractors, LLC		\$600.0000	\$3,600.00
	Delta Contracting Company, LLC		\$400.0000	\$2,400.00
	Volunteer Paving, LLC		\$537.5000	\$3,225.00
	Civil Constructors, LLC		\$625.0000	\$3,750.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		17.000 L.M.		
	Jones Bros. Contractors, LLC		\$1,200.0000	\$20,400.00
	Delta Contracting Company, LLC		\$1,000.0000	\$17,000.00
	Volunteer Paving, LLC		\$1,500.0000	\$25,500.00
	Civil Constructors, LLC		\$1,250.0000	\$21,250.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		8.900 L.M.		
	Jones Bros. Contractors, LLC		\$5,400.0000	\$48,060.00
	Delta Contracting Company, LLC		\$5,000.0000	\$44,500.00
	Volunteer Paving, LLC		\$5,375.0000	\$47,837.50
	Civil Constructors, LLC		\$5,625.0000	\$50,062.50
717-01	MOBILIZATION			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$570,000.0000	\$570,000.00
	Delta Contracting Company, LLC		\$575,746.0000	\$575,746.00
	Volunteer Paving, LLC		\$691,432.2500	\$691,432.25
	Civil Constructors, LLC		\$718,065.0000	\$718,065.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		2.000 EACH		
	Jones Bros. Contractors, LLC		\$25,000.0000	\$50,000.00
	Delta Contracting Company, LLC		\$48,000.0000	\$96,000.00
	Volunteer Paving, LLC		\$29,868.8800	\$59,737.76
	Civil Constructors, LLC		\$93,750.0000	\$187,500.00

			UNIT PRICE	EXTENSION
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		3,493.000 S.Y.		
	Jones Bros. Contractors, LLC		\$3.0000	\$10,479.00
	Delta Contracting Company, LLC		\$3.0000	\$10,479.00
	Volunteer Paving, LLC		\$1.2900	\$4,505.97
	Civil Constructors, LLC		\$3.3300	\$11,631.69
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		7,100.000 S.Y.		
	Jones Bros. Contractors, LLC		\$1.5000	\$10,650.00
	Delta Contracting Company, LLC		\$2.7500	\$19,525.00
	Volunteer Paving, LLC		\$1.2900	\$9,159.00
	Civil Constructors, LLC		\$3.1300	\$22,223.00
740-11.02	TEMPORARY SEDIMENT TUBE 12IN			
		2,800.000 L.F.		
	Jones Bros. Contractors, LLC		\$4.0000	\$11,200.00
	Delta Contracting Company, LLC		\$4.0000	\$11,200.00
	Volunteer Paving, LLC		\$3.2300	\$9,044.00
	Civil Constructors, LLC		\$4.1700	\$11,676.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		2,899.000 UNIT		
	Jones Bros. Contractors, LLC		\$25.0000	\$72,475.00
	Delta Contracting Company, LLC		\$25.0000	\$72,475.00
	Volunteer Paving, LLC		\$37.6300	\$109,089.37
	Civil Constructors, LLC		\$27.0800	\$78,504.92
801-02	SEEDING (WITHOUT MULCH)			
		459.000 UNIT		
	Jones Bros. Contractors, LLC		\$25.0000	\$11,475.00
	Delta Contracting Company, LLC		\$25.0000	\$11,475.00
	Volunteer Paving, LLC		\$32.2500	\$14,802.75
	Civil Constructors, LLC		\$40.6300	\$18,649.17
801-03	WATER (SEEDING & SODDING)			
		936.000 M.G.		
	Jones Bros. Contractors, LLC		\$1.0000	\$936.00
	Delta Contracting Company, LLC		\$1.0000	\$936.00
	Volunteer Paving, LLC		\$53.7500	\$50,310.00
	Civil Constructors, LLC		\$52.0800	\$48,746.88
803-01	SODDING (NEW SOD)			
		60,443.000 S.Y.		
	Jones Bros. Contractors, LLC		\$3.0000	\$181,329.00
	Delta Contracting Company, LLC		\$3.0000	\$181,329.00
	Volunteer Paving, LLC		\$3.4900	\$210,946.07
	Civil Constructors, LLC		\$6.2500	\$377,768.75

				CONTRACT CNU029
			UNIT PRICE	EXTENSION
805-12.03	EROSION CONTROL BLANKET (TYPE III)			
	,	57,300.000 S.Y.		
	Jones Bros. Contractors, LLC		\$1.5000	\$85,950.00
	Delta Contracting Company, LLC		\$1.5000	\$85,950.00
	Volunteer Paving, LLC		\$0.9700	\$55,581.00
	Civil Constructors, LLC		\$3.3300	\$190,809.00
806-02.03	PROJECT MOWING			
		4.000 CYCL		
	Jones Bros. Contractors, LLC		\$4,000.0000	\$16,000.00
	Delta Contracting Company, LLC		\$12,500.0000	\$50,000.00
	Volunteer Paving, LLC		\$2,687.5000	\$10,750.00

Civil Constructors, LLC

\$5,208.3300

\$20,833.32

	UNIT PRICI	EXTENSION
UTILITY CATEGORY	ONIT I KIGI	_ EXTENSION
THE TOTAL CONT		
791-03.02 2IN HDPE GAS MAIN		
	40.000 L.F.	
Jones Bros. Contractors, LLC	\$63.0000	
Delta Contracting Company, LLC	\$63.0000	
Volunteer Paving, LLC	\$37.6300	• •
Civil Constructors, LLC	\$61.0000	\$2,440.00
791-03.03 3IN HDPE GAS MAIN		
791-03.03 SIN TIDEE GAS WAIN	40.700.000 5	
Laura Bras Contractors III C	10,700.000 L.F.	Φ045.050.00
Jones Bros. Contractors, LLC Delta Contracting Company, LLC	\$29.5000 \$29.5000	
Volunteer Paving, LLC	\$43.000	
Civil Constructors, LLC	\$32.0000	
o oss	\	φο :=, ::σο:σσ
791-04.03 HDD 3IN PE PIPE - UNCONSOLIDATED		
	600.000 L.F.	
Jones Bros. Contractors, LLC	\$158.0000	\$94,800.00
Delta Contracting Company, LLC	\$158.0000	
Volunteer Paving, LLC	\$198.8800	
Civil Constructors, LLC	\$149.0000	
791-06.10 CONNECT TO 2IN EX. STL MAIN		
	2.000 EACH	
Jones Bros. Contractors, LLC	\$6,000.0000	\$12,000.00
Delta Contracting Company, LLC	\$6,000.0000	\$12,000.00
Volunteer Paving, LLC	\$4,837.5000	\$9,675.00
Civil Constructors, LLC	\$8,457.0000	\$16,914.00
791-06.17 CONNECT TO _IN EX. STL MAIN		
	25.000 EACH	
Jones Bros. Contractors, LLC	\$1,500.0000	
Delta Contracting Company, LLC	\$1,500.0000	
Volunteer Paving, LLC	\$1,612.5000	
Civil Constructors, LLC	\$2,370.0000	\$59,250.00
TO A CO. CONDITION TO A IN EVENT MAIN WEST OFFICE		
791-06.38 CONNECT TOIN EX. STL MAIN W/ STOPPLE		
	12.000 EACH	
Jones Bros. Contractors, LLC	\$9,000.0000	
Delta Contracting Company, LLC	\$9,000.0000 \$7,525.0000	
Volunteer Paving, LLC Civil Constructors, LLC	\$7,525.000C \$8,600.000C	
Civil Collstructors, LLC	φα,ουυ.υυυ	\$103,200.00
791-07.01 2IN PE GAS VALVE ASSEMBLY		
TOT OTHER E GAG VALVE AGGEMBET	1.000 EACH	
Jones Bros. Contractors, LLC	\$650.0000	\$650.00
Delta Contracting Company, LLC	\$650.0000 \$650.0000	
Volunteer Paving, LLC	\$698.7500	
Civil Constructors, LLC	\$2,072.0000	

CONTRACT CNU029

		UNIT PRICE	EXTENSION
791-07.08 (3 IN)			
	10.000 EACH		
Jones Bros. Contractors, LLC	10.000 = 10.1	\$850.0000	\$8,500.00
Delta Contracting Company, LLC		\$850.0000	\$8,500.00
Volunteer Paving, LLC		\$913.7500	\$9,137.50
Civil Constructors, LLC		\$1,965.0000	\$19,650.00
791-08.07 3/4IN PE SERVICE PIPE			
	1,000.000 L.F.		
Jones Bros. Contractors, LLC		\$15.0000	\$15,000.00
Delta Contracting Company, LLC		\$15.0000	\$15,000.00
Volunteer Paving, LLC		\$34.4000	\$34,400.00
Civil Constructors, LLC		\$49.5000	\$49,500.00
791-08.08 1IN PE SERVICE PIPE			
	100.000 L.F.		
Jones Bros. Contractors, LLC		\$16.0000	\$1,600.00
Delta Contracting Company, LLC		\$16.0000	\$1,600.00
Volunteer Paving, LLC		\$34.4000	\$3,440.00
Civil Constructors, LLC		\$54.5000	\$5,450.00
791-08.17 HDD 3/4IN PE SERVICE PIPE			
	500.000 L.F.		
Jones Bros. Contractors, LLC		\$50.0000	\$25,000.00
Delta Contracting Company, LLC		\$50.0000	\$25,000.00
Volunteer Paving, LLC		\$91.3800	\$45,690.00
Civil Constructors, LLC		\$108.0000	\$54,000.00
791-10.01 RETIRE IN PLACE 3/4IN SERV CUT & PLUG			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$875.0000	\$875.00
Delta Contracting Company, LLC		\$875.0000	\$875.00
Volunteer Paving, LLC Civil Constructors, LLC		\$268.7500 \$2,408.0000	\$268.75
Civil Constructors, LLC		φ2,406.0000	\$2,408.00
791-10.02 RETIRE IN PLACE 1IN SERV CUT & PLUG			
	1.000 EACH	.	
Jones Bros. Contractors, LLC		\$550.0000	\$550.00
Delta Contracting Company, LLC		\$880.0000	\$880.00
Volunteer Paving, LLC Civil Constructors, LLC		\$322.5000 \$2,438.0000	\$322.50 \$2,438.00
Civil Constructors, LLC		φ2,436.0000	φ2,436.00
791-10.04 RETIRE IN PLACE 2IN SERV CUT & PLUG			
	12.000 EACH	.	•-
Jones Bros. Contractors, LLC		\$530.0000	\$6,360.00
Delta Contracting Company, LLC		\$530.0000	\$6,360.00
Volunteer Paving, LLC		\$430.0000	\$5,160.00 \$30.004.00
Civil Constructors, LLC		\$2,417.0000	\$29,004.00

CONTRACT C	ï	V	U	0	29
------------	---	---	---	---	----

		UNIT PRICE	EXTENSION
791-12.04 32LB MAGNESIUM ANODE			
	8.000 EACH		
Jones Bros. Contractors, LLC		\$1,900.0000	\$15,200.00
Delta Contracting Company, LLC		\$1,900.0000	\$15,200.00
Volunteer Paving, LLC		\$3,045.0000	\$24,360.00
Civil Constructors, LLC		\$1,212.0000	\$9,696.00
793-01.07 POLE 35FT CLASS 4 WOOD			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$703.7700	\$1,407.54
Delta Contracting Company, LLC		\$900.0000	\$1,800.00
Volunteer Paving, LLC		\$1,075.0000	\$2,150.00
Civil Constructors, LLC		\$1,041.6700	\$2,083.34
793-01.18 POLE 45FT CLASS 4 WOOD			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$971.2100	\$1,942.42
Delta Contracting Company, LLC		\$1,000.0000	\$2,000.00
Volunteer Paving, LLC		\$1,290.0000	\$2,580.00
Civil Constructors, LLC		\$1,250.0000	\$2,500.00
793-01.38 ANCHOR 1/2IN			
	32.000 EACH		
Jones Bros. Contractors, LLC		\$425.8700	\$13,627.84
Delta Contracting Company, LLC		\$255.0000	\$8,160.00
Volunteer Paving, LLC		\$526.7500	\$16,856.00
Civil Constructors, LLC		\$510.4200	\$16,333.44
793-02.90 GUY WIRE (10M)			
	46.000 EACH		
Jones Bros. Contractors, LLC		\$140.7500	\$6,474.50
Delta Contracting Company, LLC		\$110.0000	\$5,060.00
Volunteer Paving, LLC		\$376.2500	\$17,307.50
Civil Constructors, LLC		\$364.5800	\$16,770.68
793-03.01 25 PAIR GROUP AERIAL SPLICE			
	111.000 EACH		
Jones Bros. Contractors, LLC		\$5.0700	\$562.77
Delta Contracting Company, LLC		\$155.0000	\$17,205.00
Volunteer Paving, LLC		\$7.5300	\$835.83
Civil Constructors, LLC		\$7.2900	\$809.19
793-03.11 25 PAIR CABLE			
	4,792.000 L.F.		
Jones Bros. Contractors, LLC	,	\$4.0800	\$19,551.36
Delta Contracting Company, LLC		\$4.5000	\$21,564.00
Volunteer Paving, LLC		\$3.4900	\$16,724.08
Civil Constructors, LLC		\$3.3900	\$16,244.88

CONTRACT C	١,	11	U	0	29)
------------	----	----	---	---	----	---

		UNIT PRICE	EXTENSION
793-03.12 50 PAIR CABLE			
	858.000 L.F.		
Jones Bros. Contractors, LLC		\$4.6400	\$3,981.12
Delta Contracting Company, LLC		\$6.2500	\$5,362.50
Volunteer Paving, LLC		\$4.5700	\$3,921.06
Civil Constructors, LLC		\$4.4300	\$3,800.94
793-03.14 100 PAIR CABLE			
	9,468.000 L.F.		
Jones Bros. Contractors, LLC		\$6.3900	\$60,500.52
Delta Contracting Company, LLC		\$8.0000	\$75,744.00
Volunteer Paving, LLC		\$6.9900	\$66,181.32
Civil Constructors, LLC		\$6.7700	\$64,098.36
793-03.16 200 PAIRCABLE			
	4,348.000 L.F.		
Jones Bros. Contractors, LLC		\$9.7100	\$42,219.08
Delta Contracting Company, LLC		\$10.0000	\$43,480.00
Volunteer Paving, LLC		\$9.9400	\$43,219.12
Civil Constructors, LLC		\$9.6400	\$41,914.72
793-04.01 RELASH/DELASH CABLE			
	600.000 L.F.		
Jones Bros. Contractors, LLC		\$3.1000	\$1,860.00
Delta Contracting Company, LLC		\$3.0000	\$1,800.00
Volunteer Paving, LLC		\$1.6100	\$966.00
Civil Constructors, LLC		\$1.5600	\$936.00
793-04.03 6 PAIR AERIAL DROP			
	2,919.000 L.F.		
Jones Bros. Contractors, LLC		\$3.2400	\$9,457.56
Delta Contracting Company, LLC		\$3.0000	\$8,757.00
Volunteer Paving, LLC		\$1.8800	\$5,487.72
Civil Constructors, LLC		\$1.8200	\$5,312.58
793-04.04 10 PAIR AERIAL TERMINAL			
	14.000 EACH		
Jones Bros. Contractors, LLC		\$275.8800	\$3,862.32
Delta Contracting Company, LLC		\$200.0000	\$2,800.00
Volunteer Paving, LLC		\$462.2500	\$6,471.50
Civil Constructors, LLC		\$447.9200	\$6,270.88
793-04.07 AERIAL SPLICE CLOSURE			
	23.000 EACH		
Jones Bros. Contractors, LLC		\$478.5600	\$11,006.88
Delta Contracting Company, LLC		\$250.0000	\$5,750.00
Volunteer Paving, LLC		\$548.2500	\$12,609.75
Civil Constructors, LLC		\$531.2500	\$12,218.75

	UNIT PR	ICE EXTENSION
793-04.09 TRANSFER AERIAL DROP		
	7.000 EACH	
Jones Bros. Contractors, LLC	\$56.30	900 \$394.10
Delta Contracting Company, LLC	\$40.00	\$280.00
Volunteer Paving, LLC	\$268.75	500 \$1,881.25
Civil Constructors, LLC	\$260.42	200 \$1,822.94
793-04.10 TRANSFER BURIED DROP		
	3.000 EACH	
Jones Bros. Contractors, LLC	\$8,445.00	900 \$25,335.00
Delta Contracting Company, LLC	\$110.00	\$330.00
Volunteer Paving, LLC	\$322.50	900 \$967.50
Civil Constructors, LLC	\$312.50	900 \$937.50
793-07.02 24 FIBER(MATERIAL ONLY)		
	10,398.000 L.F.	
Jones Bros. Contractors, LLC	\$0.40	900 \$4,159.20
Delta Contracting Company, LLC	\$1.10	900 \$11,437.80
Volunteer Paving, LLC	\$0.32	200 \$3,327.36
Civil Constructors, LLC	\$0.30	900 \$3,119.40
793-07.16 12-96 FIBER(INSTALLATION ONLY)		
	10,398.000 L.F.	
Jones Bros. Contractors, LLC	\$2.82	200 \$29,322.36
Delta Contracting Company, LLC	\$1.90	900 \$19,756.20
Volunteer Paving, LLC	\$1.61	00 \$16,740.78
Civil Constructors, LLC	\$1.56	\$16,220.88
793-07.22 FIBER SPLICE-12 FIBER RIBBON		
	6.000 EACH	
Jones Bros. Contractors, LLC	\$210.98	\$1,265.88
Delta Contracting Company, LLC	\$1,020.00	900 \$6,120.00
Volunteer Paving, LLC	\$430.00	\$2,580.00
Civil Constructors, LLC	\$416.67	700 \$2,500.02
793-07.23 FIBER OPTIC MAINTENANCE LOOP		
	12.000 EACH	
Jones Bros. Contractors, LLC	\$197.06	\$2,364.72
Delta Contracting Company, LLC	\$150.00	
Volunteer Paving, LLC	\$119.44	\$1,433.28
Civil Constructors, LLC	\$115.74	100 \$1,388.88
793-09.01 25 PAIR BURIED CABLE		
	506.000 L.F.	
Jones Bros. Contractors, LLC	\$5.63	\$2,848.78
Delta Contracting Company, LLC	\$10.00	
Volunteer Paving, LLC	\$7.26	
Civil Constructors, LLC	\$7.03	

		UNIT PRICE	EXTENSION
793-09.02 50 PAIR BURIED CABLE			
	430.000 L.F.		
Jones Bros. Contractors, LLC		\$7.0400	\$3,027.20
Delta Contracting Company, LLC		\$11.0000	\$4,730.00
Volunteer Paving, LLC		\$8.0600	\$3,465.80
Civil Constructors, LLC		\$7.8100	\$3,358.30
793-09.04 100 PAIR BURIED CABLE			
	130.000 L.F.		
Jones Bros. Contractors, LLC		\$7.8800	\$1,024.40
Delta Contracting Company, LLC		\$12.0000	\$1,560.00
Volunteer Paving, LLC		\$9.6800	\$1,258.40
Civil Constructors, LLC		\$9.0000	\$1,170.00
793-09.06 200 PAIR BURIED CABLE			
	252.000 L.F.		
Jones Bros. Contractors, LLC		\$12.5300	\$3,157.56
Delta Contracting Company, LLC		\$14.0000	\$3,528.00
Volunteer Paving, LLC		\$12.9000	\$3,250.80
Civil Constructors, LLC		\$12.5000	\$3,150.00
793-11.01 25 GROUP BURIED SPLICE			
	34.000 EACH		
Jones Bros. Contractors, LLC		\$7.0400	\$239.36
Delta Contracting Company, LLC		\$210.0000	\$7,140.00
Volunteer Paving, LLC		\$65.5800	\$2,229.72
Civil Constructors, LLC		\$63.5400	\$2,160.36
793-11.06 8IN PEDESTAL			
	7.000 EACH		
Jones Bros. Contractors, LLC		\$211.1300	\$1,477.91
Delta Contracting Company, LLC		\$280.0000	\$1,960.00
Volunteer Paving, LLC		\$537.5000	\$3,762.50
Civil Constructors, LLC		\$520.8300	\$3,645.81
793-11.13 BURIED RISER GUARD			
	7.000 EACH		
Jones Bros. Contractors, LLC		\$70.3800	\$492.66
Delta Contracting Company, LLC		\$70.0000	\$490.00
Volunteer Paving, LLC		\$268.7500	\$1,881.25
Civil Constructors, LLC		\$260.4200	\$1,822.94
793-11.15 5 PAIR BURIED DROP			
	450.000 L.F.		
Jones Bros. Contractors, LLC		\$3.3800	\$1,521.00
Delta Contracting Company, LLC		\$2.2000	\$990.00
Volunteer Paving, LLC		\$3.7600	\$1,692.00
Civil Constructors, LLC		\$3.6000	\$1,620.00

	UNIT PRICE	EXTENSION
793-12.02 REARRANGEMENT EXISTING CABLE		
250.000 EAC	СН	
Jones Bros. Contractors, LLC	\$182.9800	\$45,745.00
Delta Contracting Company, LLC	\$4.0000	\$1,000.00
Volunteer Paving, LLC	\$10.7500	\$2,687.50
Civil Constructors, LLC	\$10.5000	\$2,625.00
793-15.01 TRANSFER CABLE ATTACHMENT		
14.000 EAC	СН	
Jones Bros. Contractors, LLC	\$140.7500	\$1,970.50
Delta Contracting Company, LLC	\$100.0000	\$1,400.00
Volunteer Paving, LLC	\$268.7500	\$3,762.50
Civil Constructors, LLC	\$260.4200	\$3,645.88
793-16.04 DIRECTIONAL BORE 4IN/FLEX SLEEVE		
68.000 L.F.		
Jones Bros. Contractors, LLC	\$154.8300	\$10,528.44
Delta Contracting Company, LLC	\$35.0000	\$2,380.00
Volunteer Paving, LLC	\$53.7500	\$3,655.00
Civil Constructors, LLC	\$52.0800	\$3,541.44
793-98.01 REMOVE AERIAL CABLE AND WIRE		
20,524.000 L.F.		
Jones Bros. Contractors, LLC	\$1.9000	\$38,995.60
Delta Contracting Company, LLC	\$0.9000	\$18,471.60
Volunteer Paving, LLC	\$0.8600	\$17,650.64
Civil Constructors, LLC	\$0.8300	\$17,034.92
793-98.04 REMOVE POLES ALL SIZES		
34.000 EAC	СН	
Jones Bros. Contractors, LLC	\$140.0000	\$4,760.00
Delta Contracting Company, LLC	\$100.0000	\$3,400.00
Volunteer Paving, LLC	\$268.7500	\$9,137.50
Civil Constructors, LLC	\$260.4200	\$8,854.28
793-98.06 REMOVE PEDESTALS		
7.000 EAC	СН	
Jones Bros. Contractors, LLC	\$65.0000	\$455.00
Delta Contracting Company, LLC	\$100.0000	\$700.00
Volunteer Paving, LLC	\$188.1300	\$1,316.91
Civil Constructors, LLC	\$182.2900	\$1,276.03
793-98.07 REMOVE UNDERGROUND TO OVERHEAD RISER		
6.000 EAC	СН	
Jones Bros. Contractors, LLC	\$110.0000	\$660.00
Delta Contracting Company, LLC	\$40.0000	\$240.00
Volunteer Paving, LLC	\$188.1300	\$1,128.78
Civil Constructors, LLC	\$182.2900	\$1,093.74

		UNIT PRICE	EXTENSION
793-98.08 REMOVE ANCHOR (ANY SIZE)			
	25.000 EACH		
Jones Bros. Contractors, LLC		\$35.0000	\$875.00
Delta Contracting Company, LLC		\$80.0000	\$2,000.00
Volunteer Paving, LLC		\$161.2500	\$4,031.25
Civil Constructors, LLC		\$156.2500	\$3,906.25
795-01.03 6IN DIP RESTRAINED JOINT WATER LINE			
	64.000 L.F.		
Jones Bros. Contractors, LLC		\$60.0000	\$3,840.00
Delta Contracting Company, LLC		\$60.0000	\$3,840.00
Volunteer Paving, LLC		\$41.6600	\$2,666.24
Civil Constructors, LLC		\$145.0000	\$9,280.00
795-03.02 2IN PVC WATER LINE			
	20.000 L.F.		
Jones Bros. Contractors, LLC		\$50.0000	\$1,000.00
Delta Contracting Company, LLC		\$50.0000	\$1,000.00
Volunteer Paving, LLC		\$38.7000	\$774.00
Civil Constructors, LLC		\$69.0000	\$1,380.00
795-03.04 4IN PVC WATER LINE			
	50.000 L.F.		
Jones Bros. Contractors, LLC		\$50.0000	\$2,500.00
Delta Contracting Company, LLC		\$50.0000	\$2,500.00
Volunteer Paving, LLC		\$46.2300	\$2,311.50
Civil Constructors, LLC		\$55.5000	\$2,775.00
795-03.05 6IN PVC WATER LINE			
	4,626.000 L.F.		
Jones Bros. Contractors, LLC		\$54.0000	\$249,804.00
Delta Contracting Company, LLC		\$54.0000	\$249,804.00
Volunteer Paving, LLC		\$26.8800	\$124,346.88
Civil Constructors, LLC		\$49.5000	\$228,987.00
795-03.06 8IN PVC WATER LINE			
	6,125.000 L.F.		
Jones Bros. Contractors, LLC		\$58.0000	\$355,250.00
Delta Contracting Company, LLC		\$58.0000	\$355,250.00
Volunteer Paving, LLC		\$31.1800	\$190,977.50
Civil Constructors, LLC		\$60.0000	\$367,500.00
795-05.03 HDD 6IN HDPE CASING PIPE-UNCON			
	100.000 L.F.		
Jones Bros. Contractors, LLC		\$220.0000	\$22,000.00
Delta Contracting Company, LLC		\$220.0000	\$22,000.00
Volunteer Paving, LLC		\$224.6800	\$22,468.00
Civil Constructors, LLC		\$234.0000	\$23,400.00

		UNIT PRICE	EXTENSION
795-05.63 BORE/JACK 12IN STEEL CASING PIPE-UNCON.			
	64.000 L.F.		
Jones Bros. Contractors, LLC		\$400.0000	\$25,600.00
Delta Contracting Company, LLC		\$400.0000	\$25,600.00
Volunteer Paving, LLC		\$456.8800	\$29,240.32
Civil Constructors, LLC		\$632.0000	\$40,448.00
795-05.65 BORE/JACK 16IN STEEL CASING PIPE-UNCON.			
	266.000 L.F.		
Jones Bros. Contractors, LLC		\$560.0000	\$148,960.00
Delta Contracting Company, LLC		\$560.0000	\$148,960.00
Volunteer Paving, LLC		\$632.1000	\$168,138.60
Civil Constructors, LLC		\$711.0000	\$189,126.00
795-06.01 CONNECT TO 2IN WATER LINE			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$1,200.0000	\$2,400.00
Delta Contracting Company, LLC		\$1,200.0000	\$2,400.00
Volunteer Paving, LLC		\$2,431.6500	\$4,863.30
Civil Constructors, LLC		\$2,405.0000	\$4,810.00
795-06.04 CONNECT TO 6IN WATER LINE			
	7.000 EACH		
Jones Bros. Contractors, LLC		\$2,000.0000	\$14,000.00
Delta Contracting Company, LLC		\$2,000.0000	\$14,000.00
Volunteer Paving, LLC		\$5,440.5800	\$38,084.06
Civil Constructors, LLC		\$2,600.0000	\$18,200.00
795-06.05 CONNECT TO 8IN WATER LINE			
	5.000 EACH		
Jones Bros. Contractors, LLC		\$2,200.0000	\$11,000.00
Delta Contracting Company, LLC		\$2,200.0000	\$11,000.00
Volunteer Paving, LLC		\$5,574.9500	\$27,874.75
Civil Constructors, LLC		\$2,885.0000	\$14,425.00
795-06.31 CUT AND CAP 2IN WATER LINE			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$1,000.0000	\$2,000.00
Delta Contracting Company, LLC		\$1,000.0000	\$2,000.00
Volunteer Paving, LLC		\$533.2000	\$1,066.40
Civil Constructors, LLC		\$1,516.0000	\$3,032.00
795-06.32 CUT AND CAP 4IN WATER LINE			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$1,000.0000	\$1,000.00
Delta Contracting Company, LLC		\$1,000.0000	\$1,000.00
Volunteer Paving, LLC		\$533.2000	\$533.20
Civil Constructors, LLC		\$2,010.0000	\$2,010.00

			СО	NTRACT CNU029
			UNIT PRICE	EXTENSION
795-06 33	CUT AND CAP 6IN WATER LINE			
733-00.33	OUT AND OAT ONE WATER LINE	2.000 EACH		
	Jones Bros. Contractors, LLC	2.000 2.1011	\$1,500.0000	\$3,000.00
	Delta Contracting Company, LLC		\$1,500.0000	\$3,000.00
	Volunteer Paving, LLC		\$737.4500	\$1,474.90
	Civil Constructors, LLC		\$2,396.0000	\$4,792.00
795-06.34	CUT AND CAP 8IN WATER LINE			
		5.000 EACH		
	Jones Bros. Contractors, LLC		\$1,600.0000	\$8,000.00
	Delta Contracting Company, LLC		\$1,600.0000	\$8,000.00
	Volunteer Paving, LLC		\$927.7300	\$4,638.65
	Civil Constructors, LLC		\$3,048.0000	\$15,240.00
795-07.01	4IN X 4IN TAPPING SLEEVE AND VALVE			
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$3,500.0000	\$3,500.00
	Delta Contracting Company, LLC		\$3,500.0000	\$3,500.00
	Volunteer Paving, LLC		\$2,064.0000	\$2,064.00
	Civil Constructors, LLC		\$6,043.0000	\$6,043.00
795-07.03	6IN X 6IN TAPPING SLEEVE AND VALVE			
		6.000 EACH		
	Jones Bros. Contractors, LLC		\$6,500.0000	\$39,000.00
	Delta Contracting Company, LLC		\$6,500.0000	\$39,000.00
	Volunteer Paving, LLC		\$2,440.2500	\$14,641.50
	Civil Constructors, LLC		\$7,548.0000	\$45,288.00
795-07.06	8IN X 8IN TAPPING SLEEVE AND VALVE			
		5.000 EACH		
	Jones Bros. Contractors, LLC		\$6,200.0000	\$31,000.00
	Delta Contracting Company, LLC		\$6,200.0000	\$31,000.00
	Volunteer Paving, LLC		\$3,317.4500	\$16,587.25
	Civil Constructors, LLC		\$8,836.0000	\$44,180.00
795-08.01	2IN GATE VALVE ASSEMBLY			
		2.000 EACH		
	Jones Bros. Contractors, LLC		\$1,200.0000	\$2,400.00
	Delta Contracting Company, LLC		\$1,200.0000	\$2,400.00
	Volunteer Paving, LLC		\$1,100.8000	\$2,201.60
	Civil Constructors, LLC		\$1,048.0000	\$2,096.00
795-08.04	6IN GATE VALVE ASSEMBLY			

1.000 EACH

Jones Bros. Contractors, LLC

Volunteer Paving, LLC

Civil Constructors, LLC

Delta Contracting Company, LLC

PAGE	

\$1,600.00

\$1,600.00

\$1,497.48

\$1,647.00

\$1,600.0000

\$1,600.0000

\$1,497.4800

\$1,647.0000

				CONTRACT CNU029
			UNIT PRICE	EXTENSION
795-09.01	3/4IN WATER SERVICE METER ASSEMBLY			
		6.000 EACH		
	Jones Bros. Contractors, LLC		\$1,200.0000	\$7,200.00
	Delta Contracting Company, LLC		\$1,200.0000	\$7,200.00
	Volunteer Paving, LLC		\$1,733.9800	\$10,403.88
	Civil Constructors, LLC		\$1,697.0000	\$10,182.00
795-09.09	RELOCATE/RECONNECT SERVICE ASSEMBLY			
		14.000 EACH		
	Jones Bros. Contractors, LLC		\$1,000.0000	\$14,000.00
	Delta Contracting Company, LLC		\$1,000.0000	\$14,000.00
	Volunteer Paving, LLC		\$2,461.7500	\$34,464.50
	Civil Constructors, LLC		\$1,345.0000	\$18,830.00
795-09.16	1-1/2IN HDPE SERVICE PIPE			
		486.000 L.F.		
	Jones Bros. Contractors, LLC		\$150.0000	\$72,900.00
	Delta Contracting Company, LLC		\$150.0000	\$72,900.00
	Volunteer Paving, LLC		\$95.6800	\$46,500.48
	Civil Constructors, LLC		\$181.0000	\$87,966.00
795-09.17	2IN HDPE SERVICE PIPE			
		75.000 L.F.		
	Jones Bros. Contractors, LLC		\$125.0000	\$9,375.00
	Delta Contracting Company, LLC		\$125.0000	\$9,375.00
	Volunteer Paving, LLC		\$97.0200	\$7,276.50
	Civil Constructors, LLC		\$328.0000	\$24,600.00
795-09.28	3/4IN COPPER SERVICE PIPE			
		730.000 L.F.		
	Jones Bros. Contractors, LLC		\$50.0000	\$36,500.00
	Delta Contracting Company, LLC		\$50.0000	\$36,500.00
	Volunteer Paving, LLC		\$13.9800	\$10,205.40
	Civil Constructors, LLC		\$59.0000	\$43,070.00
795-10.03	1IN AUTO AIR RELEASE VALVE ASSEMBLY			
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$2,500.0000	\$2,500.00
			+= ,===================================	*- ,555.55

Delta Contracting Company, LLC	\$1,200.0000	\$7,200.00
Volunteer Paving, LLC	\$1,733.9800	\$10,403.88
Civil Constructors, LLC	\$1,697.0000	\$10,182.00
Civil Constitucions, LLC	\$1,097.0000	\$10,102.00
795-09.09 RELOCATE/RECONNECT SERVICE ASSEMBLY		
	14.000 EACH	
Jones Bros. Contractors, LLC	\$1,000.0000	\$14,000.00
Delta Contracting Company, LLC	\$1,000.0000	\$14,000.00
Volunteer Paving, LLC	\$2,461.7500	\$34,464.50
Civil Constructors, LLC	\$1,345.0000	\$18,830.00
795-09.16 1-1/2IN HDPE SERVICE PIPE		
	486.000 L.F.	
James Bree Contractors III C		\$70,000,00
Jones Bros. Contractors, LLC	\$150.0000	\$72,900.00
Delta Contracting Company, LLC	\$150.0000	\$72,900.00
Volunteer Paving, LLC	\$95.6800	\$46,500.48
Civil Constructors, LLC	\$181.0000	\$87,966.00
795-09.17 2IN HDPE SERVICE PIPE		
	75.000 L.F.	
Jones Bros. Contractors, LLC	\$125.0000	\$9,375.00
Delta Contracting Company, LLC	\$125.0000	\$9,375.00
Volunteer Paving, LLC	\$97.0200	\$7,276.50
Civil Constructors, LLC	\$328.0000	\$24,600.00
795-09.28 3/4IN COPPER SERVICE PIPE		
	730.000 L.F.	
Jones Bros. Contractors, LLC	\$50.0000	\$36,500.00
Delta Contracting Company, LLC	\$50.0000	\$36,500.00
Volunteer Paving, LLC	\$13.9800	\$10,205.40
Civil Constructors, LLC	\$59.0000	\$43,070.00
Civil Constituctors, ELC	Ψ39.0000	ψ43,070.00
795-10.03 1IN AUTO AIR RELEASE VALVE ASSEMBLY		
	1.000 EACH	
Jones Bros. Contractors, LLC	\$2,500.0000	\$2,500.00
Delta Contracting Company, LLC	\$2,500.0000	\$2,500.00
Volunteer Paving, LLC	\$5,043.9000	\$5,043.90
Civil Constructors, LLC	\$3,080.0000	\$3,080.00
795-11.02 FIRE HYDRANT ASSEMBLY		
	9.000 EACH	
Jones Bros. Contractors, LLC	\$7,500.0000	\$67,500.00
Delta Contracting Company, LLC	\$7,500.0000	\$67,500.00
Volunteer Paving, LLC	\$5,557.7500	\$50,019.75
Civil Constructors, LLC	\$11,034.0000	\$99,306.00

			MIRACI CNUU29
		UNIT PRICE	EXTENSION
795-11.12 RETIRE IN PLACE EXISTING WATER MAIN			
	1,100.000 L.F.		
Jones Bros. Contractors, LLC	,	\$10.0000	\$11,000.00
Delta Contracting Company, LLC		\$10.0000	\$11,000.00
Volunteer Paving, LLC		\$9.6800	\$10,648.00
Civil Constructors, LLC		\$7.0000	\$7,700.00
795-12.03 PIPE GROUTING			
	1.000 LS		
Jones Bros. Contractors, LLC		\$30,000.0000	\$30,000.00
Delta Contracting Company, LLC		\$30,000.0000	\$30,000.00
Volunteer Paving, LLC		\$3,963.5300	\$3,963.53
Civil Constructors, LLC		\$181,307.0000	\$181,307.00
795-13.01 DI FITTINGS			
	13,500.000 LB.		
Jones Bros. Contractors, LLC	13,300.000 EB.	\$0.0100	\$135.00
Delta Contracting Company, LLC		\$0.0100	\$135.00 \$135.00
- · · · · · · · · · · · · · · · · · · ·			\$65,340.00
Volunteer Paving, LLC Civil Constructors, LLC		\$4.8400 \$3.5000	\$47,250.00
Civil Constitucions, ELC		φ3.3000	\$47,230.00
795-14.01 CLASS A CONCRETE			
	20.000 C.Y.		
Jones Bros. Contractors, LLC		\$250.0000	\$5,000.00
Delta Contracting Company, LLC		\$250.0000	\$5,000.00
Volunteer Paving, LLC		\$220.3800	\$4,407.60
Civil Constructors, LLC		\$243.0000	\$4,860.00
795-15.25 16IN STEEL CASING PIPE OPEN CUT METHOD			
	23.000 L.F.		
Jones Bros. Contractors, LLC		\$350.0000	\$8,050.00
Delta Contracting Company, LLC		\$350.0000	\$8,050.00
Volunteer Paving, LLC		\$656.8300	\$15,107.09
Civil Constructors, LLC		\$273.0000	\$6,279.00
797-02.04 2IN HDPE FORCE MAIN			
	200.000 L.F.		
Jones Bros. Contractors, LLC		\$75.0000	\$15,000.00
Delta Contracting Company, LLC		\$75.0000	\$15,000.00
Volunteer Paving, LLC		\$49.4500	\$9,890.00
Civil Constructors, LLC		\$126.0000	\$25,200.00
797-03.09 10IN PVC FORCE MAIN			
	1,200.000 L.F.		
Jones Bros. Contractors, LLC	,	\$62.0000	\$74,400.00
Delta Contracting Company, LLC		\$62.0000	\$74,400.00
Volunteer Paving, LLC		\$65.5800	\$78,696.00
Civil Constructors, LLC		\$62.5000	\$75,000.00
Civil Collocations, ELC		ψ02.3000	ψ1 0,000.00

		UNIT PRICE	EXTENSION
797-08.01 DI FITTINGS			
107 00.01 5111111100	500.000 LB.		
	500.000 LB.	# 40.0000	# 5 000 00
Jones Bros. Contractors, LLC		\$10.0000	\$5,000.00
Delta Contracting Company, LLC		\$10.0000 \$8.0600	\$5,000.00
Volunteer Paving, LLC Civil Constructors, LLC		\$28.0000	\$4,030.00 \$14,000.00
Civil Constructors, LLC		φ26.0000	Φ14,000.00
797-09.26 2IN AIR/VAC VALVE ASSEMBLY			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$10,000.0000	\$10,000.00
Delta Contracting Company, LLC		\$10,000.0000	\$10,000.00
Volunteer Paving, LLC		\$9,503.0000	\$9,503.00
Civil Constructors, LLC		\$9,405.0000	\$9,405.00
797-10.19 CONNECT TO 10IN FORCE MAIN			
	6.000 EACH		
Jones Bros. Contractors, LLC		\$3,000.0000	\$18,000.00
Delta Contracting Company, LLC		\$3,000.0000	\$18,000.00
Volunteer Paving, LLC		\$5,004.1300	\$30,024.78
Civil Constructors, LLC		\$4,122.0000	\$24,732.00
797-11.15 48IN MH ADJUSTMENT INCREASE HEIGHT			
	2.000 V.F.		
Jones Bros. Contractors, LLC		\$500.0000	\$1,000.00
Delta Contracting Company, LLC		\$500.0000	\$1,000.00
Volunteer Paving, LLC		\$771.8500	\$1,543.70
Civil Constructors, LLC		\$1,813.0000	\$3,626.00
797-11.31 RETIREIN PLACE EXISTING SEWER 8IN-14IN			
	280.000 L.F.		
Jones Bros. Contractors, LLC		\$20.0000	\$5,600.00
Delta Contracting Company, LLC		\$20.0000	\$5,600.00
Volunteer Paving, LLC		\$37.6300	\$10,536.40
Civil Constructors, LLC		\$29.5000	\$8,260.00

\$9,125,807.6	Contractors, LLC
\$9,295,784.	cting Company, LLC
\$10,855,684.5	ving, LLC
\$10,399,933.8	ctors, LLC
\$10,855,684.	ving, LLC

SUB-TOTAL UTILITY

Jones Bros. Contractors, LLC	\$2,322,292.58
Delta Contracting Company, LLC	\$2,259,805.10
Volunteer Paving, LLC	\$2,195,577.00
Civil Constructors, LLC	\$2,784,879.51

TOTAL CONTRACT

Jones Bros. Contractors, LLC	\$11,448,100.18
Delta Contracting Company, LLC	\$11,555,589.23
Volunteer Paving, LLC	\$13,051,261.56
Civil Constructors, LLC	\$13,184,813.32

RHEA COUNTY (Contract No. CNU215 Call 056)

STP/HSIP-302(8),72017-3215-94,72017-8215-14

THE RESURFACING ON S.R. 302 FROM S.R. 30 (L.M. 0.00) TO S.R. 68 (L.M. 8.87).

PROJECT LENGTH - 8.870 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 6.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,414,655.70

ROADW <i>A</i>	AY CATEGORY		UNIT PRICE	CONTRACT CNU215 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Rogers Group, Inc.	293.000 TON	\$55.0000	\$16,115.00
403-02.01	TRACKLESS TACK COAT			
	Rogers Group, Inc.	30.000 TON	\$800.0000	\$24,000.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT	C 020 000 TON		
	Rogers Group, Inc.	6,030.000 TON	\$102.2400	\$616,507.20
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (·		
	Rogers Group, Inc.	14.200 L.M.	\$565.6600	\$8,032.37
414-04.03	ASPHALT EMULSION (SCRUB SEAL)	450 000 TON		
	Rogers Group, Inc.	156.000 TON	\$978.5000	\$152,646.00
414-04.04	MINERAL AGGREGATE (SCRUB SEAL)			
	Rogers Group, Inc.	1,290.000 TON	\$118.3200	\$152,632.80
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Rogers Group, Inc.	8.000 EACH	\$833.4100	\$6,667.28
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Rogers Group, Inc.	8.000 EACH	\$2,948.9900	\$23,591.92
706-01	GUARDRAIL REMOVED			
	Rogers Group, Inc.	400.000 L.F.	\$0.6400	\$256.00
712-01	TRAFFIC CONTROL			
	Rogers Group, Inc.	1.000 LS	\$45,118.4900	\$45,118.49
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	653.000 S.F.	\$7.6600	\$5,001.98
713-02.14	FLEXIBLE DELINEATOR (WHITE)			

275.000 EACH

Rogers Group, Inc.

\$12,278.75

\$44.6500

742 46 04	CHANGEABLE MESSAGE SIGN UNIT		UNIT PRICE	CONTRACT CNU215 EXTENSION
713-10.01	Rogers Group, Inc.	4.000 EACH	\$4,848.3800	\$19,393.52
713-16.20	Rogers Group, Inc.	16.000 EACH	\$7.6600	\$122.56
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLO	DR) 590.000 EACH	\$28.9100	\$17,056.90
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER Rogers Group, Inc.	590.000 EACH	\$15.0800	\$8,897.20
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE) Rogers Group, Inc.	160.000 L.F.	\$12.5700	\$2,011.20
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)	2.000 EACH	·	Ψ2,011.20
716-05.20	Rogers Group, Inc. PAINTED PAVEMENT MARKING (6" LINE)	88.700 L.M.	\$439.9600	\$879.92
716-08.20	Rogers Group, Inc. REMOVAL OF PAVEMENT MARKING (LINE)		\$641.0900	\$56,864.68
716-12.02	Rogers Group, Inc. ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	26.600 L.M.	\$1,068.4700	\$28,421.30
716-12 05	Rogers Group, Inc. ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)	35.500 L.M.	\$4,902.4200	\$174,035.91
7 10-12.00	Rogers Group, Inc.	75.000 L.F.	\$1.2600	\$94.50
717-01	MOBILIZATION	1.000 LS		

Rogers Group, Inc.

\$44,030.22

\$44,030.2200

Rogers Group, Inc. \$1,414,655.70

TOTAL CONTRACT

Rogers Group, Inc. \$1,414,655.70

ROANE COUNTY (Contract No. CNU224 Call 057)

ER-NH-I-40-6(172),73100-4131-04,73100-8133-44,ER-NH-I-40-6(173),73100-4130-04,73100-8134-44

THE EMERGENCY SLOPE STABILIZATION ON I-40 EB BETWEEN M.M. 342 AND M.M. 344 AND I-40 WB NEAR M.M. 342.

PROJECT LENGTH - 1.311 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

DBE GOAL 9.00%

TOTAL CONTRACT

 Richard Goettle, Inc.
 \$33,333,000.00

 Keller North America, Inc.
 \$53,259,964.59

 Charles Blalock & Sons, Inc.
 \$61,669,669.71

UNIT PRICE	EXTENSION
OINII I INICE	LATENDION

ROADWAY	CATEGORY

KOADWA	AT CATEGORY		
105-01	CONSTRUCTION STAKES, LINES AND GRADES		
103-01	1.000	18	
	Richard Goettle, Inc.	\$200,000.0000	\$200,000.00
	Keller North America, Inc.	\$432,361.1300	\$432,361.13
	Charles Blalock & Sons, Inc.	\$177,955.8000	\$177,955.80
		, , , , , , , , , , , , , , , , , , , ,	, ,
201-01	CLEARING AND GRUBBING		
	1.000		
	Richard Goettle, Inc.	\$240,000.0000	\$240,000.00
	Keller North America, Inc.	\$595,787.6200	\$595,787.62
	Charles Blalock & Sons, Inc.	\$7,000,052.3600	\$7,000,052.36
		Ψ.,σσσ,σσΞ.σσσσ	ψ.,σσσ,σσ <u>=</u> .σσ
202-04.01	REMOVAL OF STRUCTURES (SHOTCRETE FACE, STA. 63+50 TO STA. 66+50	0)	
	1.000		
	Richard Goettle, Inc.	\$5,000.0000	\$5,000.00
	Keller North America, Inc.	\$2,184.9100	\$2,184.91
	Charles Blalock & Sons, Inc.	\$23,557.5700	\$23,557.57
			* ==,==:
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)		
	36,136.000	r v	
	Richard Goettle, Inc.	\$25.0000	\$903,400.00
	Keller North America, Inc.	\$47.2000	\$1,705,619.20
	Charles Blalock & Sons, Inc.	\$69.7900	\$2,521,931.44
	,	·	. , ,
203-06	WATER		
	0.300	M.G.	
	Richard Goettle, Inc.	\$10.0000	\$3.00
	Keller North America, Inc.	\$66,666.6700	\$20,000.00
	Charles Blalock & Sons, Inc.	\$4,569.6700	\$1,370.90
203-40.07	ANCHOR BLOCKS (CONCRETE, 3 STRAND TIE-BACK)		
	1,159.000	EACH	
	Richard Goettle, Inc.	\$2,000.0000	\$2,318,000.00
	Keller North America, Inc.	\$1,423.7400	\$1,650,114.66
	Charles Blalock & Sons, Inc.	\$5,000.0000	\$5,795,000.00
203-40.08	ANCHOR BLOCKS (CONCRETE, 7 STRAND TIE-BACK)		
	525.000	EACH	
	Richard Goettle, Inc.	\$3,000.0000	\$1,575,000.00
	Keller North America, Inc.	\$2,768.5600	\$1,453,494.00
	Charles Blalock & Sons, Inc.	\$7,500.0000	\$3,937,500.00
203-40.09	ANCHOR BLOCKS (CONCRETE, 9 STRAND TIE-BACK)		
	38.000	EACH	
	Richard Goettle, Inc.	\$3,000.0000	\$114,000.00
	Keller North America, Inc.	\$4,530.0300	\$172,141.14
	Charles Blalock & Sons, Inc.	\$12,000.0000	\$456,000.00

				CONTRACT CN022
			UNIT PRICE	EXTENSION
203-40.12	TIE-BACK ANCHORS (3-STRAND UNCLASSIFIED)			
		200,175.000 L.F.		
	Richard Goettle, Inc.		\$50.0000	\$10,008,750.00
	Keller North America, Inc.		\$98.3600	\$19,689,213.00
	Charles Blalock & Sons, Inc.		\$54.1700	\$10,843,479.75
203-40.19	TIE-BACK ANCHORS (7-STRAND UNCLASSIFIED)			
	,	97,920.000 L.F.		
	Richard Goettle, Inc.		\$60.0000	\$5,875,200.00
	Keller North America, Inc.		\$105.7100	\$10,351,123.20
	Charles Blalock & Sons, Inc.		\$68.5400	\$6,711,436.80
203-40.20	TIE-BACK ANCHORS (9-STRAND UNCLASSIFIED)			
	·	8,420.000 L.F.		
	Richard Goettle, Inc.		\$80.0000	\$673,600.00
	Keller North America, Inc.		\$124.1300	\$1,045,174.60
	Charles Blalock & Sons, Inc.		\$76.2800	\$642,277.60
203-40.21	ANCHOR HOLE ORIENTATION MEASUREMENT			
		50.000 EACH		
	Richard Goettle, Inc.		\$500.0000	\$25,000.00
	Keller North America, Inc.		\$1,707.3200	\$85,366.00
	Charles Blalock & Sons, Inc.		\$2,211.0600	\$110,553.00
203-50	CONSTRUCTION OF HAUL ROAD			
		1.000 LS		
	Richard Goettle, Inc.		\$560,000.0000	\$560,000.00
	Keller North America, Inc.		\$253,618.9000	\$253,618.90
	Charles Blalock & Sons, Inc.		\$4,896,000.0000	\$4,896,000.00
204-14	CORE DRILLING FOR PILES(ROCK)			
		1,085.000 L.F.		
	Richard Goettle, Inc.	•	\$200.0000	\$217,000.00
	Keller North America, Inc.		\$476.0700	\$516,535.95
	Charles Blalock & Sons, Inc.		\$276.3800	\$299,872.30
204-15	CORE DRILLING FOR PILES(SOIL)			
	` '	1,240.000 L.F.		
	Richard Goettle, Inc.		\$200.0000	\$248,000.00
	Keller North America, Inc.		\$202.5900	\$251,211.60
	Charles Blalock & Sons, Inc.		\$193.4700	\$239,902.80
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		9.100 L.M.		
	Richard Goettle, Inc.		\$2,000.0000	\$18,200.00
	Keller North America, Inc.		\$2,840.4500	\$25,848.10
	Charles Blalock & Sons, Inc.		\$2,829.7000	\$25,750.27

			UNIT PRICE	EXTENSION
209-02.07	18" TEMPORARY SLOPE DRAIN			
		945.000 L.F.		
	Richard Goettle, Inc.		\$29.0000	\$27,405.00
	Keller North America, Inc.		\$49.9500	\$47,202.75
	Charles Blalock & Sons, Inc.		\$26.0300	\$24,598.35
209-05	SEDIMENT REMOVAL			
		49.000 C.Y.		
	Richard Goettle, Inc.		\$50.0000	\$2,450.00
	Keller North America, Inc.		\$28.1500	\$1,379.35
	Charles Blalock & Sons, Inc.		\$175.1600	\$8,582.84
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		6,756.000 L.F.		
	Richard Goettle, Inc.		\$3.0000	\$20,268.00
	Keller North America, Inc.		\$9.7200	\$65,668.32
	Charles Blalock & Sons, Inc.		\$3.8500	\$26,010.60
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		644.000 L.F.		
	Richard Goettle, Inc.		\$2.0000	\$1,288.00
	Keller North America, Inc.		\$27.8700	\$17,948.28
	Charles Blalock & Sons, Inc.		\$1.6500	\$1,062.60
209-08.07	ROCK CHECK DAM PER			
		27.000 EACH		
	Richard Goettle, Inc.		\$500.0000	\$13,500.00
	Keller North America, Inc.		\$1,430.7100	\$38,629.17
	Charles Blalock & Sons, Inc.		\$522.5000	\$14,107.50
209-08.08	ENHANCED ROCK CHECK DAM			
		8.000 EACH		
	Richard Goettle, Inc.		\$800.0000	\$6,400.00
	Keller North America, Inc.		\$2,073.1300	\$16,585.04
	Charles Blalock & Sons, Inc.		\$929.5000	\$7,436.00
209-40.41	CATCH BASIN FILTER ASSEMBLY(TYPE 1)			
		2.000 EACH		
	Richard Goettle, Inc.		\$750.0000	\$1,500.00
	Keller North America, Inc.		\$6,514.7500	\$13,029.50
	Charles Blalock & Sons, Inc.		\$880.0000	\$1,760.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		9,836.000 TON		
	Richard Goettle, Inc.		\$40.0000	\$393,440.00
	Keller North America, Inc.		\$45.0200	\$442,816.72
	Charles Blalock & Sons, Inc.		\$44.0000	\$432,784.00

			UNIT PRICE	EXTENSION
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN	G B-M2		
		1,758.000 TON		
	Richard Goettle, Inc.		\$136.0000	\$239,088.00
	Keller North America, Inc.		\$155.8200	\$273,931.56
	Charles Blalock & Sons, Inc.		\$149.6000	\$262,996.80
307-03.09	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADIN	GC		
	, , , , ,	8,330.000 TON		
	Richard Goettle, Inc.	3,000.000 1 0.11	\$106.0000	\$882,980.00
	Keller North America, Inc.		\$119.6300	\$996,517.90
	Charles Blalock & Sons, Inc.		\$116.6000	\$971,278.00
	Chance Blaton & Cone, Inc.		Ψ110.0000	ψον 1,210.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		2.000 TON		
	Richard Goettle, Inc.		\$2,000.0000	\$4,000.00
	Keller North America, Inc.		\$5,057.3700	\$10,114.74
	Charles Blalock & Sons, Inc.		\$2,200.0000	\$4,400.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		99.000 TON		
	Richard Goettle, Inc.	33.333 13.1	\$760.0000	\$75,240.00
	Keller North America, Inc.		\$909.7200	\$90,062.28
	Charles Blalock & Sons, Inc.		\$836.0000	\$82,764.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	,	17.000 TON		
	Richard Goettle, Inc.		\$485.0000	\$8,245.00
	Keller North America, Inc.		\$875.2100	\$14,878.57
	Charles Blalock & Sons, Inc.		\$533.5000	\$9,069.50
<i>4</i> 11 - 03 10	ACS MIX(PG76-22) GRADING D			
	Noo minki oro 22) ora izmo z	578.000 TON		
	Richard Goettle, Inc.	378.000 1014	\$170.0000	\$98,260.00
	Keller North America, Inc.		\$200.5100	\$115,894.78
	Charles Blalock & Sons, Inc.		\$187.0000	\$108,086.00
	Charles Bialock & Sons, Inc.		φ107.0000	\$100,000.00
411-03.23	ACS MIX (PG76-22) OGFC			
		5,964.000 TON		
	Richard Goettle, Inc.		\$135.0000	\$805,140.00
	Keller North America, Inc.		\$152.4400	\$909,152.16
	Charles Blalock & Sons, Inc.		\$148.5000	\$885,654.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		8.700 L.M.		
	Richard Goettle, Inc.		\$800.0000	\$6,960.00
	Keller North America, Inc.		\$1,432.2100	\$12,460.23
	Charles Blalock & Sons, Inc.		\$651.4200	\$5,667.35

				CONTRACT CN0224
			UNIT PRICE	EXTENSION
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		9,881.000 TON		
	Richard Goettle, Inc.	·	\$34.0000	\$335,954.00
	Keller North America, Inc.		\$38.3500	\$378,936.35
	Charles Blalock & Sons, Inc.		\$37.4000	\$369,549.40
502-03.01	CEMENT GROUTING			
		263,200.000 C.F.		
	Richard Goettle, Inc.		\$5.0000	\$1,316,000.00
	Keller North America, Inc.		\$22.0000	\$5,790,400.00
	Charles Blalock & Sons, Inc.		\$24.3200	\$6,401,024.00
604-01.01	CLASS A CONCRETE (ROADWAY)			
		8.000 C.Y.		
	Richard Goettle, Inc.		\$1,000.0000	\$8,000.00
	Keller North America, Inc.		\$1,647.6800	\$13,181.44
	Charles Blalock & Sons, Inc.		\$1,558.3900	\$12,467.12
604-01.02	STEEL BAR REINFORCEMENT (ROADWAY)			
		214.000 LB.		
	Richard Goettle, Inc.		\$1.0000	\$214.00
	Keller North America, Inc.		\$1.1100	\$237.54
	Charles Blalock & Sons, Inc.		\$13.8800	\$2,970.32
604-07.01	RETAINING WALL (SOLDIER PILE WALL)			
		4,385.000 S.F.		
	Richard Goettle, Inc.		\$55.0000	\$241,175.00
	Keller North America, Inc.		\$42.4400	\$186,099.40
	Charles Blalock & Sons, Inc.		\$57.0700	\$250,251.95
607-02.30	15IN PIPE CULVERT			
		140.000 L.F.		
	Richard Goettle, Inc.		\$100.0000	\$14,000.00
	Keller North America, Inc.		\$88.8900	\$12,444.60
	Charles Blalock & Sons, Inc.		\$141.6400	\$19,829.60
607-03.03	18" CONCRETE PIPE CULVERT (CLASS IV)			
		259.000 L.F.		
	Richard Goettle, Inc.		\$150.0000	\$38,850.00
	Keller North America, Inc.		\$400.2700	\$103,669.93
	Charles Blalock & Sons, Inc.		\$147.9900	\$38,329.41
607-41.02	15" SLOPE DRAIN PIPE			
		144.000 L.F.		
	Richard Goettle, Inc.		\$100.0000	\$14,400.00
	Keller North America, Inc.		\$97.6300	\$14,058.72
	Charles Blalock & Sons, Inc.		\$26.5500	\$3,823.20

		UNIT PRICE	EXTENSION
607-41.04 24" SLOPE DRAIN PIPE			
	146.000 L.F.		
Richard Goettle, Inc.		\$200.0000	\$29,200.00
Keller North America, Inc.		\$124.1200	\$18,121.52
Charles Blalock & Sons, Inc.		\$42.6600	\$6,228.36
610-12.02 HORIZONTAL DRAINS			
	10,650.000 L.F.		
Richard Goettle, Inc.		\$35.0000	\$372,750.00
Keller North America, Inc.		\$60.8700	\$648,265.50
Charles Blalock & Sons, Inc.		\$63.0200	\$671,163.00
610-12.03 HORIZONTAL DRAIN OUTLET			
	76.000 EACH		
Richard Goettle, Inc.		\$750.0000	\$57,000.00
Keller North America, Inc.		\$1,215.1200	\$92,349.12
Charles Blalock & Sons, Inc.		\$829.1500	\$63,015.40
611-01.02 MANHOLES, > 4' - 8' DEPTH			
	1.000 EACH		
Richard Goettle, Inc.		\$7,500.0000	\$7,500.00
Keller North America, Inc.		\$24,905.8100	\$24,905.81
Charles Blalock & Sons, Inc.		\$5,032.9800	\$5,032.98
611-01.03 MANHOLES, > 8' - 12' DEPTH			
	3.000 EACH		
Richard Goettle, Inc.		\$10,000.0000	\$30,000.00
Keller North America, Inc.		\$19,930.5400	\$59,791.62
Charles Blalock & Sons, Inc.		\$11,322.1400	\$33,966.42
611-07.01 CLASS A CONCRETE (PIPE ENDWALLS))		
	1.000 C.Y.		
Richard Goettle, Inc.		\$2,000.0000	\$2,000.00
Keller North America, Inc.		\$6,948.0100	\$6,948.01
Charles Blalock & Sons, Inc.		\$771.7100	\$771.71
611-07.02 STEEL BAR REINFORCEMENT (PIPE EN	DWALLS)		
	45.000 LB.		
Richard Goettle, Inc.		\$1.0000	\$45.00
Keller North America, Inc.		\$68.1400	\$3,066.30
Charles Blalock & Sons, Inc.		\$13.2800	\$597.60
611-07.31 18IN ENDWALL (SIDE DRAIN)			
	2.000 EACH		
Richard Goettle, Inc.		\$2,000.0000	\$4,000.00
Keller North America, Inc.		\$7,161.9700	\$14,323.94
Charles Blalock & Sons, Inc.		\$4,221.6200	\$8,443.24

			•	
			UNIT PRICE	EXTENSION
621-03.02	18" TEMPORARY DRAINAGE PIPE			
		1,910.000 L.F.		
	Richard Goettle, Inc.		\$50.0000	\$95,500.00
	Keller North America, Inc.		\$76.6600	\$146,420.60
	Charles Blalock & Sons, Inc.		\$71.4300	\$136,431.30
703-01	PORTLAND CEMENT CONCRETE DITCH PAVING			
		78.000 C.Y.		
	Richard Goettle, Inc.		\$500.0000	\$39,000.00
	Keller North America, Inc.		\$1,455.1000	\$113,497.80
	Charles Blalock & Sons, Inc.		\$779.4300	\$60,795.54
703-02	CEMENT CONCRETE DITCH PAVING (REINFORCED)			
		20.000 C.Y.		
	Richard Goettle, Inc.		\$1,000.0000	\$20,000.00
	Keller North America, Inc.		\$2,082.6000	\$41,652.00
	Charles Blalock & Sons, Inc.		\$980.3000	\$19,606.00
705-06.02	W BEAM GR (TYPE 2) MASH TL3 (LONG POST)			
		25.000 L.F.		
	Richard Goettle, Inc.		\$60.0000	\$1,500.00
	Keller North America, Inc.		\$248.3700	\$6,209.25
	Charles Blalock & Sons, Inc.		\$33.0000	\$825.00
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
		2.000 EACH		
	Richard Goettle, Inc.		\$3,000.0000	\$6,000.00
	Keller North America, Inc.		\$5,535.1500	\$11,070.30
	Charles Blalock & Sons, Inc.		\$3,300.0000	\$6,600.00
			+-,	, -,
705-20.25	TEMPORARY CRASH CUSHION (MASH TL-3)			
	,	6.000 EACH		
	Richard Goettle, Inc.	0.000 2/(011	\$8,500.0000	\$51,000.00
	Keller North America, Inc.		\$10,382.0900	\$62,292.54
	Charles Blalock & Sons, Inc.		\$7,150.0000	\$42,900.00
			ψ.,.σσ.σσσ	ψ.Ξ,σσσ.σσ
706-01	GUARDRAIL REMOVED			
		360.000 L.F.		
	Richard Goettle, Inc.	000.000 E.i	\$5.0000	\$1,800.00
	Keller North America, Inc.		\$18.2900	\$6,584.40
	Charles Blalock & Sons, Inc.		\$2.2000	\$792.00
	Shahoo Blalook a Gorio, inc.		Ψ2.2000	Ψ/ 02.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
·		193.000 L.F.		
	Richard Goettle, Inc.	199.000 L.I .	\$5.0000	\$965.00
	Keller North America, Inc.		\$31.3700	\$6,054.41
	Charles Blalock & Sons, Inc.		\$2.2000	\$424.60
	Shares Bidiook & Goris, IIIo.		ψ2.2000	ψ τ Ζ4.00

			LINIT PRIOF	EVELUCION.
			UNIT PRICE	EXTENSION
700 OF OF	MACHINED DID DAD (CLASS A 2)			
709-05.05	MACHINED RIP-RAP (CLASS A-3)	202 202 TON		
	Dishard Ocalilla Inc.	300.000 TON	\$50,000	#45 000 00
	Richard Goettle, Inc. Keller North America, Inc.		\$50.0000 \$65.6600	\$15,000.00 \$19,698.00
	Charles Blalock & Sons, Inc.		\$51.6500	\$19,696.00 \$15,495.00
	Onanes Blaton & Cons, mo.		ψο1.0000	Ψ10,430.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	,	45,405.000 TON		
	Richard Goettle, Inc.	,	\$45.0000	\$2,043,225.00
	Keller North America, Inc.		\$28.1500	\$1,278,150.75
	Charles Blalock & Sons, Inc.		\$48.2500	\$2,190,791.25
709-05.09	MACHINED RIP-RAP (CLASS C)			
		40.000 TON		
	Richard Goettle, Inc.		\$100.0000	\$4,000.00
	Keller North America, Inc.		\$194.1400	\$7,765.60
	Charles Blalock & Sons, Inc.		\$74.0100	\$2,960.40
700 OF 40	MACHINED DID DAD (CDOUTED)			
709-05.10	MACHINED RIP-RAP (GROUTED)			
	B: 1 10 W 1	26.000 C.Y.	Фооо оооо	# F 000 00
	Richard Goettle, Inc.		\$200.0000	\$5,200.00
	Keller North America, Inc. Charles Blalock & Sons, Inc.		\$527.5300 \$343.2800	\$13,715.78 \$8,925.28
	Onanes Blaton & Cons, me.		ψ0-10.2000	ψ0,323.20
711-05.71	51IN SINGLE SLOPE CONCRETE BARRIER WALL			
		300.000 L.F.		
	Richard Goettle, Inc.		\$165.0000	\$49,500.00
	Keller North America, Inc.		\$487.9000	\$146,370.00
	Charles Blalock & Sons, Inc.		\$188.6200	\$56,586.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Richard Goettle, Inc.		\$200,000.0000	\$200,000.00
	Keller North America, Inc.		\$319,585.0500	\$319,585.05
	Charles Blalock & Sons, Inc.		\$352,862.1400	\$352,862.14
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		6,300.000 L.F.		
	Richard Goettle, Inc.	3,233333	\$51.0000	\$321,300.00
	Keller North America, Inc.		\$37.3400	\$235,242.00
	Charles Blalock & Sons, Inc.		\$70.4000	\$443,520.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		720.000 EACH		
	Richard Goettle, Inc.		\$35.0000	\$25,200.00
	Keller North America, Inc.		\$57.8500	\$41,652.00
	Charles Blalock & Sons, Inc.		\$38.5000	\$27,720.00

			UNIT PRICE	EXTENSION
712-04 50	BARRIER RAIL DELINEATOR			
712-04.50	BARRIER RAIE DELINEATOR	280.000 EACH		
	Richard Goettle, Inc.		\$11.0000	\$3,080.00
	Keller North America, Inc.		\$52.4100	\$14,674.80
	Charles Blalock & Sons, Inc.		\$22.0000	\$6,160.00
712-06	SIGNS (CONSTRUCTION)			
		2,466.000 S.F.		
	Richard Goettle, Inc.		\$7.0000	\$17,262.00
	Keller North America, Inc.		\$12.3400	\$30,430.44
	Charles Blalock & Sons, Inc.		\$8.8000	\$21,700.80
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH		
	Richard Goettle, Inc.		\$1,200.0000	\$4,800.00
	Keller North America, Inc.		\$4,146.2600	\$16,585.04
	Charles Blalock & Sons, Inc.		\$1,980.0000	\$7,920.00
712-08.10	MOBILE MESSAGE SIGN UNIT W/ATTENUATOR			
		1,000.000 HOUR		
	Richard Goettle, Inc.		\$100.0000	\$100,000.00
	Keller North America, Inc.		\$122.3600	\$122,360.00
	Charles Blalock & Sons, Inc.		\$140.8000	\$140,800.00
712-09.08	REMOVABLE PAVEMENT MARKING (6" line)			
		50,230.000 L.F.		
	Richard Goettle, Inc.		\$2.0000	\$100,460.00
	Keller North America, Inc. Charles Blalock & Sons, Inc.		\$3.2800 \$2.6400	\$164,754.40 \$132,607.20
	Challes Blatter & 30115, IIIC.		φ2.0400	φ132,007.20
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
		204.000 EACH		•
	Richard Goettle, Inc. Keller North America, Inc.		\$32.0000	\$6,528.00
	Charles Blalock & Sons, Inc.		\$90.7100 \$37.4000	\$18,504.84 \$7,629.60
	Challes Dialock & 3011s, Inc.		ψ37. 4 000	\$7,029.00
713-02.15	FLEXIBLE DELINEATOR (YELLOW)			
		82.000 EACH		
	Richard Goettle, Inc.		\$32.0000	\$2,624.00
	Keller North America, Inc.		\$172.7700	\$14,167.14
	Charles Blalock & Sons, Inc.		\$37.4000	\$3,066.80
716-01.11	RAISED PVMT MARKERS (BI-DIRECTIONAL) (1 COL	OR LENS)		
		420.000 EACH		
	Richard Goettle, Inc.		\$9.0000	\$3,780.00
	Keller North America, Inc.		\$40.1200	\$16,850.40
	Charles Blalock & Sons, Inc.		\$11.0000	\$4,620.00

	UNIT PRICE	EXTENSION
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)		
708.000 EACH		
Richard Goettle, Inc.	\$27.0000	\$19,116.00
Keller North America, Inc.	\$54.7800	\$38,784.24
Charles Blalock & Sons, Inc.	\$25.3000	\$17,912.40
716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)		
390.000 EACH		
Richard Goettle, Inc.	\$27.0000	\$10,530.00
Keller North America, Inc.	\$67.7400	\$26,418.60
Charles Blalock & Sons, Inc.	\$25.3000	\$9,867.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
1,098.000 EACH		
Richard Goettle, Inc.	\$9.0000	\$9,882.00
Keller North America, Inc.	\$26.9100	\$29,547.18
Charles Blalock & Sons, Inc.	\$7.7000	\$8,454.60
716-05.02 PAINTED PAVEMENT MARKING (8" BARRIER LINE)		
37,763.000 L.F.		
Richard Goettle, Inc.	\$3.0000	\$113,289.00
Keller North America, Inc.	\$0.6300	\$23,790.69
Charles Blalock & Sons, Inc.	\$0.3300	\$12,461.79
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)		
2.400 L.M.		
Richard Goettle, Inc.	\$975.0000	\$2,340.00
Keller North America, Inc.	\$6,077.1000	\$14,585.04
Charles Blalock & Sons, Inc.	\$1,265.0000	\$3,036.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
10.900 L.M.		
Richard Goettle, Inc.	\$5,225.0000	\$56,952.50
Keller North America, Inc.	\$7,421.1600	\$80,890.64
Charles Blalock & Sons, Inc.	\$5,280.0000	\$57,552.00
717-01 MOBILIZATION		
1.000 LS		
Richard Goettle, Inc.	\$1,698,207.0000	\$1,698,207.00
Keller North America, Inc.	\$1,211,517.1800	\$1,211,517.18
Charles Blalock & Sons, Inc.	\$3,000,000.0000	\$3,000,000.00
740-06.01 GEOMEMBRANE		
988.000 S.Y.		
Richard Goettle, Inc.	\$20.0000	\$19,760.00
Keller North America, Inc.	\$8.4000	\$8,299.20
Charles Blalock & Sons, Inc.	\$9.4300	\$9,316.84

		0011111101
	UNIT PRIC	E EXTENSION
740-10.03 GEOTEXTILE (TYPE III)(EROSION CONTROL)		
	516.000 S.Y.	
Richard Goettle, Inc.	\$7.0000	\$3,612.00
Keller North America, Inc.	\$12.6700	
Charles Blalock & Sons, Inc.	\$7.4300	
onance Blateak & Cone, me.	ψ1.188C	φο,οοο.οο
740-10.04 GEOTEXTILE (TYPE IV)(STABILIZATION)		
740-10.04 GEOTEXTILE (THE W)(STABILIZATION)	47 000 000 O V	
	47,000.000 S.Y.	
Richard Goettle, Inc.	\$4.0000	
Keller North America, Inc.	\$2.7800	
Charles Blalock & Sons, Inc.	\$4.1300	\$194,110.00
740-11.03 TEMPORARY SEDIMENT TUBE 18IN		
	810.000 L.F.	
Richard Goettle, Inc.	\$5.0000	\$4,050.00
Keller North America, Inc.	\$8.1900	\$6,633.90
Charles Blalock & Sons, Inc.	\$4.9500	\$4,009.50
740-11.05 TEMPORARY SEDIMENT TUBE 24IN		
	260.000 L.F.	
Richard Goettle, Inc.	\$15.0000	\$3,900.00
Keller North America, Inc.	\$19.7100	
Charles Blalock & Sons, Inc.	\$14.9600	
	•	, , , , , , , , , ,
795-03.01 1-1/2IN PVC WATER LINE		
	6.460.000 5	
Dish and Ossella Jus	6,160.000 L.F.	Φοο οοο οο
Richard Goettle, Inc.	\$5.0000	
Keller North America, Inc.	\$16.6700	
Charles Blalock & Sons, Inc.	\$35.5600	\$219,049.60
224 04 02 OD OWN VETOU MINTURE (MITH MIN OU)		
801-01.02 CROWN VETCH MIXTURE (WITH MULCH)		
	20.500 UNIT	
Richard Goettle, Inc.	\$90.0000	
Keller North America, Inc.	\$329.9900	
Charles Blalock & Sons, Inc.	\$99.0000	\$2,029.50
801-01.07 TEMPORARY SEEDING (WITH MULCH)		
	40.000 UNIT	
Richard Goettle, Inc.	\$50.0000	\$2,000.00
Keller North America, Inc.	\$164.8800	\$6,595.20
Charles Blalock & Sons, Inc.	\$55.0000	\$2,200.00
801-01.16 BONDED FIBER MATRIX HYDROMULCH (W/PE	ERMANENT SEED)	
	80.000 UNIT	
Richard Goettle, Inc.	\$125.0000	\$10,000.00
Keller North America, Inc.	\$142.5500	
Charles Blalock & Sons, Inc.	\$137.5000	
2	ψ1011000X	ψ,σσσ.σσ

				CONTRACT CNU224
			UNIT PRICE	EXTENSION
801-02.0	8 TEMPORARY SEEDING (WITHOUT MULCH)			
		20.500 UNIT		
	Richard Goettle, Inc.		\$40.0000	\$820.00
	Keller North America, Inc.		\$292.2900	\$5,991.95
	Charles Blalock & Sons, Inc.		\$44.0000	\$902.00
801-03	WATER (SEEDING & SODDING)			
		10.100 M.G.		
	Richard Goettle, Inc.		\$175.0000	\$1,767.50
	Keller North America, Inc.		\$651.4600	\$6,579.75

Charles Blalock & Sons, Inc.

\$192.5000

\$1,944.25

Richard Goettle, Inc.	\$33,333,000.00
Keller North America, Inc.	\$53,259,964.59
Charles Blalock & Sons, Inc.	\$61,669,669.71

TOTAL CONTRACT

Richard Goettle, Inc.	\$33,333,000.00
Keller North America, Inc.	\$53,259,964.59
Charles Blalock & Sons, Inc.	\$61,669,669.71

RUTHERFORD COUNTY (Contract No. CNU208 Call 058)

STP-99(63),75013-8254-14

THE RESURFACING ON S.R. 99 FROM NEAR ROCKVALE ROAD (L.M. 6.94) TO EAST OF CLEARIDGE DRIVE (L.M. 12.45).

PROJECT LENGTH - 5.51 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 4.50%

	TOTAL CONTRACT
Volunteer Paving, LLC	\$812,714.32
Charles Deweese Construction, Inc	\$830,885.16
BWI MTN ii Inc. & dba Blue Water Industries	\$836,149.05
Rogers Group, Inc.	\$839,099.00
Jones Bros. Contractors, LLC	\$886,882.00
Vulcan Construction Materials, LLC	\$939,710.00

			CO	NTRACT CNU208
			UNIT PRICE	EXTENSION
ROADWA	Y CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		11.900 L.M.		
	Volunteer Paving, LLC		\$500.0000	\$5,950.00
	Charles Deweese Construction, Inc		\$712.5700	\$8,479.58
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,035.0000	\$12,316.50
	Rogers Group, Inc.		\$1,100.0000	\$13,090.00
	Jones Bros. Contractors, LLC		\$800.0000	\$9,520.00
	Vulcan Construction Materials, LLC		\$1,000.0000	\$11,900.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		1,517.000 TON		
	Volunteer Paving, LLC		\$26.0900	\$39,578.53
	Charles Deweese Construction, Inc		\$24.0300	\$36,453.51
	BWI MTN ii Inc. & dba Blue Water Industries		\$22.7500	\$34,511.75
	Rogers Group, Inc.		\$15.0000	\$22,755.00
	Jones Bros. Contractors, LLC		\$20.0000	\$30,340.00
	Vulcan Construction Materials, LLC		\$18.5000	\$28,064.50
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		200.000 TON		
	Volunteer Paving, LLC		\$80.0000	\$16,000.00
	Charles Deweese Construction, Inc		\$76.3000	\$15,260.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$72.2500	\$14,450.00
	Rogers Group, Inc.		\$85.5000	\$17,100.00
	Jones Bros. Contractors, LLC		\$87.0000	\$17,400.00
	Vulcan Construction Materials, LLC		\$85.0000	\$17,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		61.000 TON		
	Volunteer Paving, LLC		\$628.3000	\$38,326.30
	Charles Deweese Construction, Inc		\$580.0000	\$35,380.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$850.0000	\$51,850.00
	Rogers Group, Inc.		\$550.0000	\$33,550.00
	Jones Bros. Contractors, LLC		\$530.0000	\$32,330.00
	Vulcan Construction Materials, LLC		\$695.0000	\$42,395.00

411-03.12 ACS MIX(PG64-22) THIN LIFT D ASPHALT

Volunteer Paving, LLC	\$78.0500	\$462,446.25
Charles Deweese Construction, Inc	\$80.6700	\$477,969.75
BWI MTN ii Inc. & dba Blue Water Industries	\$82.5000	\$488,812.50
Rogers Group, Inc.	\$89.0000	\$527,325.00
Jones Bros. Contractors, LLC	\$89.0000	\$527,325.00
Vulcan Construction Materials, LLC	\$101.0000	\$598,425.00

5,925.000 TON

			CO	NIRACI CNU208
			UNIT PRICE	EXTENSION
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8	•		
	VI (B : 110	7.300 L.M.	#4 000 0000	Φο 400 00
	Volunteer Paving, LLC		\$1,300.0000	\$9,490.00
	Charles Deweese Construction, Inc		\$1,144.1000	\$8,351.93
	BWI MTN ii Inc. & dba Blue Water Industries		\$750.0000	\$5,475.00
	Rogers Group, Inc.		\$1,000.0000	\$7,300.00
	Jones Bros. Contractors, LLC		\$750.0000	\$5,475.00
	Vulcan Construction Materials, LLC		\$750.0000	\$5,475.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Volunteer Paving, LLC		\$15,750.0000	\$15,750.00
	Charles Deweese Construction, Inc		\$19,568.1200	\$19,568.12
	BWI MTN ii Inc. & dba Blue Water Industries		\$30,000.0000	\$30,000.00
	Rogers Group, Inc.		\$17,060.5000	\$17,060.50
	Jones Bros. Contractors, LLC		\$48,000.0000	\$48,000.00
	Vulcan Construction Materials, LLC		\$19,250.0000	\$19,250.00
712-04 01	FLEXIBLE DRUMS (CHANNELIZING)			
7 12 04.01	TEENBLE BROWN (OFFICIALIEMS)	50.000 EACH		
	Volunteer Paving, LLC		\$25.0000	\$1,250.00
	Charles Deweese Construction, Inc		\$62.6000	\$3,130.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$5.0000	\$250.00
	Rogers Group, Inc.		\$5.3500	\$267.50
	Jones Bros. Contractors, LLC		\$5.0000	\$250.00
	Vulcan Construction Materials, LLC		\$5.0000	\$250.00
	·			
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Volunteer Paving, LLC		\$10.0000	\$40.00
	Charles Deweese Construction, Inc		\$52.1700	\$208.68
	BWI MTN ii Inc. & dba Blue Water Industries		\$2.0000	\$8.00
	Rogers Group, Inc.		\$2.1000	\$8.40
	Jones Bros. Contractors, LLC		\$1.0000	\$4.00
	Vulcan Construction Materials, LLC		\$5.0000	\$20.00
712-06	SIGNS (CONSTRUCTION)			
	•	1,057.000 S.F.		
	Volunteer Paving, LLC		\$7.5000	\$7,927.50
	Charles Deweese Construction, Inc		\$13.0400	\$13,783.28
	BWI MTN ii Inc. & dba Blue Water Industries		\$5.9000	\$6,236.30
	Rogers Group, Inc.		\$6.3000	\$6,659.10
	Jones Bros. Contractors, LLC		\$7.0000	\$7,399.00
	Vulcan Construction Materials, LLC		\$9.5000	\$10,041.50
712-00 02	APPOW BOARD (TYPE C)			
112-08.03	ARROW BOARD (TYPE C)	2.000 EACH		
	Volunteer Paving, LLC	2.000 LAOI1	\$250.0000	\$500.00
	Charles Deweese Construction, Inc		\$2,086.8200	\$4,173.64
	BWI MTN ii Inc. & dba Blue Water Industries		\$2,000.0200	\$4,173.04
	Rogers Group, Inc.		\$215.0000	\$430.00 \$1.700.00
	Jones Bros. Contractors, LLC		\$850.0000 \$875.0000	\$1,700.00 \$1,750.00
	Vulcan Construction Materials, LLC		\$875.0000	\$1,750.00
				PAGE 3

			C	ONTRACT CNU208
			UNIT PRICE	EXTENSION
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Volunteer Paving, LLC		\$6,500.0000	\$13,000.00
	Charles Deweese Construction, Inc		\$8,868.9700	\$17,737.94
	BWI MTN ii Inc. & dba Blue Water Industries		\$4,850.0000	\$9,700.00
	Rogers Group, Inc.		\$3,000.0000	\$6,000.00
	Jones Bros. Contractors, LLC		\$2,500.0000	\$5,000.00
	Vulcan Construction Materials, LLC		\$6,500.0000	\$13,000.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DII	R) (1 COLOR)		
		995.000 EACH		
	Volunteer Paving, LLC		\$18.0000	\$17,910.00
	Charles Deweese Construction, Inc		\$31.3000	\$31,143.50
	BWI MTN ii Inc. & dba Blue Water Industries		\$30.0000	\$29,850.00
	Rogers Group, Inc.		\$32.0000	\$31,840.00
	Jones Bros. Contractors, LLC		\$30.0000	\$29,850.00
	Vulcan Construction Materials, LLC		\$30.0000	\$29,850.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO	-DIR)(1 COLOR)		
		144.000 EACH		
	Volunteer Paving, LLC		\$30.0000	\$4,320.00
	Charles Deweese Construction, Inc		\$31.3000	\$4,507.20
	BWI MTN ii Inc. & dba Blue Water Industries		\$30.0000	\$4,320.00
	Rogers Group, Inc.		\$32.0000	\$4,608.00
	Jones Bros. Contractors, LLC		\$30.0000	\$4,320.00
	Vulcan Construction Materials, LLC		\$30.0000	\$4,320.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		743.000 EACH		
	Volunteer Paving, LLC		\$10.0000	\$7,430.00
	Charles Deweese Construction, Inc		\$10.4300	\$7,749.49
	BWI MTN ii Inc. & dba Blue Water Industries		\$8.0000	\$5,944.00
	Rogers Group, Inc.		\$8.5000	\$6,315.50
	Jones Bros. Contractors, LLC		\$8.0000	\$5,944.00
	Vulcan Construction Materials, LLC		\$8.0000	\$5,944.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIP	PING)		
		2,290.000 S.Y.		
	Volunteer Paving, LLC		\$3.5000	\$8,015.00
	Charles Deweese Construction, Inc		\$12.5200	\$28,670.80
	BWI MTN ii Inc. & dba Blue Water Industries		\$10.0000	\$22,900.00
	Rogers Group, Inc.		\$10.7500	\$24,617.50
	Jones Bros. Contractors, LLC		\$10.0000	\$22,900.00
	Vulcan Construction Materials, LLC		\$10.0000	\$22,900.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		230.000 L.F.		
	Volunteer Paving, LLC		\$15.0000	\$3,450.00
	Charles Deweese Construction, Inc		\$15.6500	\$3,599.50
	BWI MTN ii Inc. & dba Blue Water Industries		\$15.0000	\$3,450.00
	Rogers Group, Inc.		\$16.0000	\$3,680.00
	Jones Bros. Contractors, LLC		\$15.0000	\$3,450.00
	Vulcan Construction Materials, LLC		\$15.0000	\$3,450.00
				PAGE 4

			00	MINAGI CHOZO
			UNIT PRICE	EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	,	33.000 EACH		
	Volunteer Paving, LLC		\$300.0000	\$9,900.00
	Charles Deweese Construction, Inc		\$156.5100	\$5,164.83
	BWI MTN ii Inc. & dba Blue Water Industries		\$150.0000	\$4,950.00
	Rogers Group, Inc.		\$160.0000	\$5,280.00
	Jones Bros. Contractors, LLC		\$150.0000	\$4,950.00
	Vulcan Construction Materials, LLC		\$150.0000	\$4,950.00 \$4,950.00
	vulcari construction materials, LLC		φ130.0000	\$4,930.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WA	ALK)		
		75.000 L.F.		
	Volunteer Paving, LLC		\$30.0000	\$2,250.00
	Charles Deweese Construction, Inc		\$29.2200	\$2,191.50
	BWI MTN ii Inc. & dba Blue Water Industries		\$30.0000	\$2,250.00
	Rogers Group, Inc.		\$32.0000	\$2,400.00
	Jones Bros. Contractors, LLC		\$30.0000	\$2,250.00
	Vulcan Construction Materials, LLC		\$30.0000	\$2,250.00
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)			
		0.550 L.M.		
	Volunteer Paving, LLC		\$1,000.0000	\$550.00
	Charles Deweese Construction, Inc		\$7,303.8500	\$4,017.12
	BWI MTN ii Inc. & dba Blue Water Industries		\$8,500.0000	\$4,675.00
	Rogers Group, Inc.		\$9,050.0000	\$4,977.50
	Jones Bros. Contractors, LLC		\$8,500.0000	\$4,675.00
	Vulcan Construction Materials, LLC		\$8,500.0000	\$4,675.00
	vulcan construction materials, LEC		ψ0,500.0000	ψ+,070.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		10.000 L.M.		
	Volunteer Paving, LLC		\$5,000.0000	\$50,000.00
	Charles Deweese Construction, Inc		\$5,112.7000	\$51,127.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$4,800.0000	\$48,000.00
	Rogers Group, Inc.		\$5,100.0000	\$51,000.00
	Jones Bros. Contractors, LLC		\$4,800.0000	\$48,000.00
	Vulcan Construction Materials, LLC		\$4,800.0000	\$48,000.00
716 12 02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
710-13.02	STRAT THERMOT VIIIT MIRRIAG (60 mm) (6114 E114E)	11.000 L.M.		
	Volunteer Paving, LLC		\$3,000.0000	\$33,000.00
	Charles Deweese Construction, Inc		\$3,130.2200	\$34,432.42
	BWI MTN ii Inc. & dba Blue Water Industries			
	Rogers Group, Inc.		\$2,800.0000 \$2,985,0000	\$30,800.00 \$32,835,00
	-		\$2,985.0000	\$32,835.00
	Jones Bros. Contractors, LLC		\$2,800.0000	\$30,800.00
	Vulcan Construction Materials, LLC		\$2,800.0000	\$30,800.00
717-01	MOBILIZATION			
		1.000 LS		
	Volunteer Paving, LLC		\$65,630.7400	\$65,630.74
	Charles Deweese Construction, Inc		\$17,785.3700	\$17,785.37
	BWI MTN ii Inc. & dba Blue Water Industries		\$25,000.0000	\$25,000.00
	Rogers Group, Inc.		\$20,000.0000	\$20,000.00
	Jones Bros. Contractors, LLC		\$45,000.0000	\$45,000.00
	Vulcan Construction Materials, LLC		\$35,000.0000	\$35,000.00
				PAGE
				· · · -

Volunteer Paving, LLC	\$812,714.32
Charles Deweese Construction, Inc	\$830,885.16
BWI MTN ii Inc. & dba Blue Water Industries	\$836,149.05
Rogers Group, Inc.	\$839,099.00
Jones Bros. Contractors, LLC	\$886,882.00
Vulcan Construction Materials, LLC	\$939,710.00

TOTAL CONTRACT

Volunteer Paving, LLC	\$812,714.32
Charles Deweese Construction, Inc	\$830,885.16
BWI MTN ii Inc. & dba Blue Water Industries	\$836,149.05
Rogers Group, Inc.	\$839,099.00
Jones Bros. Contractors, LLC	\$886,882.00
Vulcan Construction Materials, LLC	\$939,710.00

SMITH COUNTY (Contract No. CNU218 Call 059)

STP-80(5),80006-4245-04

THE EMERGENCY SLOPE STABILIZATION ON S.R. 80 NEAR L.M. 4.2.

PROJECT LENGTH - 0.227 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2020

DBE GOAL 11.00%

	TOTAL CONTRACT	
Charles Deweese Construction, Inc	\$602,485.84	
Twin K Construction, Inc.	\$649,847.35	
Civil Constructors, LLC	\$749,814.10	
Eatherly Group, Inc.	\$784,899.50	
Adams Contracting, LLC	\$877,777.25	
Vulcan Construction Materials, LLC	\$950,609.75	

UNIT PRICE	EXTENSION
DINIT FRICE	

ROADWAY CATEGORY

ROADWA	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	00101101011011011010011010011010011010011010	1.000 LS		
	Charles Deweese Construction, Inc		\$5,753.0800	\$5,753.08
	Twin K Construction, Inc.		\$10,931.2900	\$10,931.29
	Civil Constructors, LLC		\$10,350.0000	\$10,350.00
	Eatherly Group, Inc.		\$9,900.0000	\$9,900.00
	Adams Contracting, LLC		\$15,000.0000	\$15,000.00
	Vulcan Construction Materials, LLC		\$20,000.0000	\$20,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Charles Deweese Construction, Inc		\$9,025.6600	\$9,025.66
	Twin K Construction, Inc.		\$23,259.1000	\$23,259.10
	Civil Constructors, LLC		\$10,060.0000	\$10,060.00
	Eatherly Group, Inc.		\$69,900.0000	\$69,900.00
	Adams Contracting, LLC		\$50,000.0000	\$50,000.00
	Vulcan Construction Materials, LLC		\$50,000.0000	\$50,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		4,134.000 C.Y.		
	Charles Deweese Construction, Inc		\$18.9600	\$78,380.64
	Twin K Construction, Inc.		\$12.8900	\$53,287.26
	Civil Constructors, LLC		\$31.8500	\$131,667.90
	Eatherly Group, Inc.		\$21.0000	\$86,814.00
	Adams Contracting, LLC		\$29.0000	\$119,886.00
	Vulcan Construction Materials, LLC		\$40.0000	\$165,360.00
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
		7,756.000 TON		
	Charles Deweese Construction, Inc		\$30.1100	\$233,533.16
	Twin K Construction, Inc.		\$31.4300	\$243,771.08
	Civil Constructors, LLC		\$34.7500	\$269,521.00
	Eatherly Group, Inc.		\$26.5000	\$205,534.00
	Adams Contracting, LLC		\$40.0000	\$310,240.00
	Vulcan Construction Materials, LLC		\$40.0000	\$310,240.00
209-03.21	FILTER SOCK (12 INCH)			
		868.000 L.F.		
	Charles Deweese Construction, Inc		\$5.0000	\$4,340.00
	Twin K Construction, Inc.		\$7.4300	\$6,449.24
	Civil Constructors, LLC		\$7.6500	\$6,640.20
	Eatherly Group, Inc.		\$7.0000	\$6,076.00
	Adams Contracting, LLC		\$7.0000	\$6,076.00
	Vulcan Construction Materials, LLC		\$4.0000	\$3,472.00

			CO	NIRACI CNU218
			UNIT PRICE	EXTENSION
209-05	SEDIMENT REMOVAL			
		2.000 C.Y.		
	Charles Deweese Construction, Inc		\$100.0000	\$200.00
	Twin K Construction, Inc.		\$12.6900	\$25.38
	Civil Constructors, LLC		\$25.0000	\$50.00
	Eatherly Group, Inc.		\$21.0000	\$42.00
	Adams Contracting, LLC		\$35.0000	\$70.00
	Vulcan Construction Materials, LLC		\$100.0000	\$200.00
209-09.04	SEDIMENT FILTER BAG(15' X 10')			
		3.000 EACH		
	Charles Deweese Construction, Inc		\$347.3100	\$1,041.93
	Twin K Construction, Inc.		\$1,593.1900	\$4,779.57
	Civil Constructors, LLC		\$1,635.0000	\$4,905.00
	Eatherly Group, Inc.		\$500.0000	\$1,500.00
	Adams Contracting, LLC		\$500.0000	\$1,500.00
	Vulcan Construction Materials, LLC		\$350.0000	\$1,050.00
209-65.04	TEMPORARY IN STREAM DIVERSION			
		530.000 L.F.		
	Charles Deweese Construction, Inc		\$91.5000	\$48,495.00
	Twin K Construction, Inc.		\$49.2000	\$26,076.00
	Civil Constructors, LLC		\$32.0000	\$16,960.00
	Eatherly Group, Inc.		\$150.0000	\$79,500.00
	Adams Contracting, LLC		\$75.0000	\$39,750.00
	Vulcan Construction Materials, LLC		\$100.0000	\$53,000.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING	D		
		273.000 TON		
	Charles Deweese Construction, Inc		\$38.1500	\$10,414.95
	Twin K Construction, Inc.		\$49.9200	\$13,628.16
	Civil Constructors, LLC		\$41.5000	\$11,329.50
	Eatherly Group, Inc.		\$29.0000	\$7,917.00
	Adams Contracting, LLC		\$40.0000	\$10,920.00
	Vulcan Construction Materials, LLC		\$47.0000	\$12,831.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		14.000 TON		
	Charles Deweese Construction, Inc		\$79.5300	\$1,113.42
	Twin K Construction, Inc.		\$43.9100	\$614.74
	Civil Constructors, LLC		\$74.5000	\$1,043.00
	Eatherly Group, Inc.		\$49.0000	\$686.00
	Adams Contracting, LLC		\$50.0000	\$700.00
	Vulcan Construction Materials, LLC		\$100.0000	\$1,400.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) G	GRADING A		
		144.000 TON		
	Charles Deweese Construction, Inc		\$94.1400	\$13,556.16
	Twin K Construction, Inc.		\$165.6900	\$23,859.36
	Civil Constructors, LLC		\$160.0000	\$23,040.00
	Eatherly Group, Inc.		\$187.0000	\$26,928.00
	Adams Contracting, LLC		\$159.0000	\$22,896.00
	Vulcan Construction Materials, LLC		\$156.0000	\$22,464.00
				PAGE

				NIRACI CNU218
			UNIT PRICE	EXTENSION
207.04.04	ACRUAL T COMORETE MIX (ROCA CO) (RRMR LIM) OR	ADINO D MO		
307-01.08	B ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GR	47.000 TON		
	Charles Deweese Construction, Inc		\$132.6300	\$6,233.61
	Twin K Construction, Inc.		\$169.9400	\$7,987.18
	Civil Constructors, LLC		\$168.0000	\$7,896.00
	Eatherly Group, Inc.		\$192.0000	\$9,024.00
	Adams Contracting, LLC		\$163.0000	\$7,661.00
	Vulcan Construction Materials, LLC		\$160.0000	\$7,520.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		1.000 TON		
	Charles Deweese Construction, Inc		\$750.0000	\$750.00
	Twin K Construction, Inc.		\$1,009.0200	\$1,009.02
	Civil Constructors, LLC		\$1,241.0000	\$1,241.00
	Eatherly Group, Inc.		\$950.0000	\$950.00
	Adams Contracting, LLC		\$975.0000	\$975.00
	Vulcan Construction Materials, LLC		\$950.0000	\$950.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		2.000 TON		
	Charles Deweese Construction, Inc		\$200.0000	\$400.00
	Twin K Construction, Inc.		\$70.1000	\$140.20
	Civil Constructors, LLC		\$82.0000	\$164.00
	Eatherly Group, Inc.		\$66.0000	\$132.00
	Adams Contracting, LLC		\$69.0000	\$138.00
	Vulcan Construction Materials, LLC		\$66.0000	\$132.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		2.000 TON		
	Charles Deweese Construction, Inc		\$700.0000	\$1,400.00
	Twin K Construction, Inc.		\$1,009.0200	\$2,018.04
	Civil Constructors, LLC		\$950.0000	\$1,900.00
	Eatherly Group, Inc.		\$950.0000	\$1,900.00
	Adams Contracting, LLC		\$975.0000	\$1,950.00
	Vulcan Construction Materials, LLC		\$950.0000	\$1,900.00
411-01.10	D ACS MIX(PG64-22) GRADING D			
		230.000 TON		
	Charles Deweese Construction, Inc		\$109.8000	\$25,254.00
	Twin K Construction, Inc.		\$194.3700	\$44,705.10
	Civil Constructors, LLC		\$167.0000	\$38,410.00
	Eatherly Group, Inc.		\$219.0000	\$50,370.00
	Adams Contracting, LLC		\$186.0000	\$42,780.00
	Vulcan Construction Materials, LLC		\$183.0000	\$42,090.00
415-01.02	2 COLD PLANING BITUMINOUS PAVEMENT			
		3,195.000 S.Y.		
	Charles Deweese Construction, Inc		\$2.3400	\$7,476.30
	Twin K Construction, Inc.		\$4.8300	\$15,431.85
	Civil Constructors, LLC		\$5.0000	\$15,975.00
	Eatherly Group, Inc.		\$5.5000	\$17,572.50
	Adams Contracting, LLC		\$4.7500	\$15,176.25
	Vulcan Construction Materials, LLC		\$4.5500	\$14,537.25
				PAGE 4

			CC	DNIRACI CNU218
			UNIT PRICE	EXTENSION
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
		800.000 L.F.		
	Charles Deweese Construction, Inc		\$24.9100	\$19,928.00
	Twin K Construction, Inc.		\$25.2300	\$20,184.00
	Civil Constructors, LLC		\$20.0000	\$16,000.00
	Eatherly Group, Inc.		\$28.5000	\$22,800.00
	Adams Contracting, LLC		\$23.7500	\$19,000.00
	Vulcan Construction Materials, LLC		\$18.5000	\$14,800.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH T	L-3		
		2.000 EACH		
	Charles Deweese Construction, Inc		\$2,701.2500	\$5,402.50
	Twin K Construction, Inc.		\$2,734.9700	\$5,469.94
	Civil Constructors, LLC		\$2,850.0000	\$5,700.00
	Eatherly Group, Inc.		\$3,100.0000	\$6,200.00
	Adams Contracting, LLC		\$2,575.0000	\$5,150.00
	Vulcan Construction Materials, LLC		\$2,600.0000	\$5,200.00
705-08 51	PORTABLE IMPACT ATTENUATOR NCHRP350 T	1.3		
703-00.31	TONTABLE IIIII AOT ATTENDATOR NOTIKI 330 T	2.000 EACH		
	Observation les	2.000 EACH	ФС 040 0000	#40.007.00
	Charles Deweese Construction, Inc		\$6,818.6900	\$13,637.38
	Twin K Construction, Inc.		\$7,434.8700	\$14,869.74
	Civil Constructors, LLC		\$6,150.0000	\$12,300.00
	Eatherly Group, Inc.		\$7,900.0000	\$15,800.00
	Adams Contracting, LLC		\$6,500.0000	\$13,000.00
	Vulcan Construction Materials, LLC		\$7,500.0000	\$15,000.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		470.000 L.F.		
	Charles Deweese Construction, Inc		\$3.6200	\$1,701.40
	Twin K Construction, Inc.		\$5.3100	\$2,495.70
	Civil Constructors, LLC		\$11.0000	\$5,170.00
	Eatherly Group, Inc.		\$6.0000	\$2,820.00
	Adams Contracting, LLC		\$5.0000	\$2,350.00
	Vulcan Construction Materials, LLC		\$1.7500	\$822.50
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
		2.000 EACH		
	Charles Deweese Construction, Inc		\$250.0000	\$500.00
	Twin K Construction, Inc.		\$318.6400	\$637.28
	Civil Constructors, LLC		\$585.0000	\$1,170.00
	Eatherly Group, Inc.		\$300.0000	\$600.00
	Adams Contracting, LLC		\$350.0000	\$700.00
	Vulcan Construction Materials, LLC		\$500.0000	\$1,000.00
712-01	TRAFFIC CONTROL			
	-	1.000 LS		
	Charles Deweese Construction, Inc		\$14,368.6800	\$14,368.68
	Twin K Construction, Inc.		\$5,195.7600	\$5,195.76
	Civil Constructors, LLC		\$30,925.0000	\$30,925.00
	Eatherly Group, Inc.		\$19,900.0000	\$19,900.00
	Adams Contracting, LLC		\$65,000.0000	\$65,000.00
	Vulcan Construction Materials, LLC		\$35,000.0000	\$35,000.00
	Talcali Concludation Materials, LLO		ψου,υυυ.υυυ	
				PAGE

			CC	NTRACT CNU218
			UNIT PRICE	EXTENSION
712-02.02	NITERCONNECTED PORTABLE BARRIER RAIL			
		700.000 L.F.		
	Charles Deweese Construction, Inc		\$50.5500	\$35,385.00
	Twin K Construction, Inc.		\$44.7200	\$31,304.00
	Civil Constructors, LLC		\$60.0000	\$42,000.00
	Eatherly Group, Inc.		\$45.0000	\$31,500.00
	Adams Contracting, LLC		\$45.0000	\$31,500.00
	Vulcan Construction Materials, LLC		\$55.0000	\$38,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		40.000 EACH		
	Charles Deweese Construction, Inc		\$36.7200	\$1,468.80
	Twin K Construction, Inc.		\$37.1700	\$1,486.80
	Civil Constructors, LLC		\$27.5000	\$1,100.00
	Eatherly Group, Inc.		\$42.0000	\$1,680.00
	Adams Contracting, LLC		\$35.0000	\$1,400.00
	Vulcan Construction Materials, LLC		\$34.0000	\$1,360.00
712-04.50	BARRIER RAIL DELINEATOR			
		35.000 EACH		
	Charles Deweese Construction, Inc	331333 = 13313	\$20.9800	\$734.30
	Twin K Construction, Inc.		\$12.7500	\$446.25
	Civil Constructors, LLC		\$11.0000	\$385.00
	Eatherly Group, Inc.		\$24.0000	\$840.00
	Adams Contracting, LLC		\$20.0000	\$700.00
	Vulcan Construction Materials, LLC		\$8.0000	\$280.00
712-05.01	WARNING LIGHTS (TYPE A)	44 aaa - 4 au		
		44.000 EACH		
	Charles Deweese Construction, Inc		\$31.4700	\$1,384.68
	Twin K Construction, Inc.		\$37.1700	\$1,635.48
	Civil Constructors, LLC		\$11.0000	\$484.00
	Eatherly Group, Inc.		\$36.0000	\$1,584.00
	Adams Contracting, LLC		\$30.0000	\$1,320.00
	Vulcan Construction Materials, LLC		\$31.0000	\$1,364.00
712-06	SIGNS (CONSTRUCTION)			
		488.000 S.F.		
	Charles Deweese Construction, Inc		\$8.3900	\$4,094.32
	Twin K Construction, Inc.		\$22.3000	\$10,882.40
	Civil Constructors, LLC		\$7.2500	\$3,538.00
	Eatherly Group, Inc.		\$9.5000	\$4,636.00
	Adams Contracting, LLC		\$8.0000	\$3,904.00
	Vulcan Construction Materials, LLC		\$9.2500	\$4,514.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
2 07.00	The state of the same of the same	24.000 L.F.		
	Charles Deweese Construction, Inc	= 3 	\$15.7400	\$377.76
	Twin K Construction, Inc.		\$29.7400	\$713.76
	Civil Constructors, LLC		\$14.0000	\$336.00
	Eatherly Group, Inc.		\$18.0000	\$432.00
	Adams Contracting, LLC		\$15.0000	\$360.00
	Vulcan Construction Materials, LLC		\$28.0000	\$672.00
				PAGE 6
				170- 0

		CC	ONTRACT CNU218
		UNIT PRICE	EXTENSION
712-09.02 REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
112 00:02 112me 7/32=1 7/12me 117 m/m 11me (c	960.000 L.F.		
Charles Deweese Construction, Inc	333333 =	\$6.2900	\$6,038.40
Twin K Construction, Inc.		\$6.3700	\$6,115.20
Civil Constructors, LLC		\$6.5000	\$6,240.00
Eatherly Group, Inc.		\$7.5000	\$7,200.00
Adams Contracting, LLC		\$6.0000	\$5,760.00
Vulcan Construction Materials, LLC		\$6.0000	\$5,760.00
740 00 04 DEMOVADI E DAVEMENT MADICINO (OTOD LINE)			
712-09.04 REMOVABLE PAVEMENT MARKING (STOP LINE)	22.000 L.F.		
Charles Dawassa Construction, Inc.	22.000 L.F.	¢26.7200	¢007.04
Charles Deweese Construction, Inc		\$36.7200	\$807.84
Twin K Construction, Inc.		\$37.1700	\$817.74
Civil Constructors, LLC		\$38.0000	\$836.00
Eatherly Group, Inc.		\$42.0000	\$924.00
Adams Contracting, LLC		\$35.0000	\$770.00
Vulcan Construction Materials, LLC		\$35.0000	\$770.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)	(1 COLOR)		
	13.000 EACH		
Charles Deweese Construction, Inc		\$78.6800	\$1,022.84
Twin K Construction, Inc.		\$79.6600	\$1,035.58
Civil Constructors, LLC		\$82.0000	\$1,066.00
Eatherly Group, Inc.		\$90.0000	\$1,170.00
Adams Contracting, LLC		\$75.0000	\$975.00
Vulcan Construction Materials, LLC		\$75.0000	\$975.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
710-01.30 REMOVAE OF GROWN ESWADEE REFEESTIVE MARKER	13.000 EACH		
Charles Deweese Construction, Inc	13.000 EACH	\$31.4700	\$409.11
		·	·
Twin K Constructors, I.I.C.		\$31.8600	\$414.18 \$422.50
Civil Constructors, LLC		\$32.5000	\$422.50
Eatherly Group, Inc. Adams Contracting, LLC		\$36.0000	\$468.00
Vulcan Construction Materials, LLC		\$30.0000 \$30.0000	\$390.00 \$390.00
vulcan construction iviaterials, ELC		φ30.0000	φ390.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	1.000 L.M.		
Charles Deweese Construction, Inc		\$1,573.5400	\$1,573.54
Twin K Construction, Inc.		\$1,593.1900	\$1,593.19
Civil Constructors, LLC		\$1,630.0000	\$1,630.00
Eatherly Group, Inc.		\$1,800.0000	\$1,800.00
Adams Contracting, LLC		\$1,500.0000	\$1,500.00
Vulcan Construction Materials, LLC		\$1,500.0000	\$1,500.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
- (0.900 L.M.		
Charles Deweese Construction, Inc		\$7,343.2000	\$6,608.88
Twin K Construction, Inc.		\$7,434.8700	\$6,691.38
Civil Constructors, LLC		\$7,500.0000	\$6,750.00
Eatherly Group, Inc.		\$8,400.0000	\$7,560.00
Adams Contracting, LLC		\$7,000.0000	\$6,300.00
Vulcan Construction Materials, LLC		\$7,000.0000	\$6,300.00
vuican construction iviaterials, LLC		φι,υυυ.υυυυ	
			PAGE 7

CONTRACT CNU218

			UNIT PRICE	EXTENSION
			5·	
717-01	MOBILIZATION			
		1.000 LS		
	Charles Deweese Construction, Inc		\$19,908.5300	\$19,908.53
	Twin K Construction, Inc.		\$32,000.0000	\$32,000.00
	Civil Constructors, LLC		\$38,150.0000	\$38,150.00
	Eatherly Group, Inc.		\$38,900.0000	\$38,900.00
	Adams Contracting, LLC		\$43,000.0000	\$43,000.00
	Vulcan Construction Materials, LLC		\$85,000.0000	\$85,000.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		1.000 EACH		
	Charles Deweese Construction, Inc		\$15,735.4200	\$15,735.42
	Twin K Construction, Inc.		\$24,824.1900	\$24,824.19
	Civil Constructors, LLC		\$23,470.0000	\$23,470.00
	Eatherly Group, Inc.		\$39,900.0000	\$39,900.00
	Adams Contracting, LLC		\$27,500.0000	\$27,500.00
	Vulcan Construction Materials, LLC		\$21,500.0000	\$21,500.00
740-10.03	3 GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		216.000 S.Y.		
	Charles Deweese Construction, Inc		\$3.3400	\$721.44
	Twin K Construction, Inc.		\$12.2100	\$2,637.36
	Civil Constructors, LLC		\$4.0000	\$864.00
	Eatherly Group, Inc.		\$15.0000	\$3,240.00
	Adams Contracting, LLC		\$5.0000	\$1,080.00
	Vulcan Construction Materials, LLC		\$3.5000	\$756.00
801-01.07	7 TEMPORARY SEEDING (WITH MULCH)			
		1.000 UNIT		
	Charles Deweese Construction, Inc		\$2,556.2000	\$2,556.20
	Twin K Construction, Inc.		\$318.6400	\$318.64
	Civil Constructors, LLC		\$70.0000	\$70.00
	Eatherly Group, Inc.		\$100.0000	\$100.00
	Adams Contracting, LLC		\$300.0000	\$300.00
	Vulcan Construction Materials, LLC		\$1,000.0000	\$1,000.00
801-03	WATER (SEEDING & SODDING)			
		1.000 M.G.		
	Charles Deweese Construction, Inc		\$752.9100	\$752.91
	Twin K Construction, Inc.		\$106.2100	\$106.21
	Civil Constructors, LLC		\$55.0000	\$55.00
	Eatherly Group, Inc.		\$100.0000	\$100.00
	Adams Contracting, LLC		\$100.0000	\$100.00
	Vulcan Construction Materials, LLC		\$1,000.0000	\$1,000.00

Charles Deweese Construction, Inc	\$602,485.84
Twin K Construction, Inc.	\$649,847.35
Civil Constructors, LLC	\$749,814.10
Eatherly Group, Inc.	\$784,899.50
Adams Contracting, LLC	\$877,777.25
Vulcan Construction Materials, LLC	\$950,609.75

TOTAL CONTRACT

Charles Deweese Construction, Inc	\$602,485.84
Twin K Construction, Inc.	\$649,847.35
Civil Constructors, LLC	\$749,814.10
Eatherly Group, Inc.	\$784,899.50
Adams Contracting, LLC	\$877,777.25
Vulcan Construction Materials, LLC	\$950,609.75

STEWART COUNTY (Contract No. CNU186 Call 060)

STP-233(7),81027-8206-14

THE RESURFACING ON S.R. 233 FROM S.R. 46 (L.M. 8.37) TO THE MONTGOMERY COUNTY LINE (L.M. 12.07).

PROJECT LENGTH - 3.700 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 5.00%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing\$440,051.00Jones Bros. Contractors, LLC\$507,326.45Vulcan Construction Materials, LLC\$529,518.00

				CONTRACT CNU186
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY		ONIT FRICE	EXTENSION
208-01.0	5 BROOMING & DEGRASSING SHOULDERS			
		7.400 L.M.		
	Eubank Asphalt Paving & Sealing		\$1,000.0000	\$7,400.00
	Jones Bros. Contractors, LLC		\$700.0000	\$5,180.00
	Vulcan Construction Materials, LLC		\$775.0000	\$5,735.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		734.000 TON		
	Eubank Asphalt Paving & Sealing		\$25.0000	\$18,350.00
	Jones Bros. Contractors, LLC		\$21.0000	\$15,414.00
	Vulcan Construction Materials, LLC		\$25.0000	\$18,350.00
307-01.1	5 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		500.000 TON		
	Eubank Asphalt Paving & Sealing		\$94.0000	\$47,000.00
	Jones Bros. Contractors, LLC		\$85.0000	\$42,500.00
	Vulcan Construction Materials, LLC		\$106.0000	\$53,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		24.000 TON		
	Eubank Asphalt Paving & Sealing		\$550.0000	\$13,200.00
	Jones Bros. Contractors, LLC		\$530.0000	\$12,720.00
	Vulcan Construction Materials, LLC		\$775.0000	\$18,600.00
411-03.12	2 ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		2,217.000 TON		
	Eubank Asphalt Paving & Sealing		\$95.0000	\$210,615.00
	Jones Bros. Contractors, LLC		\$98.0000	\$217,266.00
	Vulcan Construction Materials, LLC		\$106.0000	\$235,002.00
411-12.04	4 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN	WIDTH)		
		6.000 L.M.		
	Eubank Asphalt Paving & Sealing		\$450.0000	\$2,700.00
	Jones Bros. Contractors, LLC		\$900.0000	\$5,400.00
	Vulcan Construction Materials, LLC		\$1,350.0000	\$8,100.00
415-01.0	COLD PLANING BITUMINOUS PAVEMENT			
		2,061.000 TON		
	Eubank Asphalt Paving & Sealing		\$14.0000	\$28,854.00
	Jones Bros. Contractors, LLC		\$30.4500	\$62,757.45
	Vulcan Construction Materials, LLC		\$32.0000	\$65,952.00

1.000 LS

712-01

TRAFFIC CONTROL

Eubank Asphalt Paving & Sealing

Vulcan Construction Materials, LLC

Jones Bros. Contractors, LLC

\$2,500.00

\$37,000.00

\$10,920.00

\$2,500.0000

\$37,000.0000

\$10,920.0000

			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	,	25.000 EACH		
	Eubank Asphalt Paving & Sealing		\$5.0000	\$125.00
	Jones Bros. Contractors, LLC		\$5.0000	\$125.00
	Vulcan Construction Materials, LLC		\$5.0000	\$125.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Eubank Asphalt Paving & Sealing		\$5.0000	\$20.00
	Jones Bros. Contractors, LLC		\$2.0000	\$8.00
	Vulcan Construction Materials, LLC		\$5.0000	\$20.00
712-06	SIGNS (CONSTRUCTION)			
		984.000 S.F.		
	Eubank Asphalt Paving & Sealing		\$8.0000	\$7,872.00
	Jones Bros. Contractors, LLC		\$6.5000	\$6,396.00
	Vulcan Construction Materials, LLC		\$9.7500	\$9,594.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-D	DIR) (1 COLOR)		
		245.000 EACH		
	Eubank Asphalt Paving & Sealing		\$25.0000	\$6,125.00
	Jones Bros. Contractors, LLC		\$30.0000	\$7,350.00
	Vulcan Construction Materials, LLC		\$30.0000	\$7,350.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	R		
		245.000 EACH		
	Eubank Asphalt Paving & Sealing		\$10.0000	\$2,450.00
	Jones Bros. Contractors, LLC		\$10.0000	\$2,450.00
	Vulcan Construction Materials, LLC		\$10.0000	\$2,450.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		16.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$20.0000	\$320.00
	Jones Bros. Contractors, LLC		\$15.0000	\$240.00
	Vulcan Construction Materials, LLC		\$20.0000	\$320.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LIN	NE)		
		14.800 L.M.		
	Eubank Asphalt Paving & Sealing		\$4,900.0000	\$72,520.00
	Jones Bros. Contractors, LLC		\$4,900.0000	\$72,520.00
	Vulcan Construction Materials, LLC		\$5,000.0000	\$74,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$20,000.0000	\$20,000.00
	Jones Bros. Contractors, LLC		\$20,000.0000	\$20,000.00
	Vulcan Construction Materials, LLC		\$20,000.0000	\$20,000.00

Eubank Asphalt Paving & Sealing	\$440,051.00
Jones Bros. Contractors, LLC	\$507,326.45
Vulcan Construction Materials, LLC	\$529,518.00

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing	\$440,051.00
Jones Bros. Contractors, LLC	\$507,326.45
Vulcan Construction Materials, LLC	\$529,518.00

SULLIVAN AND WASHINGTON COUNTIES (Contract No. CNU217 Call 061)

STP/HSIP-137(4),82083-3226-94,82083-8226-14,STP/HSIP-93(23),90010-3216-94,90010-8216-14

THE RESURFACING ON S.R. 93 IN WASHINGTON COUNTY FROM NEAR S.R. 81 TO NEAR DAVIS ROAD (L.M. 1.11 - 3.10) AND ON S.R. 137 IN SULLIVAN COUNTY FROM NEAR U.S. 11W (S.R. 1) TO THE VIRGINIA STATE LINE (L.M. 0.00 - 3.03).

PROJECT LENGTH - 5.020 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2020

TOTAL CONTRACT

W-L Construction & Paving, Inc.

\$1,850,320.70

Summers-Taylor, Inc.

\$1,962,948.10

CONTRACT CN	٩L	J21	7
-------------	----	-----	---

			CC	NTRACT CNU217
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
		8,342.000 S.Y.		
	W-L Construction & Paving, Inc.		\$4.2200	\$35,203.24
	Summers-Taylor, Inc.		\$8.5000	\$70,907.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		16.000 L.M.		
	W-L Construction & Paving, Inc.		\$875.1400	\$14,002.24
	Summers-Taylor, Inc.		\$1,060.0000	\$16,960.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		722.000 TON		
	W-L Construction & Paving, Inc.		\$37.2900	\$26,923.38
	Summers-Taylor, Inc.		\$41.0000	\$29,602.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		679.000 TON		
	W-L Construction & Paving, Inc.		\$105.7500	\$71,804.25
	Summers-Taylor, Inc.		\$118.0000	\$80,122.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	()	76.000 TON		
	W-L Construction & Paving, Inc.		\$360.0000	\$27,360.00
	Summers-Taylor, Inc.		\$950.0000	\$72,200.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	,	3,345.000 TON		
	W-L Construction & Paving, Inc.	,	\$94.4200	\$315,834.90
	Summers-Taylor, Inc.		\$105.0000	\$351,225.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		3,046.000 TON		
	W-L Construction & Paving, Inc.	0,0 101000 1 011	\$98.0700	\$298,721.22
	Summers-Taylor, Inc.		\$102.0000	\$310,692.00
411-02.10	ACS MIX(PG70-22) GRADING D			
02.10		5,768.000 TON		
	W-L Construction & Paving, Inc.	J,. 33.000 1 314	\$99.7700	\$575,473.36
	Summers-Taylor, Inc.		\$105.0000	\$605,640.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		13.600 L.M.		
	W-L Construction & Paving, Inc.		\$425.0000	\$5,780.00
	Summers-Taylor, Inc.		\$685.0000	\$9,316.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		1.000 L.M.		
	W-L Construction & Paving, Inc.		\$425.0000	\$425.00
	Summers-Taylor, Inc.		\$865.0000	\$865.00
				PAGE

17

			CC	NTRACT CNU217
			UNIT PRICE	EXTENSION
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		6,073.000 TON		
	W-L Construction & Paving, Inc.		\$18.0300	\$109,496.19
	Summers-Taylor, Inc.		\$11.5000	\$69,839.50
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		827.000 S.Y.		
	W-L Construction & Paving, Inc.		\$8.2600	\$6,831.02
	Summers-Taylor, Inc.		\$7.3000	\$6,037.10
502-08.01	RESEALING JOINTS (HOT POURED ELASTIC	C)		
		31,997.000 L.F.		
	W-L Construction & Paving, Inc.		\$1.5000	\$47,995.50
	Summers-Taylor, Inc.		\$1.7500	\$55,994.75
712-01	TRAFFIC CONTROL			
		1.000 LS		
	W-L Construction & Paving, Inc.		\$67,478.3000	\$67,478.30
	Summers-Taylor, Inc.		\$71,500.0000	\$71,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		262.000 EACH		
	W-L Construction & Paving, Inc.		\$5.0000	\$1,310.00
	Summers-Taylor, Inc.		\$20.5000	\$5,371.00
712-05.01	WARNING LIGHTS (TYPE A)			
		131.000 EACH		
	W-L Construction & Paving, Inc.		\$5.0000	\$655.00
	Summers-Taylor, Inc.		\$13.5000	\$1,768.50
712-06	SIGNS (CONSTRUCTION)			
		3,588.000 S.F.		
	W-L Construction & Paving, Inc.		\$9.7500	\$34,983.00
	Summers-Taylor, Inc.		\$8.0000	\$28,704.00
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH		
	W-L Construction & Paving, Inc.		\$800.0000	\$3,200.00
	Summers-Taylor, Inc.		\$492.0000	\$1,968.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MAR	KERS (BI-DIR) (1 COLOR)		
		145.000 EACH		
	W-L Construction & Paving, Inc.		\$22.0000	\$3,190.00
	Summers-Taylor, Inc.		\$25.5000	\$3,697.50
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARK	(ERS (MONO-DIR)(1 COLOR)		
		51.000 EACH		
	W-L Construction & Paving, Inc.		\$22.0000	\$1,122.00
	Summers-Taylor, Inc.		\$25.5000	\$1,300.50

CONTRACT CN	٧L	JZ'	1
-------------	----	-----	---

			CONTINACT CHOZIT
		UNIT PRICE	EXTENSION
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)		
	588	.000 EACH	
	W-L Construction & Paving, Inc.	\$22.0000	\$12,936.00
	Summers-Taylor, Inc.	\$25.5000	\$14,994.00
	Guillinets-Taylor, inc.	Ψ25.5000	Ψ14,934.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
	536	.000 EACH	
	W-L Construction & Paving, Inc.	\$6.0000	\$3,216.00
	Summers-Taylor, Inc.	\$7.0000	\$3,752.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
		.000 S.Y.	
	W-L Construction & Paving, Inc.	\$16.7500	\$887.75
	Summers-Taylor, Inc.	\$19.5000	\$1,033.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)		
	92	.000 L.F.	
	W-L Construction & Paving, Inc.	\$9.2500	\$851.00
	Summers-Taylor, Inc.	\$11.0000	\$1,012.00
	Summers-rayior, mc.	\$11.0000	\$1,012.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
	6	.000 EACH	
	W-L Construction & Paving, Inc.	\$150.0000	\$900.00
	Summers-Taylor, Inc.	\$175.0000	\$1,050.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)		
		.000 L.F.	
			A
	W-L Construction & Paving, Inc.	\$5.7500	\$4,973.75
	Summers-Taylor, Inc.	\$6.7000	\$5,795.50
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)		
	520	.000 L.F.	
	W-L Construction & Paving, Inc.	\$5.0000	\$2,600.00
	Summers-Taylor, Inc.	\$5.0000	\$3,068.00
	Summers-Taylor, mc.	\$3.9000	φ3,008.00
716-05.02	PAINTED PAVEMENT MARKING (8" BARRIER LINE)		
	2,713	.000 L.F.	
	W-L Construction & Paving, Inc.	\$0.2000	\$542.60
	Summers-Taylor, Inc.	\$0.2500	\$678.25
740 05 00	DAINTED DAVEMENT MADIZING (CILLINE)		
/16-05.20	PAINTED PAVEMENT MARKING (6" LINE)		
	16	.000 L.M.	
	W-L Construction & Paving, Inc.	\$675.0000	\$10,800.00
	Summers-Taylor, Inc.	\$790.0000	\$12,640.00
716-12 02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
		.500 L.M.	
			¢67 650 00
	W-L Construction & Paving, Inc.	\$4,100.0000	\$67,650.00
	Summers-Taylor, Inc.	\$4,800.0000	\$79,200.00

				CONTRACT CNU217
			UNIT PRICE	EXTENSION
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)			
	7	00.000 L.F.		
	W-L Construction & Paving, Inc.		\$1.2500	\$875.00
	Summers-Taylor, Inc.		\$1.4500	\$1,015.00
717-01	MOBILIZATION			
		1.000 LS		
	W-L Construction & Paving, Inc.		\$96,300.0000	\$96,300.00
	Summers-Taylor, Inc.		\$45,000.0000	\$45,000.00

W-L Construction & Paving, Inc.	\$1,850,320.70
Summers-Taylor, Inc.	\$1,962,948.10

TOTAL CONTRACT

 W-L Construction & Paving, Inc.
 \$1,850,320.70

 Summers-Taylor, Inc.
 \$1,962,948.10

SUMNER COUNTY (Contract No. CNU187 Call 062)

STP/HSIP-25(62),83007-3215-94,83007-8215-14

THE RESURFACING ON S.R. 25 FROM KRAFT STREET (L.M. 15.98) TO THE TROUSDALE COUNTY LINE (L.M. 25.26).

PROJECT LENGTH - 9.280 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 8.00%

TOTAL CONTRACT

Rogers Group, Inc. \$1,763,558.85
Charles Deweese Construction, Inc \$1,887,331.10
BWI MTN ii Inc. & dba Blue Water Industries \$1,930,378.00

	CONTRACT	CNU187
UNIT PRICE	EXTE	ENSION

ROADWA	Y CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		16.900 L.M.		
	Rogers Group, Inc.		\$1,106.0000	\$18,691.40
	Charles Deweese Construction, Inc		\$498.5500	\$8,425.50
	BWI MTN ii Inc. & dba Blue Water Industries		\$950.0000	\$16,055.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	,	697.000 TON		
	Rogers Group, Inc.	007.000 1011	\$36.0000	\$25,092.00
	Charles Deweese Construction, Inc		\$23.4400	\$16,337.68
	BWI MTN ii Inc. & dba Blue Water Industries		\$22.5000	\$15,682.50
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS	500 000 TO N		
	Danier Original Inc.	500.000 TON	#70.0000	#05.000.00
	Rogers Group, Inc.		\$70.0000	\$35,000.00
	Charles Deweese Construction, Inc BWI MTN ii Inc. & dba Blue Water Industries		\$82.0100 \$84.0000	\$41,005.00 \$42,000.00
	DVVI WITH II IIIC. & and dide vvaler illuustiles		φο4.0000	φ42,000.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING E	3-M2		
		500.000 TON		
	Rogers Group, Inc.		\$68.0000	\$34,000.00
	Charles Deweese Construction, Inc		\$72.9700	\$36,485.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$75.0000	\$37,500.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
403-01	BITOMINOUS MATERIAL FOR TACK COAT (TC)	87.000 TON		
	Rogers Group, Inc.	07.000 1014	\$670.0000	\$58,290.00
	Charles Deweese Construction, Inc		\$600.0000	\$52,200.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$650.0000	\$56,550.00
411-02.10	ACS MIX(PG70-22) GRADING D			
		13,252.000 TON	^	.
	Rogers Group, Inc.		\$78.0000	\$1,033,656.00
	Charles Deweese Construction, Inc BWI MTN ii Inc. & dba Blue Water Industries		\$84.6100 \$85.0000	\$1,121,251.72 \$1,126,420.00
	DWI WITH II IIIC. & and Dide Water Illuustiles		φου.υυυ	\$1,120,420.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		12.100 L.M.		
	Rogers Group, Inc.		\$500.0000	\$6,050.00
	Charles Deweese Construction, Inc		\$691.4900	\$8,367.03
	BWI MTN ii Inc. & dba Blue Water Industries		\$850.0000	\$10,285.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN W	IDTH)		
	, a a a a a a a a a a a a a a a a a a a	1.500 L.M.		
	Rogers Group, Inc.		\$500.0000	\$750.00
	Charles Deweese Construction, Inc		\$1,438.8400	\$2,158.26
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,400.0000	\$2,100.00

			UNIT PRICE	EXTENSION
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		13,127.000 TON		
	Rogers Group, Inc. Charles Deweese Construction, Inc BWI MTN ii Inc. & dba Blue Water Industries		\$15.6000 \$15.4000 \$15.5000	\$204,781.20 \$202,155.80 \$203,468.50
704 02 04	CONCRETE CURR RAMP (RETROFIT)			
701-02.01	CONCRETE CURB RAMP (RETROFIT)	1 560 000 S E		
	Rogers Group, Inc.	1,560.000 S.F.	\$33.7500	\$52,650.00
	Charles Deweese Construction, Inc		\$46.1300	\$71,962.80
	BWI MTN ii Inc. & dba Blue Water Industries		\$32.7500	\$51,090.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$26,000.0000	\$26,000.00
	Charles Deweese Construction, Inc		\$41,959.0800	\$41,959.08
	BWI MTN ii Inc. & dba Blue Water Industries		\$58,925.0000	\$58,925.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		70.000 EACH		
	Rogers Group, Inc.		\$11.0100	\$770.70
	Charles Deweese Construction, Inc		\$36.7100	\$2,569.70
	BWI MTN ii Inc. & dba Blue Water Industries		\$10.0000	\$700.00
712-06	SIGNS (CONSTRUCTION)			
		2,702.000 S.F.		
	Rogers Group, Inc.		\$6.5500	\$17,698.10
	Charles Deweese Construction, Inc		\$8.3900	\$22,669.78
	BWI MTN ii Inc. & dba Blue Water Industries		\$6.0000	\$16,212.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Rogers Group, Inc.		\$784.9200	\$1,569.84
	Charles Deweese Construction, Inc BWI MTN ii Inc. & dba Blue Water Industries		\$1,888.1600 \$400.0000	\$3,776.32 \$800.00
	BWI WITH II IIIC. & and blue Water industries		φ 4 00.0000	φου.ου
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Rogers Group, Inc.		\$2,100.0000	\$4,200.00
	Charles Deweese Construction, Inc		\$7,867.3300	\$15,734.66
	BWI MTN ii Inc. & dba Blue Water Industries		\$5,000.0000	\$10,000.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-	DIR) (1 COLOR)		
		650.000 EACH		
	Rogers Group, Inc.		\$28.5000	\$18,525.00
	Charles Deweese Construction, Inc		\$30.1600	\$19,604.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$30.0000	\$19,500.00

CON	NTR/	7CT	CNU ₁	87

			UNIT PRICE	EXTENSION
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-D	DIR)(1 COLOR)		
		115.000 EACH		
	Rogers Group, Inc.		\$28.5000	\$3,277.50
	Charles Deweese Construction, Inc		\$30.1600	\$3,468.40
	BWI MTN ii Inc. & dba Blue Water Industries		\$30.0000	\$3,450.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		765.000 EACH		
	Rogers Group, Inc.		\$10.1500	\$7,764.75
	Charles Deweese Construction, Inc		\$9.9700	\$7,627.05
	BWI MTN ii Inc. & dba Blue Water Industries		\$10.0000	\$7,650.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		8.000 EACH		
	Rogers Group, Inc.		\$152.5000	\$1,220.00
	Charles Deweese Construction, Inc		\$173.0800	\$1,384.64
	BWI MTN ii Inc. & dba Blue Water Industries		\$150.0000	\$1,200.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		33.000 L.M.		
	Rogers Group, Inc.		\$765.0000	\$25,245.00
	Charles Deweese Construction, Inc		\$812.9600	\$26,827.68
	BWI MTN ii Inc. & dba Blue Water Industries		\$800.0000	\$26,400.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		33.000 L.M.		
	Rogers Group, Inc.		\$4,899.8200	\$161,694.06
	Charles Deweese Construction, Inc		\$4,982.6400	\$164,427.12
	BWI MTN ii Inc. & dba Blue Water Industries		\$4,900.0000	\$161,700.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$20,000.0000	\$20,000.00
	Charles Deweese Construction, Inc		\$10,273.1800	\$10,273.18
	BWI MTN ii Inc. & dba Blue Water Industries		\$56,325.0000	\$56,325.00
730-14.02	SAW SLOT			
		1,370.000 L.F.		
	Rogers Group, Inc.		\$3.6500	\$5,000.50
	Charles Deweese Construction, Inc		\$3.6700	\$5,027.90
	BWI MTN ii Inc. & dba Blue Water Industries		\$3.5000	\$4,795.00
730-14.03	LOOP WIRE			
		3,140.000 L.F.		
	Rogers Group, Inc.		\$0.5200	\$1,632.80
	Charles Deweese Construction, Inc		\$0.5200	\$1,632.80
	BWI MTN ii Inc. & dba Blue Water Industries		\$0.5000	\$1,570.00

Rogers Group, Inc.	\$1,763,558.85
Charles Deweese Construction, Inc	\$1,887,331.10
BWI MTN ii Inc. & dba Blue Water Industries	\$1,930,378.00

TOTAL CONTRACT

Rogers Group, Inc.	\$1,763,558.85
Charles Deweese Construction, Inc	\$1,887,331.10
BWI MTN ii Inc. & dba Blue Water Industries	\$1,930,378.00

TROUSDALE COUNTY (Contract No. CNU195 Call 063)

85007-3225-04

THE REPAIR OF THE BRIDGE ON S.R. 141 OVER THE CUMBERLAND RIVER (L.M. 6.25).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2020

TOTAL CONTRACT

Mid-State Construction Company, Inc. \$365,300.54

NHM Constructors, LLC \$493,981.90

Southern Constructors, Inc. \$579,213.00

		CONTRACT CNU195
	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
202-04.01 REMOVAL OF STRUCTURES (85SR1410005)		
1.000 LS		
Mid-State Construction Company, Inc.	\$51,256.4800	\$51,256.48
NHM Constructors, LLC	\$75,000.0000	\$75,000.00
Southern Constructors, Inc.	\$60,000.0000	\$60,000.00
303-01.02 GRANULAR BACKFILL (BRIDGES)		
130.000 TON		
Mid-State Construction Company, Inc.	\$67.3100	\$8,750.30
NHM Constructors, LLC	\$60.0000	\$7,800.00
Southern Constructors, Inc.	\$40.0000	\$5,200.00
303-10.04 MINERAL AGGREGATE (SIZE 68, 7, 78, OR 8)		
21.000 TON		
Mid-State Construction Company, Inc.	\$66.9800	\$1,406.58
NHM Constructors, LLC	\$65.0000	\$1,365.00
Southern Constructors, Inc.	\$40.0000	\$840.00
307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
5.000 TON		
Mid-State Construction Company, Inc.	\$488.0000	\$2,440.00
NHM Constructors, LLC	\$327.6000	\$1,638.00

	5.000 TON	
Mid-State Construction Company, Inc.	\$488.0000	\$2,440.00
NHM Constructors, LLC	\$327.6000	\$1,638.00
Southern Constructors, Inc.	\$550.0000	\$2,750.00
40. ACC MIV/DCC4 22) CDADING D		

411-01.10 ACS MIX(PG64-22) GRADING D

Mid-State Construction Company, Inc.	\$494.0000	\$6,422.00
NHM Constructors, LLC	\$354.4000	\$4,607.20
Southern Constructors, Inc.	\$600.0000	\$7,800.00

13.000 TON

415-01.02 COLD PLANING BITUMINOUS PAVEMENT

52	2.000 S.Y.	
Mid-State Construction Company, Inc.	\$29.0000	\$1,508.00
NHM Constructors, LLC	\$90.7000	\$4,716.40
Southern Constructors, Inc.	\$35.0000	\$1,820.00

604-02.03 EPOXY COATED REINFORCING STEEL

	637.000 LB.	
Mid-State Construction Company, Inc.	\$5.1000	\$3,248.70
NHM Constructors, LLC	\$6.5000	\$4,140.50
Southern Constructors, Inc.	\$4.0000	\$2,548.00

604-03.02 STEEL BAR REINFORCEMENT (BRIDGES)

2,505.000 LB.		
Mid-State Construction Company, Inc.	\$3.8300	\$9,594.15
NHM Constructors, LLC	\$6.2000	\$15,531.00
Southern Constructors, Inc.	\$3.0000	\$7,515.00

			-	
			UNIT PRICE	EXTENSION
604-03.04	PAVEMENT @ BRIDGE ENDS			
		50.000 S.Y.		
	Mid-State Construction Company, Inc.		\$406.0200	\$20,301.00
	NHM Constructors, LLC		\$575.0000	\$28,750.00
	Southern Constructors, Inc.		\$600.0000	\$30,000.00
604-10.16	EXPANSION JOINT REPAIRS			
		1.000 LS		
	Mid-State Construction Company, Inc.		\$66,102.0400	\$66,102.04
	NHM Constructors, LLC		\$90,000.0000	\$90,000.00
	Southern Constructors, Inc.		\$100,000.0000	\$100,000.00
	,		. ,	. ,
604-10.23	CONCRETE PARAPET REPAIR			
		1.000 LS		
	Mid-State Construction Company, Inc.		\$4,447.0200	\$4,447.02
	NHM Constructors, LLC		\$6,000.0000	\$6,000.00
	Southern Constructors, Inc.		\$10,000.0000	\$10,000.00
	,		* ,	***************************************
604-10.42	CONCRETE REPAIRS			
		743.000 C.F.		
	Mid-State Construction Company, Inc.	7 40.000 0.11 .	\$53.3400	\$39,631.62
	NHM Constructors, LLC		\$66.0000	\$49,038.00
	Southern Constructors, Inc.		\$75.0000	\$55,725.00
	,		********	¥ 35, 2335
621-05.02	TEMPORARY SHORING			
		1.000 LS		
	Mid-State Construction Company, Inc.	1.000 EO	\$19,215.0700	\$19,215.07
	NHM Constructors, LLC		\$87,000.0000	\$87,000.00
	Southern Constructors, Inc.		\$50,000.0000	\$50,000.00
			400,000.000	400,000.00
705-08.11	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		2.000 EACH		
	Mid-State Construction Company, Inc.	2.000 LAOI1	\$5,500.0000	\$11,000.00
	NHM Constructors, LLC		\$4,481.4000	\$8,962.80
	Southern Constructors, Inc.		\$7,500.0000	\$15,000.00
	,		, ,	* -,
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		120.000 L.F.		
	Mid-State Construction Company, Inc.	120.000 2.11	\$7.1300	\$855.60
	NHM Constructors, LLC		\$12.0000	\$1,440.00
	Southern Constructors, Inc.		\$10.0000	\$1,200.00
	22		Ψ.0.000	ψ.,200.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Mid-State Construction Company, Inc.	1.000 LG	\$26,036.8100	\$26,036.81
	NHM Constructors, LLC		\$17,000.0000	\$17,000.00
	Southern Constructors, Inc.		\$60,000.0000	\$60,000.00
			+ 30,000.000	400,000.00

CON	ITRACT	CNU195

		UNIT PRICE	EXTENSION
712-02.02 INTERCONNECTED PORTABLE BARRIER RAIL			
	700.000 L.F.		
Mid-State Construction Company, Inc.		\$45.7200	\$32,004.00
NHM Constructors, LLC		\$36.1000	\$25,270.00
Southern Constructors, Inc.		\$45.0000	\$31,500.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
	112.000 EACH		
Mid-State Construction Company, Inc.		\$32.0000	\$3,584.00
NHM Constructors, LLC		\$33.0000	\$3,696.00
Southern Constructors, Inc.		\$40.0000	\$4,480.00
712-04.50 BARRIER RAIL DELINEATOR			
	20.000 EACH		
Mid-State Construction Company, Inc.		\$10.0000	\$200.00
NHM Constructors, LLC		\$10.3000	\$206.00
Southern Constructors, Inc.		\$15.0000	\$300.00
712-05.01 WARNING LIGHTS (TYPE A)			
	112.000 EACH		
Mid-State Construction Company, Inc.		\$5.0000	\$560.00
NHM Constructors, LLC		\$5.1500	\$576.80
Southern Constructors, Inc.		\$30.0000	\$3,360.00
712-06 SIGNS (CONSTRUCTION)			
	246.000 S.F.		
Mid-State Construction Company, Inc.		\$6.5000	\$1,599.00
NHM Constructors, LLC		\$6.7000	\$1,648.20
Southern Constructors, Inc.		\$15.0000	\$3,690.00
712-08.03 ARROW BOARD (TYPE C)			
	2.000 EACH		
Mid-State Construction Company, Inc.		\$995.0000	\$1,990.00
NHM Constructors, LLC		\$1,025.0000	\$2,050.00
Southern Constructors, Inc.		\$3,000.0000	\$6,000.00
712-09.01 REMOVABLE PAVEMENT MARKING LINE			
	17,250.000 L.F.		
Mid-State Construction Company, Inc.		\$1.6400	\$28,290.00
NHM Constructors, LLC		\$1.7000	\$29,325.00
Southern Constructors, Inc.		\$4.0000	\$69,000.00
713-02.14 FLEXIBLE DELINEATOR (WHITE)			
	58.000 EACH		
Mid-State Construction Company, Inc.		\$34.0000	\$1,972.00
NHM Constructors, LLC		\$35.0000	\$2,030.00
Southern Constructors, Inc.		\$45.0000	\$2,610.00

				CONTRACT CNU195
			UNIT PRICE	EXTENSION
716-01.11	RAISED PVMT MARKERS (BI-DIRECTIONAL) (1 COLOR LENS)			
		105.000 EACH		
	Mid-State Construction Company, Inc.		\$13.7500	\$1,443.75
	NHM Constructors, LLC		\$14.2000	\$1,491.00
	Southern Constructors, Inc.		\$75.0000	\$7,875.00
717-01	MOBILIZATION			
		1.000 LS		
	Mid-State Construction Company, Inc.		\$21,442.4200	\$21,442.42
	NHM Constructors, LLC		\$24,700.0000	\$24,700.00

\$40,000.0000

\$40,000.00

Southern Constructors, Inc.

SUB-TOTAL BRIDGE

Mid-State Construction Company, Inc.	\$365,300.54
NHM Constructors, LLC	\$493,981.90
Southern Constructors, Inc.	\$579,213.00

TOTAL CONTRACT Mid-State Construction Co

Mid-State Construction Company, Inc.	\$365,300.54
NHM Constructors, LLC	\$493,981.90
Southern Constructors, Inc.	\$579,213.00

WARREN COUNTY (Contract No. CNU024 Call 065)

89074-4210-04,NH/HSIP-55(28),89007-3260-94,89007-8260-14,STP/HSIP-286(5),89074-3210-94,89074-8210-14

THE RESURFACING ON S.R. 286 FROM EAST OF SOUTH CHANCERY STREET (L.M. 0.00) TO WEST OF S.R. 380 (L.M. 2.79) AND ON S.R. 55 FROM NORTH OF OLD WELL ROAD (L.M. 4.76) TO NORTH OF HALLUM LANE (L.M. 8.56).

PROJECT LENGTH - 6.590 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 6.00%

TOTAL CONTRACT

Tinsley Asphalt, LLC

\$2,963,125.10

			UNIT PRICE	CONTRACT CNU024 EXTENSION
ROADW	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Tinsley Asphalt, LLC	880.000 TON	\$37.9500	\$33,396.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Tinsley Asphalt, LLC	8.000 TON	\$825.0000	\$6,600.00
403-02.01	TRACKLESS TACK COAT	400 000 TO N		
	Tinsley Asphalt, LLC	108.000 TON	\$875.0000	\$94,500.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER	2 04C 000 TON		
	Tinsley Asphalt, LLC	3,046.000 TON	\$92.3600	\$281,328.56
411-01.21	LONGITUDINAL JOINT SEALANT	15 700 L M		
	Tinsley Asphalt, LLC	15.700 L.M.	\$3,100.0000	\$48,670.00
411-02.10	ACS MIX(PG70-22) GRADING D	9,863.000 TON		
	Tinsley Asphalt, LLC	9,003.000 TON	\$105.2700	\$1,038,278.01
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT	3,111.000 TON		
	Tinsley Asphalt, LLC	3,111.000 TON	\$109.7300	\$341,370.03
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)	6.100 L.M.		
	Tinsley Asphalt, LLC	0.100 L.W.	\$440.0000	\$2,684.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN V	VIDTH) 3.500 L.M.		
	Tinsley Asphalt, LLC	3.300 E.W.	\$465.0000	\$1,627.50
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	195,253.000 S.Y.		
	Tinsley Asphalt, LLC	193,233.000 3.1.	\$1.7500	\$341,692.75
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN	3.000 EACH		
	Tinsley Asphalt, LLC	3.000 EACH	\$2,500.0000	\$7,500.00
701-01.01	CONCRETE SIDEWALK (4 ")	185 000 S E		
	Tinsley Asphalt, LLC	185.000 S.F.	\$10.7500	\$1,988.75

			UNIT PRICE	CONTRACT CNU024 EXTENSION	
701-02.01	CONCRETE CURB RAMP (RETROFIT)				
	Tinsley Asphalt, LLC	495.000 S.F.	\$39.5000	\$19,552.50	
702-01	CONCRETE CURB				
	Tinsley Asphalt, LLC	6.300 C.Y.	\$745.0000	\$4,693.50	
702-03	CONCRETE COMBINED CURB & GUTTER				
	Tinsley Asphalt, LLC	2.200 C.Y.	\$950.0000	\$2,090.00	
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN				
	Tinsley Asphalt, LLC	6.000 EACH	\$100.0000	\$600.00	
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT				
	Tinsley Asphalt, LLC	6.000 EACH	\$1,000.0000	\$6,000.00	
705-06.01	W BEAM GR (TYPE 2) MASH TL3				
	Tinsley Asphalt, LLC	38.000 L.F.	\$18.0000	\$684.00	
705-06.11	GR TERMINAL (IN-INLINE) MASH TL3				
	Tinsley Asphalt, LLC	2.000 EACH	\$750.0000	\$1,500.00	
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3				
	Tinsley Asphalt, LLC	6.000 EACH	\$2,750.0000	\$16,500.00	
706-01	GUARDRAIL REMOVED				
	Tinsley Asphalt, LLC	475.000 L.F.	\$0.5000	\$237.50	
712-01	TRAFFIC CONTROL				
	Tinsley Asphalt, LLC	1.000 LS	\$97,655.0000	\$97,655.00	
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)				
	Tinsley Asphalt, LLC	64.000 EACH	\$15.0000	\$960.00	
712-06	SIGNS (CONSTRUCTION)	=			
	Tinsley Asphalt, LLC	1,981.000 S.F.	\$6.0000	\$11,886.00	

		UNIT PRICE	CONTRACT CNU024 EXTENSION
712-07.02 TEMPORARY BARRICADES (TYPE II)			
Tinsley Asphalt, LLC	60.000 L.F.	\$12.0000	\$720.00
712-08.03 ARROW BOARD (TYPE C)			
Tinsley Asphalt, LLC	2.000 EACH	\$1,000.0000	\$2,000.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
Tinsley Asphalt, LLC	4.000 EACH	\$7,000.0000	\$28,000.00
713-16.09 RAILROAD ADVANCE WARNING SIGN AND SUPPORT	0.000 54.00		
Tinsley Asphalt, LLC	2.000 EACH	\$300.0000	\$600.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)			
Tinsley Asphalt, LLC	807.000 EACH	\$24.0000	\$19,368.00
716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)			
Tinsley Asphalt, LLC	582.000 EACH	\$24.0000	\$13,968.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
Tinsley Asphalt, LLC	1,389.000 EACH	\$8.0000	\$11,112.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPI			
Tinsley Asphalt, LLC	192.000 S.Y.	\$18.0000	\$3,456.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Tinsley Asphalt, LLC	534.000 L.F.	\$10.0000	\$5,340.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
Tinsley Asphalt, LLC	22.000 EACH	\$150.0000	\$3,300.00
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)			
Tinsley Asphalt, LLC	4.000 EACH	\$125.0000	\$500.00
716-03.02 PLASTIC WORD PAVEMENT MARKING (RXR)			
Tinsley Asphalt, LLC	2.000 EACH	\$475.0000	\$950.00

			UNIT PRICE	CONTRACT CNU024 EXTENSION
716-04 02	DI ASTIC DAVEMENT MADKING/DOLIRI E TUDNING ADDOM			
710-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)	8.000 EACH		
	Tinsley Asphalt, LLC		\$300.0000	\$2,400.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
	Tinsley Asphalt, LLC	1.000 EACH	\$125.0000	\$125.00
716-04.11	PLASTIC PAVEMENT MARKING (BICYCLE SYMBOL W/RIDER)			
	Tinsley Asphalt, LLC	2.000 EACH	\$475.0000	\$950.00
716-04.13	PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARROW	<i>(</i>)		
	Tinsley Asphalt, LLC	30.000 EACH	\$475.0000	\$14,250.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
	Tinsley Asphalt, LLC	1.000 EACH	\$250.0000	\$250.00
716-04.15	PLASTIC PAVEMENT MARKING-BIKE SYMBOL/ARROW SHARE			
	Tinsley Asphalt, LLC	44.000 EACH	\$475.0000	\$20,900.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Tinsley Asphalt, LLC	33.000 L.M.	\$775.0000	\$25,575.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	SIN LINE)		
	Tinsley Asphalt, LLC	33.000 L.M.	\$4,500.0000	\$148,500.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LI			
	Tinsley Asphalt, LLC	1,900.000 L.F.	\$2.0000	\$3,800.00
717-01	MOBILIZATION			
		1.000 LS		
	Tinsley Asphalt, LLC		\$101,654.0000	\$101,654.00
730-14.02	SAW SLOT	1 200 000 5		
	Tinsley Asphalt, LLC	1,200.000 L.F.	\$3.5000	\$4,200.00
730-14.03	LOOP WIRE	2 600 000 1 5		
	Tinsley Asphalt, LLC	3,600.000 L.F.	\$0.6000	\$2,160.00

				CONTRACT	CNU024
BRIDGE	CATEGORY		UNIT PRICE	EXTE	ENSION
604-10.44	EXPANSION JOINT REPAIRS	84.000 L.F.			
	Tinsley Asphalt, LLC	04.000 L.F.	\$254.0000	\$21,	,336.00
617-04.01	TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)	4,849.000 S.Y.			
	Tinsley Asphalt, LLC	4,043.000 3.1.	\$33.0000	\$160	,017.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM				
		1.000 EACH			

\$5,700.0000

\$5,700.00

Tinsley Asphalt, LLC

Tinsley Asphalt, LLC \$2,776,072.10

SUB-TOTAL BRIDGE

Tinsley Asphalt, LLC \$187,053.00

TOTAL CONTRACT

Tinsley Asphalt, LLC \$2,963,125.10

WAYNE COUNTY (Contract No. CNU191 Call 066)

HSIP-9100(44),91946-3404-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2021

TOTAL CONTRACT

LU, Inc.
Superior Traffic Control, LLC

\$59,997.25

\$67,517.55

CONTRACT CNU191

			CC	NIRACI CNU191
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
	III lee	1.000 LS	¢2 500 0000	¢2.500.00
	LU, Inc. Superior Traffic Control, LLC		\$2,500.0000 \$5,000.0000	\$2,500.00 \$5,000.00
713-02.2	I SIGN POST DELINEATION ENHANCEMENT			
		229.000 L.F.		
	LU, Inc. Superior Traffic Control, LLC		\$4.2400 \$6.3000	\$970.96 \$1,442.70
713-11.01	"U" SECTION STEEL POSTS			
	LU, Inc.	5,304.000 LB.	\$3.3900	\$17,980.56
	Superior Traffic Control, LLC		\$3.7000	\$19,624.80
713-11.02	2 PERFORATED/KNOCKOUT SQUARE TUBE POST			
	LU, Inc.	3,830.000 LB.	\$3.8100	\$14,592.30
	Superior Traffic Control, LLC		\$4.4000	\$16,852.00
713-13.02	2 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	LU, Inc.	537.000 S.F.	\$12.4700	\$6,696.39
	Superior Traffic Control, LLC		\$13.6500	\$7,330.05
713-13.03	3 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		952.000 S.F.	¢42.2700	\$12,633.04
	LU, Inc. Superior Traffic Control, LLC		\$13.2700 \$14.0000	\$13,328.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
	III lee	72.000 EACH	¢20 5000	CO 404 00
	LU, Inc. Superior Traffic Control, LLC		\$29.5000 \$20.0000	\$2,124.00 \$1,440.00
717-01	MOBILIZATION			
	III lee	1.000 LS	Фо 500 0000	#0 F 00 00
	LU, Inc. Superior Traffic Control, LLC		\$2,500.0000 \$2,500.0000	\$2,500.00 \$2,500.00

 LU, Inc.
 \$59,997.25

 Superior Traffic Control, LLC
 \$67,517.55

TOTAL CONTRACT

LU, Inc.\$59,997.25Superior Traffic Control, LLC\$67,517.55

WAYNE COUNTY (Contract No. CNU214 Call 067)

91951-3509-04

THE GRADING, DRAINAGE AND PAVING ON A S.I.A. ROUTE SERVING C-WOOD LUMBER IN COLLINWOOD.

PROJECT LENGTH - 1.700 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2020

TOTAL CONTRACT

R. J. Watkins & Son Construction, Inc.

\$346,341.40

Rogers Group, Inc.

\$416,982.00

			co	NTRACT CNU214
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	R. J. Watkins & Son Construction, Inc. Rogers Group, Inc.	1.000 LS	\$2,000.0000 \$8,000.0000	\$2,000.00 \$8,000.00
208-01.05	BROOMING & DEGRASSING SHOULDERS	2 422 L M		
	R. J. Watkins & Son Construction, Inc. Rogers Group, Inc.	3.400 L.M.	\$1,200.0000 \$1,700.0000	\$4,080.00 \$5,780.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	R. J. Watkins & Son Construction, Inc. Rogers Group, Inc.	641.000 TON	\$30.0000 \$28.0000	\$19,230.00 \$17,948.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	R. J. Watkins & Son Construction, Inc. Rogers Group, Inc.	9.700 TON	\$750.0000 \$650.0000	\$7,275.00 \$6,305.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	R. J. Watkins & Son Construction, Inc. Rogers Group, Inc.	652.000 TON	\$110.0000 \$105.0000	\$71,720.00 \$68,460.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	R. J. Watkins & Son Construction, Inc. Rogers Group, Inc.	10,105.000 S.Y.	\$2.9000 \$3.0000	\$29,304.50 \$30,315.00
712-01	TRAFFIC CONTROL			
	R. J. Watkins & Son Construction, Inc. Rogers Group, Inc.	1.000 LS	\$6,000.0000 \$19,914.0000	\$6,000.00 \$19,914.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	R. J. Watkins & Son Construction, Inc. Rogers Group, Inc.	100.000 EACH	\$25.0000 \$11.0000	\$2,500.00 \$1,100.00
712-05.01	WARNING LIGHTS (TYPE A)			
	R. J. Watkins & Son Construction, Inc. Rogers Group, Inc.	4.000 EACH	\$40.0000 \$3.0000	\$160.00 \$12.00
712-06	SIGNS (CONSTRUCTION)			
		810.000 S.F.		

R. J. Watkins & Son Construction, Inc.

Rogers Group, Inc.

\$6,885.00

\$8.5000

\$9.0000

		CO	NTRACT CNU214
		UNIT PRICE	EXTENSION
713-16.20 SIGNS (INDIAN CREEK RD. 24"X6")			
	1.000 EACH		
R. J. Watkins & Son Construction, Inc.		\$200.0000	\$200.00
Rogers Group, Inc.		\$80.0000	\$80.00
713-16.21 SIGNS (TENNESSEE ST. 24"X6")			
	1.000 EACH		
R. J. Watkins & Son Construction, Inc.		\$200.0000	\$200.00
Rogers Group, Inc.		\$80.0000	\$80.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
()	25.000 L.F.		
R. J. Watkins & Son Construction, Inc.	20.000 E.1 .	\$20.0000	\$500.00
Rogers Group, Inc.		\$21.0000	\$525.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	13.600 L.M.		
R. J. Watkins & Son Construction, Inc.		\$1,050.0000	\$14,280.00
Rogers Group, Inc.		\$1,200.0000	\$16,320.00
717-01 MOBILIZATION			
	1.000 LS		
R. J. Watkins & Son Construction, Inc.		\$12,000.0000	\$12,000.00
Rogers Group, Inc.		\$20,882.0000	\$20,882.00

CONTRACT CNU214
••••••••••

ROADWAY CATEGORY	UNIT PRICE	EXTENSION
411-01.10 ACS MIX(PG64-22) GRADING D		
797.000 TON		
R. J. Watkins & Son Construction, Inc.	\$110.0000	\$87,670.00
Rogers Group, Inc.	\$106.0000	\$84,482.00
415-01.02 COLD PLANING BITUMINOUS PAVEMENT		
11,861.000 S.Y.		
R. J. Watkins & Son Construction, Inc.	\$2.9000	\$34,396.90
Rogers Group, Inc.	\$3.0000	\$35,583.00
501-01.01 PORTLAND CEMENT CONCRETE PAVEMENT (PLAIN) 8"		
282.000 S.Y.		
R. J. Watkins & Son Construction, Inc.	\$170.0000	\$47,940.00
Rogers Group, Inc.	\$333.0000	\$93,906.00

R. J. Watkins & Son Construction, Inc. Rogers Group, Inc.	\$176,334.50 \$203,011.00
SUB-TOTAL ROADWAY	
R. J. Watkins & Son Construction, Inc.	\$170,006.90
Rogers Group, Inc.	\$213,971.00
TOTAL CONTRACT	
R. J. Watkins & Son Construction, Inc.	\$346,341.40
Rogers Group, Inc.	\$416,982.00

WHITE COUNTY (Contract No. CNU168 Call 068)

HSIP-9300(42),93945-3475-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2021

DBE GOAL 8.00%

TOTAL CONTRACT

Highway Markings, Inc. \$151,498.96 Superior Traffic Control, LLC \$152,206.15 Volunteer Highway Supply Co. Inc. \$152,928.65

		CO	NIRACI CNU168
		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
705-02.02 SINGLE GUARDRAIL (TYPE 2)			
	245.000 L.F.		
Highway Markings, Inc.		\$19.7500	\$4,838.75
Superior Traffic Control, LLC		\$22.0000	\$5,390.00
Volunteer Highway Supply Co. Inc.		\$22.0000	\$5,390.00
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT			
	6.000 EACH		
Highway Markings, Inc.		\$1,150.0000	\$6,900.00
Superior Traffic Control, LLC		\$1,325.0000	\$7,950.00
Volunteer Highway Supply Co. Inc.		\$1,325.0000	\$7,950.00
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT			
700 04.21 GOARDINAL BELINEATION EMPARISEMENT	245.000 L.F.		
Highway Markings, Inc.		\$5.2500	\$1,286.25
Superior Traffic Control, LLC		\$2.7000	\$661.50
Volunteer Highway Supply Co. Inc.		\$3.2000	\$784.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
703-00.20 TANGENT ENERGY ABSORBING TERMI MASTITE-S	6.000 EACH		
Highway Markings, Inc.	0.000 =/.011	\$2,075.0000	\$12,450.00
Superior Traffic Control, LLC		\$2,500.0000	\$15,000.00
Volunteer Highway Supply Co. Inc.		\$2,500.0000	\$15,000.00
712-01 TRAFFIC CONTROL			
712-01 TRAFFIC CONTROL	1.000 LS		
Highway Markings, Inc.	1.000 L3	\$5,000.0000	\$5,000.00
Superior Traffic Control, LLC		\$3,500.0000	\$3,500.00
Volunteer Highway Supply Co. Inc.		\$3,500.0000	\$3,500.00
713-02.20 ROADSIDE OBSTACLE DELINEATION	402 000 C F		
Libertone Markings Inc.	193.000 S.F.	#0.5000	£4.040.50
Highway Markings, Inc.		\$8.5000 \$45.7500	\$1,640.50 \$3,039.75
Superior Traffic Control, LLC Volunteer Highway Supply Co. Inc.		\$15.7500 \$15.7500	\$3,039.75 \$3,039.75
volunteer Highway Supply Co. Inc.		φ15.7500	φ3,039.73
713-02.21 SIGN POST DELINEATION ENHANCEMENT			
	450.000 L.F.		
Highway Markings, Inc.		\$5.2500	\$2,362.50
Superior Traffic Control, LLC		\$5.0000	\$2,250.00
Volunteer Highway Supply Co. Inc.		\$5.0000	\$2,250.00
713-02.22 BARRIER WALL DELINEATION ENHANCEMENT			
	70.000 L.F.		
Highway Markings, Inc.		\$10.0000	\$700.00
Superior Traffic Control, LLC		\$4.0000	\$280.00
Volunteer Highway Supply Co. Inc.		\$4.0000	\$280.00

	UNIT PRICE	EXTENSION
713-11.01 "U" SECTION STEEL POSTS		
	000 LB.	
Highway Markings, Inc.	\$3.1500	\$9,746.10
Superior Traffic Control, LLC	\$2.9000	\$8,972.60
Volunteer Highway Supply Co. Inc.	\$2.9000	\$8,972.60
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
2,560.	000 LB.	
Highway Markings, Inc.	\$3.4000	\$8,704.00
Superior Traffic Control, LLC	\$3.6000	\$9,216.00
Volunteer Highway Supply Co. Inc.	\$3.6000	\$9,216.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
	250 S.F.	
Highway Markings, Inc.	\$13.5000	\$5,079.38
Superior Traffic Control, LLC	\$12.8000	\$4,816.00
Volunteer Highway Supply Co. Inc.	\$12.8000	\$4,816.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
	500 S.F.	
Highway Markings, Inc.	\$13.6500	\$13,465.73
Superior Traffic Control, LLC	\$13.2000	\$13,403.73 \$13,021.80
Volunteer Highway Supply Co. Inc.	\$13.2000	\$13,021.80
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		
	000 EACH	
Highway Markings, Inc.	\$12.5000	\$712.50
Superior Traffic Control, LLC	\$5.0000	\$285.00
Volunteer Highway Supply Co. Inc.	\$5.0000	\$285.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
547.	000 EACH	
Highway Markings, Inc.	\$25.0000	\$13,675.00
Superior Traffic Control, LLC	\$23.0000	\$12,581.00
Volunteer Highway Supply Co. Inc.	\$23.0000	\$12,581.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	000 L.F.	
Highway Markings, Inc.	\$9.5000	\$4,189.50
Superior Traffic Control, LLC	\$8.5000	\$3,748.50
Volunteer Highway Supply Co. Inc.	\$8.5000	\$3,748.50
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
	900 L.M.	
Highway Markings, Inc.	\$1,325.0000	\$55,517.50
Superior Traffic Control, LLC	\$1,385.0000	\$58,031.50
Volunteer Highway Supply Co. Inc.	\$1,385.0000	\$58,031.50
	\$.,555.555	400,001.00

				CONTRACT CNU168
			UNIT PRICE	EXTENSION
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		1,125.000 L.F.		
	Highway Markings, Inc.		\$0.6500	\$731.25
	Superior Traffic Control, LLC		\$0.5000	\$562.50
	Volunteer Highway Supply Co. Inc.		\$0.5000	\$562.50
717-01	MOBILIZATION			
		1.000 LS		
	Highway Markings, Inc.		\$4,500.0000	\$4,500.00
	Superior Traffic Control, LLC		\$2,900.0000	\$2,900.00

Volunteer Highway Supply Co. Inc.

\$3,500.0000

\$3,500.00

Highway Markings, Inc.	\$151,498.96
Superior Traffic Control, LLC	\$152,206.15
Volunteer Highway Supply Co. Inc.	\$152,928.65

TOTAL CONTRACT

Highway Markings, Inc.	\$151,498.96
Superior Traffic Control, LLC	\$152,206.15
Volunteer Highway Supply Co. Inc.	\$152,928.65

WILLIAMSON COUNTY (Contract No. CNU212 Call 069)

NH/HSIP-6(139),94003-3284-94,94003-8284-14

THE RESURFACING ON U.S. 31 (S.R. 6) FROM SOUTH OF HILLVIEW LANE (L.M. 10.00) TO COUNTRY ROAD (L.M. 15.68).

PROJECT LENGTH - 5.68 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 11.00%

	TOTAL CONTRACT
BWI MTN ii Inc. & dba Blue Water Industries	\$1,290,671.80
Volunteer Paving, LLC	\$1,436,642.03
Charles Deweese Construction, Inc	\$1,443,192.07
Eubank Asphalt Paving & Sealing	\$1,572,215.80
Vulcan Construction Materials, LLC	\$1,643,890.90

UNIT PRICE	EXTENSION
OINII I INICE	LATENDION

ROADWAY CATEGORY

208-01.05	BROOMING & DEGRASSING SHOULDERS			
		9.000 L.M.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,035.0000	\$9,315.00
	Volunteer Paving, LLC		\$400.0000	\$3,600.00
	Charles Deweese Construction, Inc		\$656.3900	\$5,907.51
	Eubank Asphalt Paving & Sealing		\$1,200.0000	\$10,800.00
	Vulcan Construction Materials, LLC		\$3,500.0000	\$31,500.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		871.000 TON		
	BWI MTN ii Inc. & dba Blue Water Industries		\$27.9000	\$24,300.90
	Volunteer Paving, LLC		\$12.5000	\$10,887.50
	Charles Deweese Construction, Inc		\$24.2100	\$21,086.91
	Eubank Asphalt Paving & Sealing		\$30.0000	\$26,130.00
	Vulcan Construction Materials, LLC		\$55.0000	\$47,905.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	, ,	49.000 TON		
	BWI MTN ii Inc. & dba Blue Water Industries		\$825.0000	\$40,425.00
	Volunteer Paving, LLC		\$697.0300	\$34,154.47
	Charles Deweese Construction, Inc		\$575.0000	\$28,175.00
	Eubank Asphalt Paving & Sealing		\$700.0000	\$34,300.00
	Vulcan Construction Materials, LLC		\$900.0000	\$44,100.00
411-02.10	ACS MIX(PG70-22) GRADING D			
		7,062.000 TON		
	BWI MTN ii Inc. & dba Blue Water Industries	•	\$83.5000	\$589,677.00
	Volunteer Paving, LLC		\$94.9000	\$670,183.80
	Charles Deweese Construction, Inc		\$96.3000	\$680,070.60
	Eubank Asphalt Paving & Sealing		\$110.0000	\$776,820.00
	Vulcan Construction Materials, LLC		\$115.0000	\$812,130.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8	BIN WIDTH)		
	((((4.000 L.M.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,150.0000	\$4,600.00
	Volunteer Paving, LLC		\$2,000.0000	\$8,000.00
	Charles Deweese Construction, Inc		\$2,023.9400	\$8,095.76
	Eubank Asphalt Paving & Sealing		\$750.0000	\$3,000.00
	Vulcan Construction Materials, LLC		\$1,150.0000	\$4,600.00
415-01 01	COLD PLANING BITUMINOUS PAVEMENT			
710 01.01	OLD . EARING BITOIMITOOUT ATEMENT	6,996.000 TON		
	BWI MTN ii Inc. & dba Blue Water Industries	-,	\$19.5000	\$136,422.00
	Volunteer Paving, LLC		\$26.3700	\$184,484.52
	Charles Deweese Construction, Inc		\$19.5600	\$136,841.76
	Eubank Asphalt Paving & Sealing		\$27.0000	\$188,892.00
	Vulcan Construction Materials, LLC		\$23.2500	\$162,657.00
			+=0.=00	Ţ: <u>-</u> , 000

			UNIT PRICE	EXTENSION
611-01.20 ADJUSTMENT OF EXIST	ING MANHOLE			
		50.000 EACH		
BWI MTN ii Inc. & dba B	lue Water Industries		\$750.0000	\$37,500.00
Volunteer Paving, LLC			\$750.0000	\$37,500.00
Charles Deweese Const			\$1,877.8800	\$93,894.00
Eubank Asphalt Paving	_		\$200.0000	\$10,000.00
Vulcan Construction Ma	terials, LLC		\$700.0000	\$35,000.00
611-09.01 ADJUSTMENT OF EXIST	ING CATCHBASIN			
		5.000 EACH		
BWI MTN ii Inc. & dba B	lue Water Industries		\$750.0000	\$3,750.00
Volunteer Paving, LLC			\$1,500.0000	\$7,500.00
Charles Deweese Const	ruction, Inc		\$1,356.2500	\$6,781.25
Eubank Asphalt Paving	& Sealing		\$400.0000	\$2,000.00
Vulcan Construction Mar	terials, LLC		\$700.0000	\$3,500.00
701-02.01 CONCRETE CURB RAME	P (RETROFIT)			
	,	260.000 S.F.		
BWI MTN ii Inc. & dba B	lue Water Industries		\$30.0000	\$7,800.00
Volunteer Paving, LLC	.ac trais. macenies		\$47.0000	\$12,220.00
Charles Deweese Const	ruction, Inc		\$45.8800	\$11,928.80
Eubank Asphalt Paving			\$60.0000	\$15,600.00
Vulcan Construction Ma	_		\$52.0000	\$13,520.00
701-02.06 DETECTABLE WARNING	SURFACE (REHABILITATION)			
701 02:00 DETECTABLE WARRING	, com Ace (Renadien Anon)	758.000 S.F.		
BWI MTN ii Inc. & dba B	due Water Industries	100.000	\$50.0000	\$37,900.00
Volunteer Paving, LLC	ide vater maastres		\$40.0000	\$30,320.00
Charles Deweese Const	ruction Inc		\$45.8800	\$34,777.04
Eubank Asphalt Paving			\$80.0000	\$60,640.00
Vulcan Construction Ma	•		\$40.0000	\$30,320.00
712-01 TRAFFIC CONTROL				
712-01 IKAITIO OOKIKOL		1.000 LS		
BWI MTN ii Inc. & dba B	lue Water Industries		\$39,500.0000	\$39,500.00
Volunteer Paving, LLC	ide vvater industries		\$31,500.0000	\$31,500.00
Charles Deweese Const	ruction. Inc		\$42,255.0700	\$42,255.07
Eubank Asphalt Paving			\$25,000.0000	\$25,000.00
Vulcan Construction Ma	_		\$91,000.0000	\$91,000.00
712-04.01 FLEXIBLE DRUMS (CHA	NNELIZING)			
		100.000 EACH		
BWI MTN ii Inc. & dba B	lue Water Industries		\$5.0000	\$500.00
Volunteer Paving, LLC	Trator maderioo		\$25.0000	\$2,500.00
Charles Deweese Const	ruction. Inc		\$36.5100	\$3,651.00
Eubank Asphalt Paving			\$25.0000	\$2,500.00
Vulcan Construction Mai	_		\$24.0000	\$2,400.00
. s.ss.r oonstaatar wa			Ψ2σσσσ	Ψ=, 100.00

		UNIT PRICE	EXTENSION
712-05.01 WARN	NING LIGHTS (TYPE A)		
	4.000 EA	АСН	
BWIN	MTN ii Inc. & dba Blue Water Industries	\$2.0000	\$8.00
	teer Paving, LLC	\$10.0000	\$40.00
	es Deweese Construction, Inc	\$31.3000	\$125.20
	nk Asphalt Paving & Sealing	\$5.0000	\$20.00
Vulca	n Construction Materials, LLC	\$5.0000	\$20.00
712-06 SIGNS	S (CONSTRUCTION)		
	3,690.000 S.I	F.	
BWI N	MTN ii Inc. & dba Blue Water Industries	\$6.0000	\$22,140.00
	teer Paving, LLC	\$7.5000	\$27,675.00
	es Deweese Construction, Inc	\$8.3500	\$30,811.50
	nk Asphalt Paving & Sealing	\$8.0000	\$29,520.00
Vulca	n Construction Materials, LLC	\$9.5000	\$35,055.00
712-08.03 ARRO	OW BOARD (TYPE C)		
	2.000 EA	ACH	
BWI N	MTN ii Inc. & dba Blue Water Industries	\$200.0000	\$400.00
Volun	teer Paving, LLC	\$1,000.0000	\$2,000.00
Charle	es Deweese Construction, Inc	\$1,877.8900	\$3,755.78
	nk Asphalt Paving & Sealing	\$1,500.0000	\$3,000.00
Vulca	n Construction Materials, LLC	\$875.0000	\$1,750.00
713-16.01 CHAN	IGEABLE MESSAGE SIGN UNIT		
	2.000 EA	АСН	
BWI N	MTN ii Inc. & dba Blue Water Industries	\$4,750.0000	\$9,500.00
Volun	teer Paving, LLC	\$6,000.0000	\$12,000.00
Charle	es Deweese Construction, Inc	\$7,824.5100	\$15,649.02
Eubar	nk Asphalt Paving & Sealing	\$5,000.0000	\$10,000.00
Vulca	n Construction Materials, LLC	\$7,000.0000	\$14,000.00
716-01.21 SNOW	VPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
	207.000 EA	СН	
BWI N	MTN ii Inc. & dba Blue Water Industries	\$30.0000	\$6,210.00
Volun	teer Paving, LLC	\$30.0000	\$6,210.00
Charle	es Deweese Construction, Inc	\$31.3000	\$6,479.10
Eubar	nk Asphalt Paving & Sealing	\$30.0000	\$6,210.00
Vulca	n Construction Materials, LLC	\$30.0000	\$6,210.00
716-01.22 SNOW	VPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)		
	66.000 EA	АСН	
BWI N	MTN ii Inc. & dba Blue Water Industries	\$30.0000	\$1,980.00
Volun	teer Paving, LLC	\$30.0000	\$1,980.00
	es Deweese Construction, Inc	\$31.3000	\$2,065.80
	nk Asphalt Paving & Sealing	\$30.0000	\$1,980.00
Vulca	n Construction Materials, LLC	\$30.0000	\$1,980.00

	UNIT PRICE	EXTENSION
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
12.000 EACH		
BWI MTN ii Inc. & dba Blue Water Industries	\$20.0000	\$240.00
Volunteer Paving, LLC	\$10.0000	\$120.00
Charles Deweese Construction, Inc	\$20.8700	\$250.44
Eubank Asphalt Paving & Sealing	\$20.0000	\$240.00
Vulcan Construction Materials, LLC	\$20.0000	\$240.00
716-02.03 PLASTIC PAVEMENT MARKING (CROSS-WALK)		
601.000 L.F.		
BWI MTN ii Inc. & dba Blue Water Industries	\$6.0000	\$3,606.00
Volunteer Paving, LLC	\$12.0000	\$7,212.00
Charles Deweese Construction, Inc	\$6.2600	\$3,762.26
Eubank Asphalt Paving & Sealing	\$6.0000	\$3,606.00
Vulcan Construction Materials, LLC	\$6.0000	\$3,606.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
1,560.000 S.Y.		
BWI MTN ii Inc. & dba Blue Water Industries	\$15.0000	\$23,400.00
Volunteer Paving, LLC	\$12.5000	\$19,500.00
Charles Deweese Construction, Inc	\$15.6500	\$24,414.00
Eubank Asphalt Paving & Sealing	\$15.0000	\$23,400.00
Vulcan Construction Materials, LLC	\$15.0000	\$23,400.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
1,277.000 L.F.		
BWI MTN ii Inc. & dba Blue Water Industries	\$15.0000	\$19,155.00
Volunteer Paving, LLC	\$15.0000	\$19,155.00
Charles Deweese Construction, Inc	\$15.6500	\$19,985.05
Eubank Asphalt Paving & Sealing	\$15.0000	\$19,155.00
Vulcan Construction Materials, LLC	\$15.0000	\$19,155.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
114.000 EACH		
BWI MTN ii Inc. & dba Blue Water Industries	\$150.0000	\$17,100.00
Volunteer Paving, LLC	\$50.0000	\$5,700.00
Charles Deweese Construction, Inc	\$156.4900	\$17,839.86
Eubank Asphalt Paving & Sealing	\$150.0000	\$17,100.00
Vulcan Construction Materials, LLC	\$150.0000	\$17,100.00
716-02.07 PLASTIC PAVEMENT MARKING (24" BARRIER LINE)		
360.000 L.F.		
BWI MTN ii Inc. & dba Blue Water Industries	\$10.0000	\$3,600.00
Volunteer Paving, LLC	\$13.0000	\$4,680.00
Charles Deweese Construction, Inc	\$10.4300	\$3,754.80
Eubank Asphalt Paving & Sealing	\$10.0000	\$3,600.00
Vulcan Construction Materials, LLC	\$10.0000	\$3,600.00

	UNIT PRICE	EXTENSION
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
	442.000 L.F.	
BWI MTN ii Inc. & dba Blue Water Industries	\$30.0000	\$13,260.00
Volunteer Paving, LLC	\$30.0000	\$13,260.00
Charles Deweese Construction, Inc	\$31.3000	\$13,834.60
Eubank Asphalt Paving & Sealing	\$30.0000	\$13,260.00
Vulcan Construction Materials, LLC	\$30.0000	\$13,260.00
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)		
	10.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$400.0000	\$4,000.00
Volunteer Paving, LLC	\$250.0000	\$2,500.00
Charles Deweese Construction, Inc	\$417.3100	\$4,173.10
Eubank Asphalt Paving & Sealing	\$400.0000	\$4,000.00
Vulcan Construction Materials, LLC	\$400.0000	\$4,000.00
716-04.01 PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)		
	1.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$300.0000	\$300.00
Volunteer Paving, LLC	\$250.0000	\$250.00
Charles Deweese Construction, Inc	\$312.9800	\$312.98
Eubank Asphalt Paving & Sealing	\$300.0000	\$300.00
Vulcan Construction Materials, LLC	\$300.0000	\$300.00
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)		
	16.000 EACH	
BWI MTN ii Inc. & dba Blue Water Industries	\$150.0000	\$2,400.00
Volunteer Paving, LLC	\$150.0000	\$2,400.00
Charles Deweese Construction, Inc	\$156.4900	\$2,503.84
Eubank Asphalt Paving & Sealing	\$150.0000	\$2,400.00
Vulcan Construction Materials, LLC	\$150.0000	\$2,400.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)		
	64.000 S.F.	
BWI MTN ii Inc. & dba Blue Water Industries	\$15.0000	\$960.00
Volunteer Paving, LLC	\$20.0000	\$1,280.00
Charles Deweese Construction, Inc	\$15.6500	\$1,001.60
Eubank Asphalt Paving & Sealing	\$15.0000	\$960.00
Vulcan Construction Materials, LLC	\$15.0000	\$960.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
	0.300 L.M.	
BWI MTN ii Inc. & dba Blue Water Industries	\$800.0000	\$240.00
Volunteer Paving, LLC	\$2,000.0000	\$600.00
Charles Deweese Construction, Inc	\$834.6000	\$250.38
Eubank Asphalt Paving & Sealing	\$800.0000	\$240.00
Vulcan Construction Materials, LLC	\$800.0000	\$240.00

			•	
			UNIT PRICE	EXTENSION
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		16.600 L.M.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$800.0000	\$13,280.00
	Volunteer Paving, LLC		\$1,000.0000	\$16,600.00
	Charles Deweese Construction, Inc		\$834.6100	\$13,854.53
	Eubank Asphalt Paving & Sealing		\$800.0000	\$13,280.00
	Vulcan Construction Materials, LLC		\$800.0000	\$13,280.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINI	E)		
		, 17.100 L.M.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$5,000.0000	\$85,500.00
	Volunteer Paving, LLC		\$5,000.0000	\$85,500.00
	Charles Deweese Construction, Inc		\$5,216.3400	\$89,199.41
	Eubank Asphalt Paving & Sealing		\$5,000.0000	\$85,500.00
	Vulcan Construction Materials, LLC		\$5,000.0000	\$85,500.00
716 12 05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOT	FTED LINE		
110-12.03	ENTIANCED FEATEINE THERMIC FAMIL MICKING (OIN DO	•		
		2,435.000 L.F.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$2.0000	\$4,870.00
	Volunteer Paving, LLC		\$1.5000	\$3,652.50
	Charles Deweese Construction, Inc		\$2.0900	\$5,089.15
	Eubank Asphalt Paving & Sealing		\$2.0000	\$4,870.00
	Vulcan Construction Materials, LLC		\$2.0000	\$4,870.00
716-12.07	ENHANCED FLAT LINE THERMO (8IN BROKEN LN)			
		720.000 L.F.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$3.0000	\$2,160.00
	Volunteer Paving, LLC		\$2.5000	\$1,800.00
	Charles Deweese Construction, Inc		\$3.1300	\$2,253.60
	Eubank Asphalt Paving & Sealing		\$3.0000	\$2,160.00
	Vulcan Construction Materials, LLC		\$3.0000	\$2,160.00
	valcan construction materials, LLC		ψ3.0000	ψ2,100.00
717-01	MOBILIZATION			
		1.000 LS		
	BWI MTN ii Inc. & dba Blue Water Industries		\$42,500.0000	\$42,500.00
	Volunteer Paving, LLC		\$87,504.3400	\$87,504.34
	Charles Deweese Construction, Inc		\$22,500.0000	\$22,500.00
	Eubank Asphalt Paving & Sealing		\$77,000.0000	\$77,000.00
	Vulcan Construction Materials, LLC		\$30,000.0000	\$30,000.00
730-14.02	SAW SLOT			
		16,807.000 L.F.		
	PW/ MTN ii Ing. 8 dha Plua Watar Industrias	10,007.000 L.I .	¢2 E000	¢50 004 50
	BWI MTN ii Inc. & dba Blue Water Industries		\$3.5000 \$3.5000	\$58,824.50
	Volunteer Paving, LLC		\$3.5000	\$58,824.50
	Charles Deweese Construction, Inc		\$3.6500	\$61,345.55
	Eubank Asphalt Paving & Sealing		\$3.9000	\$65,547.30
	Vulcan Construction Materials, LLC		\$3.5000	\$58,824.50

CONTRACT CNU212	CO	NTRACT	CNU212
-----------------	----	--------	---------------

\$23,348.40

\$0.6000

	UNIT PRICE	EXTENSION
730-14.03 LOOP WIRE		
38,914.000 L.F.		
BWI MTN ii Inc. & dba Blue Water Industries	\$0.6000	\$23,348.40
Volunteer Paving, LLC	\$0.6000	\$23,348.40
Charles Deweese Construction, Inc	\$0.6300	\$24,515.82
Eubank Asphalt Paving & Sealing	\$0.7500	\$29,185.50

Vulcan Construction Materials, LLC

BWI MTN ii Inc. & dba Blue Water Industries	\$1,290,671.80
Volunteer Paving, LLC	\$1,436,642.03
Charles Deweese Construction, Inc	\$1,443,192.07
Eubank Asphalt Paving & Sealing	\$1,572,215.80
Vulcan Construction Materials, LLC	\$1,643,890.90

TOTAL CONTRACT

BWI MTN ii Inc. & dba Blue Water Industries	\$1,290,671.80
Volunteer Paving, LLC	\$1,436,642.03
Charles Deweese Construction, Inc	\$1,443,192.07
Eubank Asphalt Paving & Sealing	\$1,572,215.80
Vulcan Construction Materials, LLC	\$1,643,890.90